County:	ALBANY	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	11			1 9.1%		4 36.4%	5 45.5%	1 9.1%
	SUPERINTENDENT, DEPENDENT	3			1 33.3%		1 33.3%	1 33.3%	
	DEPUTY OR ASSOCIATE SUPERINTEN	3					1 33.3%	2 66.7%	
	ASSISTANT SUPERINTENDENT	4				1 25.0%	3 75.0%		
	ASSISTANT SUPERINTENDENT SPECI	15			1 6.7%	3 20.0%	7 46.7%	4 26.7%	
	BUSINESS MANAGER	7			2 28.6%		3 42.9%	2 28.6%	
	ADMINISTRATIVE ASSISTANT	1						1 100.0%	
	DIRECTOR/COORDINATOR	72		3 4.2%	11 15.3%	14 19.4%	30 41.7%	13 18.1%	1 1.4%
	ASSISTANT DIRECTOR/COORDINATOR	4			1 25.0%	1 25.0%	1 25.0%	1 25.0%	
	SUPERVISOR	42		2 4.8%	10 23.8%	8 19.0%	13 31.0%	9 21.4%	
	DEPARTMENT CHAIRPERSON	30		2 6.7%	4 13.3%	7 23.3%	11 36.7%	6 20.0%	
	ATTENDANCE TEACHER	4			1 25.0%		3 75.0%		
	SCHOOL PSYCHOLOGIST	48		9 18.8%	10 20.8%	14 29.2%	10 20.8%	5 10.4%	
	SOCIAL WORKER	115	1 0.9%	4 3.5%	18 15.7%	36 31.3%	42 36.5%	12 10.4%	2 1.7%
	GUIDANCE COUNSELOR	94		7 7.4%	29 30.9%	27 28.7%	19 20.2%	10 10.6%	2 2.1%

		20	05-2000						
County:	ALBANY								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	13				3 23.1%	4 30.8%	6 46.2%	
	SCHOOL NURSE/PRACTITIONER	74	1 1.4%		5 6.8%	20 27.0%	31 41.9%	15 20.3%	2 2.7%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	34		3 8.8%	3 8.8%	14 41.2%	11 32.4%	3 8.8%	
	ELEMENTARY SCHOOL PRINCIPAL	37			5 13.5%	9 24.3%	15 40.5%	7 18.9%	1 2.7%
	MIDDLE SCHOOL PRINCIPAL	11		1 9.1%	3 27.3%	2 18.2%	4 36.4%	1 9.1%	
	JUNIOR HIGH SCHOOL PRINCIPAL	4			1 25.0%	1 25.0%	2 50.0%		
	K-12 SCHOOL PRINCIPAL	8			1 12.5%	4 50.0%	2 25.0%	1 12.5%	
	SENIOR HIGH SCHOOL PRINCIPAL	9			2 22.2%	2 22.2%	3 33.3%	2 22.2%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	3					1 33.3%	2 66.7%	
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	7			3 42.9%	1 14.3%	1 14.3%	2 28.6%	
	ASSISTANT MIDDLE SCHOOL PRINCI	11			3 27.3%	4 36.4%	3 27.3%	1 9.1%	
	ASSISTANT JUNIOR HIGH SCHOOL P	2			1 50.0%		1 50.0%		
	ASSISTANT K-12 SCHOOL PRINCIPA	1		1 100.0%					

County:	ALBANY								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	14			4 28.6%	3 21.4%	5 35.7%	2 14.3%	
	ASSISTANT JR./SR. HIGH SCHOOL	3			2 66.7%	1 33.3%			
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	8		2 25.0%	1 12.5%		4 50.0%	1 12.5%	
	PREKINDERGARTEN	15		4 26.7%	2 13.3%	5 33.3%	4 26.7%		
	KINDERGARTEN	113	2 1.8%	25 22.1%	35 31.0%	16 14.2%	21 18.6%	13 11.5%	1 0.9%
	COMMON BRANCH	772	21 2.7%	183 23.7%	185 24.0%	149 19.3%	162 21.0%	68 8.8%	4 0.5%
	SPECIAL EDUCATION	628	18 2.9%	123 19.6%	172 27.4%	115 18.3%	157 25.0%	40 6.4%	3 0.5%
	READING	170	3 1.8%	23 13.5%	37 21.8%	33 19.4%	49 28.8%	25 14.7%	
	ENGLISH LANGUAGE	286	13 4.5%	68 23.8%	72 25.2%	51 17.8%	55 19.2%	26 9.1%	1 0.3%
	FOREIGN LANGUAGE	162	9 5.6%	39 24.1%	46 28.4%	23 14.2%	37 22.8%	8 4.9%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	36		9 25.0%	10 27.8%	6 16.7%	9 25.0%	2 5.6%	
	MATHEMATICS	254	15 5.9%	53 20.9%	57 22.4%	47 18.5%	50 19.7%	32 12.6%	
	SCIENCE	243	7 2.9%	56 23.0%	60 24.7%	51 21.0%	47 19.3%	22 9.1%	

County:	ALBANY								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	222	8 3.6%	59 26.6%	74 33.3%	35 15.8%	30 13.5%	16 ^{7.2%}	
	ART	110	4 3.6%	10 9.1%	25 22.7%	24 21.8%	39 35.5%	8 7.3%	
	MUSIC	140	9 6.4%	32 22.9%	34 24.3%	28 20.0%	25 17.9%	12 ^{8.6%}	
	ART/MUSIC	1					1 100.0%		
	HEALTH EDUCATION	53	1 1.9%	10 18.9%	13 24.5%	11 20.8%	15 28.3%	3 5.7%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	181	4 2.2%	34 18.8%	43 23.8%	45 24.9%	48 26.5%	7 3.9%	
	AGRICULTURE	2			1 50.0%			1 50.0%	
	BUSINESS/MARKETING	43		7 16.3%	5 11.6%	10 23.3%	16 37.2%	5 11.6%	
	HOME ECONOMICS	22	1 4.5%	3 13.6%	3 13.6%	6 27.3%	8 36.4%	1 4.5%	
	TECHNOLOGY	42	3 7.1%	7 16.7%	7 16.7%	13 31.0%	6 14.3%	6 14.3%	
	TRADE EDUCATION	30			7 23.3%	8 26.7%	12 40.0%	3 10.0%	
	TECHNICAL EDUCATION	1				1 100.0%			
	HEALTH OCCUPATION	6				2 33.3%	3 50.0%	1 16.7%	
	GENERAL OCCUPATIONAL EDUCATION	70	2 2.9%	11 15.7%	7 10.0%	19 27.1%	28 40.0%	2 2.9%	1 1.4%

County:	ALBANY	-	00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	9		1 11.1%	1 11.1%	3 33.3%	3 33.3%	1 11.1%	
	LIBRARY	66		5 7.6%	9 13.6%	8 12.1%	27 40.9%	16 24.2%	1 1.5%
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE	3				1 33.3%	1 33.3%	1 33.3%	
	THEATER	5			1 20.0%	2 40.0%	1 20.0%	1 20.0%	
	COMBINED COURSES	13			7 53.8%	3 23.1%	1 7.7%	2 15.4%	
	OTHER SUBJECT	142	5 3.5%	45 31.7%	36 25.4%	27 19.0%	17 12.0%	11 7.7%	1 0.7%
	HELPING TEACHER	4		1 25.0%			3 75.0%		
	GIFTED/TALENTED	15	1 6.7%	3 20.0%	1 6.7%	4 26.7%	4 26.7%	2 13.3%	
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	18		2 11.1%	4 22.2%	6 33.3%	4 22.2%	2 11.1%	
	Summary	4132	120 2.9%	759 18.4%	989 23.9%	833 20.2%	1013 24.5%	398 9.6%	20 0.5%

		20	105-2000						
County:	ALLEGANY								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	1						1 100.0%	
	SUPERINTENDENT, DEPENDENT	11				2 18.2%	5 45.5%	4 36.4%	
	DEPUTY OR ASSOCIATE SUPERINTEN	1			1 100.0%				
	ASSISTANT SUPERINTENDENT								
	ASSISTANT SUPERINTENDENT SPECI								
	BUSINESS MANAGER	2					2 100.0%		
	ADMINISTRATIVE ASSISTANT						100.078		
	DIRECTOR/COORDINATOR	22		3 13.6%	5 22.7%	8 36.4%	4 18.2%	2 9.1%	
	ASSISTANT DIRECTOR/COORDINATOR	1			1 100.0%				
	SUPERVISOR	7		4 57.1%	2 28.6%	1 14.3%			
	DEPARTMENT CHAIRPERSON	23		1 4.3%	3 13.0%	3 13.0%	12 52.2%	3 13.0%	1 4.3%
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	11	1 9.1%	2 18.2%	1 9.1%	1 9.1%	5 45.5%	1 9.1%	
	SOCIAL WORKER	2	0,0	1 50.0%	1 50.0%	011,0	,	0,0	
	GUIDANCE COUNSELOR	20	1 5.0%	5 25.0%	6 30.0%	3 15.0%	4 20.0%	1 5.0%	

County:	ALLEGANY	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	17			1 5.9%	6 35.3%	8 47.1%	2 11.8%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	9		2 22.2%		3 33.3%	4 44.4%		
	ELEMENTARY SCHOOL PRINCIPAL	6			2 33.3%	2 33.3%	2 33.3%		
	MIDDLE SCHOOL PRINCIPAL	3			1 33.3%		2 66.7%		
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	6		1 16.7%	3 50.0%	1 16.7%	1 16.7%		
	SENIOR HIGH SCHOOL PRINCIPAL	3					2 66.7%	1 33.3%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	3			2 66.7%		1 33.3%		
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI								
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

Stat-Cd Count Under-26 26-32 33-40 41-48 4 ASSISTANT SENIOR HIGH SCHOOL P 1 1 1 1 100.0% 1 </th <th>49-56 57-64</th> <th>Over-64</th>	49-56 57-64	Over-64
ASSISTANT JR./SR. HIGH SCHOOL		
ASSISTANT SPECIAL SCHOOL PRINC		
OTHER SCHOOL ADMINISTRATOR		
PREKINDERGARTEN 9 3 1 2 33.3% 11.1% 22.2% 22	2 2.2%	1 11.1%
KINDERGARTEN 33 1 7 5 8 3.0% 21.2% 15.2% 24.2% 21	7 5 15.2%	
COMMON BRANCH 156 6 29 42 26 3.8% 18.6% 26.9% 16.7% 27	43 10 7.6% 6.4%	
SPECIAL EDUCATION 86 10 25 26 15 11.6% 29.1% 30.2% 17.4% 5	5.8% 5.8%	
READING 60 4 12 11 8 6.7% 20.0% 18.3% 13.3% 30	18 6 0.0% 10.0%	1 1.7%
ENGLISH LANGUAGE 81 4 17 12 11 4.9% 21.0% 14.8% 13.6% 30	25 11 . .6%	1 1.2%
FOREIGN LANGUAGE 26 4 1 5 3 15.4% 3.8% 19.2% 11.5% 42	11 2 2.3% 7.7%	
BILINGUAL EDUCATION		
ENGLISH AS A SECOND LANGUAGE 1 100.0%		
MATHEMATICS 77 6 11 21 13 7.8% 14.3% 27.3% 16.9% 22	17 8 2.1% 10.4%	1 1.3%
SCIENCE 61 1 11 13 12 1.6% 18.0% 21.3% 19.7% 31	19 5 1.1% 8.2%	

		20	103-2000						
County:	ALLEGANY								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- 64	Over-64
	SOCIAL STUDIES	70	5 7.1%	11 15.7%	16 22.9%	13 18.6%	18 25.7%	7 10.0%	
	ART	28	1 3.6%	5 17.9%	6 21.4%	5 17.9%	7 25.0%	3 10.7%	1 3.6%
	MUSIC	34	4 11.8%	10 29.4%	7 20.6%	3 8.8%	8 23.5%	2 5.9%	
	ART/MUSIC								
	HEALTH EDUCATION	18	1 5.6%	4 22.2%	5 27.8%	4 22.2%	2 11.1%	2 11.1%	
	SAFETY EDUCATION	2			1 50.0%		1 50.0%		
	PHYSICAL EDUCATION	46	4 8.7%	8 17.4%	10 21.7%	11 23.9%	11 23.9%	2 4.3%	
	AGRICULTURE	2				1 50.0%	1 50.0%		
	BUSINESS/MARKETING	17	2 11.8%	3 17.6%	2 11.8%	6 35.3%	3 17.6%	1 5.9%	
	HOME ECONOMICS	5			1 20.0%	1 20.0%	2 40.0%	1 20.0%	
	TECHNOLOGY	11		1 9.1%	2 18.2%	2 18.2%	4 36.4%	2 18.2%	
	TRADE EDUCATION	3		1 33.3%			1 33.3%	1 33.3%	
	TECHNICAL EDUCATION	1					1 100.0%		
	HEALTH OCCUPATION								
	GENERAL OCCUPATIONAL EDUCATION	24	1 4.2%	3 12.5%	2 8.3%	6 25.0%	9 37.5%	3 12.5%	

County:	ALLEGANY	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- <mark>64</mark>	Over-64
	COOPERATIVE WORK EXPERIENCE								
	LIBRARY	12				3 25.0%	9 75.0%		
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS	1				1 100.0%			
	DANCE								
	THEATER	1					1 100.0%		
	COMBINED COURSES	1					1 100.0%		
	OTHER SUBJECT	100	10 10.0%	22 22.0%	20 20.0%	16 16.0%	19 19.0%	12 12.0%	1 1.0%
	HELPING TEACHER								
	GIFTED/TALENTED	3		1 33.3%	2 66.7%				
	GENERAL COOPERATIVE WORK EXPER	2			1 50.0%	1 50.0%			
	COMPUTER STUDIES	10	2 20.0%	1 10.0%	1 10.0%	4 40.0%	1 10.0%	1 10.0%	
	Summary	824	46 5.6%	148 18.0%	175 21.2%	156 18.9%	220 26.7%	74 9.0%	5 0.6%

County:	BROOME	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	10					7 70.0%	3 30.0%	
	SUPERINTENDENT, DEPENDENT	2				1 50.0%	1 50.0%		
	DEPUTY OR ASSOCIATE SUPERINTEN	2				1 50.0%	1 50.0%		
	ASSISTANT SUPERINTENDENT	7				1 14.3%	6 85.7%		
	ASSISTANT SUPERINTENDENT SPECI	7			1 14.3%	1 14.3%	1 14.3%	4 57.1%	
	BUSINESS MANAGER	2				2 100.0%			
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	75		2 2.7%	10 13.3%	18 24.0%	35 46.7%	10 13.3%	
	ASSISTANT DIRECTOR/COORDINATOR	6			1 16.7%	3 50.0%	2 33.3%		
	SUPERVISOR	9			3 33.3%	2 22.2%	3 33.3%	1 11.1%	
	DEPARTMENT CHAIRPERSON	45		2 4.4%	9 20.0%	7 15.6%	17 37.8%	9 20.0%	1 2.2%
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	40		7 17.5%	13 32.5%	10 25.0%	8 20.0%	2 5.0%	
	SOCIAL WORKER	46	1 2.2%	4 8.7%	8 17.4%	13 28.3%	16 34.8%	4 8.7%	
	GUIDANCE COUNSELOR	82	1 1.2%	19 23.2%	17 20.7%	24 29.3%	14 17.1%	6 7.3%	1 1.2%

County:	BROOME	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	12			1		10	1	
					8.3%		83.3%	8.3%	
	SCHOOL NURSE/PRACTITIONER	63			2 3.2%	21 33.3%	34 54.0%	6 9.5%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	34		1	7	7	11	8	
				2.9%	20.6%	20.6%	32.4%	23.5%	
	ELEMENTARY SCHOOL PRINCIPAL	35			3 8.6%	9 25.7%	9 25.7%	13 37.1%	1 2.9%
	MIDDLE SCHOOL PRINCIPAL	12		2 16.7%	2 16.7%	3 25.0%	5 41.7%		
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	2			1		1		
					50.0%		50.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	12			3 25.0%		6 50.0%	3 25.0%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1				1 100.0%			
	SPECIAL SCHOOL PRINCIPAL	0			4				
	SPECIAL SCHOOL PRINCIPAL	3			1 33.3%	1 33.3%	33.3%		
	ASSISTANT ELEMENTARY SCHOOL PR	4			2 50.0%		1 25.0%	1 25.0%	
	ASSISTANT MIDDLE SCHOOL PRINCI	10		1	30.0% 3	5	25.0% 1	20.070	
				10.0%	30.0%	50.0%	10.0%		
	ASSISTANT JUNIOR HIGH SCHOOL P	1			1				
					100.0%				
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	BROOME	2003 2000							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	18			8 44.4%	7 38.9%	2 11.1%	1 5.6%	
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	15			5 33.3%	2 13.3%	6 40.0%	2 13.3%	
	KINDERGARTEN	127	3 2.4%	28 22.0%	31 24.4%	24 18.9%	32 25.2%	9 7.1%	
	COMMON BRANCH	594	24 4.0%	138 23.2%	135 22.7%	105 17.7%	122 20.5%	69 11.6%	1 0.2%
	SPECIAL EDUCATION	466	17 3.6%	106 22.7%	101 21.7%	93 20.0%	109 23.4%	39 8.4%	1 0.2%
	READING	114	2 1.8%	16 14.0%	35 30.7%	16 14.0%	34 29.8%	10 8.8%	1 0.9%
	ENGLISH LANGUAGE	235	10 4.3%	53 22.6%	55 23.4%	41 17.4%	43 18.3%	30 12.8%	3 1.3%
	FOREIGN LANGUAGE	98	6 6.1%	15 15.3%	24 24.5%	12 12.2%	29 29.6%	12 12.2%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	24		2 8.3%	5 20.8%	7 29.2%	6 25.0%	3 12.5%	1 4.2%
	MATHEMATICS	219	13 5.9%	31 14.2%	57 26.0%	44 20.1%	53 24.2%	20 9.1%	1 0.5%
	SCIENCE	203	4 2.0%	49 24.1%	39 19.2%	47 23.2%	48 23.6%	15 ^{7.4%}	1 0.5%

County:	BROOME	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	192	4 2.1%	55 28.6%	42 21.9%	39 20.3%	30 15.6%	21 10.9%	1 0.5%
	ART	91		23 25.3%	25 27.5%	10 11.0%	22 24.2%	11 12.1%	
	MUSIC	138	5 3.6%	33 23.9%	21 15.2%	33 23.9%	36 26.1%	10 7.2%	
	ART/MUSIC	2		1 50.0%	1 50.0%				
	HEALTH EDUCATION	34		5 14.7%	6 17.6%	5 14.7%	12 35.3%	6 17.6%	
	SAFETY EDUCATION	1				1 100.0%			
	PHYSICAL EDUCATION	144	7 4.9%	29 20.1%	33 22.9%	36 25.0%	33 22.9%	6 4.2%	
	AGRICULTURE	1						1 100.0%	
	BUSINESS/MARKETING	32	1 3.1%	5 15.6%	6 18.8%	10 31.3%	6 18.8%	4 12.5%	
	HOME ECONOMICS	19		3 15.8%	3 15.8%	5 26.3%	7 36.8%	1 5.3%	
	TECHNOLOGY	31		6 19.4%	8 25.8%	6 19.4%	9 29.0%	2 6.5%	
	TRADE EDUCATION	18		1 5.6%	3 16.7%	5 27.8%	4 22.2%	4 22.2%	1 5.6%
	TECHNICAL EDUCATION	1		1 100.0%					
	HEALTH OCCUPATION	3				1 33.3%		2 66.7%	
	GENERAL OCCUPATIONAL EDUCATION	58		7 12.1%	10 17.2%	13 22.4%	24 41.4%	3 5.2%	1 1.7%

County:	BROOME	_ 0	00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	6		2 33.3%			1 16.7%	3 50.0%	
	LIBRARY	43		5 11.6%	3 7.0%	3 7.0%	19 44.2%	12 27.9%	1 2.3%
	LEARNING TECHNOLOGY	2		1 50.0%			1 50.0%		
	HUMANITIES/PERFORMING ARTS	1					1 100.0%		
	DANCE	1					1 100.0%		
	THEATER	3		1 33.3%		2 66.7%			
	COMBINED COURSES	1				1 100.0%			
	OTHER SUBJECT	156	8 5.1%	31 19.9%	44 28.2%	30 19.2%	28 17.9%	14 9.0%	1 0.6%
	HELPING TEACHER								
	GIFTED/TALENTED	10			2 20.0%	3 30.0%	2 20.0%	3 30.0%	
	GENERAL COOPERATIVE WORK EXPER	10		4 40.0%	2 20.0%		2 20.0%	2 20.0%	
	COMPUTER STUDIES	10		2 20.0%	3 30.0%	1 10.0%	3 30.0%	1 10.0%	
	Summary	3332	96 2.9%	628 18.8%	715 21.5%	679 20.4%	839 25.2%	359 10.8%	16 0.5%

County:	CATTARAUGUS	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	6					4 66.7%	2 33.3%	
	SUPERINTENDENT, DEPENDENT	7					2 28.6%	4 57.1%	1 14.3%
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1				1 100.0%			
	ASSISTANT SUPERINTENDENT SPECI	1						1 100.0%	
	BUSINESS MANAGER	4			2 50.0%	1 25.0%	1 25.0%		
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	33		1 3.0%	6 18.2%	5 15.2%	13 39.4%	8 24.2%	
	ASSISTANT DIRECTOR/COORDINATOR	2			1 50.0%			1 50.0%	
	SUPERVISOR	20		1 5.0%	2 10.0%	5 25.0%	10 50.0%	1 5.0%	1 5.0%
	DEPARTMENT CHAIRPERSON	40			9 22.5%	6 15.0%	14 35.0%	10 25.0%	1 2.5%
	ATTENDANCE TEACHER	1					1 100.0%		
	SCHOOL PSYCHOLOGIST	23		5 21.7%	7 30.4%	4 17.4%	4 17.4%	3 13.0%	
	SOCIAL WORKER	1					1 100.0%		
	GUIDANCE COUNSELOR	71		5 7.0%	25 35.2%	14 19.7%	17 23.9%	10 14.1%	

County:	CATTARAUGUS	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	32		1 3.1%	3 9.4%	11 34.4%	12 37.5%	5 15.6%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	46		5 10.9%	9 19.6%	12 26.1%	14 30.4%	6 13.0%	
	ELEMENTARY SCHOOL PRINCIPAL	17			1 5.9%	4 23.5%	10 58.8%	2 11.8%	
	MIDDLE SCHOOL PRINCIPAL	8			5 62.5%		2 25.0%	1 12.5%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	2				1 50.0%	1 50.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	11				4 36.4%	4 36.4%	2 18.2%	1 9.1%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	4			2 50.0%		2 50.0%		
	SPECIAL SCHOOL PRINCIPAL	1						1 100.0%	
	ASSISTANT ELEMENTARY SCHOOL PR							100.070	
	ASSISTANT MIDDLE SCHOOL PRINCI	3			1 33.3%	2 66.7%			
	ASSISTANT JUNIOR HIGH SCHOOL P				33.3%	00.7%			
	ASSISTANT K-12 SCHOOL PRINCIPA								

County: CATTARAUG	US		03-2000						
Stat-Cd									
		Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
ASSISTANT SENIOR HI	GH SCHOOL P	2			2 100.0%				
ASSISTANT JR./SR. HIC	GH SCHOOL	1			1 100.0%				
ASSISTANT SPECIAL S	CHOOL PRINC								
OTHER SCHOOL ADMI	NISTRATOR	3		1 33.3%		1 33.3%		1 33.3%	
PREKINDERGARTEN		14		3 21.4%	3 21.4%	5 35.7%	2 14.3%	1 7.1%	
KINDERGARTEN		67	2 3.0%	9 13.4%	22 32.8%	16 23.9%	15 22.4%	3 4.5%	
COMMON BRANCH		306	5 1.6%	45 14.7%	70 22.9%	50 16.3%	97 31.7%	34 11.1%	5 1.6%
SPECIAL EDUCATION		289	13 4.5%	52 18.0%	77 26.6%	66 22.8%	66 22.8%	13 4.5%	2 0.7%
READING		76	2 2.6%	4 5.3%	22 28.9%	10 13.2%	28 36.8%	9 11.8%	1 1.3%
ENGLISH LANGUAGE		128	3 2.3%	26 20.3%	25 19.5%	22 17.2%	37 28.9%	14 10.9%	1 0.8%
FOREIGN LANGUAGE		51	2 3.9%	10 19.6%	11 21.6%	6 11.8%	18 35.3%	4 7.8%	
BILINGUAL EDUCATION	Ν								
ENGLISH AS A SECON	D LANGUAGE	3				1 33.3%		1 33.3%	1 33.3%
MATHEMATICS		131	3 2.3%	21 16.0%	27 20.6%	26 19.8%	36 27.5%	17 13.0%	1 0.8%
SCIENCE		119	4 3.4%	20 16.8%	35 29.4%	20 16.8%	28 23.5%	12 10.1%	

		<u> </u>	103-2000						
County:	CATTARAUGUS								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	109	1 0.9%	21 19.3%	28 25.7%	18 16.5%	31 28.4%	10 9.2%	
	ART	46		4 8.7%	7 15.2%	11 23.9%	17 37.0%	7 15.2%	
	MUSIC	62	5 8.1%	17 27.4%	11 17.7%	9 14.5%	16 25.8%	3 4.8%	1 1.6%
	ART/MUSIC								
	HEALTH EDUCATION	27	1 3.7%	6 22.2%	3 11.1%	6 22.2%	6 22.2%	5 18.5%	
	SAFETY EDUCATION	2			1 50.0%			1 50.0%	
	PHYSICAL EDUCATION	88	4 4.5%	11 12.5%	20 22.7%	19 21.6%	22 25.0%	11 12.5%	1 1.1%
	AGRICULTURE	10		1 10.0%	3 30.0%	2 20.0%	3 30.0%	1 10.0%	
	BUSINESS/MARKETING	19		2 10.5%	2 10.5%	9 47.4%	5 26.3%	1 5.3%	
	HOME ECONOMICS	24		1 4.2%	3 12.5%	5 20.8%	12 50.0%	2 8.3%	1 4.2%
	TECHNOLOGY	14		3 21.4%	1 7.1%	6 42.9%	3 21.4%	1 7.1%	
	TRADE EDUCATION	35		3 8.6%	7 20.0%	10 28.6%	11 31.4%	4 11.4%	
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION	3				3 100.0%			
	GENERAL OCCUPATIONAL EDUCATION	40		6 15.0%	4 10.0%	8 20.0%	18 45.0%	3 7.5%	1 2.5%

County:	CATTARAUGUS	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	2		1 50.0%				1 50.0%	
	LIBRARY	26			6 23.1%	5 19.2%	10 38.5%	5 19.2%	
	LEARNING TECHNOLOGY	3			1 33.3%		2 66.7%		
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1					1 100.0%		
	COMBINED COURSES	2					2 100.0%		
	OTHER SUBJECT	163	1 0.6%	31 19.0%	38 23.3%	26 16.0%	44 27.0%	21 12.9%	2 1.2%
	HELPING TEACHER	1			1 100.0%				
	GIFTED/TALENTED	2			1 50.0%			1 50.0%	
	GENERAL COOPERATIVE WORK EXPER	6			2 33.3%		3 50.0%	1 16.7%	
	COMPUTER STUDIES	11	1 9.1%		3 27.3%	5 45.5%	2 18.2%		
	Summary	1802	42 2.3%	259 14.4%	420 23.3%	360 20.0%	509 28.2%	198 11.0%	14 0.8%

Country		2005-2000								
County:	CAYUGA									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	SUPERINTENDENT, INDEPENDENT	2						2		
								100.0%		
	SUPERINTENDENT, DEPENDENT	6			1 16.7%	1 16.7%	3 50.0%	1 16.7%		
	DEPUTY OR ASSOCIATE SUPERINTEN	1			10.778	10.776	50.078	10.776	1	
		I							100.0%	
	ASSISTANT SUPERINTENDENT	3			1			2		
					33.3%			66.7%		
	ASSISTANT SUPERINTENDENT SPECI	4					2 50.0%	2 50.0%		
	BUSINESS MANAGER	3				1	2	00.070		
		Ū				33.3%	66.7%			
	ADMINISTRATIVE ASSISTANT									
	DIRECTOR/COORDINATOR	04			-	0	40	0	4	
	DIRECTOR/COORDINATOR	31			5 16.1%	9 29.0%	13 41.9%	3 9.7%	1 3.2%	
	ASSISTANT DIRECTOR/COORDINATOR	3			1		2			
		_			33.3%		66.7%			
	SUPERVISOR	4			1	1	2			
		40		4	25.0%	25.0%	50.0%			
	DEPARTMENT CHAIRPERSON	10		1 10.0%	2 20.0%	5 50.0%	2 20.0%			
	ATTENDANCE TEACHER									
	SCHOOL PSYCHOLOGIST	22		6	5	5	5	1		
	SOCIAL WORKER	10		27.3%	22.7%	22.7%	22.7%	4.5%		
	SOCIAL WORKER	13			4 30.8%	7 53.8%	2 15.4%			
	GUIDANCE COUNSELOR	27		6	13	4	3	1		
				22.2%	48.1%	14.8%	11.1%	3.7%		

County:	CAYUGA	20	05 2000							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	NURSE TEACHER									
	SCHOOL NURSE/PRACTITIONER	20				3 15.0%	12 60.0%	3 15.0%	2 10.0%	
	DENTAL HYGIENIST									
	OTHER NONTEACHING	13		3 23.1%	4 30.8%	1 7.7%	3 23.1%	1 7.7%	1 7.7%	
	ELEMENTARY SCHOOL PRINCIPAL	12			1 8.3%	4 33.3%	7 58.3%			
	MIDDLE SCHOOL PRINCIPAL	7			1 14.3%	1 14.3%	5 71.4%			
	JUNIOR HIGH SCHOOL PRINCIPAL	1				1 100.0%				
	K-12 SCHOOL PRINCIPAL					100.078				
	SENIOR HIGH SCHOOL PRINCIPAL	7			4 57.1%	1 14.3%	1 14.3%	1 14.3%		
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1					1 100.0%			
	SPECIAL SCHOOL PRINCIPAL									
	ASSISTANT ELEMENTARY SCHOOL PR	1				1 100.0%				
	ASSISTANT MIDDLE SCHOOL PRINCI	4			1 25.0%	1 25.0%	1 25.0%	1 25.0%		
	ASSISTANT JUNIOR HIGH SCHOOL P				23.0%	23.0%	23.0%	23.0%		
	ASSISTANT K-12 SCHOOL PRINCIPA									

		<u></u>	105-2000						
County:	CAYUGA								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- 64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	5			1 20.0%		2 40.0%	1 20.0%	1 20.0%
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	2				1 50.0%			1 50.0%
	KINDERGARTEN	45	2 4.4%	9 20.0%	9 20.0%	12 26.7%	9 20.0%	4 8.9%	
	COMMON BRANCH	225	4 1.8%	24 10.7%	54 24.0%	46 20.4%	73 32.4%	22 9.8%	2 0.9%
	SPECIAL EDUCATION	156	10 6.4%	31 19.9%	42 26.9%	36 23.1%	30 19.2%	6 3.8%	1 0.6%
	READING	34		4 11.8%	7 20.6%	9 26.5%	10 29.4%	4 11.8%	
	ENGLISH LANGUAGE	92	1 1.1%	25 27.2%	18 19.6%	17 18.5%	23 25.0%	7 7.6%	1 1.1%
	FOREIGN LANGUAGE	37	2 5.4%	3 8.1%	12 32.4%	8 21.6%	7 18.9%	5 13.5%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	3				2 66.7%		1 33.3%	
	MATHEMATICS	83	6 7.2%	13 15.7%	20 24.1%	14 16.9%	24 28.9%	6 7.2%	
	SCIENCE	76		11 14.5%	13 17.1%	23 30.3%	23 30.3%	6 7.9%	

County: CAYUGA Stat-Cd Count Under-26 26-32 33-40 41-8 49-56 57-54 SOCIAL STUDIES 69 2 15 15 12 21 4 ART 33 7 6 6 7 6 MUSIC 39 2 6 5 11 13 2 ART/MUSIC 14.4% 3 2 4 2 3 HEALTH EDUCATION 14 3 2 4 2 3 ART/MUSIC 14.4% 14.3% 28.6% 14.3% 21.4% 14.3% PHYSICAL EDUCATION 14 3 2 4 2 3 AGRICULTURE 1 15.5% 31.5% 21.1% 24.6% 5.3% AGRICULTURE 4 1 2 1 1 3 3 BUSINESS/MARKETING 14 28.6% 42.9% 28.6% 42.9% 28.6%			<u> </u>	105-2000						
SOCIAL STUDIES 69 2 15 15 12 21 4 ART 33 7 6 6 7 6 MUSIC 39 2 6 5 11 13 2 MUSIC 39 2 6 5 11 13 2 ART/MUSIC 14.3% 28.6% 14.3% 28.2% 33.3% 5.1% HEALTH EDUCATION 14 3 2 4 2 3 SAFETY EDUCATION 2 1	unty:	CAYUGA								
ART 33 7 6 6 7 6 MUSIC 39 2 6 5 11 13 2 ART 33 7 6 6 7 6 MUSIC 39 2 6 5 11 13 2 ART/MUSIC 11 3 2 3 3 2 4 2 3 HEALTH EDUCATION 14 3 2 4 2 3 2 3 3 2 4 2 3 2 4 3 2 3 2 4 2 3 3 2 4 2 3 2 4 2 3 3 2 4 2 3 2 4 2 3 3 2 4 2 3 2 4 2 3 3 3 2 4 3 3 3 3 3 3 4 4 3 3 3 3 3 3 3 3 3 <th></th> <th>Stat-Cd</th> <th>Count</th> <th>Under-26</th> <th>26-32</th> <th>33-40</th> <th>41-48</th> <th>49-56</th> <th>57-64</th> <th>Over-64</th>		Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
MUSIC 39 2 6 5 11 13 2 ART/MUSIC HEALTH EDUCATION 14 3 2 4 2 3 3 5.1% HEALTH EDUCATION 14 3 2 4 2 3 3 5.1% SAFETY EDUCATION 14 3 2 4 2 3 3 21.4% PHYSICAL EDUCATION 2 1 9 18 12 14 3 21.4% 24.6% 5.3% BUSINESS/MARKETING 1 1 1 1 1 3 2 4 4 3 TECHNOLOGY 15 4 3 3 4 1 2 5 2 2 3 3 3 4 1 TECHNOLOGY 15 4 3 3 3 4 1 2 5 2 2 5 2 2 3 3 3 4 1 2 3 3 3 3 3 3 3 3		SOCIAL STUDIES	69							
ART/MUSIC 5.1% 15.4% 12.8% 28.2% 33.3% 5.1% HEALTH EDUCATION 14 3 2 4 2 3 SAFETY EDUCATION 2 1 1 1 3 2 4 2 3 PHYSICAL EDUCATION 2 1 1 1 50.0% 50.0% 50.0% 50.0% 50.0% PHYSICAL EDUCATION 57 1 9 18 12 14 3 AGRICULTURE 4 1 2 1 1 24.6% 5.3% BUSINESS/MARKETING 14 25.0% 50.0% 25.0% 26.6% 28.6% 42.9% 24.9% 42		ART	33							1 3.0%
HEALTH EDUCATION 14 3 2 4 2 3 SAFETY EDUCATION 2 11.3% 12.4% 14.3% 28.6% 14.3% 21.4% 33.6% 21.4% 33.6% 21.4% 33.6% 21.4% 33.6% 21.4% 33.6% 21.4% 33.6% 21.4% 33.6% 21.4% 33.6% 21.4% 36.6% 21.4% 36.6% 21.1% 24.6% 5.3% 31.6% 21.1% 24.6% 5.3% 35.3% 36.6% 42.9% 24.6% 5.3% 35.3% 36.6% 42.9% 24.6% 42.9% 24.6% 28.6% 42.9% 28.6% 42.9% 42.9% 42.9% 42.9% 42.9% 42.9% 42.9% 42.9% 42.9% 42.9% 42.9% 42.9% 42.9% 42.9% <td></td> <td>MUSIC</td> <td>39</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>		MUSIC	39							
SAFETY EDUCATION 2 14.3% 28.6% 14.3% 21.4% PHYSICAL EDUCATION 2 1		ART/MUSIC								
PHYSICAL EDUCATION 57 1 9 18 12 14 3 AGRICULTURE 4 1 2 1 24.6% 5.3% AGRICULTURE 4 1 2 1 25.0% 50.0% 25.0% BUSINESS/MARKETING 14 4 6 4 28.6% 42.9% 28.6% HOME ECONOMICS 7 1 3 3 3 3 3 TECHNOLOGY 15 4 3 3 4 1 TRADE EDUCATION 12 1 2 2 5 2 TECHNICAL EDUCATION 1 1 2 5 2 100.0% 1		HEALTH EDUCATION	14							
AGRICULTURE 1.8% 15.8% 31.6% 21.1% 24.6% 5.3% AGRICULTURE 4 1 2 1 <td< td=""><td></td><td>SAFETY EDUCATION</td><td>2</td><td></td><td></td><td>-</td><td></td><td></td><td></td><td></td></td<>		SAFETY EDUCATION	2			-				
25.0% 50.0% 25.0% BUSINESS/MARKETING 14 4 6 4 HOME ECONOMICS 7 1 28.6% 28.6% TECHNOLOGY 15 4 3 3 42.9% TRADE EDUCATION 12 1 2 2 5 2 TECHNICAL EDUCATION 1 16.7% 16.7% 16.7% 16.7%			57							
HOME ECONOMICS 7 1 28.6% 42.9% 28.6% HOME ECONOMICS 7 1 3 3 14.3% 14.3% 42.9% 42.9% TECHNOLOGY 15 4 3 3 4 1 26.7% 20.0% 20.0% 26.7% 6.7% TRADE EDUCATION 12 1 2 2 5 2 8.3% 16.7% 16.7% 16.7% 41.7% 16.7% TECHNICAL EDUCATION 1 1 1 1 1		AGRICULTURE	4							
TECHNOLOGY 15 4 3 3 4 1 TECHNOLOGY 15 4 3 3 4 1 TRADE EDUCATION 12 1 2 2 5 2 8.3% 16.7% 16.7% 16.7% 16.7% 1		BUSINESS/MARKETING	14							
TRADE EDUCATION 12 1 2 2 5 2 8.3% 16.7% 16.7% 16.7% 16.7% 16.7% TECHNICAL EDUCATION 1 1 1 1 1 100.0% 1 1 1 1 1 1		HOME ECONOMICS	7							
8.3% 16.7% 16.7% 41.7% 16.7% TECHNICAL EDUCATION 1 1 1 100.0% 1 1		TECHNOLOGY	15						-	
100.0%		TRADE EDUCATION	12							
HEALTH OCCUPATION 3 1 1 1		TECHNICAL EDUCATION	1							
33.3% 33.3% 33.3%		HEALTH OCCUPATION	3			-				
GENERAL OCCUPATIONAL EDUCATION 31 1 4 4 6 13 3 3.2% 12.9% 12.9% 19.4% 41.9% 9.7%		GENERAL OCCUPATIONAL EDUCATION	31	•						

County:	CAYUGA	20	05-2000						
·	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	1					1 100.0%		
	LIBRARY	14			1 7.1%	6 42.9%	3 21.4%	4 28.6%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1				1 100.0%			
	COMBINED COURSES	1		1 100.0%		100.078			
	OTHER SUBJECT	111	9 8.1%	22 19.8%	30 27.0%	21 18.9%	24 21.6%	5 4.5%	
	HELPING TEACHER	2				1 50.0%	1 50.0%		
	GIFTED/TALENTED	2		1 50.0%			1 50.0%		
	GENERAL COOPERATIVE WORK EXPER	5		1 20.0%	1 20.0%	2 40.0%		1 20.0%	
	COMPUTER STUDIES	4				2 50.0%	1 25.0%	1 25.0%	
	Summary	1213	36 3.0%	176 14.5%	278 22.9%	259 21.4%	337 27.8%	115 _{9.5%}	12 1.0%

County:	CHAUTAUQUA	2003-2000								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- <mark>64</mark>	Over-64	
	SUPERINTENDENT, INDEPENDENT	4				1 25.0%	2 50.0%	1 25.0%		
	SUPERINTENDENT, DEPENDENT	14			1 7.1%	2 14.3%	6 42.9%	5 35.7%		
	DEPUTY OR ASSOCIATE SUPERINTEN									
	ASSISTANT SUPERINTENDENT									
	ASSISTANT SUPERINTENDENT SPECI	2					2 100.0%			
	BUSINESS MANAGER	8			1 12.5%	2 25.0%	3 37.5%	2 25.0%		
	ADMINISTRATIVE ASSISTANT									
	DIRECTOR/COORDINATOR	59		3 5.1%	9 15.3%	16 27.1%	21 35.6%	10 16.9%		
	ASSISTANT DIRECTOR/COORDINATOR	3			1 33.3%	1 33.3%	1 33.3%			
	SUPERVISOR	2		1 50.0%			1 50.0%			
	DEPARTMENT CHAIRPERSON	47		2 4.3%	11 23.4%	10 21.3%	16 34.0%	8 17.0%		
	ATTENDANCE TEACHER	2				1 50.0%		1 50.0%		
	SCHOOL PSYCHOLOGIST	29		8 27.6%	8 27.6%	3 10.3%	8 27.6%	2 6.9%		
	SOCIAL WORKER	9			4 44.4%	4 44.4%	1 11.1%			
	GUIDANCE COUNSELOR	71		12 16.9%	18 25.4%	16 22.5%	17 23.9%	8 11.3%		

Country	•····	2003-2000								
County:	CHAUTAUQUA									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	<i>57-64</i>	Over-64	
	NURSE TEACHER	2				1 50.0%		1 50.0%		
	SCHOOL NURSE/PRACTITIONER	47		2 4.3%	2 4.3%	5 10.6%	25 53.2%	10 21.3%	3 6.4%	
	DENTAL HYGIENIST									
	OTHER NONTEACHING	31		2 6.5%	8 25.8%	4 12.9%	14 45.2%	3 9.7%		
	ELEMENTARY SCHOOL PRINCIPAL	25			3 12.0%	5 20.0%	10 40.0%	7 28.0%		
	MIDDLE SCHOOL PRINCIPAL	12			2 16.7%	6 50.0%	4 33.3%			
	JUNIOR HIGH SCHOOL PRINCIPAL									
	K-12 SCHOOL PRINCIPAL	1				1 100.0%				
	SENIOR HIGH SCHOOL PRINCIPAL	8			2 25.0%	2 25.0%	3 37.5%	1 12.5%		
	JUNIOR/SENIOR HIGH SCHOOL PRIN	9				4	5			
	SPECIAL SCHOOL PRINCIPAL						00.070			
	ASSISTANT ELEMENTARY SCHOOL PR	1			1 100.0%					
	ASSISTANT MIDDLE SCHOOL PRINCI	3			100.0 % 1 33.3%		2 66.7%			
	ASSISTANT JUNIOR HIGH SCHOOL P				JJ.J /0		00.7 /0			
	ASSISTANT K-12 SCHOOL PRINCIPA	1						1		
								100.0%		

County:	CHAUTAUQUA	2003-2000								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	ASSISTANT SENIOR HIGH SCHOOL P	6			4 66.7%	2 33.3%				
	ASSISTANT JR./SR. HIGH SCHOOL									
	ASSISTANT SPECIAL SCHOOL PRINC									
	OTHER SCHOOL ADMINISTRATOR									
	PREKINDERGARTEN	20		3 15.0%	7 35.0%	4 20.0%	4 20.0%	1 5.0%	1 5.0%	
	KINDERGARTEN	89	2 2.2%	9 10.1%	19 21.3%	21 23.6%	28 31.5%	10 11.2%		
	COMMON BRANCH	451	10 2.2%	70 15.5%	100 22.2%	92 20.4%	125 27.7%	53 11.8%	1 0.2%	
	SPECIAL EDUCATION	297	6 2.0%	58 19.5%	63 21.2%	80 26.9%	72 24.2%	17 5.7%	1 0.3%	
	READING	119	3 2.5%	15 12.6%	22 18.5%	25 21.0%	37 31.1%	17 14.3%		
	ENGLISH LANGUAGE	213	7 3.3%	45 21.1%	57 26.8%	29 13.6%	52 24.4%	23 10.8%		
	FOREIGN LANGUAGE	73	5 6.8%	14 19.2%	22 30.1%	8 11.0%	18 24.7%	6 8.2%		
	BILINGUAL EDUCATION									
	ENGLISH AS A SECOND LANGUAGE	24	2 8.3%	6 25.0%	4 16.7%	3 12.5%	8 33.3%	1 4.2%		
	MATHEMATICS	188	16 8.5%	29 15.4%	46 24.5%	34 18.1%	48 25.5%	15 ^{8.0%}		
	SCIENCE	163	6 3.7%	35 21.5%	49 30.1%	30 18.4%	33 20.2%	10 6.1%		

County:	CHAUTAUQUA	2003-2000									
Jerre	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64		
	SOCIAL STUDIES	159	4 2.5%	35 22.0%	39 24.5%	37 23.3%	24 15.1%	20 12.6%			
	ART	65	2 3.1%	10 15.4%	13 20.0%	13 20.0%	19 29.2%	8 12.3%			
	MUSIC	78	3 3.8%	16 20.5%	13 16.7%	16 ^{20.5%}	27 34.6%	3 3.8%			
	ART/MUSIC	4		1 25.0%	1 25.0%	1 25.0%	1 25.0%				
	HEALTH EDUCATION	37	4 10.8%	8 21.6%	5 13.5%	5 13.5%	12 32.4%	3 8.1%			
	SAFETY EDUCATION	3			2 66.7%	1 33.3%					
	PHYSICAL EDUCATION	114	5 4.4%	24 21.1%	21 18.4%	29 25.4%	31 27.2%	4 3.5%			
	AGRICULTURE	5		2 40.0%	1 20.0%		1 20.0%	1 20.0%			
	BUSINESS/MARKETING	40		4 10.0%	9 22.5%	12 30.0%	10 25.0%	5 12.5%			
	HOME ECONOMICS	20		1 5.0%		5 25.0%	11 55.0%	3 15.0%			
	TECHNOLOGY	36	1 2.8%	7 19.4%	6 16.7%	14 38.9%	6 16.7%	2 5.6%			
	TRADE EDUCATION	7		2 28.6%	1 14.3%	2 28.6%	1 14.3%	1 14.3%			
	TECHNICAL EDUCATION	2				2 100.0%					
	HEALTH OCCUPATION										
	GENERAL OCCUPATIONAL EDUCATION	76	1 1.3%	11 14.5%	10 13.2%	24 31.6%	23 30.3%	7 9.2%			

County:	CHAUTAUQUA	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	7		1 14.3%	2 28.6%	2 28.6%	1 14.3%	1 14.3%	
	LIBRARY	34		2 5.9%	7 20.6%	9 26.5%	10 29.4%	5 14.7%	1 2.9%
	LEARNING TECHNOLOGY	1				1 100.0%			
	HUMANITIES/PERFORMING ARTS	1					1 100.0%		
	DANCE								
	THEATER	2		1 50.0%	1 50.0%				
	COMBINED COURSES	2					1 50.0%	1 50.0%	
	OTHER SUBJECT	105	5 4.8%	19 18.1%	26 24.8%	18 17.1%	25 23.8%	12 11.4%	
	HELPING TEACHER	32	1 3.1%	8 25.0%	6 18.8%	5 15.6%	11 34.4%	1 3.1%	
	GIFTED/TALENTED	3					2 66.7%	1 33.3%	
	GENERAL COOPERATIVE WORK EXPER	3				2 66.7%	1 33.3%		
	COMPUTER STUDIES	33	1 3.0%	1 3.0%	12 36.4%	7 21.2%	10 30.3%	2 6.1%	
	Summary	2338	71 3.0%	381 16.3%	509 21.8%	490 21.0%	646 27.6%	234 10.0%	7 0.3%

ounty:	CHEMUNG	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	3				1 33.3%	2 66.7%		
	SUPERINTENDENT, DEPENDENT					55.576	00.7 78		
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT								
	ASSISTANT SUPERINTENDENT SPECI	2					1 50.0%	1 50.0%	
	BUSINESS MANAGER	1				1 100.0%	50.0%	50.0%	
	ADMINISTRATIVE ASSISTANT					100.078			
	DIRECTOR/COORDINATOR	15			3 20.0%	4 26.7%	5 33.3%	3 20.0%	
	ASSISTANT DIRECTOR/COORDINATOR	2			20.076	20.776	2 100.0%	20.076	
	SUPERVISOR	2			1 50.0%		1 50.0%		
	DEPARTMENT CHAIRPERSON	12			5 41.7%	2 16.7%	3 25.0%	2 16.7%	
	ATTENDANCE TEACHER	2				1 50.0%	1 50.0%		
	SCHOOL PSYCHOLOGIST	18		2 11.1%	4 22.2%	8 44.4%	3 16.7%		1 5.6%
	SOCIAL WORKER	14		11.170	5 35.7%	21.4%	3 21.4%	3 21.4%	0.070
	GUIDANCE COUNSELOR	30	1	4	11	4	8	21.4 <i>%</i>	1

		20	105-2000						
County:	CHEMUNG	-							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	1				1 100.0%			
	SCHOOL NURSE/PRACTITIONER	35		2 5.7%	1 2.9%	17 48.6%	13 37.1%	1 2.9%	1 2.9%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	24		1 4.2%	6 25.0%	7 29.2%	7 29.2%	3 12.5%	
	ELEMENTARY SCHOOL PRINCIPAL	14		2 14.3%	1 7.1%	4 28.6%	4 28.6%	3 21.4%	
	MIDDLE SCHOOL PRINCIPAL	4			1 25.0%	1 25.0%		2 50.0%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	4				3 75.0%	1 25.0%		
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1				1 100.0%			
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	8			4 50.0%	1 12.5%	3 37.5%		
	ASSISTANT MIDDLE SCHOOL PRINCI	5			1 20.0%	2 40.0%	1 20.0%	1 20.0%	
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	CHEMUNG	20	00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	8			3 37.5%	2 25.0%	3 37.5%		
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	12	3 25.0%	2 16.7%	4 33.3%	2 16.7%	1 8.3%		
	KINDERGARTEN	48	2 4.2%	6 12.5%	13 27.1%	6 12.5%	15 31.3%	6 12.5%	
	COMMON BRANCH	235	9 3.8%	67 28.5%	57 24.3%	36 15.3%	44 18.7%	22 9.4%	
	SPECIAL EDUCATION	140	3 2.1%	24 17.1%	52 37.1%	24 17.1%	26 18.6%	10 7.1%	1 0.7%
	READING	40		3 7.5%	13 32.5%	3 7.5%	15 37.5%	5 12.5%	1 2.5%
	ENGLISH LANGUAGE	64	1 1.6%	17 26.6%	12 18.8%	7 10.9%	18 28.1%	8 12.5%	1 1.6%
	FOREIGN LANGUAGE	38	2 5.3%	6 15.8%	10 26.3%	7 18.4%	7 18.4%	6 15.8%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	2			2 100.0%				
	MATHEMATICS	65	4 6.2%	19 29.2%	15 23.1%	14 21.5%	8 12.3%	5 7.7%	
	SCIENCE	68	1 1.5%	24 35.3%	16 23.5%	13 19.1%	10 14.7%	4 5.9%	

		2003-2000								
County:	CHEMUNG									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	SOCIAL STUDIES	64	3 4.7%	12 18.8%	24 37.5%	6 ^{9.4%}	16 25.0%	3 4.7%		
	ART	35	3 8.6%	7 20.0%	8 22.9%	7 20.0%	7 20.0%	3 8.6%		
	MUSIC	50	3 6.0%	15 30.0%	6 12.0%	12 24.0%	10 20.0%	4 8.0%		
	ART/MUSIC									
	HEALTH EDUCATION	17	4 23.5%	4 23.5%	3 17.6%	5 29.4%	1 5.9%			
	SAFETY EDUCATION									
	PHYSICAL EDUCATION	52	5 9.6%	9 17.3%	15 28.8%	14 26.9%	8 15.4%	1 1.9%		
	AGRICULTURE		0.070	11.070	20.070	20.070	10.170	1.070		
	BUSINESS/MARKETING	11		1 9.1%	3 27.3%	2 18.2%	4 36.4%	1 9.1%		
	HOME ECONOMICS	8		3.170	21.570	25.0%	30.4 <i>%</i> 3 37.5%	3.1% 37.5%		
	TECHNOLOGY	6	16 7%		16.7%	2	57.370	2		
	TRADE EDUCATION		16.7%		16.7%	33.3%		33.3%		
	TECHNICAL EDUCATION									
	HEALTH OCCUPATION	3				1	1	1		
	GENERAL OCCUPATIONAL EDUCATION	18	1 5.6%	4	2	33.3% 1 5.6%	33.3% 8	33.3% 2		

County:	CHEMUNG	-	00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	1				1 100.0%			
	LIBRARY	20			5 25.0%	3 15.0%	9 45.0%	3 15.0%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER								
	COMBINED COURSES								
	OTHER SUBJECT	51		11 21.6%	12 23.5%	11 21.6%	13 25.5%	4 7.8%	
	HELPING TEACHER	4			2 50.0%		2 50.0%		
	GIFTED/TALENTED	2			·		1 50.0%	1 50.0%	
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	1			1 100.0%				
	Summary	1164	44 3.8%	227 19.5%	298 25.6%	223 19.2%	262 22.5%	104 8.9%	6 0.5%

County:	CHENANGO	2003-2000								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	SUPERINTENDENT, INDEPENDENT	1				1 100.0%				
	SUPERINTENDENT, DEPENDENT	7			1 14.3%	100.0 %	6 85.7%			
	DEPUTY OR ASSOCIATE SUPERINTEN	1					1 100.0%			
	ASSISTANT SUPERINTENDENT									
	ASSISTANT SUPERINTENDENT SPECI	2				1 50.0%		1 50.0%		
	BUSINESS MANAGER	3				2 66.7%	1 33.3%			
	ADMINISTRATIVE ASSISTANT									
	DIRECTOR/COORDINATOR	16			2 12.5%	8 50.0%	5 31.3%	1 6.3%		
	ASSISTANT DIRECTOR/COORDINATOR	1	1 100.0%							
	SUPERVISOR									
	DEPARTMENT CHAIRPERSON	17		1 5.9%	2 11.8%	4 23.5%	6 35.3%	3 17.6%	1 5.9%	
	ATTENDANCE TEACHER	1					1 100.0%			
	SCHOOL PSYCHOLOGIST	11		8 72.7%		2 18.2%	1 9.1%			
	SOCIAL WORKER	4		2 50.0%		2 50.0%				
	GUIDANCE COUNSELOR	30	1 3.3%	4 13.3%	10 33.3%	7 23.3%	6 20.0%	2 6.7%		

		4 0	103-2000						
County:	CHENANGO								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	2					1	1	
	SCHOOL NURSE/PRACTITIONER	16		1	3	3	50.0% 4	^{50.0%}	
	DENTAL HYGIENIST			6.3%	18.8%	18.8%	25.0%	31.3%	
	OTHER NONTEACHING	4		1	1		2		
	ELEMENTARY SCHOOL PRINCIPAL	10		25.0%	25.0%	3	50.0% 4	3	
	MIDDLE SCHOOL PRINCIPAL	6			2	30.0% 1	40.0% 2	30.0% 1	
	JUNIOR HIGH SCHOOL PRINCIPAL	0			33.3%	16.7%	33.3%	16.7%	
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	6			1	1	2	2	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	2			16.7%	16.7% 1	33.3%	33.3% 1	
	SPECIAL SCHOOL PRINCIPAL					50.0%		50.0%	
	ASSISTANT ELEMENTARY SCHOOL PR	1					1		
	ASSISTANT MIDDLE SCHOOL PRINCI	1			1		100.0%		
	ASSISTANT JUNIOR HIGH SCHOOL P				100.0%				
	ASSISTANT K-12 SCHOOL PRINCIPA	1				1			
		•				100.0%			

Stat-Cd Count Under-26 26-32 33-40 41-48 4 ASSISTANT SENIOR HIGH SCHOOL P 1	19-56 57-64	4 Over-64
ASSISTANT SENIOR HIGH SCHOOL P 1 1		
100.0%		
ASSISTANT JR./SR. HIGH SCHOOL		
ASSISTANT SPECIAL SCHOOL PRINC		
OTHER SCHOOL ADMINISTRATOR		
PREKINDERGARTEN 5 1 1 1 20.0% 20.0% 20.0% 40	2 0.0%	
KINDERGARTEN 39 6 8 6 15.4% 20.5% 15.4% 41	16 3	
COMMON BRANCH 180 1 31 37 45 0.6% 17.2% 20.6% 25.0% 25	46 20 5.6% 11.1%	
SPECIAL EDUCATION 132 5 35 21 30 3.8% 26.5% 15.9% 22.7% 22	29 1 1 2.0% 8.3%	
READING 55 2 6 9 13 3.6% 10.9% 16.4% 23.6% 32	18 7 2.7% 12.7%	
ENGLISH LANGUAGE 70 4 16 13 15 5.7% 22.9% 18.6% 21.4% 21	15 7	
FOREIGN LANGUAGE 32 3 5 8 6 9.4% 15.6% 25.0% 18.8% 18	6 4 3.8% 12.5%	
BILINGUAL EDUCATION		
ENGLISH AS A SECOND LANGUAGE 1 1 100.0%		
MATHEMATICS 68 4 14 19 15 5.9% 20.6% 27.9% 22.1% 17	12 4 7.6% 5.9%	
SCIENCE 66 1 19 15 9 1.5% 28.8% 22.7% 13.6% 24	16 6 4.2% 9.1%	

Count	Under-26	26-32					
Count	Under-26	26.22					
		20-32	33-40	41-48	49-56	57-64	Over-64
64	2 3.1%	11 17.2%	15 23.4%	18 28.1%	13 20.3%	5 7.8%	
29		5 17.2%	4 13.8%	3 10.3%	14 48.3%	3 10.3%	
38	2 5.3%	6 15.8%	5 13.2%	10 26.3%	12 31.6%	1 2.6%	2 5.3%
13		3 23.1%	4 30.8%	1 7.7%	2 15.4%	3 23.1%	
1			1 100.0%				
52	1 1.9%	14 26.9%	11 21.2%	13 25.0%	11 21.2%	2 3.8%	
4			1 25.0%		3 75.0%		
		2 22.2%	22.2%	3 33.3%	1 11.1%	1 11.1%	
			20.0%	40.0%	20.0%	1 20.0%	
	1 14.3%	1 14.3%	28.6%	2 28.6%	1 14.3%		
1			1 100.0%				
18		2 11.1%	1 5.6%	6 33.3%	6 33.3%	3 16.7%	
	29 38 13 1 52 4 9 5 7 1	$\begin{array}{c} 3.1\% \\ 29 \\ 38 \\ 2 \\ 5.3\% \\ 13 \\ 1 \\ 1 \\ 52 \\ 1 \\ 1.9\% \\ 4 \\ 9 \\ 5 \\ 7 \\ 1 \\ 1 \\ 14.3\% \end{array}$	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$

County:	CHENANGO		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	2					1 50.0%	1 50.0%	
	LIBRARY	17		1 5.9%	4 23.5%	2 11.8%	7 41.2%	3 17.6%	
	LEARNING TECHNOLOGY	2			1 50.0%		1 50.0%		
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1							1 100.0%
	COMBINED COURSES								
	OTHER SUBJECT	69		21 30.4%	16 23.2%	15 21.7%	15 21.7%	2 2.9%	
	HELPING TEACHER	6					4 66.7%	2 33.3%	
	GIFTED/TALENTED	2		1 50.0%		1 50.0%			
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	6		1 16.7%	1 16.7%	2 33.3%	2 33.3%		
	Summary	981	26 2.7%	189 19.3%	190 19.4%	220 22.4%	258 26.3%	94 9.6%	4 0.4%

			105-2000						
County:	CLINTON	-							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	5					5 100.0%		
	SUPERINTENDENT, DEPENDENT	4			1 25.0%		1 25.0%	2 50.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN	1						1 100.0%	
	ASSISTANT SUPERINTENDENT	1				1 100.0%			
	ASSISTANT SUPERINTENDENT SPECI								
	BUSINESS MANAGER	2			1 50.0%	1 50.0%			
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	28		2 7.1%	7 25.0%	6 21.4%	9 32.1%	4 14.3%	
	ASSISTANT DIRECTOR/COORDINATOR	1					1 100.0%		
	SUPERVISOR	4				2 50.0%	1 25.0%		1 25.0%
	DEPARTMENT CHAIRPERSON	20			4 20.0%	8 40.0%	7 35.0%	1 5.0%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	39		6 15.4%	8 20.5%	9 23.1%	11 28.2%	4 10.3%	1 2.6%
	SOCIAL WORKER	4				2 50.0%	1 25.0%	1 25.0%	
	GUIDANCE COUNSELOR	50	1 2.0%	6 12.0%	18 36.0%	12 24.0%	9 18.0%	4 8.0%	

County:	CLINTON	20	103-2000							
county.	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	NURSE TEACHER	7				1	4	2		
	SCHOOL NURSE/PRACTITIONER	27		1 3.7%	5 18.5%	14.3% 13 48.1%	57.1% 5 18.5%	28.6% 2 7.4%	1 3.7%	
	DENTAL HYGIENIST			0.170	10.076	40.170	10.076	7.470	5.770	
	OTHER NONTEACHING	21		2 9.5%	5 23.8%	6 28.6%	5 23.8%	3 14.3%		
	ELEMENTARY SCHOOL PRINCIPAL	16			4 25.0%	3 18.8%	5 31.3%	4 25.0%		
	MIDDLE SCHOOL PRINCIPAL	5				3 60.0%	2 40.0%			
	JUNIOR HIGH SCHOOL PRINCIPAL	1				1 100.0%				
	K-12 SCHOOL PRINCIPAL									
	SENIOR HIGH SCHOOL PRINCIPAL	6				4 66.7%	2 33.3%			
	JUNIOR/SENIOR HIGH SCHOOL PRIN	2					2 100.0%			
	SPECIAL SCHOOL PRINCIPAL									
	ASSISTANT ELEMENTARY SCHOOL PR									
	ASSISTANT MIDDLE SCHOOL PRINCI ASSISTANT JUNIOR HIGH SCHOOL P									
	ASSISTANT JUNIOR HIGH SCHOOL P									

County:	CLINTON	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	1			1 100.0%				
	ASSISTANT JR./SR. HIGH SCHOOL	3				1 33.3%	2 66.7%		
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	2					2 100.0%		
	KINDERGARTEN	47		6 12.8%	10 21.3%	13 27.7%	12 25.5%	6 12.8%	
	COMMON BRANCH	228	1 0.4%	37 16.2%	51 22.4%	59 25.9%	53 23.2%	26 11.4%	1 0.4%
	SPECIAL EDUCATION	254	4 1.6%	50 19.7%	55 21.7%	60 23.6%	67 26.4%	18 7.1%	
	READING	45		13 28.9%	10 22.2%	7 15.6%	12 26.7%	2 4.4%	1 2.2%
	ENGLISH LANGUAGE	94	3 3.2%	21 22.3%	26 27.7%	20 21.3%	19 20.2%	5 5.3%	
	FOREIGN LANGUAGE	47	3 6.4%	10 21.3%	9 19.1%	7 14.9%	12 25.5%	6 12.8%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	1		1 100.0%					
	MATHEMATICS	101	3 3.0%	21 20.8%	32 31.7%	20 19.8%	16 15.8%	9 8.9%	
	SCIENCE	91	1 1.1%	15 16.5%	25 27.5%	25 27.5%	21 23.1%	4 4.4%	

	CLINTON <i>tat-Cd</i>	-	05-2000						
	'tat_Cd								
	<i>uui-</i> Cu	Count	Under-26	26-32	33-40	41-48	49-56	57 -64	Over-64
SC	OCIAL STUDIES	88	2 2.3%	20 22.7%	27 30.7%	15 17.0%	16 18.2%	8 9.1%	
AF	RT	34		5 14.7%	8 23.5%	9 26.5%	8 23.5%	3 8.8%	1 2.9%
М	USIC	42	1 2.4%	12 28.6%	9 21.4%	7 16.7%	8 19.0%	5 11.9%	
AF	RT/MUSIC	2		2 100.0%					
HI	EALTH EDUCATION	16	1 6.3%	1 6.3%	4 25.0%	2 12.5%	7 43.8%	1 6.3%	
SA	AFETY EDUCATION	4				1 25.0%	1 25.0%	1 25.0%	1 25.0%
Pł	HYSICAL EDUCATION	60	7 11.7%	5 8.3%	13 21.7%	11 18.3%	21 35.0%	2 3.3%	1 1.7%
AC	GRICULTURE	3		1 33.3%			2 66.7%		
BI	USINESS/MARKETING	18			4 22.2%	9 50.0%	1 5.6%	4 22.2%	
Н	OME ECONOMICS	5			1 20.0%	2 40.0%	2 40.0%		
TE	ECHNOLOGY	19		1 5.3%	4 21.1%	5 26.3%	7 36.8%	2 10.5%	
TF	RADE EDUCATION	18			4 22.2%	6 33.3%	6 33.3%	2 11.1%	
TE	ECHNICAL EDUCATION								
HI	EALTH OCCUPATION	3				1 33.3%	2 66.7%		
G	ENERAL OCCUPATIONAL EDUCATION	31		5 16.1%	8 25.8%	3 9.7%	10 32.3%	4 12.9%	1 3.2%

County:	CLINTON	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	4			2 50.0%	1 25.0%	1 25.0%		
	LIBRARY	20		3 15.0%	1 5.0%	3 15.0%	8 40.0%	5 25.0%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1		1 100.0%					
	COMBINED COURSES	3			2 66.7%		1 33.3%		
	OTHER SUBJECT	135	2 1.5%	29 21.5%	34 25.2%	30 22.2%	29 21.5%	11 8.1%	
	HELPING TEACHER	1				1 100.0%			
	GIFTED/TALENTED	4		1 25.0%	1 25.0%	1 25.0%	1 25.0%		
	GENERAL COOPERATIVE WORK EXPER	1					1 100.0%		
	COMPUTER STUDIES	5		1 20.0%	2 40.0%	1 20.0%		1 20.0%	
	Summary	1467	26 1.8%	234 16.0%	339 23.1%	349 23.8%	369 25.2%	141 9.6%	9 0.6%

County:	COLUMBIA		05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT								
	SUPERINTENDENT, DEPENDENT	6			1 16.7%	1 16.7%	1 16.7%	2 33.3%	1 16.7%
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	2			1 50.0%		1 50.0%		
	ASSISTANT SUPERINTENDENT SPECI				50.0%		50.0%		
	BUSINESS MANAGER	3				2	1		
	ADMINISTRATIVE ASSISTANT					66.7%	33.3%		
	DIRECTOR/COORDINATOR	7			3	1	1	2	
	ASSISTANT DIRECTOR/COORDINATOR				42.9%	14.3%	14.3%	28.6%	
	SUPERVISOR	2					1	1	
	DEPARTMENT CHAIRPERSON	41			2	13	50.0% 20	50.0% 5	1
	ATTENDANCE TEACHER				4.9%	31.7%	48.8%	12.2%	2.4%
	SCHOOL PSYCHOLOGIST	15		2	5 33.3%	1	5	2	
	SOCIAL WORKER	9		13.3% 1 11.1%	33.3%	6.7% 2 22.2%	33.3% 6 66.7%	13.3%	
	GUIDANCE COUNSELOR	22		11.1% 4 18.2%	8 36.4%	22.2 % 5 22.7%	9.1%	3 13.6%	

County:	COLUMBIA	20	105-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	1					1 100.0%		
	SCHOOL NURSE/PRACTITIONER	14			3 21.4%	4 28.6%	6 42.9%	1 7.1%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	4		2 50.0%	2 50.0%				
	ELEMENTARY SCHOOL PRINCIPAL	8			1 12.5%	1 12.5%	3 37.5%	3 37.5%	
	MIDDLE SCHOOL PRINCIPAL	4				1 25.0%	3 75.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	5				2 40.0%	2 40.0%	1 20.0%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	2				10.070	101070	20.0%	
	SPECIAL SCHOOL PRINCIPAL							100.070	
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI	4			1 25.0%		1 25.0%	2 50.0%	
	ASSISTANT JUNIOR HIGH SCHOOL P				23.0%		20.0%	50.0%	
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	COLUMBIA								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	2			1 50.0%			1 50.0%	
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	1				1 100.0%			
	PREKINDERGARTEN	1		1 100.0%					
	KINDERGARTEN	33	1 3.0%	9 27.3%	9 27.3%	5 15.2%	7 21.2%	2 6.1%	
	COMMON BRANCH	166	1 0.6%	29 17.5%	36 21.7%	39 23.5%	45 27.1%	15 9.0%	1 0.6%
	SPECIAL EDUCATION	117	2 1.7%	13 11.1%	29 24.8%	29 24.8%	31 26.5%	13 11.1%	
	READING	48		11 22.9%	14 29.2%	7 14.6%	12 25.0%	4 8.3%	
	ENGLISH LANGUAGE	65		12 18.5%	15 23.1%	17 26.2%	19 29.2%	2 3.1%	
	FOREIGN LANGUAGE	31		5 16.1%	5 16.1%	8 25.8%	8 25.8%	5 16.1%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	9		1 11.1%	2 22.2%	2 22.2%	4 44.4%		
	MATHEMATICS	83	7 8.4%	15 18.1%	14 16.9%	17 20.5%	25 30.1%	4 4.8%	1 1.2%
	SCIENCE	70		14 20.0%	19 27.1%	12 17.1%	21 30.0%	4 5.7%	

		21	105-2000						
County:	COLUMBIA	_							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	62	3 4.8%	15 24.2%	12 19.4%	10 16.1%	13 21.0%	9 14.5%	
	ART	28		4 14.3%	2 7.1%	3 10.7%	11 39.3%	8 28.6%	
	MUSIC	34	1 2.9%	9 26.5%	4 11.8%	8 23.5%	9 26.5%	3 8.8%	
	ART/MUSIC	1					1 100.0%		
	HEALTH EDUCATION	12		4 33.3%	2 16.7%	1 8.3%	4 33.3%	1 8.3%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	49	2 4.1%	7 14.3%	16 32.7%	9 18.4%	11 22.4%	4 8.2%	
	AGRICULTURE								
	BUSINESS/MARKETING	7		2 28.6%	2 28.6%	1 14.3%	1 14.3%	1 14.3%	
	HOME ECONOMICS	8	1 12.5%	2 25.0%		1 12.5%	3 37.5%	1 12.5%	
	TECHNOLOGY	12		3 25.0%	1 8.3%	4 33.3%	3 25.0%	1 8.3%	
	TRADE EDUCATION	2		1 50.0%			1 50.0%		
	TECHNICAL EDUCATION	1		1 100.0%					
	HEALTH OCCUPATION								
	GENERAL OCCUPATIONAL EDUCATION	20	2 10.0%	2 10.0%	2 10.0%	3 15.0%	8 40.0%	2 10.0%	1 5.0%

		21	105-2000						
County:	COLUMBIA								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE								
	LIBRARY	16		2 12.5%	1 6.3%	3 18.8%	7 43.8%	2 12.5%	1 6.3%
	LEARNING TECHNOLOGY			12.070	0.070	10.070	-0.070	12.070	0.070
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1						1 100.0%	
	COMBINED COURSES	1					1 100.0%	100.0%	
	OTHER SUBJECT	43		7 16.3%	7 16.3%	11 25.6%	12 27.9%	6 14.0%	
	HELPING TEACHER						*		
	GIFTED/TALENTED	3			1 33.3%		2 66.7%		
	GENERAL COOPERATIVE WORK EXPER	1					1 100.0%		
	COMPUTER STUDIES	13		1 7.7%	3 23.1%	2 15.4%	5 38.5%	2 15.4%	
	Summary	908	18 2.0%	153 16.9%	193 21.3%	191 21.0%	253 27.9%	95 10.5%	5 0.6%

County:	CORTLAND		03-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	2					1 50.0%	1 50.0%	
	SUPERINTENDENT, DEPENDENT	3				1 33.3%	2 66.7%		
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1				1 100.0%			
	ASSISTANT SUPERINTENDENT SPECI					100.070			
	BUSINESS MANAGER	3					2 66.7%	1 33.3%	
	ADMINISTRATIVE ASSISTANT						00.7 /6	55.576	
	DIRECTOR/COORDINATOR	20				6	8	6	
	ASSISTANT DIRECTOR/COORDINATOR					30.0%	40.0%	30.0%	
	SUPERVISOR	3					2 66.7%	1 33.3%	
	DEPARTMENT CHAIRPERSON	11			1 9.1%	5 45.5%	4 36.4%	9.1%	
	ATTENDANCE TEACHER				3.170	40.070	30.470	5.170	
	SCHOOL PSYCHOLOGIST	9		1 11.1%	2	2	3	1 11.1%	
	SOCIAL WORKER	10		11.1%	22.2% 3	22.2% 2	33.3% 4	1	
	GUIDANCE COUNSELOR	20		3	30.0% 5	20.0% 2	40.0% 5	10.0% 5	

		20	103-2000						
County:	CORTLAND								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	1			1 100.0%				
	SCHOOL NURSE/PRACTITIONER	15			2 13.3%	4 26.7%	3 20.0%	6 40.0%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	5			1 20.0%		4 80.0%		
	ELEMENTARY SCHOOL PRINCIPAL	11			4 36.4%	1 9.1%	4 36.4%	2 18.2%	
	MIDDLE SCHOOL PRINCIPAL	1				1 100.0%			
	JUNIOR HIGH SCHOOL PRINCIPAL	1				1 100.0%			
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	4			1 25.0%	1 25.0%	1 25.0%	1 25.0%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	4			1 25.0%		3 75.0%		
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI								
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	CORTLAND	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	1						1	
	ASSISTANT JR./SR. HIGH SCHOOL							100.0%	
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	2		1 50.0%		1 50.0%			
	KINDERGARTEN	31	3 9.7%	6 19.4%	7 22.6%	4 12.9%	6 19.4%	5 16.1%	
	COMMON BRANCH	168	2 1.2%	30 17.9%	33 19.6%	47 28.0%	38 22.6%	18 10.7%	
	SPECIAL EDUCATION	87	3 3.4%	11 12.6%	24 27.6%	20 23.0%	24 27.6%	5 5.7%	
	READING	26		2 7.7%	9 34.6%	4 15.4%	10 38.5%	1 3.8%	
	ENGLISH LANGUAGE	63	3 4.8%	13 20.6%	14 22.2%	17 27.0%	13 20.6%	3 4.8%	
	FOREIGN LANGUAGE	24	2 8.3%	8 33.3%		8 33.3%	5 20.8%	1 4.2%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	1					1 100.0%		
	MATHEMATICS	60	1 1.7%	7 11.7%	12 20.0%	19 31.7%	14 23.3%	7 11.7%	
	SCIENCE	54		6 11.1%	9 16.7%	17 31.5%	19 35.2%	3 5.6%	

		20	103-2000						
County:	CORTLAND								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- 64	Over-64
	SOCIAL STUDIES	48		11 22.9%	13 27.1%	13 27.1%	6 12.5%	5 10.4%	
	ART	20	1 5.0%	2 10.0%	2 10.0%	3 15.0%	6 30.0%	6 30.0%	
	MUSIC	27	3 11.1%	3 11.1%	6 22.2%	5 18.5%	8 29.6%	2 7.4%	
	ART/MUSIC								
	HEALTH EDUCATION	10	1 10.0%	4 40.0%	1 10.0%	4 40.0%			
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	33		5 15.2%	4 12.1%	12 36.4%	11 33.3%	1 3.0%	
	AGRICULTURE								
	BUSINESS/MARKETING	8			3 37.5%	3 37.5%	1 12.5%	1 12.5%	
	HOME ECONOMICS	5			2 40.0%	1 20.0%	2 40.0%		
	TECHNOLOGY	10	1 10.0%		2 20.0%	6 60.0%		1 10.0%	
	TRADE EDUCATION								
	TECHNICAL EDUCATION	1				1 100.0%			
	HEALTH OCCUPATION	1				1 100.0%			
	GENERAL OCCUPATIONAL EDUCATION	16		1 6.3%	5 31.3%	5 31.3%	5 31.3%		

		4 0	103-2000						
County:	CORTLAND								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE								
	LIBRARY	15	2 13.3%		2 13.3%	3 20.0%	7 46.7%		1 6.7%
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER								
	COMBINED COURSES								
	OTHER SUBJECT	33	1 3.0%	11 33.3%	5 15.2%	4 12.1%	8 24.2%	4 12.1%	
	HELPING TEACHER		0.070	00.075	10.270	12.170	21.270	12.170	
	GIFTED/TALENTED	2			1 50.0%		1 50.0%		
	GENERAL COOPERATIVE WORK EXPER				50.070		50.070		
	COMPUTER STUDIES	8	1 12.5%	2 25.0%	2 25.0%	3 37.5%			
	Summary	742	22 3.0%	111 15.0%	153 20.6%	180 24.3%	201 27.1%	74 10.0%	1 0.1%

County:	DELAWARE	20	05-2000						
county.		C	II. J. 00	26.22	22.40	41 40	10 50	57.64	0
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	2						2	
								100.0%	
	SUPERINTENDENT, DEPENDENT	11			1	2	4	4	
	DEPUTY OR ASSOCIATE SUPERINTEN				9.1%	18.2%	36.4%	36.4%	
	ASSISTANT SUPERINTENDENT	2			1			1	
					50.0%			50.0%	
	ASSISTANT SUPERINTENDENT SPECI	1				1			
					<u> </u>	100.0%	,		
	BUSINESS MANAGER	4			2 50.0%		1 25.0%	1 25.0%	
	ADMINISTRATIVE ASSISTANT	1			1		20.070	20.070	
					100.0%				
	DIRECTOR/COORDINATOR	32		1	10	7	9	4	1
				3.1%	31.3%	21.9%	28.1%	12.5%	3.1%
	ASSISTANT DIRECTOR/COORDINATOR	1						1	
	SUPERVISOR	Л		2		1	1	100.0%	
	SUPERVISOR	4		∠ 50.0%		ا 25.0%	ا 25.0%		
	DEPARTMENT CHAIRPERSON	5		1		1	2	1	
		-		20.0%		20.0%	40.0%	20.0%	
	ATTENDANCE TEACHER								
				0	0	0		0	
	SCHOOL PSYCHOLOGIST	11		3 27.3%	2 18.2%	2 18.2%	1 9.1%	3 27.3%	
	SOCIAL WORKER	5		21.070	2	10.2 /8	2	21.070	
		5			40.0%	20.0%	4 0.0%		
	GUIDANCE COUNSELOR	27	1	7	7	2	7	3	
			3.7%	25.9%	25.9%	7.4%	25.9%	11.1%	

County:	DELAWARE	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	3					2 66.7%	1 33.3%	
	SCHOOL NURSE/PRACTITIONER	16		3 18.8%	1 6.3%	4 25.0%	5 31.3%	2 12.5%	1 6.3%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	8		1 12.5%	3 37.5%	1 12.5%	3 37.5%		
	ELEMENTARY SCHOOL PRINCIPAL	4			1 25.0%	1 25.0%	2 50.0%		
	MIDDLE SCHOOL PRINCIPAL	2			1 50.0%		1 50.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	6			1 16.7%	2 33.3%	2 33.3%	1 16.7%	
	SENIOR HIGH SCHOOL PRINCIPAL	2			2 100.0%				
	JUNIOR/SENIOR HIGH SCHOOL PRIN	3				2 66.7%		1 33.3%	
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI								
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	DELAWARE	-	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	1					1 100.0%		
	ASSISTANT JR./SR. HIGH SCHOOL	4		2 50.0%		1 25.0%		1 25.0%	
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	4			1 25.0%	2 50.0%	1 25.0%		
	KINDERGARTEN	30	2 6.7%	6 20.0%	9 30.0%	4 13.3%	7 23.3%	2 6.7%	
	COMMON BRANCH	142	3 2.1%	22 15.5%	30 21.1%	33 23.2%	39 27.5%	15 10.6%	
	SPECIAL EDUCATION	138	7 5.1%	32 23.2%	28 20.3%	28 20.3%	35 25.4%	8 5.8%	
	READING	37	2 5.4%	4 10.8%	4 10.8%	8 21.6%	14 37.8%	5 13.5%	
	ENGLISH LANGUAGE	69	5 7.2%	13 18.8%	13 18.8%	9 13.0%	24 34.8%	4 5.8%	1 1.4%
	FOREIGN LANGUAGE	26	4 15.4%	9 34.6%	1 3.8%	5 19.2%	5 19.2%	2 7.7%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	3		1 33.3%	1 33.3%			1 33.3%	
	MATHEMATICS	61	1 1.6%	12 19.7%	11 18.0%	12 19.7%	17 27.9%	8 13.1%	
	SCIENCE	57	1 1.8%	11 19.3%	11 19.3%	9 15.8%	21 36.8%	4 7.0%	

		20	103-2000						
County:	DELAWARE								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	57	2 3.5%	13 22.8%	17 29.8%	9 15.8%	12 21.1%	4 7.0%	
	ART	26	2 7.7%	1 3.8%	8 30.8%	7 26.9%	6 23.1%	2 7.7%	
	MUSIC	33	1 3.0%	5 15.2%	2 6.1%	8 24.2%	12 36.4%	5 15.2%	
	ART/MUSIC								
	HEALTH EDUCATION	20			5 25.0%	7 35.0%	6 30.0%	2 10.0%	
	SAFETY EDUCATION	6				2 33.3%	1 16.7%	3 50.0%	
	PHYSICAL EDUCATION	45	1 2.2%	4 8.9%	12 26.7%	11 24.4%	16 35.6%	1 2.2%	
	AGRICULTURE	6		1 16.7%	1 16.7%	2 33.3%	2 33.3%		
	BUSINESS/MARKETING	17			5 29.4%	4 23.5%	5 29.4%	3 17.6%	
	HOME ECONOMICS	15	1 6.7%		1 6.7%	3 20.0%	6 40.0%	3 20.0%	1 6.7%
	TECHNOLOGY	15		1 6.7%	6 40.0%	2 13.3%	3 20.0%	2 13.3%	1 6.7%
	TRADE EDUCATION	17			4 23.5%	1 5.9%	7 41.2%	5 29.4%	
	TECHNICAL EDUCATION	1				1 100.0%			
	HEALTH OCCUPATION	3					3 100.0%		
	GENERAL OCCUPATIONAL EDUCATION	26	2 7.7%		6 23.1%	6 23.1%	7 26.9%	4 15.4%	1 3.8%

County:	DELAWARE	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	5			1 20.0%	2 40.0%	1 20.0%	1 20.0%	
	LIBRARY	15				5 33.3%	7 46.7%	2 13.3%	1 6.7%
	LEARNING TECHNOLOGY	2				2 100.0%			
	HUMANITIES/PERFORMING ARTS								
	DANCE	1					1 100.0%		
	THEATER								
	COMBINED COURSES	1			1 100.0%				
	OTHER SUBJECT	63	3 4.8%	9 14.3%	11 17.5%	15 23.8%	18 28.6%	6 9.5%	1 1.6%
	HELPING TEACHER	1	1 100.0%						
	GIFTED/TALENTED	1					1 100.0%		
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	7			1 14.3%	3 42.9%	1 14.3%	2 28.6%	
	Summary	914	35 3.8%	140 15.3%	182 19.9%	187 20.5%	264 28.9%	100 10.9%	6 0.7%

Country		20	103-2000						
County:	DUTCHESS								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	7				1 14.3%		5 71.4%	1 14.3%
	SUPERINTENDENT, DEPENDENT	7				1 14.3%	4 57.1%	1 14.3%	1 14.3%
	DEPUTY OR ASSOCIATE SUPERINTEN	6			1 16.7%		1 16.7%	4 66.7%	
	ASSISTANT SUPERINTENDENT	5				1 20.0%	2 40.0%	2 40.0%	
	ASSISTANT SUPERINTENDENT SPECI	15			1 6.7%	3 20.0%	4 26.7%	7 46.7%	
	BUSINESS MANAGER	5				1 20.0%	3 60.0%	1 20.0%	
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	71		3 4.2%	6 8.5%	14 19.7%	28 39.4%	20 28.2%	
	ASSISTANT DIRECTOR/COORDINATOR	6		1 16.7%		2 33.3%	3 50.0%		
	SUPERVISOR	6		1 16.7%	1 16.7%	2 33.3%		2 33.3%	
	DEPARTMENT CHAIRPERSON	28			2 7.1%	6 21.4%	11 39.3%	8 28.6%	1 3.6%
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	67		15 22.4%	13 19.4%	11 16.4%	19 28.4%	8 11.9%	1 1.5%
	SOCIAL WORKER	44		4 9.1%	12 27.3%	9 20.5%	9 20.5%	10 22.7%	
	GUIDANCE COUNSELOR	91		15 16.5%	26 28.6%	21 23.1%	22 24.2%	7 7.7%	

County:	DUTCHESS	20	105-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	3					1 33.3%	2 66.7%	
	SCHOOL NURSE/PRACTITIONER	79		1 1.3%	4 5.1%	16 20.3%	38 48.1%	18 22.8%	2 2.5%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	40		3 7.5%	4 10.0%	8 20.0%	15 37.5%	9 22.5%	1 2.5%
	ELEMENTARY SCHOOL PRINCIPAL	48			5 10.4%	9 18.8%	18 37.5%	16 33.3%	
	MIDDLE SCHOOL PRINCIPAL	13		1 7.7%	4 30.8%	2 15.4%	6 46.2%		
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	17			2 11.8%	2 11.8%	9 52.9%	3 17.6%	1 5.9%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	2			1 50.0%	1 50.0%			
	SPECIAL SCHOOL PRINCIPAL	2					2 100.0%		
	ASSISTANT ELEMENTARY SCHOOL PR	6		2 33.3%		2 33.3%	2 33.3%		
	ASSISTANT MIDDLE SCHOOL PRINCI	13		2 15.4%	3 23.1%	5 38.5%	3 23.1%		
	ASSISTANT JUNIOR HIGH SCHOOL P	11		1 9.1%	6 54.5%	1 9.1%	3 27.3%		
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	DUTCHESS	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	18			7 38.9%	6 33.3%	4 22.2%	1 5.6%	
	ASSISTANT JR./SR. HIGH SCHOOL	2		1 50.0%	1 50.0%				
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	1						1 100.0%	
	PREKINDERGARTEN	4	1 25.0%	1 25.0%	2 50.0%				
	KINDERGARTEN	122		24 19.7%	31 25.4%	24 19.7%	25 20.5%	11 9.0%	7 5.7%
	COMMON BRANCH	858	24 2.8%	197 23.0%	198 23.1%	131 15.3%	189 22.0%	116 13.5%	3 0.3%
	SPECIAL EDUCATION	614	22 3.6%	123 20.0%	107 17.4%	118 19.2%	178 29.0%	66 10.7%	
	READING	155	3 1.9%	28 18.1%	26 16.8%	28 18.1%	44 28.4%	26 16.8%	
	ENGLISH LANGUAGE	325	12 3.7%	76 23.4%	85 26.2%	49 15.1%	72 22.2%	31 9.5%	
	FOREIGN LANGUAGE	142	12 8.5%	22 15.5%	25 17.6%	23 16.2%	42 29.6%	18 12.7%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	44	1 2.3%	7 15.9%	9 20.5%	10 22.7%	10 22.7%	7 15.9%	
	MATHEMATICS	296	17 5.7%	61 20.6%	54 18.2%	56 18.9%	75 25.3%	31 10.5%	2 0.7%
	SCIENCE	266	6 2.3%	66 24.8%	48 18.0%	62 23.3%	55 20.7%	26 ^{9.8%}	3 1.1%

County:	DUTCHESS	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	258	9 3.5%	74 28.7%	66 25.6%	45 17.4%	42 16.3%	22 8.5%	
	ART	128	1 0.8%	23 18.0%	22 17.2%	19 14.8%	48 37.5%	14 10.9%	1 0.8%
	MUSIC	160	18 11.3%	38 23.8%	15 ^{9.4%}	35 21.9%	44 27.5%	9 5.6%	1 0.6%
	ART/MUSIC	1				1 100.0%			
	HEALTH EDUCATION	52	3 5.8%	18 34.6%	9 17.3%	6 11.5%	15 28.8%	1 1.9%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	177	7 4.0%	43 24.3%	40 22.6%	30 16.9%	40 22.6%	16 ^{9.0%}	1 0.6%
	AGRICULTURE	2		1 50.0%		1 50.0%			
	BUSINESS/MARKETING	37		5 13.5%	7 18.9%	9 24.3%	12 32.4%	4 10.8%	
	HOME ECONOMICS	22		3 13.6%	1 4.5%	4 18.2%	13 59.1%	1 4.5%	
	TECHNOLOGY	34	3 8.8%	4 11.8%	6 17.6%	4 11.8%	14 41.2%	3 8.8%	
	TRADE EDUCATION	19			4 21.1%	4 21.1%	6 31.6%	4 21.1%	1 5.3%
	TECHNICAL EDUCATION	2			1 50.0%	1 50.0%			
	HEALTH OCCUPATION	8			2 25.0%	37.5%	1 12.5%	1 12.5%	1 12.5%
	GENERAL OCCUPATIONAL EDUCATION	62	2 3.2%	8 12.9%	7 11.3%	15 24.2%	26 41.9%	6.5%	

County:	DUTCHESS	-0	00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	10			2 20.0%	3 30.0%	3 30.0%	2 20.0%	
	LIBRARY	67		3 4.5%	14 20.9%	11 16.4%	20 29.9%	19 28.4%	
	LEARNING TECHNOLOGY	3				2 66.7%		1 33.3%	
	HUMANITIES/PERFORMING ARTS	1			1 100.0%				
	DANCE								
	THEATER	3			1 33.3%	1 33.3%	1 33.3%		
	COMBINED COURSES	1						1 100.0%	
	OTHER SUBJECT	113	5 4.4%	25 22.1%	25 22.1%	17 15.0%	31 27.4%	9 8.0%	1 0.9%
	HELPING TEACHER	2					2 100.0%		
	GIFTED/TALENTED	6		2 33.3%	1 16.7%	1 16.7%	1 16.7%	1 16.7%	
	GENERAL COOPERATIVE WORK EXPER	5			3 60.0%	2 40.0%			
	COMPUTER STUDIES	26	1 3.8%	1 3.8%	5 19.2%	8 30.8%	7 26.9%	3 11.5%	1 3.8%
	Summary	4165	140 3.4%	812 19.5%	822 19.7%	761 18.3%	1088 26.1%	514 12.3%	28 0.7%

County:	ERIE								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	24			1 4.2%	2 8.3%	9 37.5%	12 50.0%	
	SUPERINTENDENT, DEPENDENT	5			1 20.0%		2 40.0%	2 40.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN	6				2 33.3%	2 33.3%	2 33.3%	
	ASSISTANT SUPERINTENDENT	11			1 9.1%	3 27.3%	3 27.3%	4 36.4%	
	ASSISTANT SUPERINTENDENT SPECI	31			3 9.7%	2 6.5%	19 61.3%	7 22.6%	
	BUSINESS MANAGER	17			2 11.8%	7 41.2%	5 29.4%	3 17.6%	
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	266		16 6.0%	48 18.0%	44 16.5%	104 39.1%	53 19.9%	1 0.4%
	ASSISTANT DIRECTOR/COORDINATOR	30		2 6.7%	2 6.7%	7 23.3%	10 33.3%	9 30.0%	
	SUPERVISOR	50		1 2.0%	8 16.0%	9 18.0%	24 48.0%	7 14.0%	1 2.0%
	DEPARTMENT CHAIRPERSON	307		23 7.5%	87 28.3%	55 17.9%	97 31.6%	43 14.0%	2 0.7%
	ATTENDANCE TEACHER	3				1 33.3%	1 33.3%	1 33.3%	
	SCHOOL PSYCHOLOGIST	147		21 14.3%	51 34.7%	22 15.0%	39 26.5%	14 9.5%	
	SOCIAL WORKER	141		8 5.7%	23 16.3%	30 21.3%	58 41.1%	22 15.6%	
	GUIDANCE COUNSELOR	305		50 16.4%	102 33.4%	62 20.3%	65 21.3%	24 7.9%	2 0.7%

County:	ERIE		05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	4				1 25.0%	3 75.0%		
	SCHOOL NURSE/PRACTITIONER	166		1 0.6%	9 5.4%	49 29.5%	73 44.0%	28 16.9%	6 3.6%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	224		7 3.1%	35 15.6%	52 23.2%	90 40.2%	37 16.5%	3 1.3%
	ELEMENTARY SCHOOL PRINCIPAL	125		3 2.4%	16 12.8%	20 16.0%	63 50.4%	23 18.4%	
	MIDDLE SCHOOL PRINCIPAL	35			4 11.4%	10 28.6%	11 31.4%	10 28.6%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	2					1 50.0%	1 50.0%	
	SENIOR HIGH SCHOOL PRINCIPAL	48			6 12.5%	14 29.2%	20 41.7%	8 16.7%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	8				1 12.5%	6 75.0%	1 12.5%	
	SPECIAL SCHOOL PRINCIPAL	1				1 100.0%			
	ASSISTANT ELEMENTARY SCHOOL PR	47		2 4.3%	12 25.5%	12 25.5%	18 38.3%	3 6.4%	
	ASSISTANT MIDDLE SCHOOL PRINCI	34		5 14.7%	11 32.4%	9 26.5%	8 23.5%	1 2.9%	
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA	3			1 33.3%			2 66.7%	

County:	ERIE								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	58		3 5.2%	18 31.0%	16 27.6%	14 24.1%	6 10.3%	1 1.7%
	ASSISTANT JR./SR. HIGH SCHOOL	11			5 45.5%	2 18.2%	3 27.3%	1 9.1%	
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	8		1 12.5%	3 37.5%	3 37.5%	1 12.5%		
	PREKINDERGARTEN	137	1 0.7%	5 3.6%	29 21.2%	29 21.2%	50 36.5%	22 16.1%	1 0.7%
	KINDERGARTEN	432	9 2.1%	94 21.8%	116 26.9%	72 16.7%	89 20.6%	49 11.3%	3 0.7%
	COMMON BRANCH	2247	48 2.1%	435 19.4%	616 27.4%	440 19.6%	479 21.3%	221 9.8%	8 0.4%
	SPECIAL EDUCATION	2008	71 3.5%	367 18.3%	401 20.0%	484 24.1%	543 27.0%	134 6.7%	8 0.4%
	READING	459	6 1.3%	92 20.0%	121 26.4%	72 15.7%	119 25.9%	44 9.6%	5 1.1%
	ENGLISH LANGUAGE	914	21 2.3%	247 27.0%	268 29.3%	141 15.4%	152 16.6%	82 9.0%	3 0.3%
	FOREIGN LANGUAGE	400	13 3.3%	79 19.8%	106 26.5%	71 17.8%	85 21.3%	45 11.3%	1 0.3%
	BILINGUAL EDUCATION	70		8 11.4%	16 22.9%	22 31.4%	16 22.9%	7 10.0%	1 1.4%
	ENGLISH AS A SECOND LANGUAGE	96		20 20.8%	15 15.6%	18 18.8%	30 31.3%	13 13.5%	
	MATHEMATICS	826	58 7.0%	228 27.6%	180 21.8%	140 16.9%	149 18.0%	70 8.5%	1 0.1%
	SCIENCE	783	12 1.5%	174 22.2%	222 28.4%	159 20.3%	147 18.8%	65 8.3%	4 0.5%

County:	ERIE								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	747	22 2.9%	182 24.4%	246 32.9%	122 16.3%	109 14.6%	65 8.7%	1 0.1%
	ART	335	6 1.8%	71 21.2%	75 22.4%	72 21.5%	84 25.1%	26 ^{7.8%}	1 0.3%
	MUSIC	448	25 5.6%	93 20.8%	90 20.1%	93 20.8%	118 26.3%	27 6.0%	2 0.4%
	ART/MUSIC	2				2 100.0%			
	HEALTH EDUCATION	193	1 0.5%	50 25.9%	56 29.0%	32 16.6%	47 24.4%	7 3.6%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	540	19 3.5%	131 24.3%	174 32.2%	87 16.1%	104 19.3%	24 4.4%	1 0.2%
	AGRICULTURE	12	1 8.3%	1 8.3%	5 41.7%	3 25.0%	2 16.7%		
	BUSINESS/MARKETING	149	1 0.7%	20 13.4%	32 21.5%	35 23.5%	36 24.2%	25 16.8%	
	HOME ECONOMICS	72	1 1.4%	4 5.6%	8 11.1%	26 36.1%	23 31.9%	9 12.5%	1 1.4%
	TECHNOLOGY	94	4 4.3%	19 20.2%	20 21.3%	21 22.3%	24 25.5%	6 6.4%	
	TRADE EDUCATION	128	1 0.8%	6 4.7%	20 15.6%	34 26.6%	41 32.0%	24 18.8%	2 1.6%
	TECHNICAL EDUCATION	8		1 12.5%	1 12.5%	2 25.0%	1 12.5%	3 37.5%	
	HEALTH OCCUPATION	14				3 21.4%	7 50.0%	4 28.6%	
	GENERAL OCCUPATIONAL EDUCATION	271	6 2.2%	33 12.2%	44 16.2%	57 21.0%	91 33.6%	39 14.4%	1 0.4%

County:	ERIE								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	28			5 17.9%	8 28.6%	14 50.0%	1 3.6%	
	LIBRARY	168		8 4.8%	31 18.5%	24 14.3%	66 39.3%	38 22.6%	1 0.6%
	LEARNING TECHNOLOGY	3				2 66.7%	1 33.3%		
	HUMANITIES/PERFORMING ARTS	2					1 50.0%	1 50.0%	
	DANCE	3		1 33.3%		2 66.7%			
	THEATER	9		3 33.3%	3 33.3%		2 22.2%	1 11.1%	
	COMBINED COURSES	5	1 20.0%	1 20.0%			1 20.0%	2 40.0%	
	OTHER SUBJECT	421	13 3.1%	95 22.6%	93 22.1%	76 18.1%	87 20.7%	55 13.1%	2 0.5%
	HELPING TEACHER	27	1 3.7%	8 29.6%	5 18.5%	4 14.8%	6 22.2%	3 11.1%	
	GIFTED/TALENTED	56	1 1.8%	5 8.9%	14 25.0%	12 21.4%	17 30.4%	6 10.7%	1 1.8%
	GENERAL COOPERATIVE WORK EXPER	19			7 36.8%	2 10.5%	8 42.1%	2 10.5%	
	COMPUTER STUDIES	56	1 1.8%	6 10.7%	12 21.4%	14 25.0%	21 37.5%	2 3.6%	
	Summary	12657	317 2.5%	2323 18.4%	3050 24.1%	2495 19.7%	3144 24.8%	1268 10.0%	60 0.5%

			103-2000						
County:	ESSEX	20							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	1			1 100.0%				
	SUPERINTENDENT, DEPENDENT	10			2 20.0%		2 20.0%	4 40.0%	2 20.0%
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT								
	ASSISTANT SUPERINTENDENT SPECI								
	BUSINESS MANAGER	2				1 50.0%		1 50.0%	
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	12		1 8.3%	1 8.3%	2 16.7%	6 50.0%	2 16.7%	
	ASSISTANT DIRECTOR/COORDINATOR								
	SUPERVISOR	1				1 100.0%			
	DEPARTMENT CHAIRPERSON	7			1 14.3%	1 14.3%	4 57.1%	1 14.3%	
	ATTENDANCE TEACHER	1		1 100.0%					
	SCHOOL PSYCHOLOGIST	9		2 22.2%	1 11.1%	3 33.3%	1 11.1%	2 22.2%	
	SOCIAL WORKER								
	GUIDANCE COUNSELOR	15		7 46.7%	2 13.3%	1 6.7%	4 26.7%	1 6.7%	

County:	ESSEX	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	10			1 10.0%	2 20.0%	6 60.0%	1 10.0%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	7			3 42.9%	3 42.9%	1 14.3%		
	ELEMENTARY SCHOOL PRINCIPAL	3			1 33.3%		2 66.7%		
	MIDDLE SCHOOL PRINCIPAL	1					1 100.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL						100.070		
	K-12 SCHOOL PRINCIPAL	3		1 33.3%		1 33.3%	1 33.3%		
	SENIOR HIGH SCHOOL PRINCIPAL	1			1 100.0%				
	JUNIOR/SENIOR HIGH SCHOOL PRIN	2			100.070		1 50.0%	1 50.0%	
	SPECIAL SCHOOL PRINCIPAL						50.076	50.078	
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI								
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA	1					1		
							100.0%		

County:	ESSEX		05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P								
	ASSISTANT JR./SR. HIGH SCHOOL	1				1 100.0%			
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	5		2 40.0%	1 20.0%	2 40.0%			
	KINDERGARTEN	21	1 4.8%	2 9.5%	4 19.0%	9 42.9%	5 23.8%		
	COMMON BRANCH	106		17 16.0%	19 17.9%	26 24.5%	32 30.2%	11 10.4%	1 0.9%
	SPECIAL EDUCATION	61	1 1.6%	15 24.6%	16 _{26.2%}	14 23.0%	14 23.0%	1 1.6%	
	READING	22		4 18.2%	6 27.3%	4 18.2%	3 13.6%	5 22.7%	
	ENGLISH LANGUAGE	53	1 1.9%	11 20.8%	11 20.8%	10 18.9%	14 26.4%	6 11.3%	
	FOREIGN LANGUAGE	22	1 4.5%	6 27.3%	4 18.2%	7 31.8%	2 9.1%	2 9.1%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE								
	MATHEMATICS	45		7 15.6%	14 31.1%	9 20.0%	10 22.2%	4 8.9%	1 2.2%
	SCIENCE	40	2 5.0%	15.0%	9 22.5%	20.0 % 6 15.0%	10 25.0%	6.3% 6 15.0%	2.2 <i>%</i> 1 2.5%

County:	ESSEX	2003-2000								
county.		Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	Stat-Cd								Over-04	
	SOCIAL STUDIES	37	3 8.1%	6 16.2%	11 29.7%	7 18.9%	6 16.2%	4 10.8%		
	ART	16	0.1%	10.2%	29.7%	5	10.2%	10.8%		
		10		ı 6.3%	ے 12.5%	31.3%	50.0%			
	MUSIC	21	2	5	6	3	3	1	1	
			9.5%	23.8%	28.6%	14.3%	14.3%	4.8%	4.8%	
	ART/MUSIC									
	HEALTH EDUCATION	16			4	8	3	1		
		10			4 25.0%	50.0%	ی 18.8%	۱ 6.3%		
	SAFETY EDUCATION	7	1	1	2	1	2			
			14.3%	14.3%	28.6%	14.3%	28.6%			
	PHYSICAL EDUCATION	31	3	1	9	13	4	1		
	AGRICULTURE		9.7%	3.2%	29.0%	41.9%	12.9%	3.2%		
	AGRICOLITINE									
	BUSINESS/MARKETING	13		4	4	3	2			
				30.8%	30.8%	23.1%	15.4%			
	HOME ECONOMICS	7				2	4	1		
	TECHNOLOGY	10	4	4		28.6%	57.1%	14.3%		
	TECHNOLOGY	13	1 7.7%	4 30.8%		3 23.1%	4 30.8%	1 7.7%		
	TRADE EDUCATION	3		1		1			1	
				33.3%		33.3%			33.3%	
	TECHNICAL EDUCATION									
	HEALTH OCCUPATION									
	HEALTH OCCUPATION									
	GENERAL OCCUPATIONAL EDUCATION	20	1	5	2	3	8	1		
		_0	5.0%	25.0%	10.0%	15.0%	40.0%	5.0%		

		40	105-2000						
County:	ESSEX								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	1						1	
	LIBRARY	10		1		2	3	100.0% 3	1
	LEARNING TECHNOLOGY	2		10.0%		20.0%	30.0% 2 100.0%	30.0%	10.0%
	HUMANITIES/PERFORMING ARTS						100.070		
	DANCE								
	THEATER								
	COMBINED COURSES	1				1 100.0%			
	OTHER SUBJECT	46		10 21.7%	12 26.1%	5 10.9%	11 23.9%	8 17.4%	
	HELPING TEACHER	6		2 33.3%	2 33.3%	1 16.7%	1 16.7%		
	GIFTED/TALENTED	1			·	-		1 100.0%	
	GENERAL COOPERATIVE WORK EXPER	2				2 100.0%		100.075	
	COMPUTER STUDIES	11		2 18.2%	3 27.3%	18.2%	3 27.3%		1 9.1%
	Summary	563	15 2.7%	97 17.2%	122 21.7%	127 22.6%	137 24.3%	57 10.1%	8 1.4%

		<u>_</u>	105-2000						
County:	FRANKLIN		2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	4				2 50.0%	1 25.0%		1 25.0%
	SUPERINTENDENT, DEPENDENT	3					2 66.7%	1 33.3%	
	DEPUTY OR ASSOCIATE SUPERINTEN						00.170	00.070	
	ASSISTANT SUPERINTENDENT	1					1 100.0%		
	ASSISTANT SUPERINTENDENT SPECI	1					100.0% 1 100.0%		
	BUSINESS MANAGER	2			1 50.0%		100.0% 1 50.0%		
	ADMINISTRATIVE ASSISTANT				50.078		50.078		
	DIRECTOR/COORDINATOR	19		1 5.3%	1 5.3%	5 26.3%	9 47.4%	3 15.8%	
	ASSISTANT DIRECTOR/COORDINATOR			5.5%	5.5%	20.3%	47.4%	13.0%	
	SUPERVISOR	1						1	
	DEPARTMENT CHAIRPERSON	2				2		100.0%	
	ATTENDANCE TEACHER					100.0%			
	SCHOOL PSYCHOLOGIST	13			3	4	4	2	
	SOCIAL WORKER	3			23.1%	30.8% 1	30.8% 2	15.4%	
	GUIDANCE COUNSELOR	32		4	10	33.3% 12	66.7% 2	3	1

County:	FRANKLIN	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	2					2 100.0%		
	SCHOOL NURSE/PRACTITIONER	19		1 5.3%	3 15.8%	8 42.1%	5 26.3%	2 10.5%	
	DENTAL HYGIENIST	1				1 100.0%			
	OTHER NONTEACHING	16		2 12.5%	4 25.0%	2 12.5%	6 37.5%	2 12.5%	
	ELEMENTARY SCHOOL PRINCIPAL	9				4 44.4%	1 11.1%	4 44.4%	
	MIDDLE SCHOOL PRINCIPAL	1						1 100.0%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	4				1 25.0%	2 50.0%	1 25.0%	
	SENIOR HIGH SCHOOL PRINCIPAL	3				1 33.3%	1 33.3%	1 33.3%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	5			2 40.0%	1 20.0%	1 20.0%	1 20.0%	
	SPECIAL SCHOOL PRINCIPAL	1					1 100.0%		
	ASSISTANT ELEMENTARY SCHOOL PR	1				1 100.0%			
	ASSISTANT MIDDLE SCHOOL PRINCI	1			1 100.0%				
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

Wednesday, February 21, 2007

County:	FRANKLIN	_ (00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57 -64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	1			1 100.0%				
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	9		2 22.2%		5 55.6%	1 11.1%	1 11.1%	
	KINDERGARTEN	35	2 5.7%	6 17.1%	5 14.3%	10 28.6%	7 20.0%	5 14.3%	
	COMMON BRANCH	177	4 2.3%	30 16.9%	36 20.3%	38 21.5%	49 27.7%	20 11.3%	
	SPECIAL EDUCATION	145	4 2.8%	23 15.9%	40 27.6%	38 26.2%	31 21.4%	8 5.5%	1 0.7%
	READING	37	1 2.7%	10 27.0%	9 24.3%	4 10.8%	10 27.0%	3 8.1%	
	ENGLISH LANGUAGE	66		12 18.2%	20 30.3%	9 13.6%	17 25.8%	8 12.1%	
	FOREIGN LANGUAGE	32	2 6.3%	1 3.1%	12 37.5%	10 31.3%	2 6.3%	5 15.6%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	1					1 100.0%		
	MATHEMATICS	61	3 4.9%	11 18.0%	19 31.1%	12 19.7%	15 24.6%	1 1.6%	
	SCIENCE	61	1 1.6%	9 14.8%	19 31.1%	13 21.3%	13 21.3%	6 9.8%	

		2003-2000								
County:	FRANKLIN									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- <mark>64</mark>	Over-64	
	SOCIAL STUDIES	62		15 24.2%	13 21.0%	10 16.1%	20 32.3%	4 6.5%		
	ART	25	1 4.0%	3 12.0%	5 20.0%	2 8.0%	12 48.0%	2 8.0%		
	MUSIC	31	5 16.1%	3 9.7%	11 35.5%	3 9.7%	8 25.8%	1 3.2%		
	ART/MUSIC									
	HEALTH EDUCATION	14		3 21.4%	2 14.3%	5 35.7%	4 28.6%			
	SAFETY EDUCATION	1							1 100.0%	
	PHYSICAL EDUCATION	41	1 2.4%	12 29.3%	8 19.5%	9 22.0%	10 24.4%	1 2.4%		
	AGRICULTURE	2			1 50.0%			1 50.0%		
	BUSINESS/MARKETING	14		2 14.3%	3 21.4%	4 28.6%	4 28.6%	1 7.1%		
	HOME ECONOMICS	10	1 10.0%	1 10.0%	2 20.0%	3 30.0%	2 20.0%	1 10.0%		
	TECHNOLOGY	12	1 8.3%	2 16.7%	1 8.3%	2 16.7%	5 41.7%	1 8.3%		
	TRADE EDUCATION	10		1 10.0%	1 10.0%		4 40.0%	4 40.0%		
	TECHNICAL EDUCATION	1			1 100.0%					
	HEALTH OCCUPATION	3				3 100.0%				
	GENERAL OCCUPATIONAL EDUCATION	24		5 20.8%	4 16.7%	2 8.3%	9 37.5%	4 16.7%		

County:	FRANKLIN	_ ~							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE								
	LIBRARY	14	1 7.1%	2 14.3%	2 14.3%	2 14.3%	5 35.7%	2 14.3%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1					1		
	COMBINED COURSES	1					100.0% 1 100.0%		
	OTHER SUBJECT	17		2 11.8%	7 41.2%	4 23.5%	3 17.6%	1 5.9%	
	HELPING TEACHER	1		1 100.0%					
	GIFTED/TALENTED	1						1 100.0%	
	GENERAL COOPERATIVE WORK EXPER	2			1 50.0%		1 50.0%		
	COMPUTER STUDIES	10			4 40.0%	5 50.0%	1 10.0%		
	Summary	965	27 2.8%	147 15.2%	224 23.2%	219 22.7%	250 25.9%	94 9.7%	4 0.4%

County:			103-2000						
ounty.	FULTON								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	2					1 50.0%	1 50.0%	
	SUPERINTENDENT, DEPENDENT	5				1 20.0%	1 20.0%	3 60.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	2					1 50.0%	1 50.0%	
	ASSISTANT SUPERINTENDENT SPECI								
	BUSINESS MANAGER	2					1 50.0%	1 50.0%	
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	17		1 5.9%	1 5.9%	4 23.5%	6 35.3%	5 29.4%	
	ASSISTANT DIRECTOR/COORDINATOR								
	SUPERVISOR	1			1 100.0%				
	DEPARTMENT CHAIRPERSON	24		1 4.2%	6 25.0%	6 25.0%	6 25.0%	5 20.8%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	7		1 14.3%	3 42.9%		2 28.6%	1 14.3%	
	SOCIAL WORKER	6		3 50.0%		1 16.7%	1 16.7%	1 16.7%	
				50.0%		10.770	10.770	10.770	

County:	FULTON	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	1						1 100.0%	
	SCHOOL NURSE/PRACTITIONER	17			4 23.5%	3 17.6%	7 41.2%	100.0% 2 11.8%	1 5.9%
	DENTAL HYGIENIST				20.070	11.070	41.270	11.070	0.070
	OTHER NONTEACHING	4	1 25.0%		1 25.0%	1 25.0%	1 25.0%		
	ELEMENTARY SCHOOL PRINCIPAL	11			4 36.4%	2 18.2%	4 36.4%	1 9.1%	
	MIDDLE SCHOOL PRINCIPAL	2				1 50.0%		1 50.0%	
	JUNIOR HIGH SCHOOL PRINCIPAL	1				00.070	1 100.0%	00.070	
	K-12 SCHOOL PRINCIPAL	1				1 100.0%	100.078		
	SENIOR HIGH SCHOOL PRINCIPAL	3				100.0%	3		
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1			1		100.0%		
	SPECIAL SCHOOL PRINCIPAL				100.0%				
	ASSISTANT ELEMENTARY SCHOOL PR	1				1			
	ASSISTANT MIDDLE SCHOOL PRINCI	1				100.0%		1	
	ASSISTANT JUNIOR HIGH SCHOOL P							100.0%	
	ASSISTANT K-12 SCHOOL PRINCIPA	1		1 100.0%					

County:	FULTON	2003-2000								
·	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	ASSISTANT SENIOR HIGH SCHOOL P	3			3 100.0%					
	ASSISTANT JR./SR. HIGH SCHOOL	1			1 100.0%					
	ASSISTANT SPECIAL SCHOOL PRINC									
	OTHER SCHOOL ADMINISTRATOR									
	PREKINDERGARTEN	15	1 6.7%	2 13.3%	2 13.3%	2 13.3%	5 33.3%	3 20.0%		
	KINDERGARTEN	35	1 2.9%	6 17.1%	8 22.9%	6 17.1%	9 25.7%	5 14.3%		
	COMMON BRANCH	182	7 3.8%	34 18.7%	31 17.0%	27 14.8%	64 35.2%	19 10.4%		
	SPECIAL EDUCATION	116	7 6.0%	17 14.7%	26 22.4%	27 23.3%	33 28.4%	6 5.2%		
	READING	48	3 6.3%	7 14.6%	8 16.7%	8 16.7%	17 35.4%	4 8.3%	1 2.1%	
	ENGLISH LANGUAGE	68	4 5.9%	12 17.6%	13 19.1%	15 22.1%	18 26.5%	6 8.8%		
	FOREIGN LANGUAGE	25	1 4.0%	5 20.0%	9 36.0%	3 12.0%	3 12.0%	4 16.0%		
	BILINGUAL EDUCATION									
	ENGLISH AS A SECOND LANGUAGE	2			2 100.0%					
	MATHEMATICS	65	4 6.2%	8 12.3%	12 18.5%	14 21.5%	18 27.7%	9 13.8%		
	SCIENCE	57	2 3.5%	11 19.3%	12 21.1%	14 24.6%	13 22.8%	5 8.8%		

		20	105-2000						
County:	FULTON								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	52	2 3.8%	14 26.9%	12 23.1%	8 15.4%	11 21.2%	5 9.6%	
	ART	24	2 8.3%	2 8.3%	7 29.2%	4 16.7%	7 29.2%	1 4.2%	1 4.2%
	MUSIC	31	1 3.2%	8 25.8%	8 25.8%	8 25.8%	5 16.1%	1 3.2%	
	ART/MUSIC								
	HEALTH EDUCATION	12		3 25.0%	1 8.3%	2 16.7%	5 41.7%	1 8.3%	
	SAFETY EDUCATION	1					1 100.0%		
	PHYSICAL EDUCATION	35	2 5.7%	17 48.6%	3 8.6%	4 11.4%	7 20.0%	2 5.7%	
	AGRICULTURE								
	BUSINESS/MARKETING	11		3 27.3%	3 27.3%	2 18.2%	2 18.2%	1 9.1%	
	HOME ECONOMICS	8		1 12.5%		3 37.5%	3 37.5%	1 12.5%	
	TECHNOLOGY	7			3 42.9%	2 28.6%	2 28.6%		
	TRADE EDUCATION	1				1 100.0%			
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION								
	GENERAL OCCUPATIONAL EDUCATION	21	1 4.8%	1 4.8%	3 14.3%	5 23.8%	9 42.9%	2 9.5%	

County:	FULTON	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	3		1 33.3%	2 66.7%				
	LIBRARY	17		3 17.6%	2 11.8%	3 17.6%	5 29.4%	4 23.5%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	2		1 50.0%		1 50.0%			
	COMBINED COURSES			00.070		00.070			
	OTHER SUBJECT	20	1 5.0%	5 25.0%	1 5.0%	4 20.0%	7 35.0%	2 10.0%	
	HELPING TEACHER		0.070	20.070	5.070	20.070	55.070	10.078	
	GIFTED/TALENTED								
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	8		1 12.5%	3 37.5%		1 12.5%	3 37.5%	
	Summary	864	34 3.9%	12.5% 158 18.3%	180 20.8%	161 18.6%	240 27.8%	88 10.2%	3 0.3%

County:	GENESEE	_							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	3					2 66.7%		1 33.3%
	SUPERINTENDENT, DEPENDENT	6					4 66.7%	2 33.3%	
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1					1 100.0%		
	ASSISTANT SUPERINTENDENT SPECI	2					1 50.0%	1 50.0%	
	BUSINESS MANAGER	5			2 40.0%	2 40.0%	1 20.0%		
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	19		1 5.3%	2 10.5%	7 36.8%	7 36.8%	2 10.5%	
	ASSISTANT DIRECTOR/COORDINATOR								
	SUPERVISOR								
	DEPARTMENT CHAIRPERSON	19		2 10.5%	2 10.5%	1 5.3%	12 63.2%	2 10.5%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	9		4 44.4%	1 11.1%	1 11.1%	2 22.2%	1 11.1%	
	SOCIAL WORKER	7			3 42.9%	2 28.6%	2 28.6%		
	GUIDANCE COUNSELOR	30		9 30.0%	6 20.0%	3 10.0%	11 36.7%	1 3.3%	

County:	GENESEE	20	105-2000						
2	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	6		1 16.7%		1 16.7%	3 50.0%	1 16.7%	
	SCHOOL NURSE/PRACTITIONER	25		1 4.0%	6 24.0%	3 12.0%	12 48.0%	3 12.0%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	13			3 23.1%	2 15.4%	5 38.5%	3 23.1%	
	ELEMENTARY SCHOOL PRINCIPAL	11		2 18.2%	2 18.2%	2 18.2%	4 36.4%	1 9.1%	
	MIDDLE SCHOOL PRINCIPAL	2			1 50.0%	1 50.0%			
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	2				1 50.0%	1 50.0%		
	JUNIOR/SENIOR HIGH SCHOOL PRIN	6			1 16.7%	2 33.3%	3 50.0%		
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	1			1 100.0%				
	ASSISTANT MIDDLE SCHOOL PRINCI	2		1 50.0%	1 50.0%				
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

			103-2000						
County:	GENESEE	-							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	4			2 50.0%		2 50.0%		
	ASSISTANT JR./SR. HIGH SCHOOL	2			1 50.0%	1 50.0%			
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN								
	KINDERGARTEN	39	2 5.1%	6 15.4%	4 10.3%	5 12.8%	17 43.6%	5 12.8%	
	COMMON BRANCH	202	9 4.5%	45 22.3%	37 18.3%	37 18.3%	54 26.7%	20 9.9%	
	SPECIAL EDUCATION	154	7 4.5%	29 18.8%	35 22.7%	42 27.3%	35 22.7%	6 3.9%	
	READING	53	5 9.4%	7 13.2%	6 11.3%	10 18.9%	21 39.6%	3 5.7%	1 1.9%
	ENGLISH LANGUAGE	74	2 2.7%	20 27.0%	14 18.9%	15 20.3%	15 20.3%	8 10.8%	
	FOREIGN LANGUAGE	33	2 6.1%	5 15.2%	8 24.2%	9 27.3%	6 18.2%	3 9.1%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	5		1 20.0%		2 40.0%	1 20.0%		1 20.0%
	MATHEMATICS	73	4 5.5%	21 28.8%	14 19.2%	17 23.3%	10 13.7%	7 9.6%	
	SCIENCE	66	2 3.0%	14 21.2%	15 22.7%	11 16.7%	18 27.3%	6 9.1%	

		2003-2000								
County:	GENESEE									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	SOCIAL STUDIES	63	3 4.8%	13 20.6%	12 19.0%	11 17.5%	17 27.0%	7 11.1%		
	ART	27		7 25.9%	4 14.8%	6 22.2%	5 18.5%	5 18.5%		
	MUSIC	41	3 7.3%	11 26.8%	8 19.5%	6 14.6%	11 26.8%	2 4.9%		
	ART/MUSIC									
	HEALTH EDUCATION	11	2 18.2%	2 18.2%	3 27.3%	2 18.2%	1 9.1%	1 9.1%		
	SAFETY EDUCATION	1					1 100.0%			
	PHYSICAL EDUCATION	50	5 10.0%	8 16.0%	12 24.0%	13 26.0%	11 22.0%	1 2.0%		
	AGRICULTURE									
	BUSINESS/MARKETING	17		6 35.3%	2 11.8%		8 47.1%		1 5.9%	
	HOME ECONOMICS	5		1 20.0%		3 60.0%	1 20.0%			
	TECHNOLOGY	15		3 20.0%	1 6.7%	3 20.0%	3 20.0%	5 33.3%		
	TRADE EDUCATION	4		1 25.0%	1 25.0%		1 25.0%	1 25.0%		
	TECHNICAL EDUCATION									
	HEALTH OCCUPATION									
	GENERAL OCCUPATIONAL EDUCATION	29		5 17.2%	3 10.3%	8 27.6%	9 31.0%	4 13.8%		

County:	GENESEE	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	3				1 33.3%	2 66.7%		
	LIBRARY	15		4 26.7%	2 13.3%		7 46.7%	2 13.3%	
	LEARNING TECHNOLOGY	2					1 50.0%	1 50.0%	
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1					1 100.0%		
	COMBINED COURSES	1					1 100.0%		
	OTHER SUBJECT	48	3 6.3%	13 27.1%	6 12.5%	11 22.9%	10 20.8%	5 10.4%	
	HELPING TEACHER	1	0.070	1 100.0%	12.070	22.070	20.070	10.170	
	GIFTED/TALENTED	4			1 25.0%	1 25.0%	2 50.0%		
	GENERAL COOPERATIVE WORK EXPER	1					1 100.0%		
	COMPUTER STUDIES	8		4 50.0%		1 12.5%	2 25.0%		1 12.5%
	Summary	1047	40 3.8%	211 20.2%	203 19.4%	206 19.7%	287 27.4%	96 9.2%	4 0.4%

Constant		2003-2000								
County:	GREENE									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	SUPERINTENDENT, INDEPENDENT	2				1		1		
						50.0%		50.0%		
	SUPERINTENDENT, DEPENDENT	5			2	1		2		
	DEPUTY OR ASSOCIATE SUPERINTEN				40.0%	20.0%		40.0%		
	DEFUTT OR ASSOCIATE SUPERINTEN									
	ASSISTANT SUPERINTENDENT									
	ASSISTANT SUPERINTENDENT SPECI	4		1	1	1	1			
				25.0%	25.0%	25.0%	25.0%			
	BUSINESS MANAGER	6			2	2	1	1		
					33.3%	33.3%	16.7%	16.7%		
	ADMINISTRATIVE ASSISTANT									
	DIRECTOR/COORDINATOR	21		2	5	5	7	2		
		21		9.5%	23.8%	23.8%	33.3%	9.5%		
	ASSISTANT DIRECTOR/COORDINATOR	2					2			
							100.0%			
	SUPERVISOR	3				1	2			
						33.3%	66.7%			
	DEPARTMENT CHAIRPERSON	2			1	1				
					50.0%	50.0%				
	ATTENDANCE TEACHER									
	SCHOOL PSYCHOLOGIST	15		3	5	2	3	2		
		.0		20.0%	33.3%	13.3%	20.0%	13.3%		
	SOCIAL WORKER	9		1	1	1	4	2		
				11.1%	11.1%	11.1%	44.4%	22.2%		
	GUIDANCE COUNSELOR	24		3	9	2	6	4		
				12.5%	37.5%	8.3%	25.0%	16.7%		

County:	GREENE	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	15				5 33.3%	4 26.7%	5 33.3%	1 6.7%
	DENTAL HYGIENIST	1						1 100.0%	
	OTHER NONTEACHING	12		1 8.3%	4 33.3%	2 16.7%	4 33.3%	1 8.3%	
	ELEMENTARY SCHOOL PRINCIPAL	8			3 37.5%		3 37.5%	2 25.0%	
	MIDDLE SCHOOL PRINCIPAL	5		1 20.0%	1 20.0%	1 20.0%	2 40.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	1					1 100.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	4		1 25.0%			3 75.0%		
	JUNIOR/SENIOR HIGH SCHOOL PRIN	3		1 33.3%		2 66.7%			
	SPECIAL SCHOOL PRINCIPAL			00.070		00.175			
	ASSISTANT ELEMENTARY SCHOOL PR	1			1 100.0%				
	ASSISTANT MIDDLE SCHOOL PRINCI	1			1				
	ASSISTANT JUNIOR HIGH SCHOOL P				100.0%				
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	GREENE	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	4			2 50.0%	2 50.0%			
	ASSISTANT JR./SR. HIGH SCHOOL	1				1 100.0%			
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	1				1 100.0%			
	PREKINDERGARTEN	1			1 100.0%				
	KINDERGARTEN	28	2 7.1%	5 17.9%	8 28.6%	6 21.4%	4 14.3%	3 10.7%	
	COMMON BRANCH	140		35 25.0%	30 21.4%	28 20.0%	33 23.6%	13 9.3%	1 0.7%
	SPECIAL EDUCATION	135	8 5.9%	16 11.9%	30 22.2%	30 22.2%	42 31.1%	9 6.7%	
	READING	41		5 12.2%	6 14.6%	10 24.4%	12 29.3%	8 19.5%	
	ENGLISH LANGUAGE	78	2 2.6%	15 19.2%	14 17.9%	13 16.7%	29 37.2%	5 6.4%	
	FOREIGN LANGUAGE	27	1 3.7%	5 18.5%	3 11.1%	9 33.3%	7 25.9%	2 7.4%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	6			1 16.7%	2 33.3%	3 50.0%		
	MATHEMATICS	67	6 9.0%	18 26.9%	9 13.4%	15 22.4%	12 17.9%	6 9.0%	1 1.5%
	SCIENCE	55	3 5.5%	13 23.6%	8 14.5%	10 18.2%	11 20.0%	8 14.5%	2 3.6%

		 _	105-2000						
County:	GREENE		22 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- <mark>64</mark>	Over-64
	SOCIAL STUDIES	56	2 3.6%	15 26.8%	14 25.0%	9 16.1%	10 17.9%	6 10.7%	
	ART	28	2 7.1%	2 7.1%	8 28.6%	8 28.6%	5 17.9%	3 10.7%	
	MUSIC	30	4 13.3%	8 26.7%	5 16.7%	3 10.0%	8 26.7%	2 6.7%	
	ART/MUSIC	1	1 100.0%						
	HEALTH EDUCATION	11	1 9.1%	4 36.4%	1 9.1%	4 36.4%	1 9.1%		
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	37	1 2.7%	10 27.0%	7 18.9%	10 27.0%	7 18.9%	1 2.7%	1 2.7%
	AGRICULTURE	5		1 20.0%		1 20.0%	2 40.0%	1 20.0%	
	BUSINESS/MARKETING	13		1 7.7%	3 23.1%	6 46.2%	2 15.4%	1 7.7%	
	HOME ECONOMICS	8		1 12.5%	3 37.5%		3 37.5%	1 12.5%	
	TECHNOLOGY	7			2 28.6%	3 42.9%	1 14.3%	1 14.3%	
	TRADE EDUCATION	11			2 18.2%	3 27.3%	2 18.2%	4 36.4%	
	TECHNICAL EDUCATION	2		1 50.0%		1 50.0%			
	HEALTH OCCUPATION	4				1 25.0%	2 50.0%	1 25.0%	
	GENERAL OCCUPATIONAL EDUCATION	18		2 11.1%	5 27.8%	6 33.3%	5 27.8%		

County:	GREENE	-0							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	2					1 50.0%	1 50.0%	
	LIBRARY	12		3 25.0%	1 8.3%	5 41.7%	2 16.7%	1 8.3%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER								
	COMBINED COURSES	2			1 50.0%		1 50.0%		
	OTHER SUBJECT	46	3 6.5%	9 19.6%	13 28.3%	8 17.4%	9 19.6%	4 8.7%	
	HELPING TEACHER								
	GIFTED/TALENTED	3				1 33.3%	1 33.3%	1 33.3%	
	GENERAL COOPERATIVE WORK EXPER	3					2 66.7%	1 33.3%	
	COMPUTER STUDIES	3		1 33.3%		1 33.3%		1 33.3%	
	Summary	881	31 3.5%	150 17.0%	179 20.3%	186 21.1%	232 26.3%	97 11.0%	6 0.7%

		2(103-2000						
County:	HAMILTON								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	<i>49-56</i>	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	1					1 100.0%		
	SUPERINTENDENT, DEPENDENT	7			1 14.3%		3 42.9%	1 14.3%	2 28.6%
	DEPUTY OR ASSOCIATE SUPERINTEN	1					1 100.0%		
	ASSISTANT SUPERINTENDENT	2					1 50.0%	1 50.0%	
	ASSISTANT SUPERINTENDENT SPECI								
	BUSINESS MANAGER								
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	13			6 46.2%	4 30.8%	_	2 15.4%	1 7.7%
	ASSISTANT DIRECTOR/COORDINATOR	3					2 66.7%	1 33.3%	
	SUPERVISOR								
	DEPARTMENT CHAIRPERSON	1			1 100.0%				
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	13			6 46.2%	6 46.2%		1 7.7%	
	SOCIAL WORKER	9		3 33.3%	2 22.2%		3 33.3%	1 11.1%	
	GUIDANCE COUNSELOR	9		2 22.2%	3 33.3%	3 33.3%	1 11.1%		

		2	105-2000						
County:	HAMILTON								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	9			3 33.3%	1 11.1%	5 55.6%		
	DENTAL HYGIENIST								
	OTHER NONTEACHING	10		3 30.0%	2 20.0%	2 20.0%	3 30.0%		
	ELEMENTARY SCHOOL PRINCIPAL	1						1 100.0%	
	MIDDLE SCHOOL PRINCIPAL							100.0%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	1				1 100.0%			
	SENIOR HIGH SCHOOL PRINCIPAL	1						1 100.0%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN								
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI								
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

		20	103-2000						
County:	HAMILTON								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P								
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	5	1 20.0%		3 60.0%	1 20.0%			
	KINDERGARTEN	6	1 16.7%	2 33.3%	2 33.3%	1 16.7%			
	COMMON BRANCH	25	1 4.0%	4 16.0%	3 12.0%	6 24.0%	7 28.0%	4 16.0%	
	SPECIAL EDUCATION	50		6 12.0%	8 16.0%	17 34.0%	16 32.0%	3 6.0%	
	READING	8		2 25.0%	1 12.5%	4 50.0%	1 12.5%		
	ENGLISH LANGUAGE	20		5 25.0%	4 20.0%	5 25.0%	4 20.0%	1 5.0%	1 5.0%
	FOREIGN LANGUAGE	4		2 50.0%	1 25.0%		1 25.0%		
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE								
	MATHEMATICS	10	1 10.0%	1 10.0%	2 20.0%	1 10.0%	3 30.0%	2 20.0%	
	SCIENCE	9	10.070	33.3%	20.070	33.3%	33.3%	20.070	

		<u></u>	105-2000						
ounty:	HAMILTON								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	13		2 15.4%	2 15.4%	4 30.8%	3 23.1%	1 7.7%	1 7.7%
	ART	8		2 25.0%	3 37.5%	1 12.5%	2 25.0%		
	MUSIC	11		5 45.5%	1 9.1%	2 18.2%	2 18.2%	1 9.1%	
	ART/MUSIC								
	HEALTH EDUCATION	7		2 28.6%		2 28.6%	1 14.3%	2 28.6%	
	SAFETY EDUCATION	2					2 100.0%		
	PHYSICAL EDUCATION	14		2 14.3%	4 28.6%	4 28.6%	3 21.4%	1 7.1%	
	AGRICULTURE	2				1 50.0%	1 50.0%		
	BUSINESS/MARKETING	5				3 60.0%	1 20.0%	1 20.0%	
	HOME ECONOMICS	5			1 20.0%		3 60.0%	1 20.0%	
		4				3 75.0%	1 25.0%	c	
		12			1 8.3%	4 33.3%	3 25.0%	3 25.0%	1 8.3%
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION	5					3 60.0%	2 40.0%	
	GENERAL OCCUPATIONAL EDUCATION	9				6 66.7%	2 22.2%	1 11.1%	

County:	HAMILTON	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	1				1 100.0%			
	LIBRARY	4				1 25.0%	2 50.0%		1 25.0%
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1		1 100.0%					
	COMBINED COURSES								
	OTHER SUBJECT	12			6 50.0%	3 25.0%	2 16.7%		1 8.3%
	HELPING TEACHER				001070	_0.070			0.070
	GIFTED/TALENTED	1		1 100.0%					
	GENERAL COOPERATIVE WORK EXPER	2			1 50.0%			1 50.0%	
	COMPUTER STUDIES	4		1 25.0%	1 25.0%	2 50.0%			
	Summary	278	3 1.1%	40 14.4%	54 19.4%	67 24.1%	76 27.3%	31 11.2%	7 2.5%

		2	103-2000						
County:	HERKIMER								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	5					4 80.0%	1 20.0%	
	SUPERINTENDENT, DEPENDENT	7			1 14.3%		4 57.1%	1 14.3%	1 14.3%
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1				1 100.0%			
	ASSISTANT SUPERINTENDENT SPECI	2				1 50.0%		1 50.0%	
	BUSINESS MANAGER	9			1 11.1%	3 33.3%	3 33.3%	2 22.2%	
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	23		2 8.7%	4 17.4%	7 30.4%	6 26.1%	3 13.0%	1 4.3%
	ASSISTANT DIRECTOR/COORDINATOR	1					1 100.0%		
	SUPERVISOR								
	DEPARTMENT CHAIRPERSON	5		1 20.0%				4 80.0%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	13		3 23.1%	2 15.4%	3 23.1%	4 30.8%	1 7.7%	
	SOCIAL WORKER	10		2 20.0%		1 10.0%	6 60.0%	1 10.0%	
	GUIDANCE COUNSELOR	24		6 25.0%	8 33.3%	4 16.7%	4 16.7%	2 8.3%	

County:	HERKIMER	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	21			1 4.8%	8 38.1%	10 47.6%	2 9.5%	
	DENTAL HYGIENIST	1						1 100.0%	
	OTHER NONTEACHING	6				1 16.7%	1 16.7%	3 50.0%	1 16.7%
	ELEMENTARY SCHOOL PRINCIPAL	11		1 9.1%	3 27.3%	3 27.3%	3 27.3%	1 9.1%	
	MIDDLE SCHOOL PRINCIPAL	3			1 33.3%	1 33.3%		1 33.3%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	1					1 100.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	4			1 25.0%	1 25.0%	1 25.0%	1 25.0%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	6				2 33.3%	3 50.0%	1 16.7%	
	SPECIAL SCHOOL PRINCIPAL	1			1 100.0%				
	ASSISTANT ELEMENTARY SCHOOL PR	1			100.0%				
	ASSISTANT MIDDLE SCHOOL PRINCI				100.070				
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA	1			1 100.0%				

County:	HERKIMER								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P								
	ASSISTANT JR./SR. HIGH SCHOOL	2				1 50.0%	1 50.0%		
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	2				1 50.0%	1 50.0%		
	PREKINDERGARTEN	19		6 31.6%	3 15.8%	1 5.3%	4 21.1%	5 26.3%	
	KINDERGARTEN	44	2 4.5%	8 18.2%	10 22.7%	9 20.5%	11 25.0%	4 9.1%	
	COMMON BRANCH	234	4 1.7%	39 16.7%	52 22.2%	31 13.2%	82 35.0%	25 10.7%	1 0.4%
	SPECIAL EDUCATION	144	5 3.5%	28 19.4%	25 17.4%	34 23.6%	39 27.1%	12 8.3%	1 0.7%
	READING	54	3 5.6%	8 14.8%	18 33.3%	6 11.1%	15 27.8%	3 5.6%	1 1.9%
	ENGLISH LANGUAGE	77	1 1.3%	15 19.5%	13 16.9%	9 11.7%	28 36.4%	9 11.7%	2 2.6%
	FOREIGN LANGUAGE	30		7 23.3%	4 13.3%	5 16.7%	10 33.3%	4 13.3%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	6			2 33.3%	2 33.3%	2 33.3%		
	MATHEMATICS	78	3 3.8%	14 17.9%	17 21.8%	13 16.7%	23 29.5%	7 9.0%	1 1.3%
	SCIENCE	68	3 4.4%	13 19.1%	13 19.1%	18 26.5%	15 22.1%	6 8.8%	

			103-2000						
County:	HERKIMER								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	63	3 4.8%	20 31.7%	15 23.8%	9 14.3%	9 14.3%	5 7.9%	2 3.2%
	ART	30		7 23.3%	4 13.3%	6 20.0%	8 26.7%	5 16.7%	
	MUSIC	45	4 8.9%	14 31.1%	5 11.1%	13 28.9%	9 20.0%		
	ART/MUSIC								
	HEALTH EDUCATION	18	2 11.1%	1 5.6%	3 16.7%	6 33.3%	6 33.3%		
	SAFETY EDUCATION	5					5 100.0%		
	PHYSICAL EDUCATION	50	3 6.0%	9 18.0%	9 18.0%	10 20.0%	18 36.0%	1 2.0%	
	AGRICULTURE	1						1 100.0%	
	BUSINESS/MARKETING	16	1 6.3%	1 6.3%	3 18.8%	6 37.5%	5 31.3%		
	HOME ECONOMICS	17			2 11.8%	2 11.8%	10 58.8%	3 17.6%	
	TECHNOLOGY	22		5 22.7%	4 18.2%	3 13.6%	9 40.9%	1 4.5%	
	TRADE EDUCATION	18		1 5.6%	4 22.2%	5 27.8%	3 16.7%	4 22.2%	1 5.6%
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION	4				3 75.0%	1 25.0%		
	GENERAL OCCUPATIONAL EDUCATION	35		7 20.0%	3 8.6%	7 20.0%	14 40.0%	4 11.4%	

County:	HERKIMER	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	1				1 100.0%			
	LIBRARY	18				7 38.9%	8 44.4%	2 11.1%	1 5.6%
	LEARNING TECHNOLOGY	1		1 100.0%					
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER								
	COMBINED COURSES	2					2 100.0%		
	OTHER SUBJECT	92	5 5.4%	25 27.2%	15 16.3%	12 13.0%	22 23.9%	11 12.0%	2 2.2%
	HELPING TEACHER								
	GIFTED/TALENTED	1							1 100.0%
	GENERAL COOPERATIVE WORK EXPER	1				1 100.0%			
	COMPUTER STUDIES	16		3 18.8%	1 6.3%	7 43.8%	5 31.3%		
	Summary	1167	29 2.5%	211 18.1%	212 18.2%	229 19.6%	354 30.3%	118 10.1%	14 1.2%

County		2003-2000								
County:	JEFFERSON									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	SUPERINTENDENT, INDEPENDENT	4					2	2		
					_		50.0%	50.0%		
	SUPERINTENDENT, DEPENDENT	8			2 25.0%		4 50.0%	2 25.0%		
	DEPUTY OR ASSOCIATE SUPERINTEN									
	ASSISTANT SUPERINTENDENT	2					2			
							100.0%			
	ASSISTANT SUPERINTENDENT SPECI	4				1 25.0%	2 50.0%	1 25.0%		
	BUSINESS MANAGER	2					2			
		2					ے 100.0%			
	ADMINISTRATIVE ASSISTANT									
	DIRECTOR/COORDINATOR	44		1	9	13	11	10		
				2.3%	20.5%	29.5%	25.0%	22.7%		
	ASSISTANT DIRECTOR/COORDINATOR	4			2	1	1			
					50.0%	25.0%	25.0%			
	SUPERVISOR	4				3			1	
						75.0%			25.0%	
	DEPARTMENT CHAIRPERSON	18		2	2	3	4	7		
				11.1%	11.1%	16.7%	22.2%	38.9%		
	ATTENDANCE TEACHER	3					3			
		0.4		0			100.0%	0		
	SCHOOL PSYCHOLOGIST	24		6 25.0%	4 16.7%	4 16.7%	8 33.3%	2 8.3%		
	SOCIAL WORKER	1 /	1							
	SOCIAL WORKER	14	1 7.1%	1 7.1%	4 28.6%	3 21.4%	2 14.3%	3 21.4%		
			1.170	1.170	20.070	21.7/0	14.070	21.7/0		
	GUIDANCE COUNSELOR	39		8	14	10	7			

		2	105-2000						
County:	JEFFERSON								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	36		1 2.8%	4 11.1%	7 19.4%	15 41.7%	7 19.4%	2 5.6%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	15			4 26.7%	5 33.3%	2 13.3%	3 20.0%	1 6.7%
	ELEMENTARY SCHOOL PRINCIPAL	21			5 23.8%	3 14.3%	5 23.8%	8 38.1%	
	MIDDLE SCHOOL PRINCIPAL	4				2 50.0%	2 50.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	3			1 33.3%		2 66.7%		
	SENIOR HIGH SCHOOL PRINCIPAL	6			1 16.7%	2 33.3%	2 33.3%	1 16.7%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	5			4 80.0%		1 20.0%		
	SPECIAL SCHOOL PRINCIPAL				00.070		20.070		
	ASSISTANT ELEMENTARY SCHOOL PR	1				1 100.0%			
	ASSISTANT MIDDLE SCHOOL PRINCI	5			1 20.0%		3 60.0%	1 20.0%	
	ASSISTANT JUNIOR HIGH SCHOOL P				20.070		00.070	20.070	
	ASSISTANT K-12 SCHOOL PRINCIPA	1				1 100.0%			

ASSISTANT SENIOR HIGH SCHOOL P 4 1 1 2 2 ASSISTANT SENIOR HIGH SCHOOL ASSISTANT JR/SR. HIGH SCHOOL 25.0% 50.0% 50.0% ASSISTANT SPECIAL SCHOOL PRINC OTHER SCHOOL ADMINISTRATOR 2 1 3 1 PREKINDERGARTEN 7 2 1 3 1 COMMON BRANCH 82 2 6 26 18 23 7 COMMON BRANCH 396 8 54 95 93 107 38 - SPECIAL EDUCATION 243 8 38 60 67 56 13 - READING 80 13 19 15 28 5 - - BILINGUAL EDUCATION 243 8 38 22.0% 13.0% 6.3% - - COMMON BRANCH 20.6% 14.8% 22.2% 18.8% 35.0% 6.3% - READING 80 13 19 15 28 5 - - - - - - - -	County:	JEFFERSON	20	05-2000						
25.0% 25.0% 50.0% ASSISTANT JR./SR. HIGH SCHOOL ASSISTANT SPECIAL SCHOOL PRINC 50.0% OTHER SCHOOL ADMINISTRATOR 0 14.3% 42.9% 14.3% PREKINDERGARTEN 7 2 6 26.6% 14.3% KINDERGARTEN 82 2 6 26.6% 18 23 7 COMMON BRANCH 896 8.54 95 93 107 38 37 SPECIAL EDUCATION 243 8 38 60 67 56 13 37 READING 80 15.6% 23.5% 18.5% 33.6% 3.3% FOREIGN LANGUAGE 122 4 18 32 23.3% 6.3% ENGLISH LANGUAGE 122 4 18 32 23.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% 3.3% </th <th></th> <th>Stat-Cd</th> <th>Count</th> <th>Under-26</th> <th>26-32</th> <th>33-40</th> <th>41-48</th> <th>49-56</th> <th>57-64</th> <th>Over-64</th>		Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
ASSISTANT JR./SR. HIGH SCHOOL ASSISTANT SPECIAL SCHOOL PRINC OTHER SCHOOL ADMINISTRATOR PREKINDERGARTEN 7 2 1 3 1 KINDERGARTEN 82 2 6 26.6% 14.3% 42.9% 14.3% COMMON BRANCH 82 2 6 26.6% 18 23.3 7 SPECIAL EDUCATION 896 8 54 95 93.3 107 38 - SPECIAL EDUCATION 243 8 38 660 67 56 13 - READING 80 13.6% 24.7% 27.6% 23.0% 5.3% 0.4% READING 80 13.8% 26.0% 18.8% 35.6% 6.3% - FOREIGN LANGUAGE 122 4 18 322 23.0% 5.3% 0.4% BUINGUAL EDUCATION 20.3% 14.8% 26.2% 18.9% 33.6% 3.3% 3.3% FOREIGN LANGUAGE 51 1 4 16 14 7 9 2.0% 17.5%		ASSISTANT SENIOR HIGH SCHOOL P	4				-			
OTHER SCHOOL ADMINISTRATOR 7 2 1 3 1 PREKINDERGARTEN 7 28.6% 14.3% 42.9% 14.3% 14.3% KINDERGARTEN 82 2 6 26 18 23 7 COMMON BRANCH 396 8 54 95 93 107 38 -7 SPECIAL EDUCATION 243 8 38 60 67 56 13 -7 READING 80 13.6% 24.9% 18.8% 35.0% 5.3% 0.4% READING 80 13.6% 24.9% 18.8% 35.0% 6.3% 0.4% FOREIGN LANGUAGE 122 4 18 32 2.23 41 4 16.3% 23.9% 18.8% 35.0% 6.3% 3.3% 14.8% 32.2 2.3 41 4 16.3% 23.9% 18.8% 35.0% 6.3% 3.3% 14.8% 32.2 13.6% 3.3% FOREIGN LANGUAGE 5 12 4 16 14 7		ASSISTANT JR./SR. HIGH SCHOOL								
PREKINDERGARTEN 7 2 1 3 1 KINDERGARTEN 82 2 6 26 18 23 7 COMMON BRANCH 396 8 54 95 93 107 38 55 COMMON BRANCH 243 8 38 60 67 56 13 55 SPECIAL EDUCATION 243 8 38 60 67 56 13 55 READING 80 13 19 15 28 5 63% FOREIGN LANGUAGE 122 4 18 32 23 41 4 3.3% 14.8% 26.2% 18.8% 35.0% 6.3% 3.3% FOREIGN LANGUAGE 122 4 18 32 23 41 4 2.0% 7.8% 14.8% 26.2% 18.8% 3.3% 3.3% FOREIGN LANGUAGE 51 1 4 16 14 7 9 BILINGUAL EDUCATION 2.0% 7.8% 31.4% 25.5%		ASSISTANT SPECIAL SCHOOL PRINC								
KINDERGARTEN 82 2 6 26 18 23 7 COMMON BRANCH 396 8 54 95 93 107 38 38 SPECIAL EDUCATION 243 8 38 60 67 56 13 37 READING 80 13.8% 24.7% 27.6% 23.0% 5.3% 0.3% READING 80 13 19 15 28 5 5.3% 0.4% FOREIGN LANGUAGE 122 4 18 32 23 41 4 BILINGUAL EDUCATION 2.0% 7.8% 31.4% 25.5% 3.3% 3.6% 3.3% FOREIGN LANGUAGE 51 1 4 16 14 7 9 2.0% 7.8% 31.4% 25.5% 13.7% 17.6% 17.6% BILINGUAL EDUCATION 2 4 16 14 7 9 2.0% 7.8% 31.4% 25.5% 13.7% 17.6% 25.0% BILINGUAL EDUCATION 2		OTHER SCHOOL ADMINISTRATOR								
COMMON BRANCH 396 8 54 95 93 107 38 38 SPECIAL EDUCATION 243 8 38 60 67 56 13 6 SPECIAL EDUCATION 243 8 38 60 67 56 13 6 READING 80 13 19 15 28 5 6.3% 6.3% ENGLISH LANGUAGE 122 4 18 32 23 41 4 3.3% 14.8% 26.2% 18.9% 33.6% 3.3% 3.3% FOREIGN LANGUAGE 51 1 4 16 14 7 9 2.0% 7.8% 31.4% 27.5% 13.7% 17.6% BILINGUAL EDUCATION 20% 7.8% 31.4% 27.5% 13.7% 17.6% MATHEMATICS 106 5 19 32 21 22 7 6.6% 106 5 19 32.2%<		PREKINDERGARTEN	7							
2.0% 13.6% 24.0% 23.5% 27.0% 9.6% 0.3% SPECIAL EDUCATION 243 8 38 60 67 56 13 63 READING 80 13 19 15 28 5 6.3% 0.4% ENGLISH LANGUAGE 122 4 18 32 23 41 4 5.3% 16.3% 23.8% 18.8% 35.0% 6.3% ENGLISH LANGUAGE 122 4 18 32 23 41 4 3.3% 14.8% 26.2% 18.9% 33.6% 3.3% 3.3% FOREIGN LANGUAGE 51 1 4 16 14 7 9 BILINGUAL EDUCATION 20.0% 7.8% 31.4% 27.5% 13.7% 17.6% MATHEMATICS 106 5 19 32 21 22 7 6.6% 4.7% 17.9% 30.2% 19.8% 20.8% 6.6%		KINDERGARTEN	82							
READING 80 13 19 15 28 5 ENGLISH LANGUAGE 122 4 18 32 23 41 4 S3% 14.8% 26.2% 18.9% 33.6% 3.3% 14.8% 35.0% 6.3% ENGLISH LANGUAGE 122 4 18 32 23 41 4 S3% 14.8% 26.2% 18.9% 33.6% 3.3% FOREIGN LANGUAGE 51 1 4 16 14 7 9 2.0% 7.8% 31.4% 27.5% 13.7% 17.6% BILINGUAL EDUCATION 20.9% 7.8% 37.5% 37.5% 25.0% MATHEMATICS 106 5 19 32 21 22 7 6.6% 106 5 19 32.2% 19.8% 20.8% 6.6%		COMMON BRANCH	396							1 0.3%
ENGLISH LANGUAGE 122 4 18 32 23 41 4 3.3% 14.8% 26.2% 18.9% 33.6% 3.3% FOREIGN LANGUAGE 51 1 4 16 14 7 9 BILINGUAL EDUCATION 2.0% 7.8% 31.4% 27.5% 13.7% 17.6% MATHEMATICS 106 5 19 32 21 22 7 6.6% 106 5 19 32.2% 19.8% 20.8% 6.6%		SPECIAL EDUCATION	243							1 0.4%
3.3% 14.8% 26.2% 18.9% 33.6% 3.3% FOREIGN LANGUAGE 51 1 4 16 14 7 9 2.0% 7.8% 31.4% 27.5% 13.7% 17.6% BILINGUAL EDUCATION ENGLISH AS A SECOND LANGUAGE 8 3 3 2 MATHEMATICS 106 5 19 32 21 22 7 MATHEMATICS 106 5 19 32.2% 19.8% 20.8% 6.6%		READING	80							
2.0% 7.8% 31.4% 27.5% 13.7% 17.6% BILINGUAL EDUCATION ENGLISH AS A SECOND LANGUAGE 8 3 3 2 MATHEMATICS 106 5 19 32 21 22 7 4.7% 17.9% 30.2% 19.8% 20.8% 6.6%		ENGLISH LANGUAGE	122							
ENGLISH AS A SECOND LANGUAGE 8 3 3 2 37.5% 37.5% 25.0% MATHEMATICS 106 5 19 32 21 22 7 4.7% 17.9% 30.2% 19.8% 20.8% 6.6%			51	-						
37.5% 37.5% 25.0% MATHEMATICS 106 5 19 32 21 22 7 4.7% 17.9% 30.2% 19.8% 20.8% 6.6%		BILINGUAL EDUCATION								
4.7% 17.9% 30.2% 19.8% 20.8% 6.6%		ENGLISH AS A SECOND LANGUAGE	8							
		MATHEMATICS	106							
SCIENCE 93 1 21 27 21 21 2 1.1% 22.6% 29.0% 22.6% 22.6% 2.2%		SCIENCE	93							

		20	103-2000						
County:	JEFFERSON								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	87	2 2.3%	18 20.7%	24 27.6%	23 26.4%	10 11.5%	10 11.5%	
	ART	41	1 2.4%	4 9.8%	7 17.1%	12 29.3%	11 26.8%	5 12.2%	1 2.4%
	MUSIC	62		9 14.5%	17 27.4%	20 32.3%	11 17.7%	4 6.5%	1 1.6%
	ART/MUSIC	1				1 100.0%			
	HEALTH EDUCATION	19		2 10.5%	7 36.8%	2 10.5%	6 31.6%	2 10.5%	
	SAFETY EDUCATION	6	1 16.7%			3 50.0%		2 33.3%	
	PHYSICAL EDUCATION	75		14 18.7%	19 25.3%	23 30.7%	15 20.0%	4 5.3%	
	AGRICULTURE	9		1 11.1%		3 33.3%	4 44.4%	1 11.1%	
	BUSINESS/MARKETING	16		4 25.0%	5 31.3%	3 18.8%	4 25.0%		
	HOME ECONOMICS	12		1 8.3%	1 8.3%	7 58.3%	2 16.7%	1 8.3%	
	TECHNOLOGY	18		1 5.6%	3 16.7%	11 61.1%	3 16.7%		
	TRADE EDUCATION	27	1 3.7%		5 18.5%	10 37.0%	6 22.2%	3 11.1%	2 7.4%
	TECHNICAL EDUCATION	3				2 66.7%		1 33.3%	
	HEALTH OCCUPATION	9				2 22.2%	3 33.3%	4 44.4%	
	GENERAL OCCUPATIONAL EDUCATION	41	1 2.4%	3 7.3%	3 7.3%	18 43.9%	15 36.6%	1 2.4%	

County:	JEFFERSON	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	7			4 57.1%	2 28.6%	1 14.3%		
	LIBRARY	24			2 8.3%	5 20.8%	11 45.8%	6 25.0%	
	LEARNING TECHNOLOGY	2					1 50.0%	1 50.0%	
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	4		1 25.0%	2 50.0%		1 25.0%		
	COMBINED COURSES	1				1 100.0%			
	OTHER SUBJECT	107	3 2.8%	22 20.6%	25 23.4%	20 18.7%	33 30.8%	4 3.7%	
	HELPING TEACHER	4	1 25.0%	1 25.0%	1 25.0%	1 25.0%			
	GIFTED/TALENTED	4				4 100.0%			
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	7		1 14.3%	2 28.6%	1 14.3%	3 42.9%		
	Summary	1791	34 1.9%	238 13.3%	442 24.7%	438 24.5%	459 25.6%	171 9.5%	9 0.5%

County:	LEWIS	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT								
	SUPERINTENDENT, DEPENDENT	5				3 60.0%	1 20.0%	1 20.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT								
	ASSISTANT SUPERINTENDENT SPECI								
	BUSINESS MANAGER								
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	4			1 25.0%	2 50.0%		1 25.0%	
	ASSISTANT DIRECTOR/COORDINATOR				20.070	00.070		20.070	
	SUPERVISOR	1						1 100.0%	
	DEPARTMENT CHAIRPERSON	9			2 22.2%	2 22.2%	4 44.4%	11.1%	
	ATTENDANCE TEACHER				22.270	22.270	· · · · /0	11.170	
	SCHOOL PSYCHOLOGIST	5		1 20.0%	3 60.0%	1 20.0%			
	SOCIAL WORKER			20.07	00.076	20.070			
	GUIDANCE COUNSELOR	12			6 50.0%	3 25.0%	3 25.0%		

County:	LEWIS	20	00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	9				1 11.1%	6 66.7%	2 22.2%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	1			1 100.0%				
	ELEMENTARY SCHOOL PRINCIPAL	2		1 50.0%			1 50.0%		
	MIDDLE SCHOOL PRINCIPAL	3			2 66.7%		1 33.3%		
	JUNIOR HIGH SCHOOL PRINCIPAL				00.170		00.070		
	K-12 SCHOOL PRINCIPAL	2			1 50.0%		1 50.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	2					1 50.0%	1 50.0%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1			1 100.0%				
	SPECIAL SCHOOL PRINCIPAL				100.070				
	ASSISTANT ELEMENTARY SCHOOL PR	2			2 100.0%				
	ASSISTANT MIDDLE SCHOOL PRINCI				100.070				
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	LEWIS	20	00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P								
	ASSISTANT JR./SR. HIGH SCHOOL	1			1 100.0%				
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN								
	KINDERGARTEN	21		6 28.6%	6 28.6%	3 14.3%	6 28.6%		
	COMMON BRANCH	84		14 16.7%	16 19.0%	11 13.1%	29 34.5%	14 16.7%	
	SPECIAL EDUCATION	24	1 4.2%	4 16.7%	6 25.0%	8 33.3%	5 20.8%		
	READING	19		4 21.1%	6 31.6%	1 5.3%	6 31.6%	2 10.5%	
	ENGLISH LANGUAGE	33	1 3.0%	8 24.2%	6 18.2%	7 21.2%	5 15.2%	5 15.2%	1 3.0%
	FOREIGN LANGUAGE	13		2 15.4%	2 15.4%	3 23.1%	4 30.8%	2 15.4%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE								
	MATHEMATICS	35		8 22.9%	6 17.1%	7 20.0%	11 31.4%	3 8.6%	
	SCIENCE	30		3 10.0%	6 20.0%	9 30.0%	9 30.0%	3 10.0%	

County:	LEWIS								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57 -64	Over-64
	SOCIAL STUDIES	30		4 13.3%	8 26.7%	8 26.7%	8 26.7%	2 6.7%	
	ART	13		3 23.1%	2 15.4%	3 23.1%	5 38.5%		
	MUSIC	18	2 11.1%	4 22.2%	3 16.7%	5 27.8%	3 16.7%		1 5.6%
	ART/MUSIC	1		1 100.0%					
	HEALTH EDUCATION	6		2 33.3%	1 16.7%		3 50.0%		
	SAFETY EDUCATION	2					2 100.0%		
	PHYSICAL EDUCATION	22		6 27.3%	5 22.7%	4 18.2%	6 27.3%	1 4.5%	
	AGRICULTURE	4		2 50.0%	1 25.0%	1 25.0%			
	BUSINESS/MARKETING	7			2 28.6%	3 42.9%	2 28.6%		
	HOME ECONOMICS	4		1 25.0%			3 75.0%		
	TECHNOLOGY	8		1 12.5%	1 12.5%	2 25.0%	4 50.0%		
	TRADE EDUCATION								
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION								
	GENERAL OCCUPATIONAL EDUCATION	12		1 8.3%	1 8.3%	2 16.7%	8 66.7%		

County:	LEWIS								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE								
	LIBRARY	6	1 16.7%	1 16.7%	1 16.7%	1 16.7%	2 33.3%		
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1		1 100.0%					
	COMBINED COURSES	3		1 33.3%	1 33.3%		1 33.3%		
	OTHER SUBJECT	37	1 2.7%	10 27.0%	7 18.9%	3 8.1%	10 27.0%	5 13.5%	1 2.7%
	HELPING TEACHER								
	GIFTED/TALENTED	2		1 50.0%			1 50.0%		
	GENERAL COOPERATIVE WORK EXPER			00.070			50.070		
	COMPUTER STUDIES	3			2 66.7%		1 33.3%		
	Summary	405	5 1.2%	71 17.5%	91 22.5%	85 21.0%	117 28.9%	34 8.4%	2 0.5%

		20	05-2000						
County:	LIVINGSTON	-	-						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	3				2 66.7%		1 33.3%	
	SUPERINTENDENT, DEPENDENT	6					4 66.7%	2 33.3%	
	DEPUTY OR ASSOCIATE SUPERINTEN						00.170	00.070	
	ASSISTANT SUPERINTENDENT	1						1 100.0%	
	ASSISTANT SUPERINTENDENT SPECI	1						100.0%	
	BUSINESS MANAGER	8			3 37.5%	2 25.0%	2 25.0%	12.5%	
	ADMINISTRATIVE ASSISTANT					, _			
	DIRECTOR/COORDINATOR	40		3 7.5%	9 22.5%	14 35.0%	7 17.5%	6 15.0%	1 2.5%
	ASSISTANT DIRECTOR/COORDINATOR	6			2 33.3%	2 33.3%	2 33.3%		
	SUPERVISOR	1					1 100.0%		
	DEPARTMENT CHAIRPERSON	9			1 11.1%	3 33.3%	4 44.4%	1 11.1%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	15		7 46.7%	3 20.0%	2 13.3%	2 13.3%	1 6.7%	
	SOCIAL WORKER	10		1	10.0%	50.0%	30.0%	0.170	
				10.070	10.070	00.075	00.070		

County:	LIVINGSTON	20	105-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	1				1 100.0%			
	SCHOOL NURSE/PRACTITIONER	20			4 20.0%	7 35.0%	4 20.0%	5 25.0%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	14		3 21.4%	2 14.3%	3 21.4%	4 28.6%	2 14.3%	
	ELEMENTARY SCHOOL PRINCIPAL	8		1 12.5%	1 12.5%	1 12.5%	4 50.0%	1 12.5%	
	MIDDLE SCHOOL PRINCIPAL	7			3 42.9%	1 14.3%	3 42.9%		
	JUNIOR HIGH SCHOOL PRINCIPAL	1				1 100.0%			
	K-12 SCHOOL PRINCIPAL	3					3 100.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	6		2 33.3%		2 33.3%	2 33.3%		
	JUNIOR/SENIOR HIGH SCHOOL PRIN	2			1 50.0%	1 50.0%			
	SPECIAL SCHOOL PRINCIPAL	3			1 33.3%	1 33.3%	1 33.3%		
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI	1		1 100.0%					
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA	1			1 100.0%				

ounty:	LIVINGSTON		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	2		2 100.0%					
	ASSISTANT JR./SR. HIGH SCHOOL	1			1 100.0%				
	ASSISTANT SPECIAL SCHOOL PRINC	1					1 100.0%		
	OTHER SCHOOL ADMINISTRATOR	2			1 50.0%			1 50.0%	
	PREKINDERGARTEN	2		1 50.0%			1 50.0%		
	KINDERGARTEN	37		2 5.4%	6 16.2%	13 35.1%	11 29.7%	5 13.5%	
	COMMON BRANCH	192	6 3.1%	49 25.5%	42 21.9%	35 18.2%	35 18.2%	21 10.9%	4 2.1%
	SPECIAL EDUCATION	177	6 3.4%	22 12.4%	39 22.0%	54 30.5%	46 26.0%	10 5.6%	
	READING	58	1 1.7%	10 17.2%	8 13.8%	17 29.3%	13 22.4%	9 15.5%	
	ENGLISH LANGUAGE	72	8 11.1%	16 22.2%	14 19.4%	12 16.7%	13 18.1%	7 9.7%	2 2.8%
	FOREIGN LANGUAGE	35	1 2.9%	11 31.4%	7 20.0%	4 11.4%	6 17.1%	6 17.1%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	4				2 50.0%	1 25.0%	1 25.0%	
	MATHEMATICS	76	6 7.9%	15 19.7%	18 23.7%	17 22.4%	11 14.5%	9 11.8%	
	SCIENCE	63	2 3.2%	14 22.2%	14 22.2%	17 27.0%	8 12.7%	8 12.7%	

		<u>_</u>	103-2000						
ounty:	LIVINGSTON								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	63	6 9.5%	16 25.4%	21 33.3%	5 7.9%	12 19.0%	3 4.8%	
	ART	29		9 31.0%	2 6.9%	5 17.2%	9 31.0%	4 13.8%	
	MUSIC	37	3 8.1%	5 13.5%	5 13.5%	7 18.9%	13 35.1%	4 10.8%	
	ART/MUSIC								
	HEALTH EDUCATION	15		5 33.3%	2 13.3%	2 13.3%	4 26.7%	2 13.3%	
	SAFETY EDUCATION	3			1 33.3%		2 66.7%		
	PHYSICAL EDUCATION	52		8 15.4%	16 30.8%	14 26.9%	10 19.2%	4 7.7%	
	AGRICULTURE	4		1 25.0%			2 50.0%	1 25.0%	
	BUSINESS/MARKETING	19		2 10.5%	7 36.8%	8 42.1%	2 10.5%		
	HOME ECONOMICS	7		3 42.9%			4 57.1%		
	TECHNOLOGY	14	1 7.1%	1 7.1%	3 21.4%	4 28.6%	1 7.1%	3 21.4%	1 7.1%
	TRADE EDUCATION	25			2 8.0%	5 20.0%	13 52.0%	5 20.0%	
	TECHNICAL EDUCATION	2				1 50.0%	1 50.0%		
	HEALTH OCCUPATION	4				2 50.0%	2 50.0%		
	GENERAL OCCUPATIONAL EDUCATION	30	2 6.7%	4 13.3%	6 20.0%	8 26.7%	8 26.7%	2 6.7%	

County:	LIVINGSTON	-	00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	2				1 50.0%		1 50.0%	
	LIBRARY	15	1 6.7%	1 6.7%	4 26.7%	2 13.3%	6 40.0%	1 6.7%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1			1 100.0%				
	COMBINED COURSES				100.070				
	OTHER SUBJECT	59	4 6.8%	13 22.0%	11 18.6%	10 16.9%	16 27.1%	5 8.5%	
	HELPING TEACHER	3		1 33.3%		1 33.3%	1 33.3%		
	GIFTED/TALENTED	3					1 33.3%	1 33.3%	1 33.3%
	GENERAL COOPERATIVE WORK EXPER	3				2 66.7%	1 33.3%		
	COMPUTER STUDIES	7	1 14.3%		3 42.9%	2 28.6%	1 14.3%		
	Summary	1148	40 3.5%	203 17.7%	237 20.6%	268 23.3%	270 23.5%	122 10.6%	8 0.7%

		20	103-2000						
County:	MADISON								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	5					5 100.0%		
	SUPERINTENDENT, DEPENDENT	4				2 50.0%		2 50.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN	2				1 50.0%	1 50.0%		
	ASSISTANT SUPERINTENDENT	2				1 50.0%		1 50.0%	
	ASSISTANT SUPERINTENDENT SPECI	4					1 25.0%	3 75.0%	
	BUSINESS MANAGER	6			1 16.7%	4 66.7%	1 16.7%		
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	29		1 3.4%	3 10.3%	9 31.0%	13 44.8%	3 10.3%	
	ASSISTANT DIRECTOR/COORDINATOR	5			1 20.0%	2 40.0%	2 40.0%		
	SUPERVISOR	1					1 100.0%		
	DEPARTMENT CHAIRPERSON	9			2 22.2%	3 33.3%	3 33.3%	1 11.1%	
	ATTENDANCE TEACHER	1					1 100.0%		
	SCHOOL PSYCHOLOGIST	11			2 18.2%	4 36.4%	2 18.2%	3 27.3%	
	SOCIAL WORKER	7		3 42.9%		2 28.6%	2 28.6%		
	GUIDANCE COUNSELOR	34	1 2.9%	4 11.8%	13 38.2%	7 20.6%	6 17.6%	2 5.9%	1 2.9%

County:	MADISON	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	26			1 3.8%	5 19.2%	12 46.2%	7 26.9%	1 3.8%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	17		5 29.4%	4 23.5%	2 11.8%	3 17.6%	3 17.6%	
	ELEMENTARY SCHOOL PRINCIPAL	16			1 6.3%	6 37.5%	6 37.5%	3 18.8%	
	MIDDLE SCHOOL PRINCIPAL	4			1 25.0%	1 25.0%	2 50.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL				20.070	20.070	00.070		
	K-12 SCHOOL PRINCIPAL	2					1 50.0%	1 50.0%	
	SENIOR HIGH SCHOOL PRINCIPAL	3			2 66.7%	1 33.3%			
	JUNIOR/SENIOR HIGH SCHOOL PRIN	7		1 14.3%		3 42.9%	3 42.9%		
	SPECIAL SCHOOL PRINCIPAL			17. 3 70		72.3 70	⊣∠. 370		
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI	1			1 100.0%				
	ASSISTANT JUNIOR HIGH SCHOOL P				100.0%				
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	MADISON	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	2			1 50.0%	1 50.0%			
	ASSISTANT JR./SR. HIGH SCHOOL	2				2 100.0%			
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	1		1 100.0%					
	PREKINDERGARTEN	8		1 12.5%	2 25.0%	2 25.0%	2 25.0%	1 12.5%	
	KINDERGARTEN	39	1 2.6%	13 33.3%	9 23.1%	10 25.6%	4 10.3%	2 5.1%	
	COMMON BRANCH	248	10 4.0%	59 23.8%	60 24.2%	40 16.1%	67 27.0%	11 4.4%	1 0.4%
	SPECIAL EDUCATION	138	9 6.5%	21 15.2%	26 18.8%	43 31.2%	30 21.7%	9 6.5%	
	READING	58		17 29.3%	14 24.1%	7 12.1%	13 22.4%	6 10.3%	1 1.7%
	ENGLISH LANGUAGE	103	4 3.9%	27 26.2%	22 21.4%	15 14.6%	21 20.4%	14 13.6%	
	FOREIGN LANGUAGE	38	2 5.3%	11 28.9%	9 23.7%	5 13.2%	9 23.7%	2 5.3%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	2					1 50.0%	1 50.0%	
	MATHEMATICS	91	5 5.5%	16 17.6%	24 26.4%	13 14.3%	26 28.6%	7 7.7%	
	SCIENCE	79	1 1.3%	19 24.1%	14 17.7%	23 29.1%	16 20.3%	6 7.6%	

County:	MADISON	_0	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	73	4 5.5%	19 26.0%	22 30.1%	9 12.3%	13 17.8%	6 8.2%	
	ART	35		6 17.1%	7 20.0%	5 14.3%	13 37.1%	4 11.4%	
	MUSIC	50		16 32.0%	9 18.0%	9 18.0%	14 28.0%	2 4.0%	
	ART/MUSIC								
	HEALTH EDUCATION	16	1 6.3%	3 18.8%	3 18.8%	5 31.3%	4 25.0%		
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	55	4 7.3%	12 21.8%	11 20.0%	17 30.9%	9 16.4%	2 3.6%	
	AGRICULTURE	8		3 37.5%		2 25.0%	2 25.0%	1 12.5%	
	BUSINESS/MARKETING	18		3 16.7%	7 38.9%	2 11.1%	5 27.8%	1 5.6%	
	HOME ECONOMICS	10			1 10.0%	1 10.0%	8 80.0%		
	TECHNOLOGY	16		5 31.3%	2 12.5%	5 31.3%	4 25.0%		
	TRADE EDUCATION	17			4 23.5%	8 47.1%	4 23.5%	1 5.9%	
	TECHNICAL EDUCATION	1		1 100.0%					
	HEALTH OCCUPATION	3					2 66.7%	1 33.3%	
	GENERAL OCCUPATIONAL EDUCATION	34		6 17.6%	6 17.6%	7 20.6%	13 38.2%	2 5.9%	

County:	MADISON	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	3			1 33.3%	1 33.3%	1 33.3%		
	LIBRARY	25		1 4.0%	5 20.0%	3 12.0%	13 52.0%	3 12.0%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1					1 100.0%		
	COMBINED COURSES								
	OTHER SUBJECT	67	1 1.5%	19 28.4%	11 16.4%	13 19.4%	18 26.9%	4 6.0%	1 1.5%
	HELPING TEACHER								
	GIFTED/TALENTED	1					1 100.0%		
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	9		2 22.2%	3 33.3%	1 11.1%	2 22.2%	1 11.1%	
	Summary	1218	40 3.3%	234 19.2%	258 21.2%	257 21.1%	323 26.5%	101 8.3%	5 0.4%

County:	MONROE	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	17				1 5.9%	7 41.2%	9 52.9%	
	SUPERINTENDENT, DEPENDENT	1					1 100.0%		
	DEPUTY OR ASSOCIATE SUPERINTEN	11			1 9.1%	3 27.3%	3 27.3%	4 36.4%	
	ASSISTANT SUPERINTENDENT	13			2 15.4%	1 7.7%	6 46.2%	4 30.8%	
	ASSISTANT SUPERINTENDENT SPECI	28			1 3.6%	7 25.0%	15 53.6%	4 14.3%	1 3.6%
	BUSINESS MANAGER	13		1 7.7%	1 7.7%	3 23.1%	7 53.8%	1 7.7%	
	ADMINISTRATIVE ASSISTANT	1					1 100.0%		
	DIRECTOR/COORDINATOR	246		4 1.6%	45 18.3%	50 20.3%	103 41.9%	41 16.7%	3 1.2%
	ASSISTANT DIRECTOR/COORDINATOR	15			2 13.3%	5 33.3%	5 33.3%	3 20.0%	
	SUPERVISOR	34			10 29.4%	6 17.6%	11 32.4%	7 20.6%	
	DEPARTMENT CHAIRPERSON	97		5 5.2%	17 17.5%	21 21.6%	29 29.9%	24 24.7%	1 1.0%
	ATTENDANCE TEACHER	2					1 50.0%	1 50.0%	
	SCHOOL PSYCHOLOGIST	215	1 0.5%	42 19.5%	47 21.9%	45 20.9%	53 24.7%	24 11.2%	3 1.4%
	SOCIAL WORKER	161		9 5.6%	36 22.4%	47 29.2%	39 24.2%	30 18.6%	
	GUIDANCE COUNSELOR	318	3 0.9%	56 17.6%	78 24.5%	69 21.7%	78 24.5%	32 10.1%	2 0.6%

County:	MONROE	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	22				9 40.9%	8 36.4%	4 18.2%	1 4.5%
	SCHOOL NURSE/PRACTITIONER	160		5 3.1%	19 11.9%	37 23.1%	62 38.8%	29 18.1%	8 5.0%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	377		32 8.5%	61 16.2%	79 21.0%	149 39.5%	53 14.1%	3 0.8%
	ELEMENTARY SCHOOL PRINCIPAL	111		1 0.9%	19 17.1%	27 24.3%	44 39.6%	19 17.1%	1 0.9%
	MIDDLE SCHOOL PRINCIPAL	23			6 26.1%	6 26.1%	10 43.5%	1 4.3%	
	JUNIOR HIGH SCHOOL PRINCIPAL	2			2 100.0%				
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	35			4 11.4%	12 34.3%	15 42.9%	4 11.4%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	13				4 30.8%	5 38.5%	4 30.8%	
	SPECIAL SCHOOL PRINCIPAL	6			1 16.7%	2 33.3%	3 50.0%		
	ASSISTANT ELEMENTARY SCHOOL PR	54		4 7.4%	13 24.1%	14 25.9%	17 31.5%	6 11.1%	
	ASSISTANT MIDDLE SCHOOL PRINCI	44		5 11.4%	15 34.1%	8 18.2%	11 25.0%	5 11.4%	
	ASSISTANT JUNIOR HIGH SCHOOL P	5			2 40.0%	3 60.0%			
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	MONROE								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	86		5 5.8%	32 37.2%	22 25.6%	16 18.6%	11 12.8%	
	ASSISTANT JR./SR. HIGH SCHOOL	28		2 7.1%	9 32.1%	8 28.6%	7 25.0%	2 7.1%	
	ASSISTANT SPECIAL SCHOOL PRINC	5			3 60.0%		2 40.0%		
	OTHER SCHOOL ADMINISTRATOR	23		5 21.7%	4 17.4%	5 21.7%	7 30.4%	2 8.7%	
	PREKINDERGARTEN	68	1 1.5%	8 11.8%	12 17.6%	22 32.4%	13 19.1%	11 16.2%	1 1.5%
	KINDERGARTEN	342	10 2.9%	83 24.3%	86 25.1%	56 16.4%	76 22.2%	29 8.5%	2 0.6%
	COMMON BRANCH	2179	61 2.8%	485 22.3%	584 26.8%	403 18.5%	435 20.0%	204 9.4%	7 0.3%
	SPECIAL EDUCATION	1830	49 2.7%	388 21.2%	423 23.1%	388 21.2%	432 23.6%	139 7.6%	11 0.6%
	READING	299	5 1.7%	55 18.4%	60 20.1%	60 20.1%	85 28.4%	32 10.7%	2 0.7%
	ENGLISH LANGUAGE	813	29 3.6%	195 24.0%	180 22.1%	143 17.6%	178 21.9%	82 10.1%	6 0.7%
	FOREIGN LANGUAGE	370	21 5.7%	50 13.5%	102 27.6%	70 18.9%	85 23.0%	39 10.5%	3 0.8%
	BILINGUAL EDUCATION	84	3 3.6%	18 21.4%	15 17.9%	19 22.6%	19 22.6%	9 10.7%	1 1.2%
	ENGLISH AS A SECOND LANGUAGE	156	1 0.6%	20 12.8%	35 22.4%	37 23.7%	33 21.2%	28 17.9%	2 1.3%
	MATHEMATICS	752	53 7.0%	174 23.1%	171 22.7%	143 19.0%	152 20.2%	56 7.4%	3 0.4%
	SCIENCE	711	25 3.5%	162 22.8%	162 22.8%	150 21.1%	146 20.5%	59 8.3%	7 1.0%

County:	MONROE	2003-2000								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	SOCIAL STUDIES	694	23 3.3%	190 27.4%	189 27.2%	114 16.4%	115 16.6%	59 8.5%	4 0.6%	
	ART	303	7 2.3%	59 19.5%	64 21.1%	68 22.4%	80 26.4%	25 8.3%		
	MUSIC	452	26 5.8%	90 19.9%	85 18.8%	105 23.2%	109 24.1%	34 7.5%	3 0.7%	
	ART/MUSIC	8		2 25.0%	1 12.5%	1 12.5%	3 37.5%	1 12.5%		
	HEALTH EDUCATION	125	2 1.6%	34 27.2%	29 23.2%	20 16.0%	24 19.2%	16 12.8%		
	SAFETY EDUCATION	2				1 50.0%	1 50.0%			
	PHYSICAL EDUCATION	527	11 2.1%	146 27.7%	156 29.6%	102 19.4%	81 15.4%	28 5.3%	3 0.6%	
	AGRICULTURE	2					1 50.0%	1 50.0%		
	BUSINESS/MARKETING	115	1 0.9%	25 21.7%	24 20.9%	38 33.0%	22 19.1%	5 4.3%		
	HOME ECONOMICS	69	2 2.9%	9 13.0%	10 14.5%	10 14.5%	32 46.4%	6 8.7%		
	TECHNOLOGY	128	6 4.7%	42 32.8%	31 24.2%	24 18.8%	21 16.4%	4 3.1%		
	TRADE EDUCATION	59	1 1.7%	6 10.2%	11 18.6%	10 16.9%	23 39.0%	8 13.6%		
	TECHNICAL EDUCATION	6		1 16.7%	2 33.3%	2 33.3%	1 16.7%			
	HEALTH OCCUPATION	8				4 50.0%	3 37.5%	1 12.5%		
	GENERAL OCCUPATIONAL EDUCATION	194	1 0.5%	40 20.6%	28 14.4%	42 21.6%	59 30.4%	24 12.4%		

~		2003-2000								
County:	MONROE									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	COOPERATIVE WORK EXPERIENCE	27		4 14.8%	7 25.9%	8 29.6%	3 11.1%	5 18.5%		
	LIBRARY	172	2 1.2%	13 ^{7.6%}	24 14.0%	34 19.8%	65 37.8%	33 19.2%	1 0.6%	
	LEARNING TECHNOLOGY	4		1 25.0%		2 50.0%	1 25.0%			
	HUMANITIES/PERFORMING ARTS	3		1 33.3%	2 66.7%					
	DANCE	8		1 12.5%	4 50.0%	1 12.5%		2 25.0%		
	THEATER	15		3 20.0%	3 20.0%		6 40.0%	3 20.0%		
	COMBINED COURSES	5		2 40.0%		1 20.0%	1 20.0%	1 20.0%		
	OTHER SUBJECT	520	19 3.7%	111 21.3%	114 21.9%	92 17.7%	116 22.3%	64 12.3%	4 0.8%	
	HELPING TEACHER	60	2 3.3%	2 3.3%	8 13.3%	14 23.3%	22 36.7%	11 18.3%	1 1.7%	
	GIFTED/TALENTED	47	1 2.1%	6 12.8%	3 6.4%	12 25.5%	16 34.0%	9 19.1%		
	GENERAL COOPERATIVE WORK EXPER	16		3 18.8%	5 31.3%	2 12.5%	4 25.0%	2 12.5%		
	COMPUTER STUDIES	38		7 18.4%	10 26.3%	8 21.1%	9 23.7%	4 10.5%		
	Summary	12088	344 2.8%	2379 19.7%	2773 22.9%	2442 20.2%	2872 23.8%	1204 10.0%	74 0.6%	

County:	MONTGOMERY	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	1						1	
	SUPERINTENDENT, DEPENDENT	4					3 75.0%	100.0% 1 25.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN						10.070	20.070	
	ASSISTANT SUPERINTENDENT	1					1 100.0%		
	ASSISTANT SUPERINTENDENT SPECI	1						1 100.0%	
	BUSINESS MANAGER	2					1 50.0%	1 50.0%	
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	6			1 16.7%	1 16.7%	2 33.3%	2 33.3%	
	ASSISTANT DIRECTOR/COORDINATOR				10.7 %	10.7 %	33.376	55.576	
	SUPERVISOR								
	DEPARTMENT CHAIRPERSON	7			1 14.3%	3 42.9%	3 42.9%		
	ATTENDANCE TEACHER				14.3%	42.9%	42.9%		
	SCHOOL PSYCHOLOGIST	8		1 12.5%	3 37.5%	2 25.0%	2 25.0%		
	SOCIAL WORKER	6		12.5% 1 16.7%	31.5%	25.0% 1 16.7%	25.0% 4 66.7%		
	GUIDANCE COUNSELOR	18		10.7 % 3 16.7%	6 33.3%	5 27.8%	3 16.7%		1 5.6%

		2	105-2000						
County:	MONTGOMERY								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	11		1 9.1%	3 27.3%	1 9.1%	5 45.5%	1 9.1%	
	DENTAL HYGIENIST			9.170	21.576	3.176	43.376	3.170	
	OTHER NONTEACHING	1			1 100.0%				
	ELEMENTARY SCHOOL PRINCIPAL	8				2 25.0%	5 62.5%	1 12.5%	
	MIDDLE SCHOOL PRINCIPAL	3				1 33.3%	2 66.7%		
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	1					1 100.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	1					1 100.0%		
	JUNIOR/SENIOR HIGH SCHOOL PRIN	2				2 100.0%			
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	1						1 100.0%	
	ASSISTANT MIDDLE SCHOOL PRINCI	1				1 100.0%			
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	MONTGOMERY	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57 -64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	2		1 50.0%		1 50.0%			
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	3		2 66.7%	1 33.3%				
	KINDERGARTEN	29	2 6.9%	5 17.2%	9 31.0%	1 3.4%	10 34.5%	2 6.9%	
	COMMON BRANCH	135	4 3.0%	21 15.6%	32 23.7%	21 15.6%	33 24.4%	24 17.8%	
	SPECIAL EDUCATION	99	5 5.1%	16 16.2%	27 27.3%	25 25.3%	22 22.2%	4 4.0%	
	READING	35	2 5.7%	7 20.0%	7 20.0%	3 8.6%	10 28.6%	6 17.1%	
	ENGLISH LANGUAGE	67	1 1.5%	20 29.9%	17 25.4%	10 14.9%	13 19.4%	5 7.5%	1 1.5%
	FOREIGN LANGUAGE	25		7 28.0%	4 16.0%	4 16.0%	9 36.0%	1 4.0%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	7		1 14.3%	2 28.6%		3 42.9%	1 14.3%	
	MATHEMATICS	65		8 12.3%	11 16.9%	21 32.3%	18 27.7%	7 10.8%	
	SCIENCE	53		8 15.1%	14 26.4%	15 28.3%	12 22.6%	4 7.5%	

		20	103-2000						
County:	MONTGOMERY								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- 64	Over-64
	SOCIAL STUDIES	52	1 1.9%	9 17.3%	11 21.2%	12 23.1%	12 23.1%	7 13.5%	
	ART	21		3 14.3%	3 14.3%	9 42.9%	3 14.3%	3 14.3%	
	MUSIC	27	1 3.7%	5 18.5%	5 18.5%	6 22.2%	9 33.3%	1 3.7%	
	ART/MUSIC	1		1 100.0%					
	HEALTH EDUCATION	12		4 33.3%	3 25.0%	2 16.7%	3 25.0%		
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	31	1 3.2%	3 9.7%	8 25.8%	8 25.8%	11 35.5%		
	AGRICULTURE	1					1 100.0%		
	BUSINESS/MARKETING	16			1 6.3%	3 18.8%	6 37.5%	5 31.3%	1 6.3%
	HOME ECONOMICS	5		1 20.0%		2 40.0%	2 40.0%		
	TECHNOLOGY	8			1 12.5%	5 62.5%	1 12.5%	1 12.5%	
	TRADE EDUCATION								
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION								
	GENERAL OCCUPATIONAL EDUCATION	19			1 5.3%	8 42.1%	8 42.1%	2 10.5%	

		<u> </u>	103-2000						
County:	MONTGOMERY								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE								
	LIBRARY	14		2 14.3%	4 28.6%	1 7.1%	5 35.7%	2 14.3%	
	LEARNING TECHNOLOGY			14.3%	20.0%	1.170	33.7%	14.3%	
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER								
	COMBINED COURSES								
	OTHER SUBJECT	42	1	6	9	13	11	2	
	HELPING TEACHER		2.4%	14.3%	21.4%	31.0%	26.2%	4.8%	
	GIFTED/TALENTED								
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	3			1	1	1		
	Summary	744	17 2.3%	123 16.5%	33.3% 164 22.0%	33.3% 154 20.7%	33.3% 207 27.8%	76 10.2%	3 0.4%

County:	NASSAU								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57 -6 4	Over-64
	SUPERINTENDENT, INDEPENDENT	43				1 2.3%	14 32.6%	25 58.1%	3 7.0%
	SUPERINTENDENT, DEPENDENT	15				1 6.7%	8 53.3%	5 33.3%	1 6.7%
	DEPUTY OR ASSOCIATE SUPERINTEN	15			1 6.7%	3 20.0%	5 33.3%	4 26.7%	2 13.3%
	ASSISTANT SUPERINTENDENT	15				7 46.7%	4 26.7%	3 20.0%	1 6.7%
	ASSISTANT SUPERINTENDENT SPECI	89			6 6.7%	11 12.4%	36 40.4%	34 38.2%	2 2.2%
	BUSINESS MANAGER	24			2 8.3%	4 16.7%	14 58.3%	4 16.7%	
	ADMINISTRATIVE ASSISTANT	6				3 50.0%	2 33.3%	1 16.7%	
	DIRECTOR/COORDINATOR	389		10 2.6%	47 12.1%	68 17.5%	151 38.8%	97 24.9%	16 4.1%
	ASSISTANT DIRECTOR/COORDINATOR	38		5 13.2%	7 18.4%	8 21.1%	11 28.9%	4 10.5%	3 7.9%
	SUPERVISOR	57		3 5.3%	6 10.5%	14 24.6%	21 36.8%	11 19.3%	2 3.5%
	DEPARTMENT CHAIRPERSON	343		16 4.7%	74 21.6%	86 25.1%	115 33.5%	46 13.4%	6 1.7%
	ATTENDANCE TEACHER	16	1 6.3%		6 37.5%	1 6.3%	6 37.5%	2 12.5%	
	SCHOOL PSYCHOLOGIST	448	1 0.2%	85 19.0%	110 24.6%	75 16.7%	110 24.6%	62 13.8%	5 1.1%
	SOCIAL WORKER	243		23 9.5%	65 26.7%	45 18.5%	69 28.4%	35 14.4%	6 2.5%
	GUIDANCE COUNSELOR	483	5 1.0%	120 24.8%	138 28.6%	69 14.3%	76 15.7%	66 13.7%	9 1.9%

County:	NASSAU								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	5					3 60.0%	2 40.0%	
	SCHOOL NURSE/PRACTITIONER	373		3 0.8%	7 1.9%	77 20.6%	173 46.4%	94 25.2%	19 5.1%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	284		17 6.0%	50 17.6%	54 19.0%	96 33.8%	57 20.1%	10 3.5%
	ELEMENTARY SCHOOL PRINCIPAL	206		3 1.5%	21 10.2%	37 18.0%	73 35.4%	63 30.6%	9 4.4%
	MIDDLE SCHOOL PRINCIPAL	47		1 2.1%	6 12.8%	11 23.4%	14 29.8%	13 27.7%	2 4.3%
	JUNIOR HIGH SCHOOL PRINCIPAL	2			1 50.0%		1 50.0%		
	K-12 SCHOOL PRINCIPAL	3			1 33.3%	1 33.3%	1 33.3%		
	SENIOR HIGH SCHOOL PRINCIPAL	50		1 2.0%	7 14.0%	11 22.0%	19 38.0%	11 22.0%	1 2.0%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	11			1 9.1%	3 27.3%	6 54.5%	1 9.1%	
	SPECIAL SCHOOL PRINCIPAL	11			1 9.1%	2 18.2%	6 54.5%	2 18.2%	
	ASSISTANT ELEMENTARY SCHOOL PR	71		3 4.2%	19 26.8%	19 26.8%	15 21.1%	14 19.7%	1 1.4%
	ASSISTANT MIDDLE SCHOOL PRINCI	70		4 5.7%	30 42.9%	10 14.3%	15 21.4%	9 12.9%	2 2.9%
	ASSISTANT JUNIOR HIGH SCHOOL P	1			1 100.0%				
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	NASSAU								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	105		4 3.8%	28 26.7%	24 22.9%	26 24.8%	23 21.9%	
	ASSISTANT JR./SR. HIGH SCHOOL	20		1 5.0%	5 25.0%	4 20.0%	5 25.0%	5 25.0%	
	ASSISTANT SPECIAL SCHOOL PRINC	12		1 8.3%	1 8.3%	4 33.3%	5 41.7%	1 8.3%	
	OTHER SCHOOL ADMINISTRATOR	23		1 4.3%	6 26.1%	7 30.4%	4 17.4%	5 21.7%	
	PREKINDERGARTEN	81	4 4.9%	16 19.8%	22 27.2%	13 16.0%	17 21.0%	6 7.4%	3 3.7%
	KINDERGARTEN	656	18 2.7%	127 19.4%	183 27.9%	125 19.1%	124 18.9%	77 11.7%	2 0.3%
	COMMON BRANCH	4027	80 2.0%	936 23.2%	1087 27.0%	711 17.7%	652 16.2%	514 12.8%	47 1.2%
	SPECIAL EDUCATION	2859	56 2.0%	654 22.9%	603 21.1%	539 18.9%	740 25.9%	237 8.3%	30 1.0%
	READING	789	5 0.6%	134 17.0%	169 21.4%	115 14.6%	212 26.9%	141 17.9%	13 1.6%
	ENGLISH LANGUAGE	1466	53 3.6%	432 29.5%	359 24.5%	197 13.4%	245 16.7%	163 11.1%	17 1.2%
	FOREIGN LANGUAGE	821	27 3.3%	183 22.3%	184 22.4%	131 16.0%	173 21.1%	110 13.4%	13 1.6%
	BILINGUAL EDUCATION	79		16 20.3%	27 34.2%	20 25.3%	11 13.9%	4 5.1%	1 1.3%
	ENGLISH AS A SECOND LANGUAGE	388	1 0.3%	55 14.2%	97 25.0%	70 18.0%	88 22.7%	71 18.3%	6 1.5%
	MATHEMATICS	1387	98 7.1%	294 21.2%	315 22.7%	258 18.6%	243 17.5%	168 12.1%	11 0.8%
	SCIENCE	1411	33 2.3%	339 24.0%	348 24.7%	280 19.8%	251 17.8%	140 ^{9.9%}	20 1.4%

County:	NASSAU	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	1222	60 4.9%	368 30.1%	336 27.5%	191 15.6%	137 11.2%	109 8.9%	21 1.7%
	ART	601	19 3.2%	127 21.1%	127 21.1%	106 17.6%	131 21.8%	84 14.0%	7 1.2%
	MUSIC	845	28 3.3%	184 21.8%	163 19.3%	168 19.9%	229 27.1%	63 7.5%	10 1.2%
	ART/MUSIC	10		1 10.0%	3 30.0%	2 20.0%	2 20.0%	2 20.0%	
	HEALTH EDUCATION	297	13 4.4%	84 28.3%	60 20.2%	50 16.8%	57 19.2%	32 10.8%	1 0.3%
	SAFETY EDUCATION	4		1 25.0%				3 75.0%	
	PHYSICAL EDUCATION	889	33 3.7%	225 25.3%	241 27.1%	166 18.7%	158 17.8%	64 ^{7.2%}	2 0.2%
	AGRICULTURE	6	1 16.7%	1 16.7%		1 16.7%	3 50.0%		
	BUSINESS/MARKETING	212	3 1.4%	33 15.6%	39 18.4%	55 25.9%	48 22.6%	33 15.6%	1 0.5%
	HOME ECONOMICS	101	4 4.0%	9 8.9%	13 12.9%	14 13.9%	39 38.6%	18 17.8%	4 4.0%
	TECHNOLOGY	98	1 1.0%	14 14.3%	11 11.2%	23 23.5%	33 33.7%	16 16.3%	
	TRADE EDUCATION	56	1 1.8%	5 8.9%	3 5.4%	17 30.4%	17 30.4%	13 23.2%	
	TECHNICAL EDUCATION	4				2 50.0%	1 25.0%	1 25.0%	
	HEALTH OCCUPATION	7		1 14.3%		1 14.3%	3 42.9%	2 28.6%	
	GENERAL OCCUPATIONAL EDUCATION	305	6 2.0%	34 11.1%	56 18.4%	65 21.3%	102 33.4%	40 13.1%	2 0.7%

County:	NASSAU	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	21		2 9.5%	2 9.5%	5 23.8%	7 33.3%	5 23.8%	
	LIBRARY	316	2 0.6%	36 11.4%	49 15.5%	48 15.2%	102 32.3%	71 22.5%	8 2.5%
	LEARNING TECHNOLOGY	9			2 22.2%	4 44.4%	2 22.2%	1 11.1%	
	HUMANITIES/PERFORMING ARTS	12		3 25.0%	1 8.3%	4 33.3%	3 25.0%	1 8.3%	
	DANCE	8		4 50.0%	3 37.5%	1 12.5%			
	THEATER	27		6 22.2%	7 25.9%	5 18.5%	5 18.5%	4 14.8%	
	COMBINED COURSES	24		5 20.8%	6 25.0%	4 16.7%	4 16.7%	5 20.8%	
	OTHER SUBJECT	787	38 4.8%	176 22.4%	164 20.8%	138 17.5%	159 20.2%	96 12.2%	16 2.0%
	HELPING TEACHER	59	7 11.9%	22 37.3%	11 18.6%	9 15.3%	5 8.5%	4 6.8%	1 1.7%
	GIFTED/TALENTED	108		18 16.7%	14 13.0%	21 19.4%	32 29.6%	22 20.4%	1 0.9%
	GENERAL COOPERATIVE WORK EXPER	14		2 14.3%		3 21.4%	5 35.7%	4 28.6%	
	COMPUTER STUDIES	140	1 0.7%	20 14.3%	25 17.9%	36 25.7%	32 22.9%	24 17.1%	2 1.4%
	Summary	21274	550 2.6%	4446 20.9%	4835 22.7%	3793 17.8%	4633 21.8%	2717 12.8%	300 1.4%

County:	NYC CENTRAL OFFICE								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT								
	SUPERINTENDENT, DEPENDENT								
	DEPUTY OR ASSOCIATE SUPERINTEN	3			1 33.3%		2 66.7%		
	ASSISTANT SUPERINTENDENT				00.070				
	ASSISTANT SUPERINTENDENT SPECI	2		1 50.0%				1 50.0%	
	BUSINESS MANAGER	4				1 25.0%	2 50.0%	1 25.0%	
	ADMINISTRATIVE ASSISTANT	4		1 25.0%			2 50.0%	1 25.0%	
	DIRECTOR/COORDINATOR	59		2 3.4%	7 11.9%	9 15.3%	29 49.2%	11 18.6%	1 1.7%
	ASSISTANT DIRECTOR/COORDINATOR	26			2 7.7%	4 15.4%	10 38.5%	9 34.6%	1 3.8%
	SUPERVISOR								
	DEPARTMENT CHAIRPERSON	22		1 4.5%	6 27.3%	5 22.7%	7 31.8%	3 13.6%	
	ATTENDANCE TEACHER	26		1 3.8%	2 7.7%	4 15.4%	11 42.3%	8 30.8%	
	SCHOOL PSYCHOLOGIST	60		7 11.7%	6 10.0%	13 21.7%	21 35.0%	10 16.7%	3 5.0%
	SOCIAL WORKER	130		17 13.1%	11 8.5%	26 20.0%	34 26.2%	35 26.9%	7 5.4%
	GUIDANCE COUNSELOR	231		30 13.0%	44 19.0%	54 23.4%	51 22.1%	41 17.7%	11 4.8%

County:	NYC CENTRAL OFFICE	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	173		2 1.2%	14 8.1%	40 23.1%	58 33.5%	40 23.1%	19 11.0%
	DENTAL HYGIENIST	1			1 100.0%				
	OTHER NONTEACHING	475	6 1.3%	119 25.1%	125 26.3%	65 13.7%	105 22.1%	49 10.3%	6 1.3%
	ELEMENTARY SCHOOL PRINCIPAL	2					2 100.0%		
	MIDDLE SCHOOL PRINCIPAL								
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	3					3 100.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	24			2 8.3%	10 41.7%	8 33.3%	4 16.7%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1				1 100.0%			
	SPECIAL SCHOOL PRINCIPAL	55		1 1.8%		5 9.1%	37 67.3%	12 21.8%	
	ASSISTANT ELEMENTARY SCHOOL PR	10			3 30.0%	1	5 50.0%	1	
	ASSISTANT MIDDLE SCHOOL PRINCI				00.075	10.070	00.070	101075	
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA	4			1		1	2	
					25.0%		25.0%	50.0%	

County: NYC CENTRAL OFFICE

Stat-	Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
ASSIS	STANT SENIOR HIGH SCHOOL P	58		1 1.7%	10 17.2%	14 24.1%	22 37.9%	10 17.2%	1 1.7%
ASSIS	STANT JR./SR. HIGH SCHOOL	5			2 40.0%	1 20.0%	1 20.0%		1 20.0%
ASSIS	STANT SPECIAL SCHOOL PRINC	148		5 3.4%	27 18.2%	39 26.4%	53 35.8%	22 14.9%	2 1.4%
OTHE	R SCHOOL ADMINISTRATOR	2					1 50.0%	1 50.0%	
PREK	INDERGARTEN	19		1 5.3%		3 15.8%	7 36.8%	6 31.6%	2 10.5%
KINDI	ERGARTEN	5		1 20.0%	1 20.0%		2 40.0%	1 20.0%	
COM	MON BRANCH	22	1 4.5%	7 31.8%	3 13.6%	2 9.1%	8 36.4%	1 4.5%	
SPEC	IAL EDUCATION	3553	157 4.4%	514 14.5%	520 14.6%	665 18.7%	1016 28.6%	589 16.6%	92 2.6%
READ	ING	27	1 3.7%	2 7.4%	2 7.4%	5 18.5%	10 37.0%	6 22.2%	1 3.7%
ENGL	ISH LANGUAGE	425	14 3.3%	90 21.2%	88 20.7%	77 18.1%	86 20.2%	61 14.4%	9 2.1%
FORE	IGN LANGUAGE	32	2 6.3%	7 21.9%	2 6.3%	8 25.0%	8 25.0%	4 12.5%	1 3.1%
BILIN	GUAL EDUCATION	59	1 1.7%	2 3.4%	11 18.6%	11 18.6%	20 33.9%	13 22.0%	1 1.7%
ENGL	ISH AS A SECOND LANGUAGE	99		7 7.1%	18 18.2%	27 27.3%	25 25.3%	17 17.2%	5 5.1%
MATH	IEMATICS	192	4 2.1%	13 6.8%	30 15.6%	43 22.4%	53 27.6%	38 19.8%	11 5.7%
SCIE	NCE	113	6 5.3%	16 14.2%	24 21.2%	25 22.1%	31 27.4%	10 ^{8.8%}	1 0.9%

County: NYC CENTRAL OFFICE

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SOCIAL STUDIES	159	10 6.3%	17 10.7%	33 20.8%	18 11.3%	35 22.0%	42 26.4%	4 2.5%
ART	122	3 2.5%	23 18.9%	12 9.8%	29 23.8%	28 23.0%	24 19.7%	3 2.5%
MUSIC	38	2 5.3%	7 18.4%	4 10.5%	8 21.1%	11 28.9%	6 15.8%	
ART/MUSIC	9	1 11.1%	3 33.3%	1 11.1%			4 44.4%	
HEALTH EDUCATION	29		9 31.0%	4 13.8%	8 27.6%	4 13.8%	2 6.9%	2 6.9%
SAFETY EDUCATION	1						1 100.0%	
PHYSICAL EDUCATION	188	3 1.6%	28 14.9%	48 25.5%	31 16.5%	61 32.4%	16 ^{8.5%}	1 0.5%
AGRICULTURE	8				2 25.0%	4 50.0%	1 12.5%	1 12.5%
BUSINESS/MARKETING	14		1 7.1%	1 7.1%	2 14.3%	5 35.7%	4 28.6%	1 7.1%
HOME ECONOMICS	39		3 7.7%	7 17.9%	5 12.8%	12 30.8%	11 28.2%	1 2.6%
TECHNOLOGY	16		1 6.3%	2 12.5%	5 31.3%	5 31.3%	2 12.5%	1 6.3%
TRADE EDUCATION	40		1 2.5%	9 22.5%	6 15.0%	14 35.0%	7 17.5%	3 7.5%
TECHNICAL EDUCATION	8				2 25.0%	5 62.5%	1 12.5%	
HEALTH OCCUPATION	5		1 20.0%	1 20.0%		3 60.0%		
GENERAL OCCUPATIONAL EDUCATION	17		1 5.9%	2 11.8%	4 23.5%	2 11.8%	6 35.3%	2 11.8%

County: NYC CENTRAL OFFICE

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
COOPERATIVE WORK EXPERI	IENCE 3				2 66.7%	1 33.3%		
LIBRARY	11		4 36.4%	1 9.1%	1 9.1%	2 18.2%	1 9.1%	2 18.2%
LEARNING TECHNOLOGY	4				2 50.0%	2 50.0%		
HUMANITIES/PERFORMING AF	rts 6	1 16.7%		1 16.7%	1 16.7%	2 33.3%	1 16.7%	
DANCE	5			1 20.0%	2 40.0%	2 40.0%		
THEATER	5		3 60.0%	1 20.0%		1 20.0%		
COMBINED COURSES	26	3 11.5%	3 11.5%	3 11.5%	5 19.2%	6 23.1%	4 15.4%	2 7.7%
OTHER SUBJECT	513	7 1.4%	33 6.4%	76 14.8%	109 21.2%	157 30.6%	117 22.8%	14 2.7%
HELPING TEACHER	6		1 16.7%		2 33.3%	1 16.7%	1 16.7%	1 16.7%
GIFTED/TALENTED								
GENERAL COOPERATIVE WOR	RK EXPER 51		3 5.9%	4 7.8%	7 13.7%	19 37.3%	15 29.4%	3 5.9%
COMPUTER STUDIES	47	1 2.1%	6 12.8%	4 8.5%	10 21.3%	18 38.3%	8 17.0%	
Summary	6863	207 3.0%	921 13.4%	1104 16.1%	1308 19.1%	1954 28.5%	1166 17.0%	203 3.0%

County:	MANHATTAN								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	2					1 50.0%		1 50.0%
	SUPERINTENDENT, DEPENDENT								
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1			1 100.0%				
	ASSISTANT SUPERINTENDENT SPECI	3		1 33.3%		1 33.3%	1 33.3%		
	BUSINESS MANAGER	22	1 4.5%	7 31.8%	7 31.8%	1 4.5%	4 18.2%	2 9.1%	
	ADMINISTRATIVE ASSISTANT	14		2 14.3%	3 21.4%	1 7.1%	6 42.9%	2 14.3%	
	DIRECTOR/COORDINATOR	146		18 12.3%	34 23.3%	30 20.5%	29 19.9%	31 21.2%	4 2.7%
	ASSISTANT DIRECTOR/COORDINATOR	68	1 1.5%	7 10.3%	11 16.2%	18 26.5%	17 25.0%	7 10.3%	7 10.3%
	SUPERVISOR	10		2 20.0%		2 20.0%	5 50.0%	1 10.0%	
	DEPARTMENT CHAIRPERSON	60		3 5.0%	19 31.7%	13 21.7%	11 18.3%	11 18.3%	3 5.0%
	ATTENDANCE TEACHER	36		2 5.6%	8 22.2%	7 19.4%	10 27.8%	7 19.4%	2 5.6%
	SCHOOL PSYCHOLOGIST	101		6 5.9%	11 10.9%	24 23.8%	29 28.7%	25 24.8%	6 5.9%
	SOCIAL WORKER	169		8 4.7%	25 14.8%	32 18.9%	46 27.2%	47 27.8%	11 6.5%
	GUIDANCE COUNSELOR	340	2 0.6%	82 24.1%	75 22.1%	56 16.5%	71 20.9%	47 13.8%	7 2.1%

County:	MANHATTAN	20	05-2000						
county.		C	II. Jan 26	26.22	22 40	A1 A0	10 56	57 64	Our 64
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	17			1	2	5	8	1
					5.9%		29.4%	47.1%	5.9%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	602	11	126	122	119	131	86	7
			1.8%	20.9%	20.3%	19.8%	21.8%	14.3%	1.2%
	ELEMENTARY SCHOOL PRINCIPAL	105		2	17	22	42	22	
		10		1.9%	16.2%	21.0%	40.0%	21.0%	
	MIDDLE SCHOOL PRINCIPAL	43		4 9.3%	6 14.0%	9 20.9%	19 44.2%	4 9.3%	1 2.3%
	JUNIOR HIGH SCHOOL PRINCIPAL	5		0.070	14.0,0	20.070	3	1	2.070
		Ũ			20.0%		60.0%	20.0%	
	K-12 SCHOOL PRINCIPAL	5				1	2	2	
						20.0%	40.0%	40.0%	
	SENIOR HIGH SCHOOL PRINCIPAL	62		2	14	13	22	11	
				3.2%	22.6%	21.0%	35.5%	17.7%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	14		2 14.3%	3 21.4%	1 7.1%	5 35.7%	3 21.4%	
	SPECIAL SCHOOL PRINCIPAL	3			1	,.	1	1	
		5			33.3%		33.3%	33.3%	
	ASSISTANT ELEMENTARY SCHOOL PR	135		5	36	36	45	12	1
				3.7%	26.7%	26.7%	33.3%	8.9%	0.7%
	ASSISTANT MIDDLE SCHOOL PRINCI	45		6	14	13	7	4	1
				13.3%	31.1%	28.9%	15.6%	8.9%	2.2%
	ASSISTANT JUNIOR HIGH SCHOOL P	11			2 18.2%	3 27.3%	3 27.3%	2 18.2%	1 9.1%
	ASSISTANT K-12 SCHOOL PRINCIPA	5			10.270	21.070 1	3	10.2 /0	0.170
		0				20.0%	60.0%	20.0%	

County:	MANHATTAN								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	89		9 10.1%	25 28.1%	17 19.1%	27 30.3%	9 10.1%	2 2.2%
	ASSISTANT JR./SR. HIGH SCHOOL	19		1 5.3%	9 47.4%	3 15.8%	3 15.8%	3 15.8%	
	ASSISTANT SPECIAL SCHOOL PRINC	3			1 33.3%	1 33.3%		1 33.3%	
	OTHER SCHOOL ADMINISTRATOR	1			1 100.0%				
	PREKINDERGARTEN	183	8 4.4%	35 19.1%	31 16.9%	34 18.6%	50 27.3%	24 13.1%	1 0.5%
	KINDERGARTEN	344	18 5.2%	105 30.5%	83 24.1%	47 13.7%	49 14.2%	34 9.9%	8 2.3%
	COMMON BRANCH	2414	165 6.8%	813 33.7%	506 21.0%	351 14.5%	328 13.6%	218 9.0%	33 1.4%
	SPECIAL EDUCATION	1105	91 8.2%	271 24.5%	160 14.5%	153 13.8%	264 23.9%	142 12.9%	24 2.2%
	READING	236	4 1.7%	26 11.0%	42 17.8%	40 16.9%	64 27.1%	53 22.5%	7 3.0%
	ENGLISH LANGUAGE	1191	113 ^{9.5%}	399 33.5%	255 21.4%	126 10.6%	167 14.0%	118 ^{9.9%}	13 1.1%
	FOREIGN LANGUAGE	353	15 4.2%	99 28.0%	86 24.4%	40 11.3%	66 18.7%	38 10.8%	9 2.5%
	BILINGUAL EDUCATION	433	34 7.9%	97 22.4%	69 15.9%	89 20.6%	96 22.2%	39 9.0%	9 2.1%
	ENGLISH AS A SECOND LANGUAGE	393	34 8.7%	80 20.4%	73 18.6%	62 15.8%	90 22.9%	46 11.7%	8 2.0%
	MATHEMATICS	1079	117 10.8%	279 25.9%	187 17.3%	178 16.5%	171 15.8%	131 12.1%	16 1.5%
	SCIENCE	869	63 7.2%	224 25.8%	172 19.8%	152 17.5%	146 16.8%	90 10.4%	22 2.5%

County:	MANHATTAN		05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	845	74 8.8%	232 27.5%	208 24.6%	114 13.5%	116 13.7%	90 10.7%	11 1.3%
	ART	289	4 1.4%	52 18.0%	60 20.8%	39 13.5%	65 22.5%	60 20.8%	9 3.1%
	MUSIC	189	9 4.8%	42 22.2%	26 13.8%	35 18.5%	48 25.4%	20 10.6%	9 4.8%
	ART/MUSIC	31		6 19.4%	8 25.8%	4 12.9%	5 16.1%	5 16.1%	3 9.7%
	HEALTH EDUCATION	104	6 5.8%	33 31.7%	19 18.3%	15 14.4%	17 16.3%	12 11.5%	2 1.9%
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	392	18 4.6%	102 26.0%	90 23.0%	68 17.3%	77 19.6%	33 8.4%	4 1.0%
	AGRICULTURE	12		2 16.7%			8 66.7%	2 16.7%	
	BUSINESS/MARKETING	91	2 2.2%	12 13.2%	15 16.5%	19 20.9%	23 25.3%	19 20.9%	1 1.1%
	HOME ECONOMICS	14		1 7.1%		1 7.1%	6 42.9%	5 35.7%	1 7.1%
	TECHNOLOGY	48	4 8.3%	9 18.8%	10 20.8%	13 27.1%	10 20.8%	2 4.2%	
	TRADE EDUCATION	43	1 2.3%	5 11.6%	4 9.3%	8 18.6%	14 32.6%	7 16.3%	4 9.3%
	TECHNICAL EDUCATION	18		3 16.7%		5 27.8%	5 27.8%	5 27.8%	
	HEALTH OCCUPATION	2						2 100.0%	
	GENERAL OCCUPATIONAL EDUCATION	11		2 18.2%	4 36.4%	3 27.3%	1 9.1%	1 9.1%	

		<u> </u>	05-2000						
County:	MANHATTAN								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	5		1 20.0%	1 20.0%			3 60.0%	
	LIBRARY	108	2 1.9%	7 6.5%	15 13.9%	15 13.9%	33 30.6%	32 29.6%	4 3.7%
	LEARNING TECHNOLOGY	6		2 33.3%		1 16.7%	2 33.3%	1 16.7%	
	HUMANITIES/PERFORMING ARTS	126	9 7.1%	54 42.9%	35 27.8%	8 6.3%	14 11.1%	6 4.8%	
	DANCE	56		6 10.7%	13 23.2%	5 8.9%	23 41.1%	6 10.7%	3 5.4%
	THEATER	40	4 10.0%	11 27.5%	4 10.0%	7 17.5%	8 20.0%	6 15.0%	
	COMBINED COURSES	52	11 21.2%	16 30.8%	12 23.1%	7 13.5%	3 5.8%	3 5.8%	
	OTHER SUBJECT	574	30 5.2%	156 27.2%	129 22.5%	91 15.9%	99 17.2%	60 10.5%	9 1.6%
	HELPING TEACHER	48	1 2.1%	16 33.3%	10 20.8%	5 10.4%	12 25.0%	4 8.3%	
	GIFTED/TALENTED	167	10 6.0%	64 38.3%	32 19.2%	21 12.6%	21 12.6%	18 10.8%	1 0.6%
	GENERAL COOPERATIVE WORK EXPER	5				1 20.0%	2 40.0%	2 40.0%	
	COMPUTER STUDIES	105	3 2.9%	15 14.3%	20 19.0%	24 22.9%	25 23.8%	18 17.1%	
	Summary	12013	729 6.1%	3030 25.2%	2356 19.6%	1917 _{16.0%}	2281 19.0%	1466 12.2%	234 1.9%

County:	BRONX								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	1			1 100.0%				
	SUPERINTENDENT, DEPENDENT								
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT								
	ASSISTANT SUPERINTENDENT SPECI	2		1 50.0%	1 50.0%				
	BUSINESS MANAGER	29		5 17.2%	13 44.8%	5 17.2%	6 20.7%		
	ADMINISTRATIVE ASSISTANT	6		1 16.7%		3 50.0%	1 16.7%		1 16.7%
	DIRECTOR/COORDINATOR	131	4 3.1%	17 13.0%	21 16.0%	28 21.4%	36 27.5%	23 17.6%	2 1.5%
	ASSISTANT DIRECTOR/COORDINATOR	73		3 4.1%	16 21.9%	17 23.3%	23 31.5%	13 17.8%	1 1.4%
	SUPERVISOR	12		1 8.3%	2 16.7%	2 16.7%	5 41.7%	2 16.7%	
	DEPARTMENT CHAIRPERSON	61		9 14.8%	17 27.9%	7 11.5%	17 27.9%	11 18.0%	
	ATTENDANCE TEACHER	44		7 15.9%	3 6.8%	6 13.6%	16 36.4%	7 15.9%	5 11.4%
	SCHOOL PSYCHOLOGIST	178		27 15.2%	28 15.7%	31 17.4%	48 27.0%	37 20.8%	7 3.9%
	SOCIAL WORKER	265	2 0.8%	18 6.8%	44 16.6%	44 16.6%	84 31.7%	62 23.4%	11 4.2%
	GUIDANCE COUNSELOR	473	1 0.2%	61 12.9%	97 20.5%	99 20.9%	116 24.5%	88 18.6%	11 2.3%
			0.270	121070	2010/0	2010/0	2.1070	101070	2.070

County:	BRONX	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	37		1 2.7%	6 16.2%	5 13.5%	16 43.2%	6 16.2%	3 8.1%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	849	7 0.8%	131 15.4%	193 22.7%	156 18.4%	205 24.1%	136 16.0%	21 2.5%
	ELEMENTARY SCHOOL PRINCIPAL	134		1 0.7%	11 8.2%	22 16.4%	67 50.0%	31 23.1%	2 1.5%
	MIDDLE SCHOOL PRINCIPAL	66		6 9.1%	11 16.7%	19 28.8%	21 31.8%	9 13.6%	
	JUNIOR HIGH SCHOOL PRINCIPAL	6		1 16.7%	1 16.7%	2 33.3%		2 33.3%	
	K-12 SCHOOL PRINCIPAL	8			1 12.5%	5 62.5%	1 12.5%	1 12.5%	
	SENIOR HIGH SCHOOL PRINCIPAL	76		5 6.6%	16 21.1%	22 28.9%	21 27.6%	11 14.5%	1 1.3%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	13		1 7.7%	8 61.5%	2 15.4%	1 7.7%	1 7.7%	
	SPECIAL SCHOOL PRINCIPAL	1					1 100.0%		
	ASSISTANT ELEMENTARY SCHOOL PR	262		11 4.2%	54 20.6%	61 23.3%	99 37.8%	34 13.0%	3 1.1%
	ASSISTANT MIDDLE SCHOOL PRINCI	134		4 3.0%	38 28.4%	35 26.1%	39 29.1%	17 12.7%	1 0.7%
	ASSISTANT JUNIOR HIGH SCHOOL P	12		1 8.3%	1 8.3%	4 33.3%	6 50.0%		
	ASSISTANT K-12 SCHOOL PRINCIPA	4			1 25.0%	2 50.0%		1 25.0%	

County:	BRONX								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57 -64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	114		8 7.0%	27 23.7%	25 21.9%	34 29.8%	17 14.9%	3 2.6%
	ASSISTANT JR./SR. HIGH SCHOOL	14		4 28.6%	4 28.6%	2 14.3%	3 21.4%	1 7.1%	
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	3				2 66.7%	1 33.3%		
	PREKINDERGARTEN	178	10 5.6%	28 15.7%	33 18.5%	33 18.5%	39 21.9%	29 16.3%	6 3.4%
	KINDERGARTEN	603	55 9.1%	146 24.2%	116 19.2%	79 13.1%	108 17.9%	84 13.9%	15 2.5%
	COMMON BRANCH	4244	528 12.4%	1282 30.2%	796 18.8%	636 15.0%	597 14.1%	354 8.3%	51 1.2%
	SPECIAL EDUCATION	1955	172 8.8%	383 19.6%	337 17.2%	329 16.8%	478 24.5%	217 11.1%	39 2.0%
	READING	446	11 2.5%	63 14.1%	65 14.6%	79 17.7%	113 25.3%	108 24.2%	7 1.6%
	ENGLISH LANGUAGE	1633	193 11.8%	516 31.6%	277 17.0%	214 13.1%	250 15.3%	157 9.6%	26 1.6%
	FOREIGN LANGUAGE	305	31 10.2%	51 16.7%	66 21.6%	51 16.7%	72 23.6%	30 9.8%	4 1.3%
	BILINGUAL EDUCATION	644	48 7.5%	88 13.7%	107 16.6%	164 25.5%	155 24.1%	71 11.0%	11 1.7%
	ENGLISH AS A SECOND LANGUAGE	520	60 11.5%	95 18.3%	85 16.3%	100 19.2%	103 19.8%	66 12.7%	11 2.1%
	MATHEMATICS	1433	174 12.1%	293 20.4%	257 17.9%	246 17.2%	288 20.1%	149 10.4%	26 1.8%
	SCIENCE	1104	117 10.6%	221 20.0%	209 18.9%	210 19.0%	216 19.6%	108 9.8%	23 2.1%

County:	BRONX	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	1179	137 11.6%	326 27.7%	248 21.0%	139 11.8%	166 14.1%	150 12.7%	13 1.1%
	ART	283	11 3.9%	61 21.6%	51 18.0%	40 14.1%	67 23.7%	46 16.3%	7 2.5%
	MUSIC	188	17 9.0%	36 19.1%	23 12.2%	40 21.3%	48 25.5%	18 ^{9.6%}	6 3.2%
	ART/MUSIC	29	5 17.2%	6 20.7%	4 13.8%	3 10.3%	7 24.1%	4 13.8%	
	HEALTH EDUCATION	147	5 3.4%	29 19.7%	35 23.8%	26 17.7%	32 21.8%	16 10.9%	4 2.7%
	SAFETY EDUCATION	1					1 100.0%		
	PHYSICAL EDUCATION	512	19 3.7%	104 20.3%	133 26.0%	90 17.6%	125 24.4%	40 7.8%	1 0.2%
	AGRICULTURE	17	1 5.9%	4 23.5%	4 23.5%	5 29.4%	2 11.8%		1 5.9%
	BUSINESS/MARKETING	78		10 12.8%	12 15.4%	23 29.5%	23 29.5%	7 9.0%	3 3.8%
	HOME ECONOMICS	6			1 16.7%	1 16.7%	1 16.7%	3 50.0%	
	TECHNOLOGY	55	2 3.6%	8 14.5%	15 27.3%	9 16.4%	11 20.0%	9 16.4%	1 1.8%
	TRADE EDUCATION	58	2 3.4%	5 8.6%	18 31.0%	12 20.7%	11 19.0%	10 17.2%	
	TECHNICAL EDUCATION	9	1 11.1%	1 11.1%	3 33.3%	2 22.2%		1 11.1%	1 11.1%
	HEALTH OCCUPATION	19		3 15.8%	1 5.3%	1 5.3%	8 42.1%	3 15.8%	3 15.8%
	GENERAL OCCUPATIONAL EDUCATION	31	1 3.2%	3 9.7%	4 12.9%	6 19.4%	12 38.7%	4 12.9%	1 3.2%

County:	BRONX		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	6	1 16.7%	3 50.0%			2 33.3%		
	LIBRARY	131		6 4.6%	19 14.5%	25 19.1%	37 28.2%	37 28.2%	7 5.3%
	LEARNING TECHNOLOGY	4			1 25.0%	2 50.0%	1 25.0%		
	HUMANITIES/PERFORMING ARTS	84	12 14.3%	31 36.9%	18 21.4%	8 9.5%	7 8.3%	8 9.5%	
	DANCE	39	1 2.6%	7 17.9%	5 12.8%	11 28.2%	12 30.8%	3 7.7%	
	THEATER	32	2 6.3%	11 34.4%	7 21.9%	3 9.4%	5 15.6%	4 12.5%	
	COMBINED COURSES	48	6 12.5%	17 35.4%	6 12.5%	10 20.8%	4 8.3%	3 6.3%	2 4.2%
	OTHER SUBJECT	616	51 8.3%	129 20.9%	109 17.7%	101 16.4%	132 21.4%	84 13.6%	10 1.6%
	HELPING TEACHER	65	9 13.8%	17 26.2%	8 12.3%	8 12.3%	14 21.5%	7 10.8%	2 3.1%
	GIFTED/TALENTED	5		3 60.0%	1 20.0%	1 20.0%			
	GENERAL COOPERATIVE WORK EXPER	1						1 100.0%	
	COMPUTER STUDIES	163	8 4.9%	26 16.0%	38 23.3%	36 22.1%	35 21.5%	16 ^{9.8%}	4 2.5%
	Summary	17390	1496 8.6%	3773 21.7%	3258 18.7%	2918 16.8%	3574 20.6%	2069 11.9%	302 1.7%

County:	BROOKLYN		05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	3				2 66.7%		1 33.3%	
	SUPERINTENDENT, DEPENDENT					00.170		00.070	
	DEPUTY OR ASSOCIATE SUPERINTEN	2			2 100.0%				
	ASSISTANT SUPERINTENDENT				100.070				
	ASSISTANT SUPERINTENDENT SPECI	5		2 40.0%		1 20.0%	1 20.0%	1 20.0%	
	BUSINESS MANAGER	27		2 7.4%	8 29.6%	7 25.9%	4 14.8%	5 18.5%	1 3.7%
	ADMINISTRATIVE ASSISTANT	12			1 8.3%	1 8.3%	7 58.3%	2 16.7%	1 8.3%
	DIRECTOR/COORDINATOR	185		22 11.9%	31 16.8%	31 16.8%	60 32.4%	34 18.4%	7 3.8%
	ASSISTANT DIRECTOR/COORDINATOR	93		5 5.4%	21 22.6%	20 21.5%	27 29.0%	17 18.3%	3 3.2%
	SUPERVISOR	10		1 10.0%	2 20.0%	2 20.0%	3 30.0%	2 20.0%	
	DEPARTMENT CHAIRPERSON	105		4 3.8%	15 14.3%	22 21.0%	45 42.9%	17 16.2%	2 1.9%
	ATTENDANCE TEACHER	52		2 3.8%	8 15.4%	12 23.1%	21 40.4%	8 15.4%	1 1.9%
	SCHOOL PSYCHOLOGIST	238		33 13.9%	48 20.2%	41 17.2%	62 26.1%	43 18.1%	11 4.6%
	SOCIAL WORKER	214		15 _{7.0%}	30 14.0%	31 14.5%	76 35.5%	52 24.3%	10 4.7%
	GUIDANCE COUNSELOR	690	9 1.3%	121 17.5%	120 17.4%	116 16.8%	180 26.1%	125 18.1%	19 2.8%

		20	103-2000						
County:	BROOKLYN								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	63	1 1.6%	1 1.6%	8 12.7%	13 20.6%	22 34.9%	16 25.4%	2 3.2%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	1368	8 0.6%	219 16.0%	301 22.0%	270 19.7%	366 26.8%	186 13.6%	18 1.3%
	ELEMENTARY SCHOOL PRINCIPAL	211		3 1.4%	21 10.0%	46 21.8%	100 47.4%	37 17.5%	4 1.9%
	MIDDLE SCHOOL PRINCIPAL	76		2 2.6%	11 14.5%	18 23.7%	34 44.7%	9 11.8%	2 2.6%
	JUNIOR HIGH SCHOOL PRINCIPAL	8			2 25.0%	2 25.0%	4 50.0%		
	K-12 SCHOOL PRINCIPAL	4				1 25.0%	2 50.0%	1 25.0%	
	SENIOR HIGH SCHOOL PRINCIPAL	72		2 2.8%	13 18.1%	24 33.3%	24 33.3%	9 12.5%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	18			7 38.9%	5 27.8%	5 27.8%		1 5.6%
	SPECIAL SCHOOL PRINCIPAL	2					1 50.0%	1 50.0%	
	ASSISTANT ELEMENTARY SCHOOL PR	292		23 7.9%	57 19.5%	73 25.0%	93 31.8%	40 13.7%	6 2.1%
	ASSISTANT MIDDLE SCHOOL PRINCI	155		7 4.5%	34 21.9%	36 23.2%	56 36.1%	19 12.3%	3 1.9%
	ASSISTANT JUNIOR HIGH SCHOOL P	35		1 2.9%	8 22.9%	9 25.7%	11 31.4%	6 17.1%	
	ASSISTANT K-12 SCHOOL PRINCIPA	7		1 14.3%	2 28.6%	2 28.6%	2 28.6%		

County:	BROOKLYN								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57 -64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	149		7 4.7%	30 20.1%	39 26.2%	47 31.5%	20 13.4%	6 4.0%
	ASSISTANT JR./SR. HIGH SCHOOL	30		3 10.0%	6 20.0%	8 26.7%	7 23.3%	5 16.7%	1 3.3%
	ASSISTANT SPECIAL SCHOOL PRINC	3				1 33.3%	1 33.3%	1 33.3%	
	OTHER SCHOOL ADMINISTRATOR	12		3 25.0%	2 16.7%	1 8.3%	4 33.3%	2 16.7%	
	PREKINDERGARTEN	438	10 2.3%	74 16.9%	84 19.2%	76 17.4%	118 26.9%	69 15.8%	7 1.6%
	KINDERGARTEN	859	48 5.6%	197 22.9%	187 21.8%	139 16.2%	189 22.0%	89 10.4%	10 1.2%
	COMMON BRANCH	5793	436 7.5%	1671 28.8%	1310 22.6%	899 15.5%	915 15.8%	503 8.7%	59 1.0%
	SPECIAL EDUCATION	2487	188 7.6%	503 20.2%	386 15.5%	418 16.8%	640 25.7%	293 11.8%	59 2.4%
	READING	443	12 2.7%	69 15.6%	91 20.5%	73 16.5%	117 26.4%	70 15.8%	11 2.5%
	ENGLISH LANGUAGE	2116	194 9.2%	684 32.3%	447 21.1%	258 12.2%	316 14.9%	193 _{9.1%}	24 1.1%
	FOREIGN LANGUAGE	520	25 4.8%	91 17.5%	110 21.2%	83 16.0%	119 22.9%	75 14.4%	17 3.3%
	BILINGUAL EDUCATION	324	10 3.1%	52 16.0%	58 17.9%	63 19.4%	84 25.9%	53 16.4%	4 1.2%
	ENGLISH AS A SECOND LANGUAGE	746	31 4.2%	133 17.8%	139 18.6%	110 14.7%	201 26.9%	111 14.9%	21 2.8%
	MATHEMATICS	1944	176 _{9.1%}	457 23.5%	352 18.1%	326 16.8%	376 19.3%	222 11.4%	35 1.8%
	SCIENCE	1533	85 5.5%	340 22.2%	340 22.2%	283 18.5%	312 20.4%	153 10.0%	20 1.3%

		21	103-2000						
County:	BROOKLYN	_ ~	2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	1544	93 6.0%	436 28.2%	350 22.7%	218 14.1%	254 16.5%	175 11.3%	18 1.2%
	ART	468	12 2.6%	110 23.5%	83 17.7%	92 19.7%	115 24.6%	52 11.1%	4 0.9%
	MUSIC	332	21 6.3%	60 18.1%	49 14.8%	71 21.4%	93 28.0%	34 10.2%	4 1.2%
	ART/MUSIC	30		8 26.7%	6 20.0%	4 13.3%	8 26.7%	4 13.3%	
	HEALTH EDUCATION	234	9 3.8%	60 25.6%	57 24.4%	32 13.7%	57 24.4%	17 7.3%	2 0.9%
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	796	29 3.6%	178 22.4%	190 23.9%	140 17.6%	197 24.7%	60 7.5%	2 0.3%
	AGRICULTURE	15		1 6.7%	5 33.3%	1 6.7%	5 33.3%	3 20.0%	
	BUSINESS/MARKETING	105		10 9.5%	14 13.3%	18 17.1%	29 27.6%	31 29.5%	3 2.9%
	HOME ECONOMICS	10		2 20.0%		3 30.0%	1 10.0%	4 40.0%	
	TECHNOLOGY	67	1 1.5%	7 10.4%	15 22.4%	14 20.9%	23 34.3%	7 10.4%	
	TRADE EDUCATION	68	1 1.5%	12 17.6%	14 20.6%	10 14.7%	19 27.9%	11 16.2%	1 1.5%
	TECHNICAL EDUCATION	38	1 2.6%	2 5.3%	6 15.8%	8 21.1%	9 23.7%	11 28.9%	1 2.6%
	HEALTH OCCUPATION	34		4 11.8%	2 5.9%	8 23.5%	11 32.4%	8 23.5%	1 2.9%
	GENERAL OCCUPATIONAL EDUCATION	56	1	10	12	10	12	11	

		<u> </u>	05-2000						
ounty:	BROOKLYN								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	6	1 16.7%	1 16.7%	1 16.7%		1 16.7%	2 33.3%	
	LIBRARY	231	3 1.3%	13 5.6%	21 9.1%	50 21.6%	76 32.9%	59 25.5%	9 3.9%
	LEARNING TECHNOLOGY	8			3 37.5%	3 37.5%		2 25.0%	
	HUMANITIES/PERFORMING ARTS	58	4 6.9%	23 39.7%	12 20.7%	5 8.6%	9 15.5%	5 8.6%	
	DANCE	79	1 1.3%	21 26.6%	24 30.4%	17 21.5%	12 15.2%	4 5.1%	
	THEATER	35	4 11.4%	10 28.6%	8 22.9%	8 22.9%	3 8.6%	2 5.7%	
	COMBINED COURSES	45	5 11.1%	13 28.9%	10 22.2%	7 15.6%	7 15.6%	3 6.7%	
	OTHER SUBJECT	840	40 4.8%	151 18.0%	171 20.4%	135 16.1%	218 26.0%	116 13.8%	9 1.1%
	HELPING TEACHER	50	1 2.0%	5 10.0%	8 16.0%	10 20.0%	15 30.0%	9 18.0%	2 4.0%
	GIFTED/TALENTED	402	13 3.2%	123 30.6%	74 18.4%	73 18.2%	84 20.9%	31 7.7%	4 1.0%
	GENERAL COOPERATIVE WORK EXPER	8				2 25.0%	6 75.0%		
	COMPUTER STUDIES	242	4 1.7%	32 13.2%	61 25.2%	52 21.5%	56 23.1%	33 13.6%	4 1.7%
	Summary	24202	1329 5.5%	5370 22.2%	4890 20.2%	4044 16.7%	5306 21.9%	2863 11.8%	400 1.7%

County:	QUEENS		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	2	1 50.0%					1 50.0%	
	SUPERINTENDENT, DEPENDENT								
	DEPUTY OR ASSOCIATE SUPERINTEN	2					1 50.0%	1 50.0%	
	ASSISTANT SUPERINTENDENT								
	ASSISTANT SUPERINTENDENT SPECI	3		1 33.3%	1 33.3%		1 33.3%		
	BUSINESS MANAGER	9			4 44.4%	3 33.3%	1 11.1%	1 11.1%	
	ADMINISTRATIVE ASSISTANT	5			3 60.0%		2 40.0%		
	DIRECTOR/COORDINATOR	117		12 10.3%	21 17.9%	17 14.5%	37 31.6%	26 22.2%	4 3.4%
	ASSISTANT DIRECTOR/COORDINATOR	80	1 1.3%	4 5.0%	9 11.3%	21 26.3%	31 38.8%	13 16.3%	1 1.3%
	SUPERVISOR	10				2 20.0%	4 40.0%	3 30.0%	1 10.0%
	DEPARTMENT CHAIRPERSON	100		5 5.0%	20 20.0%	24 24.0%	29 29.0%	20 20.0%	2 2.0%
	ATTENDANCE TEACHER	38		5 13.2%	8 21.1%	10 26.3%	7 18.4%	6 15.8%	2 5.3%
	SCHOOL PSYCHOLOGIST	173	3 1.7%	23 13.3%	27 15.6%	25 14.5%	63 36.4%	25 14.5%	7 4.0%
	SOCIAL WORKER	154		12 ^{7.8%}	17 11.0%	24 15.6%	56 36.4%	35 22.7%	10 6.5%
	GUIDANCE COUNSELOR	501	4 0.8%	91 18.2%	106 21.2%	83 16.6%	112 22.4%	90 18.0%	15 3.0%

	21	///////////////////////////////////////						
QUEENS	20							
Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
NURSE TEACHER								
SCHOOL NURSE/PRACTITIONER	42			8 19.0%	12 28.6%	13 31.0%	8 19.0%	1 2.4%
DENTAL HYGIENIST								
OTHER NONTEACHING	1089	7 0.6%	187 17.2%	240 22.0%	204 18.7%	254 23.3%	176 16.2%	21 1.9%
ELEMENTARY SCHOOL PRINCIPAL	171		1 0.6%	9 5.3%	37 21.6%	72 42.1%	47 27.5%	5 2.9%
MIDDLE SCHOOL PRINCIPAL	38		1 2.6%	6 15.8%	10 26.3%	13 34.2%	8 21.1%	
JUNIOR HIGH SCHOOL PRINCIPAL	11			3 27.3%	2 18.2%	5 45.5%	1 9.1%	
K-12 SCHOOL PRINCIPAL	2				1 50.0%		1 50.0%	
SENIOR HIGH SCHOOL PRINCIPAL	44	1 2.3%		4 9.1%	8 18.2%	21 47.7%	9 20.5%	1 2.3%
JUNIOR/SENIOR HIGH SCHOOL PRIN	5			1 20.0%		1 20.0%	3 60.0%	
SPECIAL SCHOOL PRINCIPAL	1						1 100.0%	
ASSISTANT ELEMENTARY SCHOOL PR	226		14 6.2%	52 23.0%	44 19.5%	80 35.4%	34 15.0%	2 0.9%
ASSISTANT MIDDLE SCHOOL PRINCI	118		9 7.6%	30 25.4%	31 26.3%	30 25.4%	17 14.4%	1 0.8%
ASSISTANT JUNIOR HIGH SCHOOL P	32			6 18.8%	8 25.0%	13 40.6%	5 15.6%	
ASSISTANT K-12 SCHOOL PRINCIPA	2			1		1		
_	Stat-CdNURSE TEACHERSCHOOL NURSE/PRACTITIONERDENTAL HYGIENISTOTHER NONTEACHINGELEMENTARY SCHOOL PRINCIPALMIDDLE SCHOOL PRINCIPALJUNIOR HIGH SCHOOL PRINCIPALK-12 SCHOOL PRINCIPALSENIOR HIGH SCHOOL PRINCIPALJUNIOR/SENIOR HIGH SCHOOL PRINCIPALSPECIAL SCHOOL PRINCIPALASSISTANT ELEMENTARY SCHOOL PRINCIASSISTANT MIDDLE SCHOOL PRINCIPALASSISTANT JUNIOR HIGH SCHOOL PRINCIPAL	QUEENSStat-CdCountNURSE TEACHER42SCHOOL NURSE/PRACTITIONER42DENTAL HYGIENIST1089OTHER NONTEACHING1089ELEMENTARY SCHOOL PRINCIPAL171MIDDLE SCHOOL PRINCIPAL38JUNIOR HIGH SCHOOL PRINCIPAL11K-12 SCHOOL PRINCIPAL2SENIOR HIGH SCHOOL PRINCIPAL44JUNIOR/SENIOR HIGH SCHOOL PRINCIPAL1ASSISTANT ELEMENTARY SCHOOL PRINCI118ASSISTANT MIDDLE SCHOOL PRINCI138ASSISTANT JUNIOR HIGH SCHOOL PRINCI32	Stat-CdCountUnder-26NURSE TEACHER42SCHOOL NURSE/PRACTITIONER42DENTAL HYGIENIST10897OTHER NONTEACHING10897ELEMENTARY SCHOOL PRINCIPAL171MIDDLE SCHOOL PRINCIPAL38JUNIOR HIGH SCHOOL PRINCIPAL11K-12 SCHOOL PRINCIPAL11SENIOR HIGH SCHOOL PRINCIPAL44JUNIOR/SENIOR HIGH SCHOOL PRINCIPAL1SPECIAL SCHOOL PRINCIPAL1ASSISTANT ELEMENTARY SCHOOL PRINCI118ASSISTANT MIDDLE SCHOOL PRINCI126	QUEENSStat-CdCountUnder-2626-32NURSE TEACHER42SCHOOL NURSE/PRACTITIONER42DENTAL HYGIENIST10897187OTHER NONTEACHING10897187OTHER NONTEACHING10897187ILEMENTARY SCHOOL PRINCIPAL1710.6%MIDDLE SCHOOL PRINCIPAL381JUNIOR HIGH SCHOOL PRINCIPAL112.6%SENIOR HIGH SCHOOL PRINCIPAL12.3%SPECIAL SCHOOL PRINCIPAL14.1ASSISTANT ELEMENTARY SCHOOL PR22614ASSISTANT MIDDLE SCHOOL PRINCI11897.6%327.6%	QUEENS Stat-Cd Count Under-26 26-32 33-40 NURSE TEACHER 8 19.0% SCHOOL NURSE/PRACTITIONER 42 8 DENTAL HYGIENIST 1089 7 187 240 OTHER NONTEACHING 1089 7 187 240 ELEMENTARY SCHOOL PRINCIPAL 171 1 9 0.6% 5.3% MIDDLE SCHOOL PRINCIPAL 38 1 6 2.6% 15.8% JUNIOR HIGH SCHOOL PRINCIPAL 11 2.3% 3 27.3% K-12 SCHOOL PRINCIPAL 2 4 9.1% 3 JUNIOR/SENIOR HIGH SCHOOL PRINCIPAL 1 2.3% 1 20.0% SPECIAL SCHOOL PRINCIPAL 1 2.3% 1 20.0% SPECIAL SCHOOL PRINCIPAL 1 2.3% 3 3 ASSISTANT ELEMENTARY SCHOOL PRINCI 118 9 30 30 7.6% 25.3% 3.0 7.6% 25.4% 6.2%	QUEENS Stat-Cd Court Under-26 26-32 33-40 41-8 NURSE TEACHER SCHOOL NURSE/PRACTITIONER 42 8 12 19.0% 28.6% DENTAL HYGIENIST 0 1089 7 187 240 204 OTHER NONTEACHING 1089 7 187 240 204 ELEMENTARY SCHOOL PRINCIPAL 171 1 9 37 MIDDLE SCHOOL PRINCIPAL 171 1 9 37 JUNIOR HIGH SCHOOL PRINCIPAL 11 2.0% 18.7% 21.6% SENIOR HIGH SCHOOL PRINCIPAL 11 3 2 27.3% 21.6% JUNIOR/SENIOR HIGH SCHOOL PRINCIPAL 2 1 50.0% 25.3% 21.8% SENIOR HIGH SCHOOL PRINCIPAL 1 1 1 1 50.0% SPECIAL SCHOOL PRINCIPAL 1 1 1 1 1 ASSISTANT ELEMENTARY SCHOOL PRINCI 1 1 1 1 1 ASSISTANT MIDDLE SCHOOL PRINCI	QUEENS Stat-Cd Court Under-26 26-32 33-40 41-48 49-56 NURSE TEACHER SCHOOL NURSE/PRACTITIONER 42 8 12 13 DENTAL HYGIENIST 42 8 12 13 OTHER NONTEACHING 1089 7 187 240 204 254 ELEMENTARY SCHOOL PRINCIPAL 171 9 37 72 0.6% 15.5% 21.6% 42.1% MIDDLE SCHOOL PRINCIPAL 38 1 6 10 13 34.2% JUNIOR HIGH SCHOOL PRINCIPAL 11 26.6% 15.8% 26.3% 34.2% SENIOR HIGH SCHOOL PRINCIPAL 11 26.3% 34.2% 45.5% K-12 SCHOOL PRINCIPAL 2 1 10.2% 45.5% SENIOR HIGH SCHOOL PRINCIPAL 1 4 8 21 JUNIOR/SENIOR HIGH SCHOOL PRINCIPAL 1 23.0% 14 20.0% 20.0% SPECIAL SCHOOL PRINCIPAL 1 23.0% 14 55.4%	QUEENS Stat-Cd Count Under-20 26-32 33-40 41-48 49-56 57-64 NURSE TEACHER SCHOOL NURSE/PRACTITIONER 42 - 8 12 13 8 DENTAL HYGIENIST 10.0% 7 187 24.0 20.4 25.4 17.6 OTHER NONTEACHING 1089 7 187 24.0 20.4 25.4 17.6 ELEMENTARY SCHOOL PRINCIPAL 171 1.7.2% 22.0% 18.7% 22.3% 16.2% MIDDLE SCHOOL PRINCIPAL 171 0.6% 5.3% 21.5% 42.1% 27.5% MIDDLE SCHOOL PRINCIPAL 18 26.6% 18.2% 34.2% 21.1% JUNIOR HIGH SCHOOL PRINCIPAL 1 2.6% 18.2% 47.7% 20.5% SENIOR HIGH SCHOOL PRINCIPAL 2 2.3% 9.1% 12.5% 11 1 JUNIOR/SENIOR HIGH SCHOOL PRINCIPAL 1 2.3% 9.1% 18.2% 47.7% 20.5% SPECIAL SCHOOL PRINCIPAL

County:	QUEENS		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	131		4 3.1%	30 22.9%	32 24.4%	43 32.8%	19 14.5%	3 2.3%
	ASSISTANT JR./SR. HIGH SCHOOL	10		1 10.0%	4 40.0%	2 20.0%	3 30.0%		
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	4				1 25.0%	1 25.0%	2 50.0%	
	PREKINDERGARTEN	237	7 3.0%	41 17.3%	37 15.6%	48 20.3%	55 23.2%	42 17.7%	7 3.0%
	KINDERGARTEN	804	41 5.1%	186 23.1%	162 20.1%	125 15.5%	169 21.0%	108 13.4%	13 1.6%
	COMMON BRANCH	4909	284 5.8%	1523 31.0%	905 18.4%	741 15.1%	883 18.0%	514 10.5%	59 1.2%
	SPECIAL EDUCATION	1832	111 6.1%	383 20.9%	236 12.9%	295 16.1%	520 ^{28.4%}	241 13.2%	46 2.5%
	READING	430	3 0.7%	49 11.4%	74 17.2%	76 17.7%	130 30.2%	90 20.9%	8 1.9%
	ENGLISH LANGUAGE	1604	100 6.2%	500 31.2%	316 19.7%	201 12.5%	303 18.9%	161 10.0%	23 1.4%
	FOREIGN LANGUAGE	466	14 3.0%	78 16.7%	86 18.5%	83 17.8%	117 25.1%	79 17.0%	9 1.9%
	BILINGUAL EDUCATION	220	4 1.8%	25 11.4%	29 13.2%	38 17.3%	80 36.4%	34 15.5%	10 4.5%
	ENGLISH AS A SECOND LANGUAGE	802	17 2.1%	124 15.5%	162 20.2%	147 18.3%	201 25.1%	138 17.2%	13 1.6%
	MATHEMATICS	1442	115 8.0%	315 21.8%	256 17.8%	254 17.6%	312 21.6%	168 11.7%	22 1.5%
	SCIENCE	1250	40 3.2%	263 21.0%	268 21.4%	236 18.9%	272 21.8%	148 11.8%	23 1.8%

County:	QUEENS	2003-2000								
Jouniy.				06.00	22.40	47.40	10.50	FR (4	0 (1	
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	SOCIAL STUDIES	1185	69	300	238	189	225	149	15	
			5.8%	25.3%	20.1%	15.9%	19.0%	12.6%	1.3%	
	ART	317	2	48	61	58	87	56	5	
	MUQIO		0.6%	15.1%	19.2%	18.3%	27.4%	17.7%	1.6%	
	MUSIC	279	8 2.9%	45 16.1%	40 14.3%	58 20.8%	73 26.2%	53 19.0%	2 0.7%	
	ART/MUSIC	24	2.9%						0.7%	
	ARTIMOSIC	24		4 16.7%	3 12.5%	6 25.0%	6 25.0%	5 20.8%		
	HEALTH EDUCATION	171	6	39	39	24	29	31	3	
		., .	3.5%	22.8%	22.8%	14.0%	17.0%	18.1%	1.8%	
	SAFETY EDUCATION									
	PHYSICAL EDUCATION	669	21	134	152	124	162	71	5	
			3.1%	20.0%	22.7%	18.5%	24.2%	10.6%	0.7%	
	AGRICULTURE	144	2	20	33	32	35	19	3	
			1.4%	13.9%	22.9%	22.2%	24.3%	13.2%	2.1%	
	BUSINESS/MARKETING	82	1	5	7	10	28	28	3	
			1.2%	6.1%	8.5%	12.2%	34.1%	34.1%	3.7%	
	HOME ECONOMICS	4				2 50.0%	1 25.0%	1 25.0%		
	TECHNOLOGY	38		8	8	6	10	6		
		50		21.1%	21.1%	15.8%	26.3%	15.8%		
	TRADE EDUCATION	82	1	8	14	18	18	15	8	
			1.2%	9.8%	17.1%	22.0%	22.0%	18.3%	9.8%	
	TECHNICAL EDUCATION	24	2	3	7	1	6	5		
			8.3%	12.5%	29.2%	4.2%	25.0%	20.8%		
	HEALTH OCCUPATION	25		7	4	6	4	4		
				28.0%	16.0%	24.0%	16.0%	16.0%		
	GENERAL OCCUPATIONAL EDUCATION	41	2	10	9	5	8	7		
			4.9%	24.4%	22.0%	12.2%	19.5%	17.1%		

County:	QUEENS								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	4		2 50.0%			1 25.0%	1 25.0%	
	LIBRARY	175		10 5.7%	24 13.7%	22 12.6%	64 36.6%	50 ^{28.6%}	5 2.9%
	LEARNING TECHNOLOGY	7			3 42.9%	3 42.9%	1 14.3%		
	HUMANITIES/PERFORMING ARTS	58	4 6.9%	13 22.4%	18 31.0%	8 13.8%	8 13.8%	7 12.1%	
	DANCE	54	4 7.4%	15 27.8%	13 24.1%	8 14.8%	12 22.2%	2 3.7%	
	THEATER	32	5 15.6%	4 12.5%	7 21.9%	4 12.5%	8 25.0%	4 12.5%	
	COMBINED COURSES	32	3 9.4%	12 37.5%	3 9.4%	4 12.5%	6 18.8%	3 9.4%	1 3.1%
	OTHER SUBJECT	542	15 2.8%	71 13.1%	100 18.5%	99 18.3%	150 27.7%	96 17.7%	11 2.0%
	HELPING TEACHER	48		9 18.8%	11 22.9%	8 16.7%	14 29.2%	4 8.3%	2 4.2%
	GIFTED/TALENTED	69	2 2.9%	17 24.6%	16 23.2%	14 20.3%	10 14.5%	9 13.0%	1 1.4%
	GENERAL COOPERATIVE WORK EXPER	8	1 12.5%	1 12.5%	1 12.5%	3 37.5%	2 25.0%		
	COMPUTER STUDIES	225	2 0.9%	39 17.3%	47 20.9%	42 18.7%	55 24.4%	36 16.0%	4 1.8%
	Summary	19188	816 4.3%	4263 22.2%	3547 18.5%	3185 16.6%	4430 23.1%	2614 13.6%	333 1.7%

County:	RICHMOND								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	1					1 100.0%		
	SUPERINTENDENT, DEPENDENT						100.070		
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1					1		
	ASSISTANT SUPERINTENDENT SPECI						100.0%		
	BUSINESS MANAGER	3					3 100.0%		
	ADMINISTRATIVE ASSISTANT	1					100.0%		
	DIRECTOR/COORDINATOR	24		2 8.3%	6 25.0%	5 20.8%	9 37.5%	2 8.3%	
	ASSISTANT DIRECTOR/COORDINATOR	10		0.376	20.0%	30.0%	40.0%	0.3 <i>%</i> 1 10.0%	
	SUPERVISOR	2			20.070	00.070	100.0%	10.070	
	DEPARTMENT CHAIRPERSON	21		2 9.5%	4 19.0%	3 14.3%	7 33.3%	3 14.3%	2 9.5%
	ATTENDANCE TEACHER	8		1 12.5%	1 12.5%	1 12.5%	2 25.0%	3 37.5%	
	SCHOOL PSYCHOLOGIST	42		4.8%	3 7.1%	12.078 8 19.0%	18 42.9%	9 21.4%	2 4.8%
	SOCIAL WORKER	42		4.070	6 14.3%	10 23.8%	42.3% 16 38.1%	21.4% 10 23.8%	- T.O /0
	GUIDANCE COUNSELOR	106	1 0.9%	25 23.6%	20.8%	13 12.3%	24.5%	23.8% 17 16.0%	2 1.9%

County:	RICHMOND	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	47		1 2.1%	1 2.1%	9 19.1%	19 40.4%	16 34.0%	1 2.1%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	230		48 20.9%	55 23.9%	42 18.3%	61 26.5%	22 9.6%	2 0.9%
	ELEMENTARY SCHOOL PRINCIPAL	34			5 14.7%	1 2.9%	19 55.9%	9 26.5%	
	MIDDLE SCHOOL PRINCIPAL	6				2 33.3%	2 33.3%	2 33.3%	
	JUNIOR HIGH SCHOOL PRINCIPAL	3			1 33.3%		1 33.3%		1 33.3%
	K-12 SCHOOL PRINCIPAL	1				1 100.0%			
	SENIOR HIGH SCHOOL PRINCIPAL	7				4 57.1%		3 42.9%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN					0,0		121070	
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	42			10 23.8%	8 19.0%	17 40.5%	7 16.7%	
	ASSISTANT MIDDLE SCHOOL PRINCI	24		2 8.3%	7 29.2%	4 16.7%	11 45.8%		
	ASSISTANT JUNIOR HIGH SCHOOL P	14		1 7.1%	7 50.0%	3 21.4%	2 14.3%	1 7.1%	
	ASSISTANT K-12 SCHOOL PRINCIPA	1			1 100.0%				

County:	RICHMOND	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- <mark>64</mark>	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	35		3 8.6%	6 17.1%	6 17.1%	15 42.9%	5 14.3%	
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	83	1 1.2%	11 13.3%	13 15.7%	10 12.0%	29 34.9%	18 21.7%	1 1.2%
	KINDERGARTEN	214	11 5.1%	37 17.3%	38 17.8%	46 21.5%	44 20.6%	38 17.8%	
	COMMON BRANCH	1054	54 5.1%	299 28.4%	180 17.1%	173 16.4%	237 22.5%	107 10.2%	4 0.4%
	SPECIAL EDUCATION	523	26 5.0%	67 12.8%	68 13.0%	99 18.9%	212 40.5%	49 9.4%	2 0.4%
	READING	52		5 9.6%	8 15.4%	14 26.9%	16 30.8%	9 17.3%	
	ENGLISH LANGUAGE	380	25 6.6%	99 26.1%	82 21.6%	54 14.2%	83 21.8%	35 9.2%	2 0.5%
	FOREIGN LANGUAGE	100	2 2.0%	9 9.0%	14 14.0%	18 18.0%	41 41.0%	13 13.0%	3 3.0%
	BILINGUAL EDUCATION	18		1 5.6%	3 16.7%	2 11.1%	8 44.4%	4 22.2%	
	ENGLISH AS A SECOND LANGUAGE	60	2 3.3%	3 5.0%	14 23.3%	14 23.3%	20 33.3%	7 11.7%	
	MATHEMATICS	316	29 9.2%	87 27.5%	37 11.7%	59 18.7%	76 24.1%	27 8.5%	1 0.3%
	SCIENCE	284	6 2.1%	64 22.5%	56 19.7%	58 20.4%	76 26.8%	22 7.7%	2 0.7%

		20	103-2000						
County:	RICHMOND								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	266	7 2.6%	68 25.6%	60 22.6%	42 15.8%	56 21.1%	29 10.9%	4 1.5%
	ART	58	1 1.7%	9 15.5%	15 25.9%	13 22.4%	12 20.7%	8 13.8%	
	MUSIC	66	5 7.6%	11 16.7%	10 15.2%	16 24.2%	20 30.3%	3 4.5%	1 1.5%
	ART/MUSIC	17		5 29.4%	4 23.5%	2 11.8%	4 23.5%	2 11.8%	
	HEALTH EDUCATION	36		11 30.6%	8 22.2%	6 16.7%	9 25.0%	2 5.6%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	147	1 0.7%	31 21.1%	37 25.2%	27 18.4%	38 25.9%	13 ^{8.8%}	
	AGRICULTURE	3				1 33.3%	1 33.3%		1 33.3%
	BUSINESS/MARKETING	19		3 15.8%	2 10.5%	3 15.8%	8 42.1%	3 15.8%	
	HOME ECONOMICS	3					2 66.7%	1 33.3%	
	TECHNOLOGY	6			2 33.3%		2 33.3%	2 33.3%	
	TRADE EDUCATION	18		2 11.1%	2 11.1%	4 22.2%	5 27.8%	5 27.8%	
	TECHNICAL EDUCATION	7		3 42.9%		1 14.3%		3 42.9%	
	HEALTH OCCUPATION	11			1 9.1%	3 27.3%	4 36.4%	3 27.3%	
	GENERAL OCCUPATIONAL EDUCATION	13	2 15.4%	3 23.1%		2 15.4%	5 38.5%	1 7.7%	

County:	RICHMOND	_ 0	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE								
	LIBRARY	36		1 2.8%	8 22.2%	9 25.0%	15 41.7%	3 8.3%	
	LEARNING TECHNOLOGY	3				2 66.7%	1 33.3%		
	HUMANITIES/PERFORMING ARTS	1				1 100.0%			
	DANCE	2		2 100.0%					
	THEATER	8	1 12.5%	1 12.5%	3 37.5%	1 12.5%	2 25.0%		
	COMBINED COURSES								
	OTHER SUBJECT	92		14 15.2%	20 21.7%	17 18.5%	29 31.5%	12 13.0%	
	HELPING TEACHER	6			1 16.7%	1 16.7%	3 50.0%	1 16.7%	
	GIFTED/TALENTED	2					2 100.0%		
	GENERAL COOPERATIVE WORK EXPER	3					2 66.7%	1 33.3%	
	COMPUTER STUDIES	31		4 12.9%	7 22.6%	8 25.8%	9 29.0%	3 9.7%	
	Summary	4093	163 4.0%	835 20.4%	731 17.9%	729 17.8%	1143 27.9%	464 11.3%	28 0.7%

County:	NIAGARA	_ 0	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	9				1 11.1%	3 33.3%	5 55.6%	
	SUPERINTENDENT, DEPENDENT	1						1 100.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN	3				1 33.3%		2 66.7%	
	ASSISTANT SUPERINTENDENT	3						3 100.0%	
	ASSISTANT SUPERINTENDENT SPECI	3					2 66.7%	1 33.3%	
	BUSINESS MANAGER	8		1 12.5%	2 25.0%	2 25.0%	3 37.5%		
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	36			7 19.4%	9 25.0%	11 30.6%	9 25.0%	
	ASSISTANT DIRECTOR/COORDINATOR	5			2 40.0%	2 40.0%		1 20.0%	
	SUPERVISOR	10		1 10.0%	1 10.0%	4 40.0%	3 30.0%	1 10.0%	
	DEPARTMENT CHAIRPERSON	25		1 4.0%	6 24.0%	7 28.0%	10 40.0%	1 4.0%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	36		10 27.8%	13 36.1%	6 16.7%	6 16.7%	1 2.8%	
	SOCIAL WORKER	16		1 6.3%	3 18.8%	4 25.0%	4 25.0%	4 25.0%	
	GUIDANCE COUNSELOR	93	2 2.2%	19 20.4%	23 24.7%	22 23.7%	17 18.3%	10 10.8%	

County:	NIAGARA	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	67			6 9.0%	15 22.4%	26 38.8%	15 22.4%	5 7.5%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	58	1 1.7%	8 13.8%	14 24.1%	14 24.1%	17 29.3%	2 3.4%	2 3.4%
	ELEMENTARY SCHOOL PRINCIPAL	26		1 3.8%	8 30.8%	5 19.2%	7 26.9%	5 19.2%	
	MIDDLE SCHOOL PRINCIPAL	10			4 40.0%	2 20.0%	4 40.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	15				5 33.3%	5 33.3%	5 33.3%	
	SENIOR HIGH SCHOOL PRINCIPAL	8			1 12.5%	3 37.5%	4 50.0%		
	JUNIOR/SENIOR HIGH SCHOOL PRIN								
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	4		1 25.0%	1 25.0%	2 50.0%			
	ASSISTANT MIDDLE SCHOOL PRINCI	7		2 28.6%	4 57.1%	1 14.3%			
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA	11			3 27.3%	4 36.4%	4 36.4%		

County:	NIAGARA		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	13		2 15.4%	2 15.4%	3 23.1%	4 30.8%	2 15.4%	
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	3			1 33.3%			2 66.7%	
	PREKINDERGARTEN	29		6 20.7%	8 27.6%	7 24.1%	5 17.2%	3 10.3%	
	KINDERGARTEN	117	6 5.1%	22 18.8%	28 23.9%	23 19.7%	25 21.4%	13 11.1%	
	COMMON BRANCH	590	13 2.2%	108 18.3%	155 26.3%	118 20.0%	138 23.4%	57 9.7%	1 0.2%
	SPECIAL EDUCATION	374	8 2.1%	56 15.0%	95 25.4%	94 25.1%	108 28.9%	13 3.5%	
	READING	157	1 0.6%	17 10.8%	32 20.4%	35 22.3%	54 34.4%	18 11.5%	
	ENGLISH LANGUAGE	273	14 5.1%	51 18.7%	79 28.9%	51 18.7%	58 21.2%	19 7.0%	1 0.4%
	FOREIGN LANGUAGE	95	2 2.1%	13 13.7%	34 35.8%	20 21.1%	21 22.1%	5 5.3%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	12		3 25.0%	4 33.3%		3 25.0%	2 16.7%	
	MATHEMATICS	218	15 6.9%	60 27.5%	52 23.9%	30 13.8%	38 17.4%	23 10.6%	
	SCIENCE	199	4 2.0%	33 16.6%	74 37.2%	34 17.1%	38 19.1%	14 ^{7.0%}	2 1.0%

County:	NIAGARA	-	00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	205	3 1.5%	41 20.0%	67 32.7%	32 15.6%	44 21.5%	18 8.8%	
	ART	85	2 2.4%	12 14.1%	18 21.2%	19 22.4%	26 30.6%	8 9.4%	
	MUSIC	106	2 1.9%	18 17.0%	24 22.6%	22 20.8%	34 32.1%	6 5.7%	
	ART/MUSIC	5				2 40.0%	2 40.0%	1 20.0%	
	HEALTH EDUCATION	39	1 2.6%	17 43.6%	7 17.9%	3 7.7%	7 17.9%	4 10.3%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	135	2 1.5%	26 19.3%	37 27.4%	29 21.5%	32 23.7%	9 6.7%	
	AGRICULTURE								
	BUSINESS/MARKETING	34		2 5.9%	7 20.6%	9 26.5%	10 29.4%	6 17.6%	
	HOME ECONOMICS	7	1 14.3%	1 14.3%		2 28.6%	2 28.6%	1 14.3%	
	TECHNOLOGY	18		1 5.6%	7 38.9%	7 38.9%	3 16.7%		
	TRADE EDUCATION	5		2 40.0%	1 20.0%	1 20.0%	1 20.0%		
	TECHNICAL EDUCATION	1			1 100.0%				
	HEALTH OCCUPATION	9		1 11.1%	3 33.3%	2 22.2%	2 22.2%	1 11.1%	
	GENERAL OCCUPATIONAL EDUCATION	69	2 2.9%	5 7.2%	15 21.7%	23 33.3%	15 21.7%	9 13.0%	

County:	NIAGARA	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	3					2 66.7%	1 33.3%	
	LIBRARY	41		1 2.4%	7 17.1%	7 17.1%	16 39.0%	9 22.0%	1 2.4%
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	2			1 50.0%			1 50.0%	
	COMBINED COURSES				50.078			50.078	
	OTHER SUBJECT	59	1 1.7%	9 15.3%	10 16.9%	17 28.8%	16 27.1%	6 10.2%	
	HELPING TEACHER	2			1 50.0%	1 50.0%			
	GIFTED/TALENTED	12			6 50.0%	2 16.7%	4 33.3%		
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	7			1 14.3%	3 42.9%	3 42.9%		
	Summary	2976	76 2.6%	495 16.6%	767 25.8%	615 20.7%	728 24.5%	283 9.5%	12 0.4%

Stat-CdCountUnder-2626-3233-4041-48SUPERINTENDENT, INDEPENDENT9222.2%	49-56 3 33.3%	57-64	Over-64
• –			
22.270	55.570	4 44.4%	
SUPERINTENDENT, DEPENDENT 7 1 14.3%	3 42.9%	3 42.9%	
DEPUTY OR ASSOCIATE SUPERINTEN 1		1 100.0%	
ASSISTANT SUPERINTENDENT 6 1 1 16.7% 16.7%	4 66.7%		
ASSISTANT SUPERINTENDENT SPECI 11 3 1 27.3% 9.1%	4 36.4%	3 27.3%	
BUSINESS MANAGER 8 4 2 50.0% 25.0%	1 12.5%	1 12.5%	
ADMINISTRATIVE ASSISTANT 1 1 100.0%			
DIRECTOR/COORDINATOR 62 2 11 7 3.2% 17.7% 11.3%	26 41.9%	15 24.2%	1 1.6%
ASSISTANT DIRECTOR/COORDINATOR 6 1 2 16.7% 33.3%	3 50.0%		
SUPERVISOR 4 1 2 25.0% 25.0% 50.0%			
DEPARTMENT CHAIRPERSON 59 4 15 10 6.8% 25.4% 16.9%	24 40.7%	6 10.2%	
ATTENDANCE TEACHER 5 1	3 60.0%	1 20.0%	
SCHOOL PSYCHOLOGIST 39 5 11 8 12.8% 28.2% 20.5%	10 25.6%	4 10.3%	1 2.6%
SOCIAL WORKER 48 6 13 13 12.5% 27.1% 27.1%	11 22.9%	5 10.4%	
GUIDANCE COUNSELOR 88 18 29 14 20.5% 33.0% 15.9%	18 20.5%	9 10.2%	

		4	105-2000						
County:	ONEIDA	_ ~							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	77	1 1.3%	1 1.3%	5 6.5%	23 29.9%	28 36.4%	16 20.8%	3 3.9%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	38		2 5.3%	4 10.5%	7 18.4%	17 44.7%	7 18.4%	1 2.6%
	ELEMENTARY SCHOOL PRINCIPAL	45			6 13.3%	9 20.0%	15 33.3%	13 28.9%	2 4.4%
	MIDDLE SCHOOL PRINCIPAL	12			3 25.0%	3 25.0%	5 41.7%	1 8.3%	
	JUNIOR HIGH SCHOOL PRINCIPAL	1				1 100.0%			
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	15			4 26.7%	2 13.3%	8 53.3%		1 6.7%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	5		1 20.0%		1 20.0%	3 60.0%		
	SPECIAL SCHOOL PRINCIPAL	1			1 100.0%				
	ASSISTANT ELEMENTARY SCHOOL PR	3			1 33.3%	2 66.7%			
	ASSISTANT MIDDLE SCHOOL PRINCI	8			2 25.0%	5 62.5%	1 12.5%		
	ASSISTANT JUNIOR HIGH SCHOOL P	1					1 100.0%		
	ASSISTANT K-12 SCHOOL PRINCIPA	1						1 100.0%	

County:	ONEIDA		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	10			2 20.0%	5 50.0%	1 10.0%	2 20.0%	
	ASSISTANT JR./SR. HIGH SCHOOL	1		1 100.0%					
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	1				1 100.0%			
	PREKINDERGARTEN	11	1 9.1%	1 9.1%	3 27.3%	3 27.3%	3 27.3%		
	KINDERGARTEN	127	5 3.9%	27 21.3%	20 15.7%	31 24.4%	29 22.8%	13 10.2%	2 1.6%
	COMMON BRANCH	685	25 3.6%	152 22.2%	142 20.7%	103 15.0%	184 26.9%	76 11.1%	3 0.4%
	SPECIAL EDUCATION	459	9 2.0%	57 12.4%	93 20.3%	117 25.5%	143 31.2%	38 8.3%	2 0.4%
	READING	81	2 2.5%	15 18.5%	18 22.2%	6 7.4%	27 33.3%	13 16.0%	
	ENGLISH LANGUAGE	244	24 ^{9.8%}	52 21.3%	50 20.5%	44 18.0%	56 23.0%	17 7.0%	1 0.4%
	FOREIGN LANGUAGE	98	4 4.1%	17 17.3%	23 23.5%	13 13.3%	30 30.6%	11 11.2%	
	BILINGUAL EDUCATION	1				1 100.0%			
	ENGLISH AS A SECOND LANGUAGE	38	1 2.6%	6 15.8%	9 23.7%	8 21.1%	6 15.8%	8 21.1%	
	MATHEMATICS	237	14 5.9%	55 23.2%	45 19.0%	54 22.8%	52 21.9%	15 6.3%	2 0.8%
	SCIENCE	217	4 1.8%	36 16.6%	47 21.7%	40 18.4%	71 32.7%	19 8.8%	

County:	ONEIDA	-	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	190	10 5.3%	34 17.9%	47 24.7%	30 15.8%	49 25.8%	20 10.5%	
	ART	92	2 2.2%	12 13.0%	19 20.7%	17 18.5%	30 32.6%	12 13.0%	
	MUSIC	133	9 6.8%	16 12.0%	27 20.3%	27 20.3%	45 33.8%	8 6.0%	1 0.8%
	ART/MUSIC	2				1 50.0%	1 50.0%		
	HEALTH EDUCATION	34		8 23.5%	7 20.6%	7 20.6%	10 29.4%	2 5.9%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	144	5 3.5%	28 19.4%	38 26.4%	28 19.4%	37 25.7%	8 5.6%	
	AGRICULTURE	4			1 25.0%	1 25.0%	2 50.0%		
	BUSINESS/MARKETING	37		5 13.5%	6 16.2%	10 27.0%	10 27.0%	6 16.2%	
	HOME ECONOMICS	14			2 14.3%	3 21.4%	8 57.1%	1 7.1%	
	TECHNOLOGY	41	1 2.4%	9 22.0%	5 12.2%	8 19.5%	16 39.0%	2 4.9%	
	TRADE EDUCATION	19	1 5.3%	2 10.5%		5 26.3%	9 47.4%	2 10.5%	
	TECHNICAL EDUCATION	2	1 50.0%	1 50.0%					
	HEALTH OCCUPATION	2			1 50.0%			1 50.0%	
	GENERAL OCCUPATIONAL EDUCATION	64	3 4.7%	7 10.9%	9 14.1%	16 25.0%	20 31.3%	7 10.9%	2 3.1%

County:	ONEIDA	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	4		1 25.0%		1 25.0%	1 25.0%	1 25.0%	
	LIBRARY	57	2 3.5%	4 7.0%	9 15.8%	10 17.5%	19 33.3%	11 19.3%	2 3.5%
	LEARNING TECHNOLOGY	1		1 100.0%					
	HUMANITIES/PERFORMING ARTS								
	DANCE	1					1 100.0%		
	THEATER	4		1 25.0%	1 25.0%	2 50.0%			
	COMBINED COURSES	1						1 100.0%	
	OTHER SUBJECT	244	9 3.7%	69 28.3%	47 19.3%	37 15.2%	64 26.2%	17 7.0%	1 0.4%
	HELPING TEACHER	10		3 30.0%	1 10.0%	3 30.0%	2 20.0%	1 10.0%	
	GIFTED/TALENTED	9		1 11.1%		3 33.3%	3 33.3%	2 22.2%	
	GENERAL COOPERATIVE WORK EXPER	1				1 100.0%			
	COMPUTER STUDIES	10		2 20.0%	1 10.0%	4 40.0%	3 30.0%		
	Summary	3471	119 3.4%	570 16.4%	707 20.4%	681 19.6%	994 28.6%	375 10.8%	25 0.7%

ounty:	ONONDAGA		05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	13				1 7.7%	4 30.8%	7 53.8%	1 7.7%
	SUPERINTENDENT, DEPENDENT	5					3 60.0%	2 40.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN	3				1 33.3%	1 33.3%	1 33.3%	
	ASSISTANT SUPERINTENDENT	10			1 10.0%	2 20.0%	4 40.0%	3 30.0%	
	ASSISTANT SUPERINTENDENT SPECI	20				7 35.0%	9 45.0%	4 20.0%	
	BUSINESS MANAGER	7			1 14.3%	2 28.6%	4 57.1%		
	ADMINISTRATIVE ASSISTANT	1					1 100.0%		
	DIRECTOR/COORDINATOR	99			15 15.2%	24 24.2%	42 42.4%	17 17.2%	1 1.0%
	ASSISTANT DIRECTOR/COORDINATOR	17			2 11.8%	6 35.3%	6 35.3%	3 17.6%	
	SUPERVISOR	5			1 20.0%		3 60.0%	1 20.0%	
	DEPARTMENT CHAIRPERSON	64		5 7.8%	12 18.8%	10 15.6%	26 40.6%	8 12.5%	3 4.7%
	ATTENDANCE TEACHER	2					1 50.0%		1 50.0%
	SCHOOL PSYCHOLOGIST	121		22 18.2%	26 21.5%	31 25.6%	29 24.0%	12 ^{9.9%}	1 0.8%
	SOCIAL WORKER	73		2 2.7%	17 23.3%	17 23.3%	25 34.2%	12 16.4%	
	GUIDANCE COUNSELOR	181	1 0.6%	31 17.1%	49 27.1%	35 19.3%	41 22.7%	24 13.3%	

County:	ONONDAGA	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	3				1 33.3%	1 33.3%	1 33.3%	
	SCHOOL NURSE/PRACTITIONER	141		1 0.7%	7 5.0%	45 31.9%	51 36.2%	34 24.1%	3 2.1%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	190		6 3.2%	27 14.2%	40 21.1%	77 40.5%	40 21.1%	
	ELEMENTARY SCHOOL PRINCIPAL	74			8 10.8%	18 24.3%	28 37.8%	17 23.0%	3 4.1%
	MIDDLE SCHOOL PRINCIPAL	29			1 3.4%	8 27.6%	16 55.2%	4 13.8%	
	JUNIOR HIGH SCHOOL PRINCIPAL	4					3 75.0%	1 25.0%	
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	20			1 5.0%	6 30.0%	9 45.0%	4 20.0%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	8			1 12.5%	2 25.0%	3 37.5%	2 25.0%	
	SPECIAL SCHOOL PRINCIPAL	4					2 50.0%	2 50.0%	
	ASSISTANT ELEMENTARY SCHOOL PR	23		1 4.3%	4 17.4%	2 8.7%	13 56.5%	3 13.0%	
	ASSISTANT MIDDLE SCHOOL PRINCI	29			9 31.0%	9 31.0%	8 27.6%	3 10.3%	
	ASSISTANT JUNIOR HIGH SCHOOL P	5		1 20.0%	1 20.0%	2 40.0%	1 20.0%		
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	ONONDAGA		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57 -64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	38		2 5.3%	9 23.7%	15 39.5%	11 28.9%	1 2.6%	
	ASSISTANT JR./SR. HIGH SCHOOL	5			4 80.0%		1 20.0%		
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	9		2 22.2%	1 11.1%	3 33.3%	1 11.1%	2 22.2%	
	PREKINDERGARTEN	43		7 16.3%	11 25.6%	5 11.6%	12 27.9%	8 18.6%	
	KINDERGARTEN	214	1 0.5%	31 14.5%	49 22.9%	39 18.2%	63 29.4%	28 13.1%	3 1.4%
	COMMON BRANCH	1446	32 2.2%	263 18.2%	291 20.1%	296 20.5%	338 23.4%	217 15.0%	9 0.6%
	SPECIAL EDUCATION	1077	26 2.4%	166 15.4%	240 22.3%	252 23.4%	294 27.3%	93 8.6%	6 0.6%
	READING	227	4 1.8%	26 11.5%	53 23.3%	49 21.6%	58 25.6%	35 15.4%	2 0.9%
	ENGLISH LANGUAGE	496	27 5.4%	119 24.0%	108 21.8%	74 14.9%	112 22.6%	54 10.9%	2 0.4%
	FOREIGN LANGUAGE	226	19 8.4%	45 19.9%	47 20.8%	43 19.0%	45 19.9%	24 10.6%	3 1.3%
	BILINGUAL EDUCATION	17		3 17.6%	7 41.2%	4 23.5%	3 17.6%		
	ENGLISH AS A SECOND LANGUAGE	78	2 2.6%	5 6.4%	21 26.9%	14 17.9%	23 29.5%	11 14.1%	2 2.6%
	MATHEMATICS	447	17 3.8%	103 23.0%	104 23.3%	80 17.9%	95 21.3%	48 10.7%	
	SCIENCE	418	5 1.2%	79 18.9%	99 23.7%	111 26.6%	95 22.7%	28 6.7%	1 0.2%

		<u> </u>	103-2000						
County:	ONONDAGA	-							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	397	7 1.8%	93 23.4%	91 22.9%	73 18.4%	78 19.6%	50 12.6%	5 1.3%
	ART	205	4 2.0%	29 14.1%	41 20.0%	38 18.5%	65 31.7%	24 11.7%	4 2.0%
	MUSIC	281	10 3.6%	46 16.4%	58 20.6%	62 22.1%	76 27.0%	22 7.8%	7 2.5%
	ART/MUSIC	2				1 50.0%	1 50.0%		
	HEALTH EDUCATION	90	3 3.3%	13 14.4%	20 22.2%	18 20.0%	28 31.1%	7 7.8%	1 1.1%
	SAFETY EDUCATION	1		1 100.0%					
	PHYSICAL EDUCATION	311	8 2.6%	71 22.8%	69 22.2%	65 20.9%	79 25.4%	18 5.8%	1 0.3%
	AGRICULTURE	3					2 66.7%	1 33.3%	
	BUSINESS/MARKETING	73		4 5.5%	23 31.5%	13 17.8%	27 37.0%	6 8.2%	
	HOME ECONOMICS	40		2 5.0%	4 10.0%	6 15.0%	20 50.0%	7 17.5%	1 2.5%
	TECHNOLOGY	73	2 2.7%	14 19.2%	17 23.3%	18 24.7%	16 21.9%	4 5.5%	2 2.7%
	TRADE EDUCATION	38		4 10.5%	2 5.3%	9 23.7%	13 34.2%	8 21.1%	2 5.3%
	TECHNICAL EDUCATION	6				2 33.3%	4 66.7%		
	HEALTH OCCUPATION	10			2 20.0%	1 10.0%	4 40.0%	3 30.0%	
	GENERAL OCCUPATIONAL EDUCATION	130	5	15	20	30	34	23	3

		40	05-2000						
ounty:	ONONDAGA								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	7		1 14.3%	1 14.3%	1 14.3%	3 42.9%	1 14.3%	
	LIBRARY	116	2 1.7%	4 3.4%	13 11.2%	23 19.8%	44 37.9%	29 25.0%	1 0.9%
	LEARNING TECHNOLOGY	2			1 50.0%	1 50.0%			
	HUMANITIES/PERFORMING ARTS	3			1 33.3%	2 66.7%			
	DANCE	2				1 50.0%	1 50.0%		
	THEATER	2	1 50.0%	1 50.0%					
	COMBINED COURSES	3			1 33.3%	1 33.3%	1 33.3%		
	OTHER SUBJECT	238	8 3.4%	47 19.7%	53 22.3%	46 19.3%	55 23.1%	28 11.8%	1 0.4%
	HELPING TEACHER	11			3 27.3%	3 27.3%	3 27.3%	2 18.2%	
	GIFTED/TALENTED	13			1 7.7%	1 7.7%	4 30.8%	7 53.8%	
	GENERAL COOPERATIVE WORK EXPER	8			3 37.5%	2 25.0%	2 25.0%	1 12.5%	
	COMPUTER STUDIES	15		1 6.7%	4 26.7%	4 26.7%	4 26.7%	2 13.3%	
	Summary	7321	166 2.3%	1169 16.0%	1509 20.6%	1520 20.8%	1 961 26.8%	934 12.8%	62 0.8%

County:	ONTARIO	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	6					3 50.0%	3 50.0%	
	SUPERINTENDENT, DEPENDENT	4					1 25.0%	1 25.0%	2 50.0%
	DEPUTY OR ASSOCIATE SUPERINTEN	1					1 100.0%		
	ASSISTANT SUPERINTENDENT	3			1 33.3%			2 66.7%	
	ASSISTANT SUPERINTENDENT SPECI	6				3 50.0%	3 50.0%		
	BUSINESS MANAGER	4				2 50.0%	2 50.0%		
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	76			11 14.5%	23 30.3%	28 36.8%	13 17.1%	1 1.3%
	ASSISTANT DIRECTOR/COORDINATOR	6		1 16.7%	2 33.3%	1 16.7%	2 33.3%		
	SUPERVISOR	6			2 33.3%	3 50.0%		1 16.7%	
	DEPARTMENT CHAIRPERSON	26		2 7.7%	6 23.1%	1 3.8%	14 53.8%	3 11.5%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	45		11 24.4%	13 28.9%	10 22.2%	7 15.6%	4 8.9%	
	SOCIAL WORKER	19		2 10.5%	6 31.6%	6 31.6%	4 21.1%	1 5.3%	
	GUIDANCE COUNSELOR	53		9 17.0%	15 28.3%	13 24.5%	11 20.8%	4 7.5%	1 1.9%

County:	ONTARIO	20	105-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	2					1 50.0%	1 50.0%	
	SCHOOL NURSE/PRACTITIONER	35			2 5.7%	10 28.6%	18 51.4%	5 14.3%	
	DENTAL HYGIENIST	1					1 100.0%		
	OTHER NONTEACHING	28			8 28.6%	9 32.1%	5 17.9%	6 21.4%	
	ELEMENTARY SCHOOL PRINCIPAL	15			3 20.0%	3 20.0%	9 60.0%		
	MIDDLE SCHOOL PRINCIPAL	7			1 14.3%	1 14.3%	4 57.1%	1 14.3%	
	JUNIOR HIGH SCHOOL PRINCIPAL	1			1 100.0%				
	K-12 SCHOOL PRINCIPAL	1					1 100.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	9			2 22.2%	3 33.3%	3 33.3%	1 11.1%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	2				2 100.0%			
	SPECIAL SCHOOL PRINCIPAL	4				1 25.0%	3 75.0%		
	ASSISTANT ELEMENTARY SCHOOL PR	7			3 42.9%	2 28.6%	2 28.6%		
	ASSISTANT MIDDLE SCHOOL PRINCI	3			1 33.3%		2 66.7%		
	ASSISTANT JUNIOR HIGH SCHOOL P	1		1 100.0%					
	ASSISTANT K-12 SCHOOL PRINCIPA								

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
ASSISTANT SENIOR HIGH	H SCHOOL P 8		1 12.5%	4 50.0%	1 12.5%	2 25.0%		
ASSISTANT JR./SR. HIGH	SCHOOL							
ASSISTANT SPECIAL SCH	HOOL PRINC							
OTHER SCHOOL ADMINIS	STRATOR 1					1 100.0%		
PREKINDERGARTEN	5			4 80.0%		1 20.0%		
KINDERGARTEN	66	3 4.5%	17 25.8%	15 22.7%	12 18.2%	10 15.2%	9 13.6%	
COMMON BRANCH	359	11 3.1%	75 20.9%	92 25.6%	68 18.9%	90 25.1%	23 6.4%	
SPECIAL EDUCATION	316	11 3.5%	58 18.4%	79 25.0%	63 19.9%	83 26.3%	22 7.0%	
READING	71	2 2.8%	7 9.9%	11 15.5%	11 15.5%	33 46.5%	7 9.9%	
ENGLISH LANGUAGE	141	8 5.7%	34 24.1%	28 19.9%	18 12.8%	37 26.2%	16 11.3%	
FOREIGN LANGUAGE	64	2 3.1%	12 18.8%	20 31.3%	12 18.8%	12 18.8%	5 7.8%	1 1.6%
BILINGUAL EDUCATION								
ENGLISH AS A SECOND L	ANGUAGE 12	1 8.3%	2 16.7%	1 8.3%	4 33.3%	1 8.3%	3 25.0%	
MATHEMATICS	129	10 ^{7.8%}	22 17.1%	32 24.8%	23 17.8%	34 26.4%	8 6.2%	
SCIENCE	112	3 2.7%	19 17.0%	33 29.5%	25 22.3%	27 24.1%	4 3.6%	1 0.9%

		4 0	105-2000						
County:	ONTARIO								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	108	10 9.3%	21 19.4%	34 31.5%	20 18.5%	15 13.9%	8 7.4%	
	ART	50	2 4.0%	8 16.0%	10 20.0%	9 18.0%	14 28.0%	7 14.0%	
	MUSIC	71	4 5.6%	16 22.5%	11 15.5%	16 22.5%	19 26.8%	5 7.0%	
	ART/MUSIC	2		1 50.0%	1 50.0%				
	HEALTH EDUCATION	26	2 7.7%	8 30.8%	3 11.5%	4 15.4%	9 34.6%		
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	94	3 3.2%	18 19.1%	21 22.3%	21 22.3%	25 26.6%	6 6.4%	
	AGRICULTURE	7		1 14.3%		2 28.6%	3 42.9%		1 14.3%
	BUSINESS/MARKETING	20		3 15.0%	3 15.0%	8 40.0%	5 25.0%	1 5.0%	
	HOME ECONOMICS	14		1 7.1%		3 21.4%	6 42.9%	4 28.6%	
	TECHNOLOGY	24	1 4.2%	5 20.8%		9 37.5%	9 37.5%		
	TRADE EDUCATION	26			3 11.5%	7 26.9%	10 38.5%	6 23.1%	
	TECHNICAL EDUCATION	1					1 100.0%		
	HEALTH OCCUPATION	4				1 25.0%	2 50.0%	1 25.0%	
	GENERAL OCCUPATIONAL EDUCATION	37		4	4	10	15	4	

County:	ONTARIO	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	6			2 33.3%	2 33.3%	2 33.3%		
	LIBRARY	24		1 4.2%	4 16.7%	6 25.0%	9 37.5%	4 16.7%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS	2		2 100.0%					
	DANCE								
	THEATER	4				3 75.0%	1 25.0%		
	COMBINED COURSES								
	OTHER SUBJECT	95	5 5.3%	20 21.1%	19 20.0%	17 17.9%	25 26.3%	7 7.4%	2 2.1%
	HELPING TEACHER	15	4 26.7%		4 26.7%	5 33.3%	2 13.3%		
	GIFTED/TALENTED	14		1 7.1%	3 21.4%	4 28.6%	6 42.9%		
	GENERAL COOPERATIVE WORK EXPER	5		1 20.0%	1 20.0%	1 20.0%	2 40.0%		
	COMPUTER STUDIES	14		2 14.3%	3 21.4%	4 28.6%	4 28.6%	1 7.1%	
	Summary	2055	69 3.4%	341 16.6%	463 22.5%	423 20.6%	571 27.8%	179 8.7%	9 0.4%

County:	ORANGE								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	9					5 55.6%	3 33.3%	1 11.1%
	SUPERINTENDENT, DEPENDENT	8					3 37.5%	4 50.0%	1 12.5%
	DEPUTY OR ASSOCIATE SUPERINTEN	5				1 20.0%	1 20.0%	3 60.0%	
	ASSISTANT SUPERINTENDENT	4				1 25.0%	3 75.0%		
	ASSISTANT SUPERINTENDENT SPECI	23			1 4.3%	7 30.4%	9 39.1%	6 26.1%	
	BUSINESS MANAGER	5			3 60.0%	1 20.0%	1 20.0%		
	ADMINISTRATIVE ASSISTANT	3				1 33.3%		2 66.7%	
	DIRECTOR/COORDINATOR	90		2 2.2%	11 12.2%	18 20.0%	39 43.3%	19 21.1%	1 1.1%
	ASSISTANT DIRECTOR/COORDINATOR	6			1 16.7%	2 33.3%	1 16.7%	2 33.3%	
	SUPERVISOR	10			2 20.0%	3 30.0%	3 30.0%	2 20.0%	
	DEPARTMENT CHAIRPERSON	66		1 1.5%	6 9.1%	13 19.7%	38 57.6%	6 9.1%	2 3.0%
	ATTENDANCE TEACHER	4		2 50.0%		1 25.0%	1 25.0%		
	SCHOOL PSYCHOLOGIST	98		19 19.4%	22 22.4%	14 14.3%	27 27.6%	16 16.3%	
	SOCIAL WORKER	84	1 1.2%	11 13.1%	16 19.0%	25 29.8%	21 25.0%	9 10.7%	1 1.2%
	GUIDANCE COUNSELOR	137	3 2.2%	27 19.7%	39 28.5%	28 20.4%	29 21.2%	11 8.0%	

County:	ORANGE	20							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	32			2 6.3%	4 12.5%	18 56.3%	7 21.9%	1 3.1%
	SCHOOL NURSE/PRACTITIONER	86			5 5.8%	19 22.1%	42 48.8%	20 23.3%	
	DENTAL HYGIENIST	1					1 100.0%		
	OTHER NONTEACHING	58		5 8.6%	9 15.5%	15 25.9%	20 34.5%	8 13.8%	1 1.7%
	ELEMENTARY SCHOOL PRINCIPAL	54			5 9.3%	11 20.4%	23 42.6%	15 27.8%	
	MIDDLE SCHOOL PRINCIPAL	16			4 25.0%	6 37.5%	5 31.3%	1 6.3%	
	JUNIOR HIGH SCHOOL PRINCIPAL	3					1 33.3%	2 66.7%	
	K-12 SCHOOL PRINCIPAL	3					2 66.7%	1 33.3%	
	SENIOR HIGH SCHOOL PRINCIPAL	21		1 4.8%	4 19.0%	5 23.8%	9 42.9%	2 9.5%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1			1 100.0%				
	SPECIAL SCHOOL PRINCIPAL	2					1 50.0%	1 50.0%	
	ASSISTANT ELEMENTARY SCHOOL PR	32		5 15.6%	9 28.1%	4 12.5%	9 28.1%	5 15.6%	
	ASSISTANT MIDDLE SCHOOL PRINCI	17		2 11.8%	4 23.5%	2 11.8%	8 47.1%	1 5.9%	
	ASSISTANT JUNIOR HIGH SCHOOL P	9			1 11.1%	5 55.6%	1 11.1%	2 22.2%	
	ASSISTANT K-12 SCHOOL PRINCIPA	1					1 100.0%		

County:	ORANGE	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	37		4 10.8%	12 32.4%	5 13.5%	12 32.4%	4 10.8%	
	ASSISTANT JR./SR. HIGH SCHOOL	1			1 100.0%				
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	2					2 100.0%		
	PREKINDERGARTEN	21	1 4.8%	4 19.0%	4 19.0%	3 14.3%	5 23.8%	4 19.0%	
	KINDERGARTEN	189	6 3.2%	27 14.3%	44 23.3%	33 17.5%	57 30.2%	19 10.1%	3 1.6%
	COMMON BRANCH	1158	48 4.1%	247 21.3%	246 21.2%	237 20.5%	247 21.3%	130 11.2%	3 0.3%
	SPECIAL EDUCATION	894	35 3.9%	151 16.9%	184 20.6%	197 22.0%	252 28.2%	68 7.6%	7 0.8%
	READING	207	1 0.5%	23 11.1%	44 21.3%	36 17.4%	62 30.0%	40 19.3%	1 0.5%
	ENGLISH LANGUAGE	424	20 4.7%	93 21.9%	100 23.6%	75 17.7%	89 21.0%	47 11.1%	
	FOREIGN LANGUAGE	181	4 2.2%	25 13.8%	28 15.5%	37 20.4%	55 30.4%	30 16.6%	2 1.1%
	BILINGUAL EDUCATION	45	1 2.2%	4 8.9%	6 13.3%	18 40.0%	14 31.1%	1 2.2%	1 2.2%
	ENGLISH AS A SECOND LANGUAGE	73	2 2.7%	7 9.6%	15 20.5%	21 28.8%	16 21.9%	12 16.4%	
	MATHEMATICS	388	27 7.0%	75 19.3%	80 20.6%	78 20.1%	92 23.7%	35 9.0%	1 0.3%
	SCIENCE	346	8 2.3%	55 15.9%	79 22.8%	83 24.0%	93 26.9%	28 8.1%	

County:	ORANGE		05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	349	9 2.6%	84 24.1%	99 28.4%	51 14.6%	75 21.5%	28 8.0%	3 0.9%
	ART	168	4 2.4%	26 15.5%	35 20.8%	34 20.2%	57 33.9%	11 6.5%	1 0.6%
	MUSIC	188	25 13.3%	37 19.7%	32 17.0%	42 22.3%	38 20.2%	14 7.4%	
	ART/MUSIC	11	1 9.1%	2 18.2%	4 36.4%		3 27.3%	1 9.1%	
	HEALTH EDUCATION	76	4 5.3%	16 21.1%	14 18.4%	17 22.4%	19 25.0%	6 7.9%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	270	9 3.3%	56 20.7%	56 20.7%	58 21.5%	72 26.7%	19 7.0%	
	AGRICULTURE	2				1 50.0%	1 50.0%		
	BUSINESS/MARKETING	47	1 2.1%	2 4.3%	11 23.4%	14 29.8%	14 29.8%	5 10.6%	
	HOME ECONOMICS	48		1 2.1%	5 10.4%	13 27.1%	21 43.8%	7 14.6%	1 2.1%
	TECHNOLOGY	33	2 6.1%	6 18.2%	2 6.1%	7 21.2%	14 42.4%	2 6.1%	
	TRADE EDUCATION	49		9 18.4%	5 10.2%	12 24.5%	13 26.5%	8 16.3%	2 4.1%
	TECHNICAL EDUCATION	4			1 25.0%	1 25.0%	2 50.0%		
	HEALTH OCCUPATION	5				2 40.0%	3 60.0%		
	GENERAL OCCUPATIONAL EDUCATION	88	1	10	8	21	30	17	1

County:	ORANGE	20	00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	5			1 20.0%		2 40.0%	1 20.0%	1 20.0%
	LIBRARY	79		4 5.1%	10 12.7%	10 12.7%	34 43.0%	19 24.1%	2 2.5%
	LEARNING TECHNOLOGY	3			1 33.3%	1 33.3%		1 33.3%	
	HUMANITIES/PERFORMING ARTS	1			1 100.0%				
	DANCE	6		1 16.7%	1 16.7%	1 16.7%	3 50.0%		
	THEATER	6	1 16.7%	1 16.7%	2 33.3%		1 16.7%	1 16.7%	
	COMBINED COURSES								
	OTHER SUBJECT	274	9 3.3%	43 15.7%	59 21.5%	47 17.2%	86 31.4%	29 10.6%	1 0.4%
	HELPING TEACHER	7			2 28.6%	3 42.9%	1 14.3%	1 14.3%	
	GIFTED/TALENTED	7			2 28.6%	2 28.6%	3 42.9%		
	GENERAL COOPERATIVE WORK EXPER	1					1 100.0%		
	COMPUTER STUDIES	56		3 5.4%	14 25.0%	13 23.2%	19 33.9%	6 10.7%	1 1.8%
	Summary	5990	209 3.5%	1005 16.8%	1218 20.3%	1237 20.7%	1610 26.9%	676 11.3%	35 0.6%

County:	ORLEANS	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	3				1 33.3%	2 66.7%		
	SUPERINTENDENT, DEPENDENT	3					3 100.0%		
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1			1 100.0%				
	ASSISTANT SUPERINTENDENT SPECI	1				1 100.0%			
	BUSINESS MANAGER	5			1 20.0%		3 60.0%		1 20.0%
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	21			2 9.5%	4 19.0%	12 57.1%	2 9.5%	1 4.8%
	ASSISTANT DIRECTOR/COORDINATOR	1					1 100.0%		
	SUPERVISOR	1						1 100.0%	
	DEPARTMENT CHAIRPERSON	12		1 8.3%	1 8.3%	4 33.3%	4 33.3%	2 16.7%	
	ATTENDANCE TEACHER	2				1 50.0%	1 50.0%		
	SCHOOL PSYCHOLOGIST	16		3 18.8%	3 18.8%	4 25.0%	5 31.3%	1 6.3%	
	SOCIAL WORKER	11			3 27.3%	3 27.3%	2 18.2%	3 27.3%	
	GUIDANCE COUNSELOR	35	1 2.9%	7 20.0%	9 25.7%	2 5.7%	9 25.7%	7 20.0%	

County:	ORLEANS	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	15		1 6.7%		6 40.0%	7 46.7%	1 6.7%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	14		1 7.1%		2 14.3%	6 42.9%	5 35.7%	
	ELEMENTARY SCHOOL PRINCIPAL	6			1 16.7%		4 66.7%	1 16.7%	
	MIDDLE SCHOOL PRINCIPAL	4			2 50.0%	1 25.0%	1 25.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL				001070	2010/0	201070		
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	5		1 20.0%		1 20.0%	2 40.0%	1 20.0%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	3		1 33.3%		1 33.3%	1 33.3%		
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	1				1 100.0%			
	ASSISTANT MIDDLE SCHOOL PRINCI	2		1 50.0%	1 50.0%				
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

Wednesday, February 21, 2007

County:	ORLEANS	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	3		1 33.3%	1 33.3%			1 33.3%	
	ASSISTANT JR./SR. HIGH SCHOOL	2				1 50.0%		1 50.0%	
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	5	1 20.0%		2 40.0%		2 40.0%		
	KINDERGARTEN	29	1 3.4%	5 17.2%	5 17.2%	7 24.1%	9 31.0%	2 6.9%	
	COMMON BRANCH	147	3 2.0%	26 17.7%	36 24.5%	27 18.4%	45 30.6%	9 6.1%	1 0.7%
	SPECIAL EDUCATION	200	3 1.5%	24 12.0%	49 24.5%	52 26.0%	54 27.0%	18 9.0%	
	READING	23		4 17.4%	5 21.7%	1 4.3%	8 34.8%	5 21.7%	
	ENGLISH LANGUAGE	60	2 3.3%	16 26.7%	13 21.7%	12 20.0%	14 23.3%	3 5.0%	
	FOREIGN LANGUAGE	24		8 33.3%	4 16.7%	8 33.3%	4 16.7%		
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	5		1 20.0%	3 60.0%			1 20.0%	
	MATHEMATICS	45	4 8.9%	8 17.8%	12 26.7%	8 17.8%	11 24.4%	2 4.4%	
	SCIENCE	48	1 2.1%	16 33.3%	14 29.2%	9 18.8%	6 12.5%	2 4.2%	

		20	103-2000						
County:	ORLEANS								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	43	2 4.7%	10 23.3%	11 25.6%	6 14.0%	10 23.3%	4 9.3%	
	ART	24	2 8.3%	3 12.5%	4 16.7%	7 29.2%	7 29.2%	1 4.2%	
	MUSIC	34	2 5.9%	6 17.6%	8 23.5%	6 17.6%	11 32.4%		1 2.9%
	ART/MUSIC	1			1 100.0%				
	HEALTH EDUCATION	15		7 46.7%	4 26.7%	1 6.7%	3 20.0%		
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	49		9 18.4%	10 20.4%	12 24.5%	16 32.7%	2 4.1%	
	AGRICULTURE	3		1 33.3%			1 33.3%	1 33.3%	
	BUSINESS/MARKETING	12		2 16.7%	4 33.3%	2 16.7%	4 33.3%		
	HOME ECONOMICS	14		1 7.1%	1 7.1%	3 21.4%	7 50.0%	2 14.3%	
	TECHNOLOGY	10		2 20.0%	1 10.0%	2 20.0%	3 30.0%	2 20.0%	
	TRADE EDUCATION	38	1 2.6%	2 5.3%	4 10.5%	7 18.4%	14 36.8%	10 26.3%	
	TECHNICAL EDUCATION	2			1 50.0%	1 50.0%			
	HEALTH OCCUPATION	5				1 20.0%	4 80.0%		
	GENERAL OCCUPATIONAL EDUCATION	30		2 6.7%	7 23.3%	7 23.3%	11 36.7%	3 10.0%	

		20	105-2000						
County:	ORLEANS								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE								
	LIBRARY	11		1 9.1%		1 9.1%	5 45.5%	2 18.2%	2 18.2%
	LEARNING TECHNOLOGY			01170		0.170	101070	101270	
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER								
	COMBINED COURSES	1				1 100.0%			
	OTHER SUBJECT	69	3 4.3%	22 31.9%	13 18.8%	12 17.4%	13 18.8%	6 8.7%	
	HELPING TEACHER								
	GIFTED/TALENTED	2		1 50.0%				1 50.0%	
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	6		2 33.3%	1 16.7%	1 16.7%	2 33.3%		
	Summary	984	24 2.4%	166 16.9%	204 20.7%	200 20.3%	293 29.8%	91 9.2%	6 0.6%

Contraction	00/0/500	2003-2000								
County:	OSWEGO									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	SUPERINTENDENT, INDEPENDENT	6					4	2		
							66.7%	33.3%		
	SUPERINTENDENT, DEPENDENT	4					4 100.0%			
	DEPUTY OR ASSOCIATE SUPERINTEN						100.078			
	ASSISTANT SUPERINTENDENT									
		•				_	0			
	ASSISTANT SUPERINTENDENT SPECI	9			1 11.1%	5 55.6%	3 33.3%			
	BUSINESS MANAGER	6				2	3		1	
		Ū				33.3%	50.0%		16.7%	
	ADMINISTRATIVE ASSISTANT									
	DIRECTOR/COORDINATOR	54			9	23	15	6	1	
		54			9 16.7%	42.6%	27.8%	0 11.1%	ا 1.9%	
	ASSISTANT DIRECTOR/COORDINATOR	5	1			1	3			
			20.0%			20.0%	60.0%			
	SUPERVISOR	3				2 66.7%	1 33.3%			
	DEPARTMENT CHAIRPERSON	20			4	4	33.3 ⁷ / ₀	1		
		20			م 20.0%	- 20.0%	55.0%	5.0%		
	ATTENDANCE TEACHER									
	SCHOOL PSYCHOLOGIST	47		0	13	8	12	Л	1	
		47		9 19.1%	د ا 27.7%	O 17.0%	ا∠ 25.5%	4 8.5%	1 2.1%	
	SOCIAL WORKER	8		1	2	3	1	1		
				12.5%	25.0%	37.5%	12.5%	12.5%		
	GUIDANCE COUNSELOR	59		8	16	13	19	3		
				13.6%	27.1%	22.0%	32.2%	5.1%		

County:	OSWEGO	20	105-2000							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	NURSE TEACHER	1						1 100.0%		
	SCHOOL NURSE/PRACTITIONER	50		1 2.0%	7 14.0%	13 26.0%	18 36.0%	10 20.0%	1 2.0%	
	DENTAL HYGIENIST									
	OTHER NONTEACHING	30	1 3.3%	5 16.7%	10 33.3%	6 20.0%	7 23.3%	1 3.3%		
	ELEMENTARY SCHOOL PRINCIPAL	26			5 19.2%	5 19.2%	11 42.3%	5 19.2%		
	MIDDLE SCHOOL PRINCIPAL	11			5 45.5%	2 18.2%	2 18.2%	2 18.2%		
	JUNIOR HIGH SCHOOL PRINCIPAL									
	K-12 SCHOOL PRINCIPAL	1			1 100.0%					
	SENIOR HIGH SCHOOL PRINCIPAL	10				4 40.0%	6 60.0%			
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1						1 100.0%		
	SPECIAL SCHOOL PRINCIPAL									
	ASSISTANT ELEMENTARY SCHOOL PR	2					2 100.0%			
	ASSISTANT MIDDLE SCHOOL PRINCI	6		1 16.7%	2 33.3%	1 16.7%	1 16.7%	1 16.7%		
	ASSISTANT JUNIOR HIGH SCHOOL P									
	ASSISTANT K-12 SCHOOL PRINCIPA									

		20	105-2000						
County:	OSWEGO								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	8		1 12.5%	6 75.0%		1 12.5%		
	ASSISTANT JR./SR. HIGH SCHOOL	1				1 100.0%			
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	2				1 50.0%	1 50.0%		
	PREKINDERGARTEN	8		4 50.0%	3 37.5%		1 12.5%		
	KINDERGARTEN	90	1 1.1%	15 16.7%	23 25.6%	26 28.9%	21 23.3%	4 4.4%	
	COMMON BRANCH	466	9 1.9%	78 16.7%	86 18.5%	94 20.2%	163 35.0%	36 7.7%	
	SPECIAL EDUCATION	332	7 2.1%	71 21.4%	65 19.6%	101 30.4%	71 21.4%	17 5.1%	
	READING	89	1 1.1%	18 20.2%	20 22.5%	12 13.5%	33 37.1%	5 5.6%	
	ENGLISH LANGUAGE	157	5 3.2%	36 22.9%	30 19.1%	22 14.0%	50 31.8%	14 8.9%	
	FOREIGN LANGUAGE	68	3 4.4%	21 30.9%	17 25.0%	14 20.6%	7 10.3%	6 8.8%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	1							1 100.0%
	MATHEMATICS	142	9 6.3%	26 18.3%	29 20.4%	40 28.2%	32 22.5%	6 4.2%	
	SCIENCE	145	1 0.7%	26 17.9%	34 23.4%	36 24.8%	38 26.2%	10 6.9%	

		<u> </u>	05-2000						
County:	OSWEGO	-	-						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- <mark>64</mark>	Over-64
	SOCIAL STUDIES	143	6 4.2%	26 18.2%	35 24.5%	33 23.1%	36 25.2%	7 4.9%	
	ART	59		11 18.6%	10 16.9%	8 13.6%	19 32.2%	11 18.6%	
	MUSIC	84	3 3.6%	11 13.1%	19 22.6%	27 32.1%	20 23.8%	4 4.8%	
	ART/MUSIC	1					1 100.0%		
	HEALTH EDUCATION	24	3 12.5%	5 20.8%	7 29.2%	5 20.8%	3 12.5%		1 4.2%
	SAFETY EDUCATION	2	1 50.0%			1 50.0%			
	PHYSICAL EDUCATION	97		21 21.6%	19 19.6%	25 25.8%	25 25.8%	7 7.2%	
	AGRICULTURE	1				1 100.0%			
	BUSINESS/MARKETING	24		2 8.3%	5 20.8%	8 33.3%	7 29.2%	2 8.3%	
	HOME ECONOMICS	10		1 10.0%		3 30.0%	6 60.0%		
	TECHNOLOGY	30		4 13.3%	3 10.0%	13 43.3%	9 30.0%	1 3.3%	
	TRADE EDUCATION	26		3 11.5%	7 26.9%	2 7.7%	9 34.6%	5 19.2%	
	TECHNICAL EDUCATION	1				1 100.0%			
	HEALTH OCCUPATION	3				1 33.3%	1 33.3%	1 33.3%	
	GENERAL OCCUPATIONAL EDUCATION	53		8 15.1%	13 24.5%	13 24.5%	17 32.1%	2 3.8%	

County:	OSWEGO	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	1					1 100.0%		
	LIBRARY	31		4 12.9%	5 16.1%	6 19.4%	10 32.3%	5 16.1%	1 3.2%
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	2				1 50.0%	1 50.0%		
	COMBINED COURSES								
	OTHER SUBJECT	102	4 3.9%	17 16.7%	25 24.5%	22 21.6%	27 26.5%	7 6.9%	
	HELPING TEACHER	1					1 100.0%		
	GIFTED/TALENTED								
	GENERAL COOPERATIVE WORK EXPER	1					1 100.0%		
	COMPUTER STUDIES	10		1 10.0%	1 10.0%	4 40.0%	3	1 10.0%	
	Summary	2360	53 2.2%	404 17.1%	491 20.8%	563 23.9%	663 28.1%	179 7.6%	7 0.3%

			103-2000						
County:	OTSEGO								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	1				1 100.0%			
	SUPERINTENDENT, DEPENDENT	11			1 9.1%	1 9.1%	5 45.5%	4 36.4%	
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1				1 100.0%			
	ASSISTANT SUPERINTENDENT SPECI								
	BUSINESS MANAGER	4					4 100.0%		
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	20		1 5.0%	3 15.0%	4 20.0%	8 40.0%	3 15.0%	1 5.0%
	ASSISTANT DIRECTOR/COORDINATOR								
	SUPERVISOR	1					1 100.0%		
	DEPARTMENT CHAIRPERSON	23		1 4.3%	4 17.4%	5 21.7%	8 34.8%	5 21.7%	
	ATTENDANCE TEACHER	1				1 100.0%			
	SCHOOL PSYCHOLOGIST	9		2 22.2%	2 22.2%	2 22.2%	2 22.2%	1 11.1%	
	SOCIAL WORKER	2			1 50.0%		1 50.0%		
	GUIDANCE COUNSELOR	32		5 15.6%	11 34.4%	5 15.6%	8 25.0%	3 9.4%	

County:	OTSEGO	20	105-2000						
County.		Count	Under 26	26.22	22 40	41 40	40.56	57.64	On an 64
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	2					1	1	
	SCHOOL NURSE/PRACTITIONER	40		0	0		50.0%	50.0%	
	SCHOOL NURSE/PRACIMONER	16		2 12.5%	3 18.8%	4 25.0%	5 31.3%	2 12.5%	
	DENTAL HYGIENIST					2010/0	011070	121070	
	OTHER NONTEACHING	4			1	1	2		
					25.0%	25.0%	50.0%		
	ELEMENTARY SCHOOL PRINCIPAL	8			2	2	1	3	
					25.0%	25.0%	12.5%	37.5%	
	MIDDLE SCHOOL PRINCIPAL	2				1 50.0%	1 50.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL					50.0%	50.0%		
	K-12 SCHOOL PRINCIPAL	7		1	1		3	2	
				14.3%	14.3%		42.9%	28.6%	
	SENIOR HIGH SCHOOL PRINCIPAL	2				1	1		
						50.0%	50.0%		
	JUNIOR/SENIOR HIGH SCHOOL PRIN	3				2	1		
	SPECIAL SCHOOL PRINCIPAL					66.7%	33.3%		
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI								
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA	1			1				
					100.0%				

			105-2000						
County:	OTSEGO	_ (
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	<i>49-56</i>	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	1				1 100.0%			
	ASSISTANT JR./SR. HIGH SCHOOL	1					1 100.0%		
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	3				1 33.3%	2 66.7%		
	KINDERGARTEN	39	2 5.1%	7 17.9%	8 20.5%	4 10.3%	12 30.8%	5 12.8%	1 2.6%
	COMMON BRANCH	188	5 2.7%	34 18.1%	30 16.0%	44 23.4%	55 29.3%	20 10.6%	
	SPECIAL EDUCATION	112	5 4.5%	19 17.0%	23 20.5%	24 21.4%	29 25.9%	12 10.7%	
	READING	53		10 18.9%	15 28.3%	9 17.0%	13 24.5%	6 11.3%	
	ENGLISH LANGUAGE	74	4 5.4%	11 14.9%	18 24.3%	17 23.0%	17 23.0%	7 9.5%	
	FOREIGN LANGUAGE	32		6 18.8%	6 18.8%	7 21.9%	7 21.9%	5 15.6%	1 3.1%
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE								
	MATHEMATICS	77	3 3.9%	14 18.2%	18 23.4%	14 18.2%	19 24.7%	8 10.4%	1 1.3%
	SCIENCE	66	5 7.6%	9 13.6%	22 33.3%	14 21.2%	10 15.2%	5 7.6%	1 1.5%

		<u> </u>	105-2000						
County:	OTSEGO								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	64		9 14.1%	19 29.7%	9 14.1%	19 29.7%	8 12.5%	
	ART	24		4 16.7%	3 12.5%	1 4.2%	10 41.7%	6 25.0%	
	MUSIC	42	1 2.4%	5 11.9%	10 23.8%	10 23.8%	11 26.2%	5 11.9%	
	ART/MUSIC								
	HEALTH EDUCATION	16	1 6.3%	1 6.3%	3 18.8%	3 18.8%	7 43.8%	1 6.3%	
	SAFETY EDUCATION	1				1 100.0%			
	PHYSICAL EDUCATION	42		8 19.0%	11 26.2%	8 19.0%	15 35.7%		
	AGRICULTURE	1		1 100.0%					
	BUSINESS/MARKETING	18	1 5.6%	4 22.2%	4 22.2%	4 22.2%	5 27.8%		
	HOME ECONOMICS	6					5 83.3%	1 16.7%	
	TECHNOLOGY	10		3 30.0%	2 20.0%	3 30.0%	1 10.0%	1 10.0%	
	TRADE EDUCATION								
	TECHNICAL EDUCATION	1				1 100.0%			
	HEALTH OCCUPATION								
	GENERAL OCCUPATIONAL EDUCATION	31		8 25.8%	5 16.1%	6 19.4%	8 25.8%	4 12.9%	

County:	OTSEGO	20	05-2000						
county.	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE								
	LIBRARY	20		2	4	4	5	5	
	LEARNING TECHNOLOGY	1		10.0%	20.0%	20.0%	25.0% 1	25.0%	
	HUMANITIES/PERFORMING ARTS						100.0%		
	DANCE								
	THEATER	2			1	1			
	COMBINED COURSES	1			50.0%	50.0%		1 100.0%	
	OTHER SUBJECT	85	3 3.5%	10 11.8%	32 37.6%	15 17.6%	14 16.5%	9 10.6%	2 2.4%
	HELPING TEACHER	1			01.070		101070	1 100.0%	,
	GIFTED/TALENTED	1				1 100.0%			
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	8		1 12.5%	3 37.5%	2 25.0%	2 25.0%		
	Summary	939	26 2.8%	152 16.2%	204 21.7%	185 19.7%	258 27.5%	109 11.6%	5 0.5%

SUPERINTENDENT, INDEPENDENT 4 2 2 2 SUPERINTENDENT, INDEPENDENT 3 3 3 3 DEPUTY OR ASSOCIATE SUPERINTEN 3 2 1 100.0% ASSISTANT SUPERINTENDENT 2 2 1 100.0% ASSISTANT SUPERINTENDENT 2 2 1 100.0% ASSISTANT SUPERINTENDENT 2 3 4 3 ASSISTANT SUPERINTENDENT SPECI 10 3 4 3 ADMINISTRATIVE ASSISTANT 1 1 2 2 DIRECTOR/COORDINATOR 25 1 1 2 2 ASSISTANT DIRECTOR/COORDINATOR 5 20.0% 40.0% 40.0% 40.0% SUPERVISOR 4 1 2 2 2 2 DEPARTMENT CHAIRPERSON 20 2 4 3 6 5 ATTENDANCE TEACHER 10.0% 20.0% 22.0% 8.6% 28.0% 11.4% 5.7% SOCIAL WORKER	County:	PUTNAM	20	00 2000						
SUPERINTENDENT, DEPENDENT 3 50.0% 50.0% DEPUTY OR ASSOCIATE SUPERINTEN 3 3 100.0% DEPUTY OR ASSOCIATE SUPERINTEN 3 2 1 ASSISTANT SUPERINTENDENT 2 2 1 ASSISTANT SUPERINTENDENT SPECI 10 3 4.0% 30.0% BUSINESS MANAGER 1 1 1 1 1 1 ADMINISTRATIVE ASSISTANT DIRECTOR/COORDINATOR 25 1 1 2 2 ASSISTANT DIRECTOR/COORDINATOR 5 1 2 2 2 ASSISTANT DIRECTOR/COORDINATOR 5 1 1 2 2 ASSISTANT DIRECTOR/COORDINATOR 5 1 2 2 2 ASSISTANT DIRECTOR/COORDINATOR 5 1 1 2 2 DEPARTMENT CHAIRPERSON 20 2 4 3 6 5 ATTENDANCE TEACHER 1 1 2 2 5 7 6 SC		Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SUPERINTENDENT, DEPENDENT 3 <td></td> <td>SUPERINTENDENT, INDEPENDENT</td> <td>4</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>		SUPERINTENDENT, INDEPENDENT	4							
ASSISTANT SUPERINTENDENT 2 2 ASSISTANT SUPERINTENDENT SPECI 10 3 4 3 ASSISTANT SUPERINTENDENT SPECI 10 3 4 3 BUSINESS MANAGER 1 1 1 30.0% 30.0% ADMINISTRATIVE ASSISTANT 1 1 2 14 7 DIRECTOR/COORDINATOR 25 1 1 2 2 ASSISTANT DIRECTOR/COORDINATOR 5 1 2 2 2 SUPERVISOR 4 1 2 2 2 20.0% 40.0% 50.0% 50.0% 50.0% 50.0% 50.0% 50.0% 50.0% 50.0% 50.0% 50.0% <		SUPERINTENDENT, DEPENDENT	3						3	
ASSISTANT SUPERINTENDENT SPECI 10 3 4 3 BUSINESS MANAGER 1 1 30.0% 40.0% 30.0% ADMINISTRATIVE ASSISTANT 1 1 1 1 1 DIRECTOR/COORDINATOR 25 1 1 2 14 7 ASSISTANT DIRECTOR/COORDINATOR 5 1 2 24 7 28.0% SUPERVISOR 4 1 2 2 2 20.0% 40.0% 40.0% 40.0% DEPARTMENT CHAIRPERSON 20 2 4 3 6 5 50.0% DEPARTMENT CHAIRPERSON 20 2 4 3 6 5 ATTENDANCE TEACHER 35 1 7 8 3 10 4 2 SOCIAL WORKER 33 2 1 7 11.4% 5.7% SOCIAL WORKER 33 2 1 7 12 11 5.7% GUIDANCE COUNSELOR 42 12 15 2 7 6		DEPUTY OR ASSOCIATE SUPERINTEN	3						•	
BUSINESS MANAGER 1 1 1 1 1 1 100.0% 30.0% 20.0% 30.0% 20.0% 40.0% 30.0% 25.0% 50.0% 50.0% 50.0% 50.0% 30.0% 25.0% 50.0% 30.0% 25.0% 50.0% 30.0% 25.0% 30.0% 25.0%		ASSISTANT SUPERINTENDENT	2							
100.0% ADMINISTRATIVE ASSISTANT DIRECTOR/COORDINATOR 25 1 1 2 14 7 ASSISTANT DIRECTOR/COORDINATOR 5 1 2 2 2 ASSISTANT DIRECTOR/COORDINATOR 5 1 2 2 SUPERVISOR 4 1 1 2 DEPARTMENT CHAIRPERSON 20 2 4 3 6 5 ATTENDANCE TEACHER 35 1 7 8 3 10 4 2 SOCIAL WORKER 33 2 1 7 12 11 GUIDANCE COUNSELOR 42 12 15 2 7 6		ASSISTANT SUPERINTENDENT SPECI	10							
DIRECTOR/COORDINATOR 25 1 1 2 14 7 ASSISTANT DIRECTOR/COORDINATOR 5 1 2 2 SUPERVISOR 4 1 2 2 DEPARTMENT CHAIRPERSON 20 2 4 3 6 5 ATTENDANCE TEACHER 3 1 7 8 3 10 4 2 SCHOOL PSYCHOLOGIST 35 1 7 8 3 10 4 2 SOCIAL WORKER 33 2 1 7 12 11 1 5.7% GUIDANCE COUNSELOR 42 12 15 2 7 6		BUSINESS MANAGER	1				-			
ASSISTANT DIRECTOR/COORDINATOR 5 4.0% 4.0% 8.0% 56.0% 28.0% ASSISTANT DIRECTOR/COORDINATOR 5 1 2 2 2 20.0% 40.0% <td< td=""><td></td><td>ADMINISTRATIVE ASSISTANT</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>		ADMINISTRATIVE ASSISTANT								
SUPERVISOR 4 20.0% 40.0% 40.0% SUPERVISOR 4 1 1 2 DEPARTMENT CHAIRPERSON 20 2 4 3 6 5 ATTENDANCE TEACHER 20.0% 15.0% 30.0% 25.0% 25.0% SCHOOL PSYCHOLOGIST 35 1 7 8 3 10 4 2 SOCIAL WORKER 33 2 1 7 12 11 5.7% GUIDANCE COUNSELOR 42 12 15 2 7 6		DIRECTOR/COORDINATOR	25							
DEPARTMENT CHAIRPERSON 20 2 4 3 6 5 ATTENDANCE TEACHER 25.0% 30.0% 25.0% 50.0% SCHOOL PSYCHOLOGIST 35 1 7 8 3 10 4 2 SOCIAL WORKER 33 2 1 7 12 11 14.4% 5.7% GUIDANCE COUNSELOR 42 12 15 2 7 6		ASSISTANT DIRECTOR/COORDINATOR	5			1 20.0%				
ATTENDANCE TEACHER 10.0% 20.0% 15.0% 30.0% 25.0% SCHOOL PSYCHOLOGIST 35 1 7 8 3 10 4 2 SOCIAL WORKER 33 2 1 7 12 11 5.7% GUIDANCE COUNSELOR 42 12 15 2 7 6		SUPERVISOR	4							
SCHOOL PSYCHOLOGIST 35 1 7 8 3 10 4 2 2.9% 20.0% 22.9% 8.6% 28.6% 11.4% 5.7% SOCIAL WORKER 33 2 1 7 12 11 6.1% 3.0% 21.2% 36.4% 33.3% GUIDANCE COUNSELOR 42 12 15 2 7 6		DEPARTMENT CHAIRPERSON	20							
2.9% 20.0% 22.9% 8.6% 28.6% 11.4% 5.7% SOCIAL WORKER 33 2 1 7 12 11 6.1% 3.0% 21.2% 36.4% 33.3% GUIDANCE COUNSELOR 42 12 15 2 7 6		ATTENDANCE TEACHER								
GUIDANCE COUNSELOR 42 12 15 2 7 6		SCHOOL PSYCHOLOGIST	35							2 5.7%
		SOCIAL WORKER	33							
20.0% 33.1% 4.6% 10.1% 14.5%		GUIDANCE COUNSELOR	42		12 28.6%	15 35.7%	2 4.8%	7 16.7%	6 14.3%	

		20	105-2000							
County:	PUTNAM									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	NURSE TEACHER									
	SCHOOL NURSE/PRACTITIONER	33			3 9.1%	6 18.2%	18 54.5%	4 12.1%	2 6.1%	
	DENTAL HYGIENIST									
	OTHER NONTEACHING	8		1 12.5%	1 12.5%	1 12.5%	2 25.0%	3 37.5%		
	ELEMENTARY SCHOOL PRINCIPAL	12			2 16.7%		9 75.0%	1 8.3%		
	MIDDLE SCHOOL PRINCIPAL	5				1 20.0%	3 60.0%	1 20.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL					201070	001070	2010/0		
	K-12 SCHOOL PRINCIPAL									
	SENIOR HIGH SCHOOL PRINCIPAL	5				1 20.0%	4 80.0%			
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1			1 100.0%	20.070	00.070			
	SPECIAL SCHOOL PRINCIPAL									
	ASSISTANT ELEMENTARY SCHOOL PR	2					1 50.0%	1 50.0%		
	ASSISTANT MIDDLE SCHOOL PRINCI	5			1 20.0%		30.0% 3 60.0%	50.0% 1 20.0%		
	ASSISTANT JUNIOR HIGH SCHOOL P				20.076		00.0%	20.0%		
	ASSISTANT K-12 SCHOOL PRINCIPA									

County:	PUTNAM	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	11		1 9.1%	4 36.4%	3 27.3%	2 18.2%	1 9.1%	
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	1					1 100.0%		
	PREKINDERGARTEN						100.070		
	KINDERGARTEN	35		7 20.0%	9 25.7%	10 28.6%	7 20.0%	2 5.7%	
	COMMON BRANCH	267	8 3.0%	65 24.3%	85 31.8%	34 12.7%	45 16.9%	29 10.9%	1 0.4%
	SPECIAL EDUCATION	298	2 0.7%	50 16.8%	60 20.1%	73 24.5%	78 26.2%	34 11.4%	1 0.3%
	READING	64		10 15.6%	16 25.0%	13 20.3%	19 29.7%	6 9.4%	
	ENGLISH LANGUAGE	152	1 0.7%	45 29.6%	53 34.9%	17 11.2%	24 15.8%	12 ^{7.9%}	
	FOREIGN LANGUAGE	59	4 6.8%	17 28.8%	6 10.2%	5 8.5%	16 27.1%	10 16.9%	1 1.7%
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	16	2 12.5%	1 6.3%	4 25.0%	3 18.8%	1 6.3%	5 31.3%	
	MATHEMATICS	126	3 2.4%	33 26.2%	30 23.8%	24 19.0%	29 23.0%	5.6%	
	SCIENCE	122	2.5%	20.2% 29 23.8%	39 32.0%	21 17.2%	20.0% 20 16.4%	9 7.4%	1 0.8%

County:	PUTNAM	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	115	4 3.5%	27 23.5%	37 32.2%	16 13.9%	14 12.2%	17 14.8%	
	ART	44	2 4.5%	6 13.6%	10 22.7%	11 25.0%	14 31.8%	1 2.3%	
	MUSIC	52	4 7.7%	9 17.3%	8 15.4%	15 28.8%	16 30.8%		
	ART/MUSIC								
	HEALTH EDUCATION	24	2 8.3%	4 16.7%	6 25.0%	3 12.5%	5 20.8%	4 16.7%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	75	2 2.7%	21 28.0%	23 30.7%	7 9.3%	16 21.3%	6 8.0%	
	AGRICULTURE	2			1 50.0%			1 50.0%	
	BUSINESS/MARKETING	9			1 11.1%	4 44.4%	2 22.2%	2 22.2%	
	HOME ECONOMICS	10		1 10.0%	1 10.0%	3 30.0%	2 20.0%	3 30.0%	
	TECHNOLOGY	9				4 44.4%	5 55.6%		
	TRADE EDUCATION	24		1 4.2%	2 8.3%	8 33.3%	9 37.5%	3 12.5%	1 4.2%
	TECHNICAL EDUCATION	1				1 100.0%			
	HEALTH OCCUPATION	3				2 66.7%	1 33.3%		
	GENERAL OCCUPATIONAL EDUCATION	27			6 22.2%	8 29.6%	10 37.0%	2 7.4%	1 3.7%

County:	PUTNAM	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	3			1 33.3%	1 33.3%		1 33.3%	
	LIBRARY	14		1 7.1%	3 21.4%		7 50.0%	2 14.3%	1 7.1%
	LEARNING TECHNOLOGY	1				1 100.0%			
	HUMANITIES/PERFORMING ARTS	2		1 50.0%				1 50.0%	
	DANCE								
	THEATER								
	COMBINED COURSES	3		1 33.3%	1 33.3%		1 33.3%		
	OTHER SUBJECT	53	2 3.8%	17 32.1%	9 17.0%	9 17.0%	10 18.9%	6 11.3%	
	HELPING TEACHER	2		2 100.0%					
	GIFTED/TALENTED	2			1 50.0%		1 50.0%		
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	8			1 12.5%	2 25.0%	2 25.0%	3 37.5%	
	Summary	1713	38 2.2%	341 19.9%	407 23.8%	295 17.2%	413 24.1%	208 12.1%	11 0.6%

County:	RENSSELAER								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	7					5 71.4%	2 28.6%	
	SUPERINTENDENT, DEPENDENT	6					2 33.3%	4 66.7%	
	DEPUTY OR ASSOCIATE SUPERINTEN	2				1 50.0%	1 50.0%		
	ASSISTANT SUPERINTENDENT	1				1 100.0%			
	ASSISTANT SUPERINTENDENT SPECI	8			1 12.5%	4 50.0%	2 25.0%	1 12.5%	
	BUSINESS MANAGER	11		1 9.1%	1 9.1%	6 54.5%	3 27.3%		
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	46		3 6.5%	8 17.4%	9 19.6%	17 37.0%	9 19.6%	
	ASSISTANT DIRECTOR/COORDINATOR	5			1 20.0%	1 20.0%	2 40.0%	1 20.0%	
	SUPERVISOR	3					3 100.0%		
	DEPARTMENT CHAIRPERSON	6			1 16.7%	1 16.7%	4 66.7%		
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	39		12 30.8%	12 30.8%	6 15.4%	6 15.4%	3 7.7%	
	SOCIAL WORKER	39		3 7.7%	9 23.1%	12 30.8%	11 28.2%	4 10.3%	
	GUIDANCE COUNSELOR	51		4 7.8%	15 29.4%	10 19.6%	12 23.5%	9 17.6%	1 2.0%

		20	103-2000						
County:	RENSSELAER								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	1				1			
						100.0%			
	SCHOOL NURSE/PRACTITIONER	34		1 2.9%	1 2.9%	10 29.4%	15 44.1%	7 20.6%	
	DENTAL HYGIENIST			,					
	OTHER NONTEACHING	36		2	7	11	12	4	
				5.6%	19.4%	30.6%	33.3%	11.1%	
	ELEMENTARY SCHOOL PRINCIPAL	25		3 12.0%	2 8.0%	6 24.0%	11 44.0%	3 12.0%	
	MIDDLE SCHOOL PRINCIPAL	8			1	3	3	12.5%	
	JUNIOR HIGH SCHOOL PRINCIPAL				12.5%	37.5%	37.5%	12.5%	
	K-12 SCHOOL PRINCIPAL	2			1	1			
					50.0%	50.0%			
	SENIOR HIGH SCHOOL PRINCIPAL	9		1 11.1%		3 33.3%	4 44.4%	1 11.1%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	3				2	1		
		0				ک 66.7%	33.3%		
	SPECIAL SCHOOL PRINCIPAL	2			1		1		
		_			50.0%		50.0%		
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI	7			1	2	3	1	
					14.3%	28.6%	42.9%	14.3%	
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	RENSSELAER	20	105-2000						
<i>Country</i> ,	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
			01111-20					57-04	0767-04
	ASSISTANT SENIOR HIGH SCHOOL P	7		1 14.3%	1 14.3%	2 28.6%	3 42.9%		
	ASSISTANT JR./SR. HIGH SCHOOL	3		14.576	3	20.0%	42.976		
		0			100.0%				
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	1					1		
							100.0%		
	PREKINDERGARTEN	9	1	2	1	1	3	1	
			11.1%	22.2%	11.1%	11.1%	33.3%	11.1%	
	KINDERGARTEN	89	2 2.2%	22 24.7%	20	23	15	6	1
	COMMON BRANCH	415	2.2%	^{24.7%} 78	22.5% 87	25.8% 72	16.9% 120	6.7% 45	1.1% 2
		415	1 I 2.7%	ΛΟ 18.8%	07 21.0%	7 ک 17.3%	1 20 28.9%	40 10.8%	∠ 0.5%
	SPECIAL EDUCATION	388	10	81	84	93	97	21	2
			2.6%	20.9%	21.6%	24.0%	25.0%	5.4%	0.5%
	READING	98		11	22	20	32	13	
				11.2%	22.4%	20.4%	32.7%	13.3%	
	ENGLISH LANGUAGE	150	4 2.7%	34 22.7%	31 20.7%	23 15.3%	43 28.7%	15 10.0%	
	FOREIGN LANGUAGE	64	3	11	^{20.7} [%]	10.3%	13	10.0 %	
		04	4.7%	17.2%	21.9%	25.0%	20.3%	1 0.9%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	16	1	2	2	5	2	4	
			6.3%	12.5%	12.5%	31.3%	12.5%	25.0%	
	MATHEMATICS	145	12	25	28	31	39	10	
			8.3%	17.2%	19.3%	21.4%	26.9%	6.9%	
	SCIENCE	137	7 5 19/	28	27	41	26	5 99/	
			5.1%	20.4%	19.7%	29.9%	19.0%	5.8%	

			105-2000						
County:	RENSSELAER		-						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	127	3 2.4%	29 22.8%	18 14.2%	26 20.5%	32 25.2%	18 14.2%	1 0.8%
	ART	57		12 21.1%	6 10.5%	14 24.6%	15 26.3%	10 17.5%	
	MUSIC	76	6 7.9%	11 14.5%	16 21.1%	14 18.4%	23 30.3%	5 6.6%	1 1.3%
	ART/MUSIC	2			1 50.0%		1 50.0%		
	HEALTH EDUCATION	30		3 10.0%	4 13.3%	4 13.3%	14 46.7%	4 13.3%	1 3.3%
	SAFETY EDUCATION	2				1 50.0%	1 50.0%		
	PHYSICAL EDUCATION	115	2 1.7%	23 20.0%	19 16.5%	24 20.9%	41 35.7%	6 5.2%	
	AGRICULTURE								
	BUSINESS/MARKETING	29	1 3.4%	1 3.4%	3 10.3%	4 13.8%	11 37.9%	9 31.0%	
	HOME ECONOMICS	21	1 4.8%	2 9.5%	4 19.0%	3 14.3%	6 28.6%	5 23.8%	
	TECHNOLOGY	24	1 4.2%	5 20.8%	4 16.7%	4 16.7%	5 20.8%	4 16.7%	1 4.2%
	TRADE EDUCATION	24	1 4.2%	2 8.3%	4 16.7%	4 16.7%	7 29.2%	5 20.8%	1 4.2%
	TECHNICAL EDUCATION	2			1 50.0%		1 50.0%		
	HEALTH OCCUPATION	8	1 12.5%		1 12.5%		3 37.5%	3 37.5%	
	GENERAL OCCUPATIONAL EDUCATION	46	2 4.3%	4 8.7%	7 15.2%	9 19.6%	16 34.8%	8 17.4%	

a ,		20	05-2000						
County:	RENSSELAER								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	7			1 14.3%		2 28.6%	3 42.9%	1 14.3%
	LIBRARY	25		1 4.0%	3 12.0%	6 24.0%	11 44.0%	4 16.0%	
	LEARNING TECHNOLOGY				,	2		101070	
	HUMANITIES/PERFORMING ARTS	1						1 100.0%	
	DANCE							100.070	
	THEATER	3			2 66.7%		1 33.3%		
	COMBINED COURSES	3			00.7 /8		33.3 <i>%</i> 3 100.0%		
	OTHER SUBJECT	78	3 3.8%	19 24.4%	16 20.5%	18 23.1%	19 24.4%	3 3.8%	
	HELPING TEACHER		0.070	27.770	20.070	20.170	24.470	0.070	
	GIFTED/TALENTED	3			1 33.3%	1 33.3%	1 33.3%		
	GENERAL COOPERATIVE WORK EXPER	3	1 33.3%	1 33.3%	1 33.3%	00.075	00.070		
	COMPUTER STUDIES	7	00.070	14.3%	00.070	2 28.6%	2 28.6%	2 28.6%	
	Summary	2318	67 2.9%	403 17.4%	442 19.1%	508 21.9%	641 27.7%	245 10.6%	12 0.5%

County:	ROCKLAND	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	9					2 22.2%	7 77.8%	
	SUPERINTENDENT, DEPENDENT								
	DEPUTY OR ASSOCIATE SUPERINTEN	7				1 14.3%	1 14.3%	4 57.1%	1 14.3%
	ASSISTANT SUPERINTENDENT	4					4 100.0%		
	ASSISTANT SUPERINTENDENT SPECI	15				3 20.0%	7 46.7%	4 26.7%	1 6.7%
	BUSINESS MANAGER	3			2 66.7%			1 33.3%	
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	82		4 4.9%	18 22.0%	12 14.6%	29 35.4%	18 22.0%	1 1.2%
	ASSISTANT DIRECTOR/COORDINATOR	9			2 22.2%	2 22.2%	4 44.4%		1 11.1%
	SUPERVISOR	17			2 11.8%	7 41.2%	5 29.4%	3 17.6%	
	DEPARTMENT CHAIRPERSON	73		3 4.1%	15 20.5%	12 16.4%	27 37.0%	15 20.5%	1 1.4%
	ATTENDANCE TEACHER	1					1 100.0%		
	SCHOOL PSYCHOLOGIST	128		22 17.2%	36 28.1%	17 13.3%	30 23.4%	22 17.2%	1 0.8%
	SOCIAL WORKER	39		5 12.8%	11 28.2%	4 10.3%	14 35.9%	5 12.8%	
	GUIDANCE COUNSELOR	97	1 1.0%	22 22.7%	30 30.9%	19 19.6%	10 10.3%	14 14.4%	1 1.0%

DENTAL HYGIENIST OTHER NONTEACHING 52 6 10 10	49-56 33 40.7% 18	57-64 22 27.2%	<i>Over-64</i> 6 7.4%
NURSE TEACHER 2 1 1 SCHOOL NURSE/PRACTITIONER 81 3 17 SCHOOL NURSE/PRACTITIONER 81 3 17 DENTAL HYGIENIST 0THER NONTEACHING 52 6 10 10	33 40.7% 18	22	6
SCHOOL NURSE/PRACTITIONER81317DENTAL HYGIENIST3.7%21.0%OTHER NONTEACHING52610	40.7% 18		
3.7% 21.0% DENTAL HYGIENIST 52 6 10 10	40.7% 18		
OTHER NONTEACHING 52 6 10 10			
	34.6%	6 11.5%	2 3.8%
ELEMENTARY SCHOOL PRINCIPAL 41 5 6 12.2% 14.6%	15 36.6%	14 34.1%	1 2.4%
MIDDLE SCHOOL PRINCIPAL 12 1 4 8.3% 33.3%	3 25.0%	3 25.0%	1 8.3%
JUNIOR HIGH SCHOOL PRINCIPAL			
K-12 SCHOOL PRINCIPAL 1 100.0%			
SENIOR HIGH SCHOOL PRINCIPAL 18 2 3 11.1% 16.7%	9 50.0%	2 11.1%	2 11.1%
JUNIOR/SENIOR HIGH SCHOOL PRIN 2	2 100.0%		
SPECIAL SCHOOL PRINCIPAL 2 1 50.0%		1 50.0%	
ASSISTANT ELEMENTARY SCHOOL PR 18 1 8 5 5.6% 44.4% 27.8%	2 11.1%	2 11.1%	
ASSISTANT MIDDLE SCHOOL PRINCI 17 3 7 17.6% 41.2%	7 41.2%		
ASSISTANT JUNIOR HIGH SCHOOL P 1		1 100.0%	
ASSISTANT K-12 SCHOOL PRINCIPA 3	2 66.7%	1 33.3%	

County:	ROCKLAND		05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57 -64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	26		2 7.7%	3 11.5%	6 23.1%	6 23.1%	9 34.6%	
	ASSISTANT JR./SR. HIGH SCHOOL	2			1 50.0%	1 50.0%			
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	3				1 33.3%		2 66.7%	
	PREKINDERGARTEN	11		3 27.3%	3 27.3%	1 9.1%	3 27.3%	1 9.1%	
	KINDERGARTEN	118	4 3.4%	27 22.9%	28 23.7%	22 18.6%	23 19.5%	13 11.0%	1 0.8%
	COMMON BRANCH	760	19 2.5%	204 26.8%	237 31.2%	124 16.3%	107 14.1%	67 8.8%	2 0.3%
	SPECIAL EDUCATION	710	14 2.0%	120 16.9%	161 22.7%	165 23.2%	175 24.6%	67 9.4%	8 1.1%
	READING	159		40 25.2%	34 21.4%	20 12.6%	33 20.8%	30 18.9%	2 1.3%
	ENGLISH LANGUAGE	312	23 7.4%	91 29.2%	79 25.3%	43 13.8%	46 14.7%	28 9.0%	2 0.6%
	FOREIGN LANGUAGE	161	5 3.1%	40 24.8%	25 15.5%	42 26.1%	36 22.4%	12 ^{7.5%}	1 0.6%
	BILINGUAL EDUCATION	3			1 33.3%	1 33.3%		1 33.3%	
	ENGLISH AS A SECOND LANGUAGE	105	2 1.9%	14 13.3%	22 21.0%	27 25.7%	24 22.9%	15 14.3%	1 1.0%
	MATHEMATICS	282	21 7.4%	70 24.8%	75 26.6%	48 17.0%	38 13.5%	28 9.9%	2 0.7%
	SCIENCE	302	10 3.3%	76 25.2%	82 27.2%	50 16.6%	53 17.5%	31 10.3%	

		20	103-2000						
County:	ROCKLAND								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	270	17 6.3%	74 27.4%	89 33.0%	28 10.4%	28 10.4%	33 12.2%	1 0.4%
	ART	123	2 1.6%	16 13.0%	25 20.3%	31 25.2%	32 26.0%	17 13.8%	
	MUSIC	151	6 4.0%	35 23.2%	23 15.2%	34 22.5%	42 27.8%	10 6.6%	1 0.7%
	ART/MUSIC	1					1 100.0%		
	HEALTH EDUCATION	53	5 9.4%	13 24.5%	13 24.5%	7 13.2%	10 18.9%	5 9.4%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	188	7 3.7%	63 33.5%	46 24.5%	39 20.7%	23 12.2%	10 5.3%	
	AGRICULTURE								
	BUSINESS/MARKETING	32		4 12.5%	6 18.8%	8 25.0%	8 25.0%	5 15.6%	1 3.1%
	HOME ECONOMICS	21	1 4.8%	1 4.8%	4 19.0%	2 9.5%	9 42.9%	4 19.0%	
	TECHNOLOGY	32	2 6.3%	6 18.8%	5 15.6%	5 15.6%	12 37.5%	2 6.3%	
	TRADE EDUCATION	12		2 16.7%	2 16.7%	2 16.7%	3 25.0%	3 25.0%	
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION	3				2 66.7%		1 33.3%	
	GENERAL OCCUPATIONAL EDUCATION	56	6	10	8	8	19	4	1

		21	105-2000						
County:	ROCKLAND		2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	5		1 20.0%		1 20.0%		2 40.0%	1 20.0%
	LIBRARY	60	2 3.3%	4 6.7%	10 16.7%	9 15.0%	20 33.3%	15 25.0%	
	LEARNING TECHNOLOGY	3		1 33.3%			2 66.7%		
	HUMANITIES/PERFORMING ARTS	1				1 100.0%			
	DANCE	3			1 33.3%	1 33.3%	1 33.3%		
	THEATER	1				1 100.0%			
	COMBINED COURSES	4			1 25.0%	2 50.0%		1 25.0%	
	OTHER SUBJECT	95	3 3.2%	25 26.3%	19 20.0%	14 14.7%	19 20.0%	14 14.7%	1 1.1%
	HELPING TEACHER	48	4 8.3%	16 33.3%	12 25.0%	4 8.3%	9 18.8%	3 6.3%	
	GIFTED/TALENTED	19		5 26.3%	4 21.1%	5 26.3%	2 10.5%	3 15.8%	
	GENERAL COOPERATIVE WORK EXPER	9			1 11.1%	3 33.3%	3 33.3%	2 22.2%	
	COMPUTER STUDIES	19		2 10.5%	7 36.8%	3 15.8%	4 21.1%	3 15.8%	
	Summary	4333	132 3.0%	898 20.7%	1054 24.3%	803 18.5%	897 20.7%	509 11.7%	40 0.9%

		4	05-2000						
County:	ST. LAWRENCE		2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	6				1 16.7%	2 33.3%	3 50.0%	
	SUPERINTENDENT, DEPENDENT	11			1 9.1%	2 18.2%	5 45.5%	2 18.2%	1 9.1%
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1					1 100.0%		
	ASSISTANT SUPERINTENDENT SPECI	3					1 33.3%	2 66.7%	
	BUSINESS MANAGER	3			1 33.3%	2 66.7%			
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	36			5 13.9%	10 27.8%	15 41.7%	6 16.7%	
	ASSISTANT DIRECTOR/COORDINATOR	3		1 33.3%		1 33.3%	1 33.3%		
	SUPERVISOR	10			2 20.0%	1 10.0%	5 50.0%	2 20.0%	
	DEPARTMENT CHAIRPERSON	41			6 14.6%	10 24.4%	20 48.8%	5 12.2%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	26		1 3.8%	10 38.5%	5 19.2%	9 34.6%	1 3.8%	
	SOCIAL WORKER	4				1 25.0%	3 75.0%		
	GUIDANCE COUNSELOR	67			28	10	17		

County:	ST. LAWRENCE	20	105-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	1						1 100.0%	
	SCHOOL NURSE/PRACTITIONER	32			4 12.5%	8 25.0%	17 53.1%	9.4%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	17		1 5.9%	8 47.1%	1 5.9%	5 29.4%	2 11.8%	
	ELEMENTARY SCHOOL PRINCIPAL	20			3 15.0%	8 40.0%	6 30.0%	3 15.0%	
	MIDDLE SCHOOL PRINCIPAL	7			2 28.6%	2 28.6%	2 28.6%	1 14.3%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	1			1 100.0%				
	SENIOR HIGH SCHOOL PRINCIPAL	8			1 12.5%	1 12.5%	5 62.5%	1 12.5%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	9			2 22.2%	2 22.2%	5 55.6%		
	SPECIAL SCHOOL PRINCIPAL	1				1 100.0%			
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI								
	ASSISTANT JUNIOR HIGH SCHOOL P	1				1 100.0%			
	ASSISTANT K-12 SCHOOL PRINCIPA								

		20	103-2000						
County:	ST. LAWRENCE								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	3			1 33.3%	2 66.7%			
	ASSISTANT JR./SR. HIGH SCHOOL	1				1 100.0%			
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	14		3 21.4%	3 21.4%	2 14.3%	6 42.9%		
	KINDERGARTEN	70	1 1.4%	4 5.7%	22 31.4%	17 24.3%	18 25.7%	8 11.4%	
	COMMON BRANCH	321	3 0.9%	45 14.0%	65 20.2%	77 24.0%	104 32.4%	26 8.1%	1 0.3%
	SPECIAL EDUCATION	252	4 1.6%	26 10.3%	61 24.2%	79 31.3%	67 26.6%	14 5.6%	1 0.4%
	READING	100	4 4.0%	14 14.0%	27 27.0%	22 22.0%	26 26.0%	7 7.0%	
	ENGLISH LANGUAGE	127	6 4.7%	26 20.5%	37 29.1%	21 16.5%	32 25.2%	5 3.9%	
	FOREIGN LANGUAGE	52	1 1.9%	9 17.3%	18 34.6%	8 15.4%	13 25.0%	3 5.8%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	2					2 100.0%		
	MATHEMATICS	134	4 3.0%	15 11.2%	40 29.9%	38 28.4%	28 20.9%	9 6.7%	
	SCIENCE	120	1 0.8%	18 15.0%	34 28.3%	32 26.7%	26 21.7%	9 7.5%	

County:	ST. LAWRENCE

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SOCIAL STUDIES	116	2 1.7%	18 15.5%	37 31.9%	19 16.4%	29 25.0%	11 9.5%	
ART	46		10 21.7%	11 23.9%	8 17.4%	12 26.1%	5 10.9%	
MUSIC	62	1 1.6%	8 12.9%	11 17.7%	17 27.4%	22 35.5%	2 3.2%	1 1.6%
ART/MUSIC	2				1 50.0%	1 50.0%		
HEALTH EDUCATION	22		6 27.3%	4 18.2%	6 27.3%	5 22.7%	1 4.5%	
SAFETY EDUCATION	3			1 33.3%		2 66.7%		
PHYSICAL EDUCATION	76	1 1.3%	13 17.1%	19 25.0%	13 17.1%	25 32.9%	5 6.6%	
AGRICULTURE	8		2 25.0%	2 25.0%	3 37.5%		1 12.5%	
BUSINESS/MARKETING	28		5 17.9%	5 17.9%	7 25.0%	9 32.1%	2 7.1%	
HOME ECONOMICS	15		1 6.7%	3 20.0%	6 40.0%	4 26.7%	1 6.7%	
TECHNOLOGY	21	1 4.8%	3 14.3%	3 14.3%	7 33.3%	6 28.6%		1 4.8%
TRADE EDUCATION	22		1 4.5%	5 22.7%	7 31.8%	8 36.4%	1 4.5%	
TECHNICAL EDUCATION								
HEALTH OCCUPATION	6				2 33.3%	4 66.7%		
GENERAL OCCUPATIONAL EDUCATION	54	1 1.9%	9 16.7%	10 18.5%	19 35.2%	11 20.4%	2 3.7%	2 3.7%

County:	ST. LAWRENCE	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	1				1 100.0%			
	LIBRARY	30		6 20.0%	1 3.3%	6 20.0%	14 46.7%	3 10.0%	
	LEARNING TECHNOLOGY	3			1 33.3%	2 66.7%			
	HUMANITIES/PERFORMING ARTS	2					2 100.0%		
	DANCE								
	THEATER	5			4 80.0%	1 20.0%			
	COMBINED COURSES				00.070	20.070			
	OTHER SUBJECT	104	2 1.9%	16 15.4%	31 29.8%	23 22.1%	22 21.2%	8 7.7%	2 1.9%
	HELPING TEACHER	1	1.070	10.170	1 100.0%	,,o	21.270	1.1.70	
	GIFTED/TALENTED	1						1 100.0%	
	GENERAL COOPERATIVE WORK EXPER	6		1 16.7%	2 33.3%		3 50.0%		
	COMPUTER STUDIES	12	1 8.3%		2 16.7%	4 33.3%	4 33.3%	1 8.3%	
	Summary	1784	26 1.5%	224 12.6%	437 24.5%	426 23.9%	529 29.7%	136 7.6%	6 0.3%

Stat-Cd									
Siui-Cu		Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SUPERINTENDE	NT, INDEPENDENT	6			1 16.7%		2 33.3%	2 33.3%	1 16.7%
SUPERINTENDE	NT, DEPENDENT	6				1 16.7%	3 50.0%	2 33.3%	
DEPUTY OR ASS	SOCIATE SUPERINTEN	2					2 100.0%		
ASSISTANT SUP	PERINTENDENT	1					1 100.0%		
ASSISTANT SUP	PERINTENDENT SPECI	4			1 25.0%	1 25.0%	2 50.0%		
BUSINESS MAN/	AGER	6					2 33.3%	4 66.7%	
ADMINISTRATIV	E ASSISTANT	1						1 100.0%	
DIRECTOR/COO	RDINATOR	69		3 4.3%	12 17.4%	17 24.6%	23 33.3%	13 18.8%	1 1.4%
ASSISTANT DIRI	ECTOR/COORDINATOR	10			2 20.0%	3 30.0%	2 20.0%	2 20.0%	1 10.0%
SUPERVISOR		4				2 50.0%	1 25.0%	1 25.0%	
DEPARTMENT C	HAIRPERSON	56		2 3.6%	11 19.6%	10 17.9%	25 44.6%	8 14.3%	
ATTENDANCE T	EACHER								
SCHOOL PSYCH	IOLOGIST	51		15 29.4%	11 21.6%	13 25.5%	6 11.8%	6 11.8%	
SOCIAL WORKE	R	20		2 10.0%	5 25.0%	4 20.0%	6 30.0%	3 15.0%	
GUIDANCE COU	NSELOR	81		17 21.0%	28 34.6%	12 14.8%	17 21.0%	7 8.6%	

		4	105-2000						
County:	SARATOGA								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- 64	Over-64
	NURSE TEACHER	1					1 100.0%		
	SCHOOL NURSE/PRACTITIONER	52		4 7.7%	3 5.8%	14 26.9%	18 34.6%	13 25.0%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	16			5 31.3%	3 18.8%	5 31.3%	3 18.8%	
	ELEMENTARY SCHOOL PRINCIPAL	29			5 17.2%	3 10.3%	16 55.2%	5 17.2%	
	MIDDLE SCHOOL PRINCIPAL	14			1 7.1%	5 35.7%	6 42.9%	2 14.3%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	11			2 18.2%	3 27.3%	3 27.3%	3 27.3%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1			1 100.0%				
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	5		2 40.0%	1 20.0%	2 40.0%			
	ASSISTANT MIDDLE SCHOOL PRINCI	10		1 10.0%	1 10.0%	4 40.0%	4 40.0%		
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	SARATOGA								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	15		2 13.3%	4 26.7%	4 26.7%	3 20.0%	2 13.3%	
	ASSISTANT JR./SR. HIGH SCHOOL	2			2 100.0%				
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	2		1 50.0%	1 50.0%				
	PREKINDERGARTEN	1				1 100.0%			
	KINDERGARTEN	114	1 0.9%	21 18.4%	32 28.1%	19 16.7%	26 22.8%	15 13.2%	
	COMMON BRANCH	663	14 2.1%	142 21.4%	153 23.1%	117 17.6%	150 22.6%	84 12.7%	3 0.5%
	SPECIAL EDUCATION	416	11 2.6%	74 17.8%	118 28.4%	85 20.4%	101 24.3%	26 6.3%	1 0.2%
	READING	154	3 1.9%	36 23.4%	36 23.4%	27 17.5%	30 19.5%	21 13.6%	1 0.6%
	ENGLISH LANGUAGE	244	5 2.0%	62 25.4%	56 23.0%	35 14.3%	59 24.2%	26 10.7%	1 0.4%
	FOREIGN LANGUAGE	111	6 5.4%	19 17.1%	27 24.3%	17 15.3%	27 24.3%	14 12.6%	1 0.9%
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	6		1 16.7%	3 50.0%	2 33.3%			
	MATHEMATICS	229	10 4.4%	51 22.3%	48 21.0%	44 19.2%	46 20.1%	29 12.7%	1 0.4%
	SCIENCE	213	7 3.3%	28 13.1%	56 26.3%	41 19.2%	57 26.8%	24 11.3%	

			103-2000						
ounty:	SARATOGA								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	198	5 2.5%	61 30.8%	42 21.2%	32 16.2%	36 18.2%	21 10.6%	1 0.5%
	ART	95	1 1.1%	9 9.5%	18 18.9%	18 18.9%	36 37.9%	13 13.7%	
	MUSIC	122	5 4.1%	29 23.8%	21 17.2%	30 24.6%	24 19.7%	12 9.8%	1 0.8%
	ART/MUSIC								
	HEALTH EDUCATION	38		7 18.4%	6 15.8%	4 10.5%	14 36.8%	7 18.4%	
	SAFETY EDUCATION	1							1 100.0%
	PHYSICAL EDUCATION	138	1 0.7%	39 28.3%	34 24.6%	21 15.2%	31 22.5%	11 8.0%	1 0.7%
	AGRICULTURE	1					1 100.0%		
	BUSINESS/MARKETING	37	1 2.7%	3 8.1%	13 35.1%	12 32.4%	6 16.2%	2 5.4%	
	HOME ECONOMICS	20	2 10.0%			7 35.0%	9 45.0%	2 10.0%	
	TECHNOLOGY	34		4 11.8%	9 26.5%	9 26.5%	10 29.4%	2 5.9%	
	TRADE EDUCATION	1			1 100.0%				
	TECHNICAL EDUCATION	4			2 50.0%	2 50.0%			
	HEALTH OCCUPATION								
	GENERAL OCCUPATIONAL EDUCATION	67	2 3.0%	9 13.4%	9 13.4%	23 34.3%	18 26.9%	6 9.0%	

County:	SARATOGA	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	10		1 10.0%	3 30.0%		5 50.0%	1 10.0%	
	LIBRARY	52		7 13.5%	7 13.5%	7 13.5%	16 30.8%	14 26.9%	1 1.9%
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS	1					1 100.0%		
	DANCE								
	THEATER	4		1 25.0%	1 25.0%	1 25.0%		1 25.0%	
	COMBINED COURSES	9		2 22.2%	1 11.1%	2 22.2%	2 22.2%	2 22.2%	
	OTHER SUBJECT	158	7 4.4%	30 19.0%	43 27.2%	24 15.2%	35 22.2%	18 11.4%	1 0.6%
	HELPING TEACHER	1			1 100.0%				
	GIFTED/TALENTED	6		1 16.7%		1 16.7%	4 66.7%		
	GENERAL COOPERATIVE WORK EXPER	2		1 50.0%	1 50.0%				
	COMPUTER STUDIES	21	1 4.8%	1 4.8%	3 14.3%	9 42.9%	5 23.8%	2 9.5%	
	Summary	3129	69 2.2%	606 19.4%	725 23.2%	585 18.7%	756 24.2%	373 11.9%	15 _{0.5%}

County:	SCHENECTADY	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	5					4 80.0%	1 20.0%	
	SUPERINTENDENT, DEPENDENT	1					1 100.0%		
	DEPUTY OR ASSOCIATE SUPERINTEN	1					1 100.0%		
	ASSISTANT SUPERINTENDENT	3				2 66.7%		1 33.3%	
	ASSISTANT SUPERINTENDENT SPECI	2					2 100.0%		
	BUSINESS MANAGER	3				2 66.7%		1 33.3%	
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	36	1 2.8%		4 11.1%	7 19.4%	19 52.8%	4 11.1%	1 2.8%
	ASSISTANT DIRECTOR/COORDINATOR	8			2 25.0%	2 25.0%	2 25.0%	2 25.0%	
	SUPERVISOR	7			4 57.1%	1 14.3%	1 14.3%	1 14.3%	
	DEPARTMENT CHAIRPERSON	15			3 20.0%	6 40.0%	4 26.7%	2 13.3%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	29		2 6.9%	7 24.1%	8 27.6%	8 27.6%	4 13.8%	
	SOCIAL WORKER	29		1 3.4%	2 6.9%	9 31.0%	12 41.4%	5 17.2%	
	GUIDANCE COUNSELOR	53		7 13.2%	18 34.0%	13 24.5%	12 22.6%	3 5.7%	

		<u> </u>	103-2000						
County:	SCHENECTADY								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	3				2 66.7%		1 33.3%	
	SCHOOL NURSE/PRACTITIONER	42			2 4.8%	14 33.3%	17 40.5%	9 21.4%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	25		2 8.0%	4 16.0%	7 28.0%	9 36.0%	2 8.0%	1 4.0%
	ELEMENTARY SCHOOL PRINCIPAL	25		1 4.0%	7 28.0%	6 24.0%	6 24.0%	4 16.0%	1 4.0%
	MIDDLE SCHOOL PRINCIPAL	9			2 22.2%		6 66.7%	1 11.1%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	8			2 25.0%	1 12.5%	1 12.5%	3 37.5%	1 12.5%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	2			1 50.0%		1 50.0%		
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	1			1 100.0%				
	ASSISTANT MIDDLE SCHOOL PRINCI	5		1 20.0%	1 20.0%	3 60.0%			
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

Wednesday, February 21, 2007

			103-2000						
County:	SCHENECTADY	20							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	5		1 20.0%	1 20.0%	2 40.0%	1 20.0%		
	ASSISTANT JR./SR. HIGH SCHOOL	2			1 50.0%		1 50.0%		
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	6		1 16.7%	1 16.7%	1 16.7%		2 33.3%	1 16.7%
	KINDERGARTEN	68	4 5.9%	17 25.0%	14 20.6%	13 19.1%	13 19.1%	7 10.3%	
	COMMON BRANCH	377	14 3.7%	94 24.9%	82 21.8%	72 19.1%	78 20.7%	36 9.5%	1 0.3%
	SPECIAL EDUCATION	232	5 2.2%	45 19.4%	46 19.8%	56 24.1%	59 25.4%	19 8.2%	2 0.9%
	READING	134		25 18.7%	24 17.9%	26 19.4%	39 29.1%	18 13.4%	2 1.5%
	ENGLISH LANGUAGE	165	8 4.8%	38 23.0%	37 22.4%	34 20.6%	37 22.4%	10 6.1%	1 0.6%
	FOREIGN LANGUAGE	68	1 1.5%	13 19.1%	10 14.7%	20 29.4%	13 19.1%	8 11.8%	3 4.4%
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	12		4 33.3%	1 8.3%	1 8.3%	6 50.0%		
	MATHEMATICS	188	15 8.0%	31 16.5%	41 21.8%	30 16.0%	44 23.4%	26 13.8%	1 0.5%
	SCIENCE	139	2 1.4%	32 23.0%	25 18.0%	32 23.0%	39 28.1%	9 6.5%	

		2003-2000								
County:	SCHENECTADY									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- <mark>64</mark>	Over-64	
	SOCIAL STUDIES	137	1 0.7%	31 22.6%	33 24.1%	30 21.9%	33 24.1%	9 6.6%		
	ART	64	1 1.6%	16 25.0%	9 14.1%	17 26.6%	15 23.4%	6 9.4%		
	MUSIC	78	4 5.1%	16 20.5%	5 6.4%	19 24.4%	25 32.1%	9 11.5%		
	ART/MUSIC									
	HEALTH EDUCATION	21	1 4.8%	4 19.0%	3 14.3%	7 33.3%	4 19.0%	2 9.5%		
	SAFETY EDUCATION									
	PHYSICAL EDUCATION	82	3 3.7%	27 32.9%	21 25.6%	12 14.6%	18 22.0%	1 1.2%		
	AGRICULTURE		0.170	02.070	20.070	11.070	22.070	1.270		
	BUSINESS/MARKETING	24		3 12.5%	5 20.8%	8 33.3%	6 25.0%	2 8.3%		
	HOME ECONOMICS	14		1 7.1%	1 7.1%	4 28.6%	6 42.9%	2 14.3%		
	TECHNOLOGY	17		2 11.8%	5 29.4%	5 29.4%	4 23.5%	1 5.9%		
	TRADE EDUCATION	1			1 100.0%					
	TECHNICAL EDUCATION	2			1 50.0%		1 50.0%			
	HEALTH OCCUPATION									
	GENERAL OCCUPATIONAL EDUCATION	45	1 2.2%	10 22.2%	7 15.6%	10 22.2%	12 26.7%	5 11.1%		

County:	SCHENECTADY	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	6				2 33.3%	4 66.7%		
	LIBRARY	34		6 17.6%	3 8.8%	6 17.6%	12 35.3%	7 20.6%	
	LEARNING TECHNOLOGY	1					1 100.0%		
	HUMANITIES/PERFORMING ARTS	2					2 100.0%		
	DANCE	1		1 100.0%					
	THEATER	4			1 25.0%	1 25.0%	2 50.0%		
	COMBINED COURSES	3		1 33.3%	2 66.7%				
	OTHER SUBJECT	59	4 6.8%	15 25.4%	7 11.9%	9 15.3%	15 25.4%	9 15.3%	
	HELPING TEACHER	12			3 25.0%	2 16.7%	4 33.3%	3 25.0%	
	GIFTED/TALENTED	2		1 50.0%		1 50.0%			
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	21	1 4.8%	3 14.3%	6 28.6%	8 38.1%	3 14.3%		
	Summary	2024	58 2.9%	405 20.0%	404 20.0%	444 21.9%	508 25.1%	191 _{9.4%}	14 0.7%

		20	103-2000						
County:	SCHOHARIE	_							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	1					1 100.0%		
	SUPERINTENDENT, DEPENDENT	5			1 20.0%			2 40.0%	2 40.0%
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT								
	ASSISTANT SUPERINTENDENT SPECI								
	BUSINESS MANAGER	3			1 33.3%	1 33.3%		1 33.3%	
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	13			2 15.4%	3 23.1%	6 46.2%	2 15.4%	
	ASSISTANT DIRECTOR/COORDINATOR								
	SUPERVISOR								
	DEPARTMENT CHAIRPERSON	3			2 66.7%	1 33.3%			
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	4			3 75.0%		1 25.0%		
	SOCIAL WORKER	8		2 25.0%	1 12.5%		4 50.0%	1 12.5%	
	GUIDANCE COUNSELOR	17		4 23.5%	5 29.4%	7 41.2%	1 5.9%		

County:	SCHOHARIE	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	11			2 18.2%	3 27.3%	3 27.3%	3 27.3%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	2		2 100.0%					
	ELEMENTARY SCHOOL PRINCIPAL	4			1 25.0%	1 25.0%	1 25.0%		1 25.0%
	MIDDLE SCHOOL PRINCIPAL	2			1 50.0%			1 50.0%	
	JUNIOR HIGH SCHOOL PRINCIPAL				50.070			00.070	
	K-12 SCHOOL PRINCIPAL	2				1 50.0%	1 50.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	3			1 33.3%	1 33.3%	1 33.3%		
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1			00.070	1	00.070		
	SPECIAL SCHOOL PRINCIPAL					100.0 %			
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI	1				1 100.0%			
	ASSISTANT JUNIOR HIGH SCHOOL P					100.0%			
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	SCHOHARIE	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P								
	ASSISTANT JR./SR. HIGH SCHOOL	1			1 100.0%				
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	1					1 100.0%		
	KINDERGARTEN	21	1 4.8%		3 14.3%	6 28.6%	8 38.1%	3 14.3%	
	COMMON BRANCH	109	3 2.8%	20 18.3%	28 25.7%	21 19.3%	25 22.9%	12 11.0%	
	SPECIAL EDUCATION	72	2 2.8%	13 18.1%	16 22.2%	17 23.6%	17 23.6%	7 9.7%	
	READING	28	1 3.6%	4 14.3%	3 10.7%	6 21.4%	10 35.7%	4 14.3%	
	ENGLISH LANGUAGE	50	2 4.0%	11 22.0%	11 22.0%	14 28.0%	7 14.0%	5 10.0%	
	FOREIGN LANGUAGE	18	1 5.6%	4 22.2%	1 5.6%	7 38.9%	3 16.7%	2 11.1%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	1					1 100.0%		
	MATHEMATICS	50	3 6.0%	9 18.0%	9 18.0%	5 10.0%	20 40.0%	3 6.0%	1 2.0%
	SCIENCE	42	1 2.4%	4 9.5%	14 33.3%	9 21.4%	14 33.3%		

		2005-2006									
County:	SCHOHARIE										
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64		
	SOCIAL STUDIES	36	1 2.8%	6 16.7%	11 30.6%	9 25.0%	4 11.1%	5 13.9%			
	ART	13		2 15.4%	3 23.1%	4 30.8%	2 15.4%	2 15.4%			
	MUSIC	23	1 4.3%	3 13.0%	1 4.3%	7 30.4%	11 47.8%				
	ART/MUSIC										
	HEALTH EDUCATION	15		2 13.3%	2 13.3%	4 26.7%	5 33.3%	2 13.3%			
	SAFETY EDUCATION	2				1 50.0%	1 50.0%				
	PHYSICAL EDUCATION	26		4 15.4%	8 30.8%	6 23.1%	6 23.1%	2 7.7%			
	AGRICULTURE	3			2 66.7%	1 33.3%					
	BUSINESS/MARKETING	13	1 7.7%	2 15.4%	2 15.4%	5 38.5%	2 15.4%	1 7.7%			
	HOME ECONOMICS	2				1 50.0%	1 50.0%				
	TECHNOLOGY	8		1 12.5%	2 25.0%	2 25.0%	2 25.0%	1 12.5%			
	TRADE EDUCATION	1						1 100.0%			
	TECHNICAL EDUCATION										
	HEALTH OCCUPATION	1					1 100.0%				
	GENERAL OCCUPATIONAL EDUCATION	16	1 6.3%	2 12.5%	1 6.3%	6 37.5%	3 18.8%	3 18.8%			

County:	SCHOHARIE	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	3	1 33.3%			1 33.3%		1 33.3%	
	LIBRARY	10			3 30.0%	2 20.0%	2 20.0%	3 30.0%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS	2				1 50.0%	1 50.0%		
	DANCE								
	THEATER	1					1 100.0%		
	COMBINED COURSES	2		2 100.0%					
	OTHER SUBJECT	41		7 17.1%	12 29.3%	9 22.0%	11 26.8%	2 4.9%	
	HELPING TEACHER	1							1 100.0%
	GIFTED/TALENTED	3					2 66.7%	1 33.3%	
	GENERAL COOPERATIVE WORK EXPER							00.075	
	COMPUTER STUDIES	2			1 50.0%	1 50.0%			
	Summary	568	13 2.3%	84 14.8%	131 23.1%	131 23.1%	145 25.5%	59 10.4%	5 0.9%

County:	SCHUYLER	20	105-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	2						2 100.0%	
	SUPERINTENDENT, DEPENDENT	1				1 100.0%			
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT								
	ASSISTANT SUPERINTENDENT SPECI	2					2 100.0%		
	BUSINESS MANAGER								
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	9			3 33.3%	1 11.1%	5 55.6%		
	ASSISTANT DIRECTOR/COORDINATOR	1					1 100.0%		
	SUPERVISOR	4			1 25.0%	1 25.0%	2 50.0%		
	DEPARTMENT CHAIRPERSON	4					2 50.0%	2 50.0%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	2			1 50.0%		1 50.0%		
	SOCIAL WORKER	22		2 9.1%	5 22.7%	6 27.3%	7 31.8%	2 9.1%	
	GUIDANCE COUNSELOR	4		1 25.0%	1 25.0%		2 50.0%		

County:	SCHUYLER	20	105-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	5			1 20.0%	1 20.0%	1 20.0%	2 40.0%	
	DENTAL HYGIENIST				201070	2010/0	2010/0		
	OTHER NONTEACHING	8		1 12.5%		1 12.5%	4 50.0%	2 25.0%	
	ELEMENTARY SCHOOL PRINCIPAL	3		12.070		12.3% 1 33.3%	66.7%	20.070	
	MIDDLE SCHOOL PRINCIPAL	2			1 50.0%		1 50.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL				30.0 %		50.078		
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	3				1 33.3%	1 33.3%	1 33.3%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN					55.576	55.576	55.576	
	SPECIAL SCHOOL PRINCIPAL	1						1 100.0%	
	ASSISTANT ELEMENTARY SCHOOL PR							100.0%	
	ASSISTANT MIDDLE SCHOOL PRINCI								
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	SCHUYLER	_ 0	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	1				1 100.0%			
	ASSISTANT JR./SR. HIGH SCHOOL					100.078			
	ASSISTANT SPECIAL SCHOOL PRINC	1			1 100.0%				
	OTHER SCHOOL ADMINISTRATOR				100.0%				
	PREKINDERGARTEN	2			1 50.0%	1 50.0%			
	KINDERGARTEN	10		2 20.0%	2 20.0%	2 20.0%	4 40.0%		
	COMMON BRANCH	39	1 2.6%	5 12.8%	13 33.3%	8 20.5%	10 25.6%	2 5.1%	
	SPECIAL EDUCATION	88	2 2.3%	13 14.8%	18 20.5%	19 21.6%	31 35.2%	5 5.7%	
	READING	16		5 31.3%		1 6.3%	6 37.5%	4 25.0%	
	ENGLISH LANGUAGE	17		2 11.8%	6 35.3%		7 41.2%	2 11.8%	
	FOREIGN LANGUAGE	6			2 33.3%		3 50.0%	1 16.7%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE								
	MATHEMATICS	21	1 4.8%	5 23.8%	3 14.3%	5 23.8%	2 9.5%	5 23.8%	
	SCIENCE	15	4.0 /0	23.8% 2 13.3%	14.3% 2 13.3%	23.8% 5 33.3%	9.5% 4 26.7%	23.8% 2 13.3%	

		2003-2000							
County:	SCHUYLER								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	15		2 13.3%	3 20.0%	2 13.3%	5 33.3%	2 13.3%	1 6.7%
	ART	8			1 12.5%	2 25.0%	3 37.5%	2 25.0%	
	MUSIC	8	1 12.5%	3 37.5%		1 12.5%	3 37.5%		
	ART/MUSIC								
	HEALTH EDUCATION	2			2 100.0%				
	SAFETY EDUCATION	1				1 100.0%			
	PHYSICAL EDUCATION	19		4 21.1%	4 21.1%	7 36.8%	1 5.3%	3 15.8%	
	AGRICULTURE	3			1 33.3%	1 33.3%	1 33.3%		
	BUSINESS/MARKETING	9			2 22.2%	5 55.6%	2 22.2%		
	HOME ECONOMICS	7			1 14.3%	2 28.6%	1 14.3%	3 42.9%	
	TECHNOLOGY	4				3 75.0%		1 25.0%	
	TRADE EDUCATION	14			4 28.6%	4 28.6%	5 35.7%	1 7.1%	
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION	6			1 16.7%	3 50.0%	2 33.3%		
	GENERAL OCCUPATIONAL EDUCATION	9		1 11.1%	2 22.2%	3 33.3%	2 22.2%	1 11.1%	

County:	SCHUYLER		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	1					1 100.0%		
	LIBRARY	3				1 33.3%	1 33.3%		1 33.3%
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1			1 100.0%				
	COMBINED COURSES	1				1 100.0%			
	OTHER SUBJECT	13	1 7.7%		3 23.1%	1 7.7%	4 30.8%	4 30.8%	
	HELPING TEACHER	1			1 100.0%				
	GIFTED/TALENTED	1					1 100.0%		
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES								
	Summary	372	6 1.6%	40 10.8%	80 21.5%	85 22.8%	120 32.3%	39 10.5%	2 0.5%

			103-2000						
County:	SENECA								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	2				1	1		
	SUPERINTENDENT, DEPENDENT	2				50.0% 1 50.0%	50.0% 1 50.0%		
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1				1 100.0%			
	ASSISTANT SUPERINTENDENT SPECI								
	BUSINESS MANAGER	2				1 50.0%	1 50.0%		
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	6			2 33.3%	2 33.3%	1 16.7%	1 16.7%	
	ASSISTANT DIRECTOR/COORDINATOR				00.070	00.070	10.170	10.170	
	SUPERVISOR								
	DEPARTMENT CHAIRPERSON	14			2 14.3%	3 21.4%	7 50.0%	2 14.3%	
	ATTENDANCE TEACHER				14.576	21.470	50.078	14.376	
	SCHOOL PSYCHOLOGIST	6			1 16.7%		4 66.7%	1 16.7%	
	SOCIAL WORKER	3		1 33.3%	1 33.3%		1 33.3%		
	GUIDANCE COUNSELOR	14		2 14.3%	3 21.4%	5 35.7%	2 14.3%	2 14.3%	

		20	103-2000						
County:	SENECA								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	1				1			
	SCHOOL NURSE/PRACTITIONER	8				100.0% 4 50.0%	2 25.0%	2 25.0%	
	DENTAL HYGIENIST					50.0%	25.0%	25.0%	
	OTHER NONTEACHING	2				2 100.0%			
	ELEMENTARY SCHOOL PRINCIPAL	7			1 14.3%	1 14.3%	5 71.4%		
	MIDDLE SCHOOL PRINCIPAL	3				2	1		
	JUNIOR HIGH SCHOOL PRINCIPAL					66.7%	33.3%		
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	4			1 25.0%		2 50.0%	1 25.0%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1			2010/0	1 100.0%	00.070	_0.070	
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	1					1 100.0%		
	ASSISTANT MIDDLE SCHOOL PRINCI	2			1 50.0%	1 50.0%			
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	SENECA	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	1			1 100.0%				
	ASSISTANT JR./SR. HIGH SCHOOL				1001070				
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	3				2 66.7%	1 33.3%		
	KINDERGARTEN	19		2 10.5%	6 31.6%	4 21.1%	7 36.8%		
	COMMON BRANCH	91	1 1.1%	20 22.0%	14 15.4%	21 23.1%	24 26.4%	11 12.1%	
	SPECIAL EDUCATION	61		14 23.0%	16 26.2%	14 23.0%	14 23.0%	3 4.9%	
	READING	25	1 4.0%	7 28.0%	5 20.0%	5 20.0%	5 20.0%	2 8.0%	
	ENGLISH LANGUAGE	42	2 4.8%	10 23.8%	10 23.8%	7 16.7%	9 21.4%	4 9.5%	
	FOREIGN LANGUAGE	19		3 15.8%	2 10.5%	6 31.6%	3 15.8%	5 26.3%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE								
	MATHEMATICS	35	2 5.7%	12 34.3%	9 25.7%	4 11.4%	6 17.1%	2 5.7%	
	SCIENCE	34	5.170	34.3% 12 35.3%	23.7 % 6 17.6%	9 26.5%	11.8%	3.7 % 3 8.8%	

			105-2000						
County:	SENECA	-							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	35	1 2.9%	5 14.3%	10 28.6%	5 14.3%	11 31.4%	3 8.6%	
	ART	14	2 14.3%		2 14.3%	4 28.6%	5 35.7%	1 7.1%	
	MUSIC	20		3 15.0%	7 35.0%	4 20.0%	5 25.0%		1 5.0%
	ART/MUSIC								
	HEALTH EDUCATION	8	1 12.5%		3 37.5%	3 37.5%		1 12.5%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	24		2 8.3%	5 20.8%	6 25.0%	10 41.7%	1 4.2%	
	AGRICULTURE								
	BUSINESS/MARKETING	7			4 57.1%	2 28.6%	1 14.3%		
	HOME ECONOMICS	4			2 50.0%	1 25.0%	1 25.0%		
	TECHNOLOGY	6		1 16.7%	2 33.3%	2 33.3%	1 16.7%		
	TRADE EDUCATION	3	1 33.3%		2 66.7%				
	TECHNICAL EDUCATION	1		1 100.0%					
	HEALTH OCCUPATION								
	GENERAL OCCUPATIONAL EDUCATION	12		1 8.3%	4 33.3%	3 25.0%	3 25.0%	1 8.3%	

County:	SENECA	-	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	1			1 100.0%				
	LIBRARY	7			1 14.3%	3 42.9%	2 28.6%	1 14.3%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER								
	COMBINED COURSES	1				1 100.0%			
	OTHER SUBJECT	16	1 6.3%	4 25.0%	4 25.0%	2 12.5%	5 31.3%		
	HELPING TEACHER	3		1 33.3%		2 66.7%			
	GIFTED/TALENTED								
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES	4		1 25.0%	1 25.0%	2 50.0%			
	Summary	492	10 2.0%	91 18.5%	106 21.5%	115 23.4%	128 26.0%	41 8.3%	1 0.2%

	2 2	49-56 2 50.0% 3	57-64 2 50.0%	Over-64
SUPERINTENDENT, DEPENDENT 9		50.0% 3	50.0%	
•			_	
22.2%		33.3%	2 22.2%	
DEPUTY OR ASSOCIATE SUPERINTEN 1			1 100.0%	
ASSISTANT SUPERINTENDENT 1	1 %			
ASSISTANT SUPERINTENDENT SPECI 5	2 40.0%	3 60.0%		
BUSINESS MANAGER 5	2 40.0%	1 20.0%	2 40.0%	
ADMINISTRATIVE ASSISTANT				
DIRECTOR/COORDINATOR 56 2 1	17 15 % 26.8%	16 28.6%	6 10.7%	
ASSISTANT DIRECTOR/COORDINATOR 1	1 %			
SUPERVISOR 4	1 %	3 75.0%		
DEPARTMENT CHAIRPERSON 24 3 12.5% 12.5%	3 4 % 16.7%	13 54.2%	1 4.2%	
ATTENDANCE TEACHER				
SCHOOL PSYCHOLOGIST 21 1 4.8% 23.8%	5 2 % 9.5%	11 52.4%	2 9.5%	
SOCIAL WORKER 17 1 5.9% 17.6%	3 5 % 29.4%	6 35.3%	2 11.8%	
GUIDANCE COUNSELOR 48 1 10 1 2.1% 20.8% 29.29	14 7 % 14.6%	11 22.9%	4 8.3%	1 2.1%

County:	STEUBEN	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	2					1 50.0%	1 50.0%	
	SCHOOL NURSE/PRACTITIONER	29		2 6.9%	4 13.8%	7 24.1%	7 24.1%	7 24.1%	2 6.9%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	35		2 5.7%	12 34.3%	6 17.1%	11 31.4%	4 11.4%	
	ELEMENTARY SCHOOL PRINCIPAL	21			5 23.8%	8 38.1%	6 28.6%	2 9.5%	
	MIDDLE SCHOOL PRINCIPAL	6			4 66.7%		1 16.7%	1 16.7%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	2					2 100.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	9			3 33.3%	2 22.2%	2 22.2%	2 22.2%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	5			2 40.0%	2 40.0%		1 20.0%	
	SPECIAL SCHOOL PRINCIPAL							_0.073	
	ASSISTANT ELEMENTARY SCHOOL PR	3		1 33.3%		1 33.3%		1 33.3%	
	ASSISTANT MIDDLE SCHOOL PRINCI	2		55.576	1 50.0%	50.0%		00.070	
	ASSISTANT JUNIOR HIGH SCHOOL P				50.076	50.076			
	ASSISTANT K-12 SCHOOL PRINCIPA	1			1 100.0%				

County:	STEUBEN	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	5			2 40.0%	2 40.0%	1 20.0%		
	ASSISTANT JR./SR. HIGH SCHOOL	1				1 100.0%			
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	15	1 6.7%	3 20.0%	4 26.7%	1 6.7%	4 26.7%	2 13.3%	
	KINDERGARTEN	76	1 1.3%	17 22.4%	21 27.6%	21 27.6%	13 17.1%	3 3.9%	
	COMMON BRANCH	344	8 2.3%	59 17.2%	90 26.2%	52 15.1%	93 27.0%	41 11.9%	1 0.3%
	SPECIAL EDUCATION	279	8 2.9%	66 23.7%	66 23.7%	55 19.7%	65 23.3%	18 6.5%	1 0.4%
	READING	77	1 1.3%	11 14.3%	12 15.6%	14 18.2%	25 32.5%	14 18.2%	
	ENGLISH LANGUAGE	134	6 4.5%	27 20.1%	26 19.4%	18 13.4%	43 32.1%	14 10.4%	
	FOREIGN LANGUAGE	55	1 1.8%	8 14.5%	11 20.0%	12 21.8%	15 27.3%	6 10.9%	2 3.6%
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE								
	MATHEMATICS	121	8 6.6%	21 17.4%	37 30.6%	17 14.0%	25 20.7%	13 10.7%	
	SCIENCE	115	3 2.6%	18 15.7%	38 33.0%	16 13.9%	35 30.4%	5 4.3%	

		2003-2000								
ounty:	STEUBEN									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	SOCIAL STUDIES	110	4 3.6%	29 26.4%	32 29.1%	18 16.4%	21 19.1%	6 5.5%		
	ART	50	1 2.0%	6 12.0%	8 16.0%	17 34.0%	12 24.0%	6 12.0%		
	MUSIC	71	3 4.2%	13 18.3%	17 23.9%	21 29.6%	14 19.7%	3 4.2%		
	ART/MUSIC	1		1 100.0%						
	HEALTH EDUCATION	25		4 16.0%	9 36.0%	6 24.0%	4 16.0%	2 8.0%		
	SAFETY EDUCATION	4			1 25.0%		2 50.0%	1 25.0%		
	PHYSICAL EDUCATION	93	3 3.2%	15 16.1%	25 26.9%	24 25.8%	20 21.5%	6 6.5%		
	AGRICULTURE	2					2 100.0%			
	BUSINESS/MARKETING	30		3 10.0%	7 23.3%	10 33.3%	8 26.7%	2 6.7%		
	HOME ECONOMICS	13		3 23.1%		5 38.5%	3 23.1%	1 7.7%	1 7.7%	
	TECHNOLOGY	21		1 4.8%	6 28.6%	5 23.8%	8 38.1%	1 4.8%		
	TRADE EDUCATION	19		1 5.3%	1 5.3%	9 47.4%	7 36.8%	1 5.3%		
	TECHNICAL EDUCATION									
	HEALTH OCCUPATION	5					2 40.0%	3 60.0%		
	GENERAL OCCUPATIONAL EDUCATION	50		7 14.0%	5 10.0%	21 42.0%	14 28.0%	3 6.0%		

		21	///./-~///////						
County:	STEUBEN	_	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	3			1 33.3%	1 33.3%			1 33.3%
	LIBRARY	28		4 14.3%	3 10.7%	5 17.9%	8 28.6%	8 28.6%	
	LEARNING TECHNOLOGY	1				1 100.0%			
	HUMANITIES/PERFORMING ARTS	1					1 100.0%		
	DANCE								
	THEATER								
	COMBINED COURSES	1	1 100.0%						
	OTHER SUBJECT	101	5 5.0%	17 16.8%	25 24.8%	23 22.8%	22 21.8%	9 8.9%	
	HELPING TEACHER								
	GIFTED/TALENTED	1					1 100.0%		
	GENERAL COOPERATIVE WORK EXPER	4			2 50.0%		2 50.0%		
	COMPUTER STUDIES	18		4 22.2%	5 27.8%	3 16.7%	4 22.2%	2 11.1%	
	Summary	1874	49 2.6%	314 16.8%	458 24.4%	370 19.7%	491 26.2%	184 ^{9.8%}	8 0.4%

County:	SUFFOLK	20	05-2000						
County.				26.22	22.40	41.40	10.50	57 (1	0 (1
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	33			1	1	10	17	4
					3.0%	3.0%	30.3%	51.5%	12.1%
	SUPERINTENDENT, DEPENDENT	34			1	3	9	19	2
					2.9%	8.8%	26.5%	55.9%	5.9%
	DEPUTY OR ASSOCIATE SUPERINTEN	23			2	2	9	10	
	ASSISTANT SUPERINTENDENT	04			8.7%	8.7%	39.1%	43.5%	
	ASSISTANT SUPERINTENDENT	21			3 14.3%	5 23.8%	6 28.6%	7 33.3%	
	ASSISTANT SUPERINTENDENT SPECI	85			5	19	41	17	3
		00			5.9%	22.4%	48.2%	20.0%	3.5%
	BUSINESS MANAGER	22		1	4	7	7	3	
				4.5%	18.2%	31.8%	31.8%	13.6%	
	ADMINISTRATIVE ASSISTANT	12		1	3	2	5	1	
				8.3%	25.0%	16.7%	41.7%	8.3%	
	DIRECTOR/COORDINATOR	419		7	69	86	163	89	5
				1.7%	16.5%	20.5%	38.9%	21.2%	1.2%
	ASSISTANT DIRECTOR/COORDINATOR	62		2	10	17	21	11	1
				3.2%	16.1%	27.4%	33.9%	17.7% _	1.6%
	SUPERVISOR	15			2 13.3%	2 13.3%	6 40.0%	5 33.3%	
	DEPARTMENT CHAIRPERSON	220		1 /					F
	DEPARTMENT CHAIRPERSON	239		14 ^{5.9%}	40 16.7%	44 18.4%	95 39.7%	41 17.2%	5 2.1%
	ATTENDANCE TEACHER	16		3	3	4	3	3	,0
		10		18.8%	18.8%	25.0%	18.8%	18.8%	
	SCHOOL PSYCHOLOGIST	440		97	108	95	94	42	4
		-		22.0%	24.5%	21.6%	21.4%	9.5%	0.9%
	SOCIAL WORKER	335	1	37	77	72	87	59	2
			0.3%	11.0%	23.0%	21.5%	26.0%	17.6%	0.6%
	GUIDANCE COUNSELOR	573	2	144	174	100	101	51	1
			0.3%	25.1%	30.4%	17.5%	17.6%	8.9%	0.2%

		20	05-2000						
County:	SUFFOLK								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	13			1 7.7%	4 30.8%	5 38.5%	3 23.1%	
	SCHOOL NURSE/PRACTITIONER	442		4 0.9%	25 5.7%	106 24.0%	195 44.1%	101 22.9%	11 2.5%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	289	1 0.3%	29 10.0%	71 24.6%	67 23.2%	82 28.4%	36 12.5%	3 1.0%
	ELEMENTARY SCHOOL PRINCIPAL	212		3 1.4%	57 26.9%	38 17.9%	69 32.5%	41 19.3%	4 1.9%
	MIDDLE SCHOOL PRINCIPAL	57		1 1.8%	13 22.8%	12 21.1%	17 29.8%	14 24.6%	
	JUNIOR HIGH SCHOOL PRINCIPAL	3				1 33.3%	1 33.3%	1 33.3%	
	K-12 SCHOOL PRINCIPAL	3				2 66.7%	1 33.3%		
	SENIOR HIGH SCHOOL PRINCIPAL	61			8 13.1%	17 27.9%	20 32.8%	14 23.0%	2 3.3%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	11			1 9.1%	3 27.3%	6 54.5%	1 9.1%	
	SPECIAL SCHOOL PRINCIPAL	11				3 27.3%	8 72.7%		
	ASSISTANT ELEMENTARY SCHOOL PR	75		10 13.3%	27 36.0%	12 16.0%	19 25.3%	7 9.3%	
	ASSISTANT MIDDLE SCHOOL PRINCI	86		9 10.5%	40 46.5%	14 16.3%	14 16.3%	9 10.5%	
	ASSISTANT JUNIOR HIGH SCHOOL P	5			2 40.0%	2 40.0%	1 20.0%		
	ASSISTANT K-12 SCHOOL PRINCIPA	2			1 50.0%		1 50.0%		

County:	SUFFOLK								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	133		8 6.0%	45 33.8%	30 22.6%	30 22.6%	19 14.3%	1 0.8%
	ASSISTANT JR./SR. HIGH SCHOOL	9		2 22.2%	5 55.6%		1 11.1%		1 11.1%
	ASSISTANT SPECIAL SCHOOL PRINC	10			1 10.0%	1 10.0%	7 70.0%	1 10.0%	
	OTHER SCHOOL ADMINISTRATOR	17		2 11.8%	8 47.1%	6 35.3%	1 5.9%		
	PREKINDERGARTEN	55	2 3.6%	13 23.6%	9 16.4%	13 23.6%	13 23.6%	5 9.1%	
	KINDERGARTEN	883	24 2.7%	240 27.2%	229 25.9%	176 19.9%	148 16.8%	61 6.9%	5 0.6%
	COMMON BRANCH	4810	112 2.3%	1409 ^{29.3%}	1328 27.6%	778 16.2%	781 16.2%	381 7.9%	21 0.4%
	SPECIAL EDUCATION	3664	109 3.0%	771 21.0%	782 21.3%	769 21.0%	939 25.6%	275 7.5%	19 0.5%
	READING	887	9 1.0%	173 19.5%	223 25.1%	158 17.8%	214 24.1%	106 12.0%	4 0.5%
	ENGLISH LANGUAGE	1686	69 4.1%	500 29.7%	393 23.3%	250 14.8%	321 19.0%	146 ^{8.7%}	7 0.4%
	FOREIGN LANGUAGE	840	46 5.5%	202 24.0%	153 18.2%	181 21.5%	176 21.0%	73 8.7%	9 1.1%
	BILINGUAL EDUCATION	44		7 15.9%	14 31.8%	17 38.6%	5 11.4%	1 2.3%	
	ENGLISH AS A SECOND LANGUAGE	399	7 1.8%	81 20.3%	99 24.8%	74 18.5%	84 21.1%	51 12.8%	3 0.8%
	MATHEMATICS	1526	88 5.8%	388 25.4%	355 23.3%	259 17.0%	287 18.8%	146 ^{9.6%}	3 0.2%
	SCIENCE	1553	46 3.0%	387 24.9%	369 23.8%	314 20.2%	331 21.3%	102 6.6%	4 0.3%

		20	103-2000						
County:	SUFFOLK								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	1400	63 4.5%	404 28.9%	384 27.4%	205 14.6%	222 15.9%	116 8.3%	6 _{0.4%}
	ART	659	18 2.7%	152 23.1%	127 19.3%	115 17.5%	189 28.7%	54 ^{8.2%}	4 0.6%
	MUSIC	948	71 7.5%	238 25.1%	181 19.1%	168 17.7%	230 24.3%	56 5.9%	4 0.4%
	ART/MUSIC	8		2 25.0%	2 25.0%	1 12.5%	2 25.0%	1 12.5%	
	HEALTH EDUCATION	295	11 3.7%	94 31.9%	66 22.4%	48 16.3%	64 21.7%	11 3.7%	1 0.3%
	SAFETY EDUCATION	9				2 22.2%	6 66.7%	1 11.1%	
	PHYSICAL EDUCATION	1113	51 4.6%	317 28.5%	289 26.0%	181 16.3%	227 20.4%	48 4.3%	
	AGRICULTURE	9			1 11.1%	4 44.4%	3 33.3%	1 11.1%	
	BUSINESS/MARKETING	243	1 0.4%	41 16.9%	61 25.1%	58 23.9%	54 22.2%	27 11.1%	1 0.4%
	HOME ECONOMICS	143	1 0.7%	17 11.9%	22 15.4%	34 23.8%	52 36.4%	16 11.2%	1 0.7%
	TECHNOLOGY	156	3 1.9%	22 14.1%	29 18.6%	36 23.1%	49 31.4%	15 ^{9.6%}	2 1.3%
	TRADE EDUCATION	111	1 0.9%	7 6.3%	15 13.5%	24 21.6%	41 36.9%	19 17.1%	4 3.6%
	TECHNICAL EDUCATION	10		1 10.0%	4 40.0%	2 20.0%	3 30.0%		
	HEALTH OCCUPATION	17		1 5.9%	1 5.9%	3 17.6%	6 35.3%	6 35.3%	
	GENERAL OCCUPATIONAL EDUCATION	396	12	61	68	88	117	48	2

County:	SUFFOLK								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	25		2 8.0%	4 16.0%	5 20.0%	11 44.0%	3 12.0%	
	LIBRARY	337	1 0.3%	36 10.7%	70 20.8%	55 16.3%	107 31.8%	62 18.4%	6 1.8%
	LEARNING TECHNOLOGY	8			1 12.5%	3 37.5%	4 50.0%		
	HUMANITIES/PERFORMING ARTS	16		5 31.3%	1 6.3%	7 43.8%	3 18.8%		
	DANCE	7		3 42.9%	3 42.9%	1 14.3%			
	THEATER	28		8 28.6%	4 14.3%	5 17.9%	8 28.6%	2 7.1%	1 3.6%
	COMBINED COURSES	53		11 20.8%	14 26.4%	13 24.5%	11 20.8%	4 7.5%	
	OTHER SUBJECT	632	25 4.0%	157 24.8%	150 23.7%	117 18.5%	120 19.0%	58 9.2%	5 0.8%
	HELPING TEACHER	35	1 2.9%	4 11.4%	10 28.6%	4 11.4%	11 31.4%	5 14.3%	
	GIFTED/TALENTED	46	1 2.2%	3 6.5%	11 23.9%	6 13.0%	13 28.3%	11 23.9%	1 2.2%
	GENERAL COOPERATIVE WORK EXPER	17		3 17.6%	2 11.8%	1 5.9%	8 47.1%	3 17.6%	
	COMPUTER STUDIES	106	1 0.9%	15 14.2%	33 31.1%	19 17.9%	28 26.4%	9 8.5%	1 0.9%
	Summary	24392	734 3.0%	5594 22.9%	5737 23.5%	4461 18.3%	5421 22.2%	2296 9.4%	149 0.6%

County:	SULLIVAN	-	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	4					1 25.0%	2 50.0%	1 25.0%
	SUPERINTENDENT, DEPENDENT	5				1 20.0%	2 40.0%	2 40.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN	1						1 100.0%	
	ASSISTANT SUPERINTENDENT	1			1 100.0%				
	ASSISTANT SUPERINTENDENT SPECI	3			1 33.3%	1 33.3%		1 33.3%	
	BUSINESS MANAGER	5				3 60.0%	1 20.0%	1 20.0%	
	ADMINISTRATIVE ASSISTANT	1					1 100.0%		
	DIRECTOR/COORDINATOR	37			3 8.1%	12 32.4%	14 37.8%	6 16.2%	2 5.4%
	ASSISTANT DIRECTOR/COORDINATOR	2				1 50.0%	1 50.0%		
	SUPERVISOR	1			1 100.0%				
	DEPARTMENT CHAIRPERSON	10			1 10.0%	4 40.0%	4 40.0%	1 10.0%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	21		3 14.3%	5 23.8%	8 38.1%	2 9.5%	2 9.5%	1 4.8%
	SOCIAL WORKER	23			5 21.7%	6 26.1%	7 30.4%	5 21.7%	
	GUIDANCE COUNSELOR	31		8 25.8%	8 25.8%	3 9.7%	10 32.3%	2 6.5%	

		40	105-2000						
County:	SULLIVAN								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	5				1	2	2	
						20.0%	40.0%	40.0%	
	SCHOOL NURSE/PRACTITIONER	17			2	7	5	3	
					11.8%	41.2%	29.4%	17.6%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	7		1		3	3		
				14.3%		42.9%	42.9%		
	ELEMENTARY SCHOOL PRINCIPAL	12			1	2	9		
					8.3%	16.7%	75.0%		
	MIDDLE SCHOOL PRINCIPAL	2				1	1		
						50.0%	50.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	1				1			
						100.0%			
	SENIOR HIGH SCHOOL PRINCIPAL	3					2	1	
							66.7%	33.3%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	8				2	6		
						25.0%	75.0%		
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	5			1	2	2		
					20.0%	40.0%	40.0%		
	ASSISTANT MIDDLE SCHOOL PRINCI	3			1		1	1	
					33.3%		33.3%	33.3%	
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	SULLIVAN		05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	2			1 50.0%			1 50.0%	
	ASSISTANT JR./SR. HIGH SCHOOL	3			2 66.7%		1 33.3%		
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	8		2 25.0%	3 37.5%	1 12.5%	2 25.0%		
	KINDERGARTEN	42	1 2.4%	4 9.5%	6 14.3%	12 28.6%	14 33.3%	5 11.9%	
	COMMON BRANCH	202	4 2.0%	30 14.9%	54 26.7%	60 29.7%	36 17.8%	16 ^{7.9%}	2 1.0%
	SPECIAL EDUCATION	200	3 1.5%	26 13.0%	37 18.5%	49 24.5%	67 33.5%	18 9.0%	
	READING	37	1 2.7%	7 18.9%	7 18.9%	9 24.3%	10 27.0%	3 8.1%	
	ENGLISH LANGUAGE	100	2 2.0%	11 11.0%	14 14.0%	32 32.0%	27 27.0%	13 13.0%	1 1.0%
	FOREIGN LANGUAGE	35	1 2.9%	6 17.1%	6 17.1%	12 34.3%	6 17.1%	4 11.4%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	18	1 5.6%		2 11.1%	8 44.4%	5 27.8%	2 11.1%	
	MATHEMATICS	84	4 4.8%	15 17.9%	13 15.5%	17 20.2%	25 29.8%	10 11.9%	
	SCIENCE	74	5 6.8%	11 14.9%	9 12.2%	24 32.4%	20 27.0%	5 6.8%	

SOCIAL STUDIES 76 2 ART 30 2 ART 30 2 MUSIC 43 4 ART/MUSIC 1 9.3% HEALTH EDUCATION 17 3 SAFETY EDUCATION 2 47. PHYSICAL EDUCATION 59 5 AGRICULTURE 5 25.4	5 7% 8 5%	33-40 18 23.7% 7 23.3% 8 18.6%	41-48 17 22.4% 5 16.7% 8 18.6%	49-56 14 18.4% 8 26.7% 11 25.6%	57-64 14 18.4% 3 10.0% 4 9.3%	Over-64
SOCIAL STUDIES 76 2 2.6% 14.3 2.6% 14.3 2.6% 14.3 2.6% 14.3 2.6% 14.3 2.6% 16.3 30 2 6.7% 16.3 30 2 30 18.4 30 16.3 30 16.3 30 18.4 30 18.4 30 18.4 30.5 18.4	11 5% 5 7% 8 5%	18 23.7% 7 23.3% 8	17 22.4% 5 16.7% 8	14 18.4% 8 26.7% 11 25.6%	14 18.4% 3 10.0% 4	Over-64
ART 30 2 MUSIC 43 4 ART/MUSIC 1 9.3% HEALTH EDUCATION 17 3 SAFETY EDUCATION 2 47.1 PHYSICAL EDUCATION 59 5 8.5% 25.4 AGRICULTURE 5	5% 5 7% 8 5%	23.7% 7 23.3% 8	22.4% 5 16.7% 8	18.4% 8 26.7% 11 25.6%	18.4% 3 10.0% 4	
MUSIC 43 4 ART/MUSIC 1 9.3% HEALTH EDUCATION 17 3 SAFETY EDUCATION 2 47.1 PHYSICAL EDUCATION 59 5 AGRICULTURE 5 25.4	7% 8 5% 8	23.3% 8	16.7% 8	26.7% 11 25.6%	10.0% 4	
ART/MUSIC 1 HEALTH EDUCATION 17 3 17.6% 47. SAFETY EDUCATION 2 PHYSICAL EDUCATION 59 5 8.5% 25. AGRICULTURE 5	^{5%}			25.6%		
HEALTH EDUCATION173 17.6%47.1SAFETY EDUCATION2PHYSICAL EDUCATION595 8.5%25.4AGRICULTURE5					0.070	
17.6%47.1SAFETY EDUCATION2PHYSICAL EDUCATION59558.5%25.4AGRICULTURE5				1 100.0%		
PHYSICAL EDUCATION 59 5 8.5% 25.4 AGRICULTURE 5	1%			5 29.4%	1 5.9%	
AGRICULTURE 5			1 50.0%		1 50.0%	
•	15 ^{4%}	6 10.2%	10 16.9%	13 22.0%	10 16.9%	
20.9	1 0%	2 40.0%		2 40.0%		
BUSINESS/MARKETING 20 1 5.0% 10.0	2 0%	4 20.0%	8 40.0%	3 15.0%	2 10.0%	
HOME ECONOMICS 12	1 3%	1 8.3%	3 25.0%	6 50.0%	1 8.3%	
TECHNOLOGY 14	3 4%	2 14.3%	5 35.7%	3 21.4%	1 7.1%	
TRADE EDUCATION 11		2 18.2%	3 27.3%	3 27.3%	3 27.3%	
TECHNICAL EDUCATION						
HEALTH OCCUPATION 10		1 10.0%	3 30.0%	3 30.0%	3 30.0%	
GENERAL OCCUPATIONAL EDUCATION 32	4	5 15.6%	7 21.9%	12 37.5%	2 6.3%	2 6.3%

County:	SULLIVAN	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	4				2 50.0%		2 50.0%	
	LIBRARY	15		1 6.7%	4 26.7%	3 20.0%	4 26.7%	3 20.0%	
	LEARNING TECHNOLOGY	1				1 100.0%			
	HUMANITIES/PERFORMING ARTS	1		1 100.0%					
	DANCE								
	THEATER	1				1 100.0%			
	COMBINED COURSES	1		1 100.0%					
	OTHER SUBJECT	84	3 3.6%	17 20.2%	16 19.0%	15 17.9%	18 21.4%	15 17.9%	
	HELPING TEACHER	1			1 100.0%				
	GIFTED/TALENTED	2					1 50.0%	1 50.0%	
	GENERAL COOPERATIVE WORK EXPER	2					1 50.0%	1 50.0%	
	COMPUTER STUDIES	6				2 33.3%	2 33.3%	2 33.3%	
	Summary	1261	31 2.5%	167 13.2%	229 18.2%	329 26.1%	344 27.3%	152 12.1%	9 0.7%

County:	TIOGA	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	2					2 100.0%		
	SUPERINTENDENT, DEPENDENT	4				1 25.0%	2 50.0%	1 25.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1					1 100.0%		
	ASSISTANT SUPERINTENDENT SPECI	1					1		
	BUSINESS MANAGER	2				2 100.0%			
	ADMINISTRATIVE ASSISTANT					100.070			
	DIRECTOR/COORDINATOR	16			2 12.5%	5 31.3%	6 37.5%	3 18.8%	
	ASSISTANT DIRECTOR/COORDINATOR				12.376	51.576	57.576	10.076	
	SUPERVISOR								
	DEPARTMENT CHAIRPERSON	2					1 50.0%	1 50.0%	
	ATTENDANCE TEACHER						50.0%	50.0%	
	SCHOOL PSYCHOLOGIST	9		2	2		3	2	
	SOCIAL WORKER			22.2%	22.2%		33.3%	22.2%	
	GUIDANCE COUNSELOR	16		1 6.3%	2 12.5%	6 37.5%	4 25.0%	3 18.8%	

		20	105-2000						
County:	TIOGA								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- <mark>64</mark>	Over-64
	NURSE TEACHER	1					1		
							100.0%		
	SCHOOL NURSE/PRACTITIONER	14		1 7.1%	5 35.7%	4 28.6%	4 28.6%		
	DENTAL HYGIENIST			7.170	33.776	20.076	20.078		
	OTHER NONTEACHING	8			2	3	2	1	
		_			25.0%	37.5%	25.0%	12.5%	
	ELEMENTARY SCHOOL PRINCIPAL	9			1 11.1%	3 33.3%	2 22.2%	3 33.3%	
	MIDDLE SCHOOL PRINCIPAL	6			11.170	33.3 <i>%</i>	4	33.3 ⁄⁄⁄	
		0				ا 16.7%	т 66.7%	ا 16.7%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	5			2	2		1	
					40.0%	40.0%		20.0%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1			1 100.0%				
	SPECIAL SCHOOL PRINCIPAL				100.0%				
	ASSISTANT ELEMENTARY SCHOOL PR	2			1		1		
					50.0%		50.0%		
	ASSISTANT MIDDLE SCHOOL PRINCI	1			1				
	ASSISTANT JUNIOR HIGH SCHOOL P				100.0%				
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	TIOGA	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	1				1 100.0%			
	ASSISTANT JR./SR. HIGH SCHOOL	2			1 50.0%	1 50.0%			
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	4			1 25.0%	1 25.0%	2 50.0%		
	KINDERGARTEN	31		4 12.9%	5 16.1%	1 3.2%	16 51.6%	5 16.1%	
	COMMON BRANCH	173	5 2.9%	34 19.7%	35 20.2%	36 20.8%	48 27.7%	14 8.1%	1 0.6%
	SPECIAL EDUCATION	75	5 6.7%	16 21.3%	18 24.0%	13 17.3%	20 26.7%	3 4.0%	
	READING	27		4 14.8%	9 33.3%	2 7.4%	8 29.6%	3 11.1%	1 3.7%
	ENGLISH LANGUAGE	65	1 1.5%	20 30.8%	18 27.7%	9 13.8%	12 18.5%	5 7.7%	
	FOREIGN LANGUAGE	24	3 12.5%	3 12.5%	7 29.2%	5 20.8%	5 20.8%	1 4.2%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE								
	MATHEMATICS	55	2 3.6%	6 10.9%	17 30.9%	18 32.7%	6 10.9%	6 10.9%	
	SCIENCE	56		14 25.0%	14 25.0%	13 23.2%	10 17.9%	5 8.9%	

County:	TIOGA		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	59	2 3.4%	14 23.7%	16 27.1%	12 20.3%	10 16.9%	5 8.5%	
	ART	19	1 5.3%	4 21.1%	2 10.5%	2 10.5%	9 47.4%	1 5.3%	
	MUSIC	30	2 6.7%	4 13.3%	5 16.7%	5 16.7%	8 26.7%	6 20.0%	
	ART/MUSIC								
	HEALTH EDUCATION	11			5 45.5%	3 27.3%	3 27.3%		
	SAFETY EDUCATION	1				1 100.0%			
	PHYSICAL EDUCATION	43	1 2.3%	10 23.3%	13 30.2%	9 20.9%	9 20.9%	1 2.3%	
	AGRICULTURE								
	BUSINESS/MARKETING	10			2 20.0%	4 40.0%	2 20.0%	2 20.0%	
	HOME ECONOMICS	3					3 100.0%		
	TECHNOLOGY	11			1 9.1%	6 54.5%	2 18.2%	2 18.2%	
	TRADE EDUCATION	2			1 50.0%	1 50.0%			
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION	2		2 100.0%					
	GENERAL OCCUPATIONAL EDUCATION	18	1 5.6%		5 27.8%	6 33.3%	3 16.7%	3 16.7%	

County:	TIOGA	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	2		1 50.0%	1 50.0%				
	LIBRARY	10		1 10.0%	1 10.0%	1 10.0%	3 30.0%	4 40.0%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1						1 100.0%	
	COMBINED COURSES	1					1 100.0%	100.0 %	
	OTHER SUBJECT	50	1 2.0%	8 16.0%	13 26.0%	11 22.0%	13 26.0%	4 8.0%	
	HELPING TEACHER	5	1 20.0%			2 40.0%	2 40.0%		
	GIFTED/TALENTED								
	GENERAL COOPERATIVE WORK EXPER	1			1 100.0%				
	COMPUTER STUDIES	3		1 33.3%		1 33.3%	1 33.3%		
	Summary	762	23 3.0%	127 16.7%	172 22.6%	157 20.6%	208 27.3%	73 9.6%	2 0.3%

County:	TOMPKINS	20	103-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	3					2 66.7%	1 33.3%	
	SUPERINTENDENT, DEPENDENT	4			1 25.0%		1 25.0%	2 50.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN	1					1 100.0%		
	ASSISTANT SUPERINTENDENT	1						1 100.0%	
	ASSISTANT SUPERINTENDENT SPECI	2					1 50.0%	1 50.0%	
	BUSINESS MANAGER	2					2 100.0%		
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	28	1 3.6%		1 3.6%	8 28.6%	12 42.9%	6 21.4%	
	ASSISTANT DIRECTOR/COORDINATOR	1						1 100.0%	
	SUPERVISOR	1						1 100.0%	
	DEPARTMENT CHAIRPERSON	38		1 2.6%	6 15.8%	6 15.8%	19 50.0%	6 15.8%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	23		3 13.0%	7 30.4%	2 8.7%	8 34.8%	2 8.7%	1 4.3%
	SOCIAL WORKER	24		1 4.2%	6 25.0%	9 37.5%	6 25.0%	2 8.3%	
	GUIDANCE COUNSELOR	33		4 12.1%	10 30.3%	6 18.2%	10 30.3%	2 6.1%	1 3.0%

County:	TOMPKINS	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	31		2 6.5%		7 22.6%	15 48.4%	7 22.6%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	27			3 11.1%	4 14.8%	15 55.6%	5 18.5%	
	ELEMENTARY SCHOOL PRINCIPAL	14			1 7.1%	3 21.4%	5 35.7%	3 21.4%	2 14.3%
	MIDDLE SCHOOL PRINCIPAL	7				1 14.3%	6 85.7%		
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	2				1 50.0%		1 50.0%	
	SENIOR HIGH SCHOOL PRINCIPAL	6			2 33.3%		3 50.0%	1 16.7%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1			1 100.0%				
	SPECIAL SCHOOL PRINCIPAL	2			2 100.0%				
	ASSISTANT ELEMENTARY SCHOOL PR	1			1 100.0%				
	ASSISTANT MIDDLE SCHOOL PRINCI	3			1 33.3%		2 66.7%		
	ASSISTANT JUNIOR HIGH SCHOOL P				00.070		00.170		
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	TOMPKINS	2003 2000								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	ASSISTANT SENIOR HIGH SCHOOL P	6		1 16.7%		2 33.3%	3 50.0%			
	ASSISTANT JR./SR. HIGH SCHOOL									
	ASSISTANT SPECIAL SCHOOL PRINC									
	OTHER SCHOOL ADMINISTRATOR									
	PREKINDERGARTEN	17		3 17.6%	3 17.6%	4 23.5%	6 35.3%	1 5.9%		
	KINDERGARTEN	48	3 6.3%	6 12.5%	13 27.1%	10 20.8%	10 20.8%	5 10.4%	1 2.1%	
	COMMON BRANCH	222	1 0.5%	30 13.5%	41 18.5%	48 21.6%	80 36.0%	20 9.0%	2 0.9%	
	SPECIAL EDUCATION	232	10 4.3%	36 15.5%	43 18.5%	42 18.1%	81 34.9%	18 7.8%	2 0.9%	
	READING	80		7 8.8%	10 12.5%	21 26.3%	30 37.5%	12 15.0%		
	ENGLISH LANGUAGE	109	3 2.8%	12 11.0%	24 22.0%	19 17.4%	32 29.4%	18 16.5%	1 0.9%	
	FOREIGN LANGUAGE	44	2 4.5%	5 11.4%	7 15.9%	10 22.7%	12 27.3%	8 18.2%		
	BILINGUAL EDUCATION									
	ENGLISH AS A SECOND LANGUAGE	16			4 25.0%	3 18.8%	4 25.0%	5 31.3%		
	MATHEMATICS	89	3 3.4%	18 20.2%	26 29.2%	8 9.0%	23 25.8%	11 12.4%		
	SCIENCE	89	3 3.4%	8 9.0%	12 13.5%	25 28.1%	31 34.8%	8 9.0%	2 2.2%	

County:	TOMPKINS	2003-2000								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	SOCIAL STUDIES	98	5 5.1%	12 12.2%	19 19.4%	25 25.5%	27 27.6%	9 9.2%	1 1.0%	
	ART	43		6 14.0%	9 20.9%	5 11.6%	19 44.2%	4 9.3%		
	MUSIC	53	4 7.5%	11 20.8%	6 11.3%	12 22.6%	14 26.4%	6 11.3%		
	ART/MUSIC									
	HEALTH EDUCATION	16		2 12.5%	6 37.5%	4 25.0%	1 6.3%	3 18.8%		
	SAFETY EDUCATION	2				2 100.0%				
	PHYSICAL EDUCATION	70	1 1.4%	18 25.7%	18 25.7%	14 20.0%	15 21.4%	4 5.7%		
	AGRICULTURE	2			1 50.0%		1 50.0%			
	BUSINESS/MARKETING	18	1 5.6%	2 11.1%	5 27.8%	4 22.2%	3 16.7%	3 16.7%		
	HOME ECONOMICS	5			1 20.0%	2 40.0%	1 20.0%	1 20.0%		
	TECHNOLOGY	8	1 12.5%	2 25.0%		2 25.0%	2 25.0%	1 12.5%		
	TRADE EDUCATION	16		1 6.3%	2 12.5%	5 31.3%	6 37.5%	2 12.5%		
	TECHNICAL EDUCATION	3		1 33.3%	1 33.3%	1 33.3%				
	HEALTH OCCUPATION	2				1 50.0%	1 50.0%			
	GENERAL OCCUPATIONAL EDUCATION	29		2 6.9%	3 10.3%	9 31.0%	9 31.0%	6 20.7%		

County:	TOMPKINS	_ 0	00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	2				2 100.0%			
	LIBRARY	26		2 7.7%	2 7.7%	6 23.1%	11 42.3%	5 19.2%	
	LEARNING TECHNOLOGY	1					1 100.0%		
	HUMANITIES/PERFORMING ARTS	1				1 100.0%			
	DANCE								
	THEATER	1					1 100.0%		
	COMBINED COURSES	4	1 25.0%				1 25.0%	2 50.0%	
	OTHER SUBJECT	88	3 3.4%	16 18.2%	19 21.6%	20 22.7%	19 21.6%	11 12.5%	
	HELPING TEACHER	4			1 25.0%	1 25.0%	2 50.0%		
	GIFTED/TALENTED	3		1 33.3%			1 33.3%		1 33.3%
	GENERAL COOPERATIVE WORK EXPER	3					3 100.0%		
	COMPUTER STUDIES	10		3 30.0%	3 30.0%		3 30.0%	1 10.0%	
	Summary	1455	35 2.4%	184 12.6%	277 19.0%	293 20.1%	488 33.5%	164 11.3%	14 1.0%

County:	ULSTER		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	9				1	4	4	
						11.1%	44.4%	44.4%	
	SUPERINTENDENT, DEPENDENT	2				1	1		
						50.0%	50.0%		
	DEPUTY OR ASSOCIATE SUPERINTEN	1						1 100.0%	
	ASSISTANT SUPERINTENDENT	3				1	2		
		-				33.3%	66.7%		
	ASSISTANT SUPERINTENDENT SPECI	10			1	5	2	2	
					10.0%	50.0%	20.0%	20.0%	
	BUSINESS MANAGER	5			1	1	3		
					20.0%	20.0%	60.0%		
	ADMINISTRATIVE ASSISTANT	1					1		
							100.0%		
	DIRECTOR/COORDINATOR	58		3	14	8	25	6	2
				5.2%	24.1%	13.8%	43.1%	10.3%	3.4%
	ASSISTANT DIRECTOR/COORDINATOR	6			1	2	2	1	
					16.7%	33.3%	33.3%	16.7%	
	SUPERVISOR	3				1	1	1	
						33.3%	33.3%	33.3%	
	DEPARTMENT CHAIRPERSON	17			4	4	5	4	
					23.5%	23.5%	29.4%	23.5%	
	ATTENDANCE TEACHER	1			1				
					100.0%				
	SCHOOL PSYCHOLOGIST	42		8	9	7	8	9	1
				19.0%	21.4%	16.7%	19.0%	21.4%	2.4%
	SOCIAL WORKER	31		3	1	6	17	4	
				9.7%	3.2%	19.4%	54.8%	12.9%	
	GUIDANCE COUNSELOR	64	1	8	16	15	16	8	
			1.6%	12.5%	25.0%	23.4%	25.0%	12.5%	

County:	ULSTER	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	10				1 10.0%	4 40.0%	4 40.0%	1 10.0%
	SCHOOL NURSE/PRACTITIONER	50			4 8.0%	8 16.0%	25 50.0%	10 20.0%	3 6.0%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	26		2 7.7%	7 26.9%	4 15.4%	7 26.9%	6 23.1%	
	ELEMENTARY SCHOOL PRINCIPAL	30			4 13.3%	7 23.3%	14 46.7%	5 16.7%	
	MIDDLE SCHOOL PRINCIPAL	9			1 11.1%	2 22.2%	4 44.4%	2 22.2%	
	JUNIOR HIGH SCHOOL PRINCIPAL	1					1 100.0%		
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	12			1 8.3%	1 8.3%	6 50.0%	4 33.3%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	2				2 100.0%			
	SPECIAL SCHOOL PRINCIPAL	2				1 50.0%	1 50.0%		
	ASSISTANT ELEMENTARY SCHOOL PR	3					2 66.7%	1 33.3%	
	ASSISTANT MIDDLE SCHOOL PRINCI	7			2 28.6%	2 28.6%	2 28.6%	1 14.3%	
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	ULSTER	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	13			5 38.5%	3 23.1%	4 30.8%	1 7.7%	
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	4			3 75.0%		1 25.0%		
	KINDERGARTEN	92		13 14.1%	22 23.9%	20 21.7%	27 29.3%	10 10.9%	
	COMMON BRANCH	490	10 2.0%	57 11.6%	110 22.4%	107 21.8%	126 25.7%	76 15.5%	4 0.8%
	SPECIAL EDUCATION	423	9 2.1%	62 14.7%	86 20.3%	92 21.7%	133 31.4%	41 9.7%	
	READING	126	3 2.4%	12 9.5%	18 14.3%	26 20.6%	45 35.7%	21 16.7%	1 0.8%
	ENGLISH LANGUAGE	193	6 3.1%	27 14.0%	47 24.4%	30 15.5%	51 26.4%	31 16.1%	1 0.5%
	FOREIGN LANGUAGE	87	2 2.3%	12 13.8%	18 20.7%	22 25.3%	21 24.1%	11 12.6%	1 1.1%
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	25		4 16.0%	2 8.0%	4 16.0%	10 40.0%	5 20.0%	
	MATHEMATICS	186	14 7.5%	26 14.0%	39 21.0%	42 22.6%	40 21.5%	25 13.4%	
	SCIENCE	171	4 2.3%	17 9.9%	37 21.6%	42 24.6%	48 28.1%	23 13.5%	

		2	105-2000						
County:	ULSTER	_ (
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	165	3 1.8%	25 15.2%	47 28.5%	28 17.0%	39 23.6%	21 12.7%	2 1.2%
	ART	80		9 11.3%	12 15.0%	22 27.5%	27 33.8%	10 12.5%	
	MUSIC	93	4 4.3%	17 18.3%	13 14.0%	19 20.4%	28 30.1%	11 11.8%	1 1.1%
	ART/MUSIC	3				1 33.3%	2 66.7%		
	HEALTH EDUCATION	23		3 13.0%	4 17.4%	3 13.0%	9 39.1%	3 13.0%	1 4.3%
	SAFETY EDUCATION	1					1 100.0%		
	PHYSICAL EDUCATION	114	6 5.3%	21 18.4%	32 28.1%	23 20.2%	21 18.4%	11 9.6%	
	AGRICULTURE								
	BUSINESS/MARKETING	25			6 24.0%	7 28.0%	5 20.0%	7 28.0%	
	HOME ECONOMICS	11			1 9.1%	7 63.6%	3 27.3%		
	TECHNOLOGY	18		2 11.1%	3 16.7%	5 27.8%	7 38.9%	1 5.6%	
	TRADE EDUCATION	17			4 23.5%	4 23.5%	5 29.4%	3 17.6%	1 5.9%
	TECHNICAL EDUCATION	1					1 100.0%		
	HEALTH OCCUPATION	11			1 9.1%	4 36.4%	2 18.2%	4 36.4%	
	GENERAL OCCUPATIONAL EDUCATION	50	1 2.0%	3 6.0%	2 4.0%	10 20.0%	26 52.0%	8 16.0%	

County:	ULSTER	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	2				2 100.0%			
	LIBRARY	43		2 4.7%	4 9.3%	4 9.3%	17 39.5%	14 32.6%	2 4.7%
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	2		1 50.0%	1 50.0%				
	COMBINED COURSES	2			2 100.0%				
	OTHER SUBJECT	145	7 4.8%	20 13.8%	38 26.2%	31 21.4%	28 19.3%	20 13.8%	1 0.7%
	HELPING TEACHER	1					1 100.0%		
	GIFTED/TALENTED	3					3 100.0%		
	GENERAL COOPERATIVE WORK EXPER	2			1 50.0%	1 50.0%			
	COMPUTER STUDIES	5			2 40.0%	1 20.0%	2 40.0%		
	Summary	2669	60 2.2%	315 11.8%	548 20.5%	556 20.8%	784 29.4%	387 14.5%	19 0.7%

			103-2000						
County:	WARREN	20							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	<i>49-56</i>	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	2					1 50.0%	1 50.0%	
	SUPERINTENDENT, DEPENDENT	7			1 14.3%	1 14.3%	2 28.6%	2 28.6%	1 14.3%
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1					1 100.0%		
	ASSISTANT SUPERINTENDENT SPECI	1				1 100.0%			
	BUSINESS MANAGER	4				1 25.0%	3 75.0%		
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	21		1 4.8%	6 28.6%	6 28.6%	7 33.3%	1 4.8%	
	ASSISTANT DIRECTOR/COORDINATOR	2				1 50.0%		1 50.0%	
	SUPERVISOR								
	DEPARTMENT CHAIRPERSON	25		1 4.0%	5 20.0%	6 24.0%	9 36.0%	4 16.0%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	20		5 25.0%	3 15.0%	4 20.0%	5 25.0%	2 10.0%	1 5.0%
	SOCIAL WORKER	8			3 37.5%	3 37.5%	2 25.0%		
	GUIDANCE COUNSELOR	30		5 16.7%	8 26.7%	6 20.0%	8 26.7%	2 6.7%	1 3.3%

County:	WARREN		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	1						1 100.0%	
	SCHOOL NURSE/PRACTITIONER	22			5 22.7%	6 27.3%	10 45.5%	1 4.5%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	2					1 50.0%	1 50.0%	
	ELEMENTARY SCHOOL PRINCIPAL	10			1 10.0%	4 40.0%	4 40.0%	1 10.0%	
	MIDDLE SCHOOL PRINCIPAL	3			1 33.3%		2 66.7%		
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	2				2 100.0%			
	SENIOR HIGH SCHOOL PRINCIPAL	3			2 66.7%	1 33.3%			
	JUNIOR/SENIOR HIGH SCHOOL PRIN	3				00.070	2 66.7%	1 33.3%	
	SPECIAL SCHOOL PRINCIPAL						00.770	00.070	
	ASSISTANT ELEMENTARY SCHOOL PR	2			1 50.0%	1 50.0%			
	ASSISTANT MIDDLE SCHOOL PRINCI	2			1	1			
	ASSISTANT JUNIOR HIGH SCHOOL P				50.0%	50.0%			
	ASSISTANT K-12 SCHOOL PRINCIPA	1			1 100.0%				

County:	WARREN	2003-2000							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	4			3 75.0%	1 25.0%			
	ASSISTANT JR./SR. HIGH SCHOOL	2			1 50.0%		1 50.0%		
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	1				1 100.0%			
	KINDERGARTEN	40		7 17.5%	14 35.0%	6 15.0%	9 22.5%	4 10.0%	
	COMMON BRANCH	212	5 2.4%	30 14.2%	65 30.7%	50 23.6%	52 24.5%	9 4.2%	1 0.5%
	SPECIAL EDUCATION	130	4 3.1%	28 21.5%	27 20.8%	31 23.8%	30 23.1%	9 6.9%	1 0.8%
	READING	52	2 3.8%	12 23.1%	10 19.2%	16 30.8%	9 17.3%	3 5.8%	
	ENGLISH LANGUAGE	97	1 1.0%	12 12.4%	28 28.9%	19 19.6%	24 24.7%	13 13.4%	
	FOREIGN LANGUAGE	39	1 2.6%	9 23.1%	9 23.1%	7 17.9%	10 25.6%	3 7.7%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE								
	MATHEMATICS	83	5 6.0%	10 12.0%	17 20.5%	20 24.1%	26 31.3%	5 6.0%	
	SCIENCE	71	1 1.4%	14 19.7%	13 18.3%	26 36.6%	12 16.9%	5 7.0%	

		20	05-2000						
County:	WARREN								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	70	1 1.4%	13 18.6%	20 28.6%	24 34.3%	10 14.3%	2 2.9%	
	ART	32	1 3.1%	6 18.8%	3 9.4%	10 31.3%	6 18.8%	6 18.8%	
	MUSIC	43	4 9.3%	6 14.0%	5 11.6%	11 25.6%	13 30.2%	4 9.3%	
	ART/MUSIC								
	HEALTH EDUCATION	15	1 6.7%	3 20.0%	3 20.0%	3 20.0%	5 33.3%		
	SAFETY EDUCATION	2						2 100.0%	
	PHYSICAL EDUCATION	48	1 2.1%	10 20.8%	9 18.8%	7 14.6%	20 41.7%	1 2.1%	
	AGRICULTURE								
	BUSINESS/MARKETING	18		2 11.1%	5 27.8%	7 38.9%	4 22.2%		
	HOME ECONOMICS	9		1 11.1%		1 11.1%	7 77.8%		
	TECHNOLOGY	12		1 8.3%	4 33.3%	5 41.7%	2 16.7%		
	TRADE EDUCATION	3			1 33.3%	2 66.7%			
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION								
	GENERAL OCCUPATIONAL EDUCATION	27		3 11.1%	4 14.8%	15 55.6%	5 18.5%		

County:	WARREN	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	1			1 100.0%				
	LIBRARY	15		2 13.3%		2 13.3%	6 40.0%	5 33.3%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER								
	COMBINED COURSES								
	OTHER SUBJECT	57		12 21.1%	16 28.1%	13 22.8%	12 21.1%	3 5.3%	1 1.8%
	HELPING TEACHER	13		1 7.7%	5 38.5%	5 38.5%	1 7.7%	1 7.7%	
	GIFTED/TALENTED	5			1 20.0%	1 20.0%	1 20.0%	2 40.0%	
	GENERAL COOPERATIVE WORK EXPER	4			1 25.0%		1 25.0%	2 50.0%	
	COMPUTER STUDIES	9		2 22.2%	3 33.3%	2 22.2%	2 22.2%		
	Summary	1085	25 2.3%	170 15.7%	253 23.3%	269 24.8%	279 25.7%	83 7.6%	6 0.6%

County:	WASHINGTON	20	105-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	3					3 100.0%		
	SUPERINTENDENT, DEPENDENT	9		1 11.1%	1 11.1%	1 11.1%	3 33.3%	3 33.3%	
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT								
	ASSISTANT SUPERINTENDENT SPECI	3				1 33.3%	1 33.3%	1 33.3%	
	BUSINESS MANAGER	6			1 16.7%		4 66.7%	1 16.7%	
				_				-	
	DIRECTOR/COORDINATOR	22		1 4.5%	6 27.3%	3 13.6%	10 45.5%	2 9.1%	
	ASSISTANT DIRECTOR/COORDINATOR								
	SUPERVISOR	3			1 33.3%	2 66.7%			
	DEPARTMENT CHAIRPERSON	16			4 25.0%	2 12.5%	7 43.8%	3 18.8%	
	ATTENDANCE TEACHER								
	SCHOOL PSYCHOLOGIST	24		7 29.2%	2 8.3%	7 29.2%	2 8.3%	6 25.0%	
	SOCIAL WORKER	21			4 19.0%	7 33.3%	9 42.9%	1 4.8%	
	GUIDANCE COUNSELOR	27		6 22.2%	10 37.0%	6 22.2%	5 18.5%		

County:	WASHINGTON	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	1					1 100.0%		
	SCHOOL NURSE/PRACTITIONER	20			2 10.0%	7 35.0%	5 25.0%	3 15.0%	3 15.0%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	13		1 7.7%		6 46.2%	1 7.7%	5 38.5%	
	ELEMENTARY SCHOOL PRINCIPAL	10			3 30.0%	3 30.0%	3 30.0%	1 10.0%	
	MIDDLE SCHOOL PRINCIPAL	1				1 100.0%			
	JUNIOR HIGH SCHOOL PRINCIPAL	1				1 100.0%			
	K-12 SCHOOL PRINCIPAL	4			1 25.0%	2 50.0%	1 25.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	4				2 50.0%	2 50.0%		
	JUNIOR/SENIOR HIGH SCHOOL PRIN	8		1 12.5%	1 12.5%	1 12.5%	3 37.5%	2 25.0%	
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	4		1 25.0%			1 25.0%	1 25.0%	1 25.0%
	ASSISTANT MIDDLE SCHOOL PRINCI	1			1 100.0%				
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	WASHINGTON		05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	1			1 100.0%				
	ASSISTANT JR./SR. HIGH SCHOOL	4			4 100.0%				
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	1			1 100.0%				
	PREKINDERGARTEN	3			1 33.3%		1 33.3%	1 33.3%	
	KINDERGARTEN	39	1 2.6%	8 20.5%	9 23.1%	5 12.8%	12 30.8%	4 10.3%	
	COMMON BRANCH	201	3 1.5%	40 19.9%	48 23.9%	37 18.4%	48 23.9%	23 11.4%	2 1.0%
	SPECIAL EDUCATION	252	5 2.0%	29 11.5%	45 17.9%	61 24.2%	87 34.5%	25 9.9%	
	READING	43		10 23.3%	17 39.5%	4 9.3%	8 18.6%	3 7.0%	1 2.3%
	ENGLISH LANGUAGE	77		16 20.8%	16 20.8%	13 16.9%	22 28.6%	10 13.0%	
	FOREIGN LANGUAGE	37	2 5.4%	8 21.6%	5 13.5%	7 18.9%	11 29.7%	4 10.8%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	9		1 11.1%	2 22.2%	5 55.6%	1 11.1%		
	MATHEMATICS	78	3 3.8%	17 21.8%	19 24.4%	15 19.2%	15 19.2%	9 11.5%	
	SCIENCE	67	1 1.5%	15 22.4%	14 20.9%	15 22.4%	17 25.4%	4 6.0%	1 1.5%

		<u> </u>	105-2000						
County:	WASHINGTON								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- <mark>64</mark>	Over-64
	SOCIAL STUDIES	62	4 6.5%	13 21.0%	16 25.8%	10 16.1%	11 17.7%	8 12.9%	
	ART	30		4 13.3%	10 33.3%	5 16.7%	6 20.0%	5 16.7%	
	MUSIC	41	2 4.9%	8 19.5%	5 12.2%	12 29.3%	10 24.4%	4 9.8%	
	ART/MUSIC								
	HEALTH EDUCATION	16		4 25.0%	2 12.5%	2 12.5%	7 43.8%	1 6.3%	
	SAFETY EDUCATION	1					1 100.0%		
	PHYSICAL EDUCATION	55	3 5.5%	10 18.2%	14 25.5%	10 18.2%	17 30.9%	1 1.8%	
	AGRICULTURE	10	1 10.0%	2 20.0%	2 20.0%	1 10.0%	3 30.0%		1 10.0%
	BUSINESS/MARKETING	15			5 33.3%	4 26.7%	6 40.0%		
	HOME ECONOMICS	15			1 6.7%	3 20.0%	8 53.3%	3 20.0%	
	TECHNOLOGY	12	2 16.7%	1 8.3%		4 33.3%	2 16.7%	3 25.0%	
	TRADE EDUCATION	33		1 3.0%	6 18.2%	10 30.3%	9 27.3%	7 21.2%	
	TECHNICAL EDUCATION	1					1 100.0%		
	HEALTH OCCUPATION	11			2 18.2%	4 36.4%	3 27.3%	2 18.2%	
	GENERAL OCCUPATIONAL EDUCATION	23	2 8.7%	2 8.7%	4 17.4%	6 26.1%	6 26.1%	3 13.0%	

County:	WASHINGTON	-							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	10			1 10.0%	4 40.0%	4 40.0%	1 10.0%	
	LIBRARY	11		2 18.2%	3 27.3%	1 9.1%	3 27.3%	2 18.2%	
	LEARNING TECHNOLOGY	2						2 100.0%	
	HUMANITIES/PERFORMING ARTS	2		1 50.0%			1 50.0%		
	DANCE								
	THEATER	4	1 25.0%	1 25.0%		1 25.0%	1 25.0%		
	COMBINED COURSES	4		2 50.0%	1 25.0%		1 25.0%		
	OTHER SUBJECT	65	3 4.6%	18 27.7%	14 21.5%	11 16.9%	13 20.0%	6 9.2%	
	HELPING TEACHER	2					2 100.0%		
	GIFTED/TALENTED	10		1 10.0%	1 10.0%		3 30.0%	4 40.0%	1 10.0%
	GENERAL COOPERATIVE WORK EXPER	3			1 33.3%	1 33.3%	1 33.3%		
	COMPUTER STUDIES	7			1 14.3%		4 57.1%	2 28.6%	
	Summary	1289	28 2.2%	210 16.3%	268 20.8%	267 20.7%	358 27.8%	149 11.6%	9 0.7%

County:	WAYNE								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	5					3 60.0%	2 40.0%	
	SUPERINTENDENT, DEPENDENT	6					4 66.7%	2 33.3%	
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	3				1 33.3%	2 66.7%		
	ASSISTANT SUPERINTENDENT SPECI	7			2 28.6%	1 14.3%	2 28.6%	2 28.6%	
	BUSINESS MANAGER	2		1 50.0%		1 50.0%			
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	46		2 4.3%	8 17.4%	8 17.4%	24 52.2%	4 8.7%	
	ASSISTANT DIRECTOR/COORDINATOR	7		1 14.3%	1 14.3%	2 28.6%	3 42.9%		
	SUPERVISOR	16		1 6.3%	2 12.5%	4 25.0%	8 50.0%	1 6.3%	
	DEPARTMENT CHAIRPERSON	25			7 28.0%	8 32.0%	8 32.0%	2 8.0%	
	ATTENDANCE TEACHER	1					1 100.0%		
	SCHOOL PSYCHOLOGIST	36		10 27.8%	15 41.7%	5 13.9%	3 8.3%	3 8.3%	
	SOCIAL WORKER	7		2 28.6%	5 71.4%				
	GUIDANCE COUNSELOR	48	1 2.1%	10 20.8%	14 29.2%	13 27.1%	8 16.7%	2 4.2%	

		2	105-2000						
County:	WAYNE								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	38			5 13.2%	9 23.7%	18 47.4%	6 15.8%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	18			4 22.2%	5 27.8%	6 33.3%	3 16.7%	
	ELEMENTARY SCHOOL PRINCIPAL	19			1 5.3%	7 36.8%	7 36.8%	4 21.1%	
	MIDDLE SCHOOL PRINCIPAL	9			2 22.2%	3 33.3%	2 22.2%	2 22.2%	
	JUNIOR HIGH SCHOOL PRINCIPAL				22.270	00.070		<u></u> /0	
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	10			3 30.0%	1 10.0%	6 60.0%		
	JUNIOR/SENIOR HIGH SCHOOL PRIN	2			1 50.0%	10.070	1 50.0%		
	SPECIAL SCHOOL PRINCIPAL				50.070		50.070		
	ASSISTANT ELEMENTARY SCHOOL PR								
	ASSISTANT MIDDLE SCHOOL PRINCI	5			2 40.0%	2 40.0%	1 20.0%		
	ASSISTANT JUNIOR HIGH SCHOOL P				40.0%	40.0%	20.0%		
	ASSISTANT K-12 SCHOOL PRINCIPA								

Wednesday, February 21, 2007

County:	WAYNE	-							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	7		2 28.6%	3 42.9%		2 28.6%		
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	7		3 42.9%	2 28.6%		1 14.3%	1 14.3%	
	KINDERGARTEN	66	3 4.5%	13 19.7%	16 24.2%	17 25.8%	13 19.7%	4 6.1%	
	COMMON BRANCH	322	16 5.0%	69 21.4%	60 18.6%	58 18.0%	79 24.5%	37 11.5%	3 0.9%
	SPECIAL EDUCATION	247	10 4.0%	70 28.3%	42 17.0%	56 22.7%	53 21.5%	16 6.5%	
	READING	94	4 4.3%	20 21.3%	17 18.1%	19 20.2%	22 23.4%	12 12.8%	
	ENGLISH LANGUAGE	138	6 4.3%	35 25.4%	27 19.6%	26 18.8%	28 20.3%	15 10.9%	1 0.7%
	FOREIGN LANGUAGE	47	1 2.1%	7 14.9%	15 31.9%	10 21.3%	12 25.5%	2 4.3%	
	BILINGUAL EDUCATION	1				1 100.0%			
	ENGLISH AS A SECOND LANGUAGE	9		2 22.2%	3 33.3%		4 44.4%		
	MATHEMATICS	116	9 7.8%	35 30.2%	17 14.7%	18 15.5%	28 24.1%	9 7.8%	
	SCIENCE	110	4 3.6%	32 29.1%	18 16.4%	24 21.8%	25 22.7%	6 5.5%	1 0.9%

County:	WAYNE		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	107	5 4.7%	32 29.9%	24 22.4%	11 10.3%	25 23.4%	10 _{9.3%}	
	ART	52	2 3.8%	9 17.3%	14 26.9%	11 21.2%	14 26.9%	2 3.8%	
	MUSIC	69	6 8.7%	20 29.0%	6 8.7%	15 21.7%	16 23.2%	6 8.7%	
	ART/MUSIC	1			1 100.0%				
	HEALTH EDUCATION	23	1 4.3%	4 17.4%	12 52.2%	2 8.7%	4 17.4%		
	SAFETY EDUCATION	2					1 50.0%	1 50.0%	
	PHYSICAL EDUCATION	84	4 4.8%	20 23.8%	23 27.4%	19 22.6%	15 17.9%	3 3.6%	
	AGRICULTURE	1					1 100.0%		
	BUSINESS/MARKETING	18		3 16.7%	3 16.7%	7 38.9%	4 22.2%	1 5.6%	
	HOME ECONOMICS	11		3 27.3%	3 27.3%	2 18.2%	2 18.2%	1 9.1%	
	TECHNOLOGY	24	1 4.2%	7 29.2%	1 4.2%	1 4.2%	11 45.8%	3 12.5%	
	TRADE EDUCATION	2		1 50.0%	1 50.0%				
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION								
	GENERAL OCCUPATIONAL EDUCATION	34	1 2.9%	8 23.5%	8 23.5%	4 11.8%	9 26.5%	4 11.8%	

County:	WAYNE	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	2			1 50.0%	1 50.0%			
	LIBRARY	29		1 3.4%	5 17.2%	4 13.8%	10 34.5%	9 31.0%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER	1				1 100.0%			
	COMBINED COURSES					100.070			
	OTHER SUBJECT	85	2 2.4%	24 28.2%	22 25.9%	12 14.1%	16 18.8%	8 9.4%	1 1.2%
	HELPING TEACHER	15		2 13.3%	5 33.3%	2 13.3%	5 33.3%	1 6.7%	
	GIFTED/TALENTED	4	1 25.0%		1 25.0%	1 25.0%	1 25.0%		
	GENERAL COOPERATIVE WORK EXPER	6		1 16.7%	1 16.7%	1 16.7%	2 33.3%	1 16.7%	
	COMPUTER STUDIES	8	1 12.5%	1 12.5%	2 25.0%	1 12.5%	3 37.5%		
	Summary	1766	72 4.1%	391 22.1%	361 20.4%	347 19.6%	431 24.4%	159 9.0%	5 0.3%

County:	WESTCHESTER		05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	36				1 2.8%	13 36.1%	18 50.0%	4 11.1%
	SUPERINTENDENT, DEPENDENT	13				1 7.7%	5 38.5%	6 46.2%	1 7.7%
	DEPUTY OR ASSOCIATE SUPERINTEN	9					4 44.4%	5 55.6%	
	ASSISTANT SUPERINTENDENT	13				3 23.1%	5 38.5%	5 38.5%	
	ASSISTANT SUPERINTENDENT SPECI	52			2 3.8%	8 15.4%	29 55.8%	12 23.1%	1 1.9%
	BUSINESS MANAGER	15				3 20.0%	7 46.7%	5 33.3%	
	ADMINISTRATIVE ASSISTANT	2					2 100.0%		
	DIRECTOR/COORDINATOR	220		2 0.9%	30 13.6%	44 20.0%	73 33.2%	63 28.6%	8 3.6%
	ASSISTANT DIRECTOR/COORDINATOR	22		1 4.5%	1 4.5%	5 22.7%	10 45.5%	4 18.2%	1 4.5%
	SUPERVISOR	37		1 2.7%	5 13.5%	5 13.5%	14 37.8%	12 32.4%	
	DEPARTMENT CHAIRPERSON	146	1 0.7%	5 3.4%	27 18.5%	25 17.1%	46 31.5%	37 25.3%	5 3.4%
	ATTENDANCE TEACHER	8			1 12.5%	2 25.0%	2 25.0%	2 25.0%	1 12.5%
	SCHOOL PSYCHOLOGIST	310		42 13.5%	77 24.8%	56 18.1%	81 26.1%	45 14.5%	9 2.9%
	SOCIAL WORKER	144		10 6.9%	36 25.0%	30 20.8%	34 23.6%	30 20.8%	4 2.8%
	GUIDANCE COUNSELOR	367		65 17.7%	98 26.7%	70 19.1%	79 21.5%	43 11.7%	12 3.3%

		<u>_</u>	103-2000						
County:	WESTCHESTER								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	4				1 25.0%	1 25.0%	1 25.0%	1 25.0%
	SCHOOL NURSE/PRACTITIONER	256		2 0.8%	14 5.5%	44 17.2%	121 47.3%	63 24.6%	12 4.7%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	168		11 6.5%	26 15.5%	35 20.8%	54 32.1%	36 21.4%	6 3.6%
	ELEMENTARY SCHOOL PRINCIPAL	148		2 1.4%	8 5.4%	31 20.9%	62 41.9%	37 25.0%	8 5.4%
	MIDDLE SCHOOL PRINCIPAL	45		2 4.4%	4 8.9%	14 31.1%	15 33.3%	9 20.0%	1 2.2%
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	2			1 50.0%			1 50.0%	
	SENIOR HIGH SCHOOL PRINCIPAL	44			9 20.5%	7 15.9%	13 29.5%	12 27.3%	3 6.8%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	10			1 10.0%	2 20.0%	3 30.0%	4 40.0%	
	SPECIAL SCHOOL PRINCIPAL	7				1 14.3%	3 42.9%	3 42.9%	
	ASSISTANT ELEMENTARY SCHOOL PR	72		3 4.2%	22 30.6%	13 18.1%	25 34.7%	8 11.1%	1 1.4%
	ASSISTANT MIDDLE SCHOOL PRINCI	65		1 1.5%	16 24.6%	19 29.2%	17 26.2%	12 18.5%	
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA	1			1 100.0%				

		2(103-2000						
County:	WESTCHESTER								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	84		3 3.6%	22 26.2%	19 22.6%	27 32.1%	12 14.3%	1 1.2%
	ASSISTANT JR./SR. HIGH SCHOOL	13		1 7.7%	5 38.5%	1 7.7%	5 38.5%	1 7.7%	
	ASSISTANT SPECIAL SCHOOL PRINC	2				1 50.0%		1 50.0%	
	OTHER SCHOOL ADMINISTRATOR	13		1 7.7%	6 46.2%	2 15.4%	3 23.1%	1 7.7%	
	PREKINDERGARTEN	129	3 2.3%	17 13.2%	31 24.0%	15 11.6%	38 29.5%	24 18.6%	1 0.8%
	KINDERGARTEN	511	7 1.4%	116 22.7%	139 27.2%	76 14.9%	108 21.1%	59 11.5%	6 1.2%
	COMMON BRANCH	2684	55 2.0%	624 23.2%	683 25.4%	477 17.8%	471 17.5%	339 12.6%	35 1.3%
	SPECIAL EDUCATION	2126	34 1.6%	375 17.6%	456 21.4%	379 17.8%	610 28.7%	244 11.5%	28 1.3%
	READING	460	3 0.7%	83 18.0%	81 17.6%	75 16.3%	117 25.4%	92 20.0%	9 2.0%
	ENGLISH LANGUAGE	1005	21 2.1%	249 24.8%	270 26.9%	133 13.2%	200 19.9%	125 12.4%	7 0.7%
	FOREIGN LANGUAGE	553	17 3.1%	94 17.0%	112 20.3%	94 17.0%	136 24.6%	89 16.1%	11 2.0%
	BILINGUAL EDUCATION	79	1 1.3%	8 10.1%	22 27.8%	23 29.1%	14 17.7%	11 13.9%	
	ENGLISH AS A SECOND LANGUAGE	324	1 0.3%	39 12.0%	82 25.3%	76 23.5%	79 24.4%	39 12.0%	8 2.5%
	MATHEMATICS	958	28 2.9%	189 19.7%	211 22.0%	176 18.4%	204 21.3%	135 14.1%	15 1.6%
	SCIENCE	945	20 2.1%	185 19.6%	209 22.1%	179 18.9%	182 19.3%	145 15.3%	25 2.6%

		20	103-2000						
County:	WESTCHESTER								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	866	22 2.5%	193 22.3%	230 26.6%	166 19.2%	137 15.8%	111 12.8%	7 0.8%
	ART	404	12 3.0%	49 12.1%	78 19.3%	72 17.8%	127 31.4%	60 14.9%	6 1.5%
	MUSIC	464	10 2.2%	59 12.7%	67 14.4%	108 23.3%	150 32.3%	54 11.6%	16 3.4%
	ART/MUSIC	14		1 7.1%	4 28.6%	1 7.1%	6 42.9%	2 14.3%	
	HEALTH EDUCATION	168	3 1.8%	46 27.4%	33 19.6%	31 18.5%	34 20.2%	21 12.5%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	610	17 2.8%	139 22.8%	153 25.1%	96 15.7%	153 25.1%	50 8.2%	2 0.3%
	AGRICULTURE	2			1 50.0%			1 50.0%	
	BUSINESS/MARKETING	79		5 6.3%	10 12.7%	11 13.9%	25 31.6%	27 34.2%	1 1.3%
	HOME ECONOMICS	27		2 7.4%	3 11.1%	3 11.1%	12 44.4%	4 14.8%	3 11.1%
	TECHNOLOGY	49		3 6.1%	9 18.4%	12 24.5%	15 30.6%	10 20.4%	
	TRADE EDUCATION	54		3 5.6%	8 14.8%	9 16.7%	22 40.7%	10 18.5%	2 3.7%
	TECHNICAL EDUCATION	9			1 11.1%	2 22.2%	5 55.6%	1 11.1%	
	HEALTH OCCUPATION	4		1 25.0%			2 50.0%	1 25.0%	
	GENERAL OCCUPATIONAL EDUCATION	133		9 6.8%	19 14.3%	26 19.5%	50 37.6%	27 20.3%	2 1.5%

County:	WESTCHESTER								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	10		1 10.0%	1 10.0%	1 10.0%	2 20.0%	5 50.0%	
	LIBRARY	198		5 2.5%	24 12.1%	29 14.6%	72 36.4%	60 30.3%	8 4.0%
	LEARNING TECHNOLOGY	13		1 7.7%	1 7.7%	3 23.1%	6 46.2%	2 15.4%	
	HUMANITIES/PERFORMING ARTS	6			1 16.7%	4 66.7%			1 16.7%
	DANCE	6		1 16.7%	1 16.7%	2 33.3%	1 16.7%	1 16.7%	
	THEATER	22		1 4.5%	3 13.6%	6 27.3%	8 36.4%	4 18.2%	
	COMBINED COURSES	30		2 6.7%	11 36.7%	4 13.3%	6 20.0%	7 23.3%	
	OTHER SUBJECT	467	18 3.9%	107 22.9%	122 26.1%	61 13.1%	99 21.2%	53 11.3%	7 1.5%
	HELPING TEACHER	57	1 1.8%	14 24.6%	15 26.3%	9 15.8%	4 7.0%	11 19.3%	3 5.3%
	GIFTED/TALENTED	48		2 4.2%	15 31.3%	10 20.8%	9 18.8%	11 22.9%	1 2.1%
	GENERAL COOPERATIVE WORK EXPER	10			3 30.0%	3 30.0%	4 40.0%		
	COMPUTER STUDIES	109		6 5.5%	22 20.2%	23 21.1%	32 29.4%	23 21.1%	3 2.8%
	Summary	14434	244 1.7%	2489 17.2%	3209 22.2%	2575 17.8%	3558 24.7%	2099 14.5%	260 1.8%

_		2003-2000								
County:	WYOMING									
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64	
	SUPERINTENDENT, INDEPENDENT	2			1 50.0%	1 50.0%				
	SUPERINTENDENT, DEPENDENT	3				1 33.3%	1 33.3%	1 33.3%		
	DEPUTY OR ASSOCIATE SUPERINTEN									
	ASSISTANT SUPERINTENDENT									
	ASSISTANT SUPERINTENDENT SPECI									
	BUSINESS MANAGER	4					3 75.0%	1 25.0%		
	ADMINISTRATIVE ASSISTANT							_0.0,0		
	DIRECTOR/COORDINATOR	9			4 44.4%	1 11.1%	4 44.4%			
	ASSISTANT DIRECTOR/COORDINATOR				····/0	11.170	· · · · /0			
	SUPERVISOR	4					1 25.0%	3 75.0%		
	DEPARTMENT CHAIRPERSON	17		3 17.6%	4 23.5%	5 29.4%	23.0% 5 29.4%	13.070		
	ATTENDANCE TEACHER			17.070	23.370	23.470	23.470			
	SCHOOL PSYCHOLOGIST	6			2	1	2	1		
	SOCIAL WORKER	1		1 100.0%	33.3%	16.7%	33.3%	16.7%		
	GUIDANCE COUNSELOR	13		15.4%	5 38.5%	3 23.1%	2 15.4%	1 7.7%		

County:	WYOMING	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	11			1 9.1%	4 36.4%	5 45.5%	1 9.1%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING								
	ELEMENTARY SCHOOL PRINCIPAL	5			4 80.0%	1 20.0%			
	MIDDLE SCHOOL PRINCIPAL	4			1	2	1		
	JUNIOR HIGH SCHOOL PRINCIPAL				25.0%	50.0%	25.0%		
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	4				1 25.0%	1 25.0%	2 50.0%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN					23.076	23.078	50.078	
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	1				1 100.0%			
	ASSISTANT MIDDLE SCHOOL PRINCI	2				100.0%			
	ASSISTANT JUNIOR HIGH SCHOOL P					100.0 /0			
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	WYOMING		05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	4			2 50.0%	1 25.0%	1 25.0%		
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	1		1 100.0%					
	PREKINDERGARTEN								
	KINDERGARTEN	20		2 10.0%	6 30.0%	1 5.0%	8 40.0%	3 15.0%	
	COMMON BRANCH	86	3 3.5%	9 10.5%	10 11.6%	19 22.1%	35 40.7%	10 11.6%	
	SPECIAL EDUCATION	76	3 3.9%	21 27.6%	18 23.7%	19 25.0%	12 15.8%	2 2.6%	1 1.3%
	READING	51	2 3.9%	7 13.7%	4 7.8%	8 15.7%	20 39.2%	9 17.6%	1 2.0%
	ENGLISH LANGUAGE	52	1 1.9%	17 32.7%	6 11.5%	8 15.4%	12 23.1%	7 13.5%	1 1.9%
	FOREIGN LANGUAGE	19	5 26.3%	2 10.5%	3 15.8%	6 31.6%	3 15.8%		
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	2					2 100.0%		
	MATHEMATICS	41	5 12.2%	7 17.1%	7 17.1%	4 9.8%	17 41.5%	1 2.4%	
	SCIENCE	42	2 4.8%	6 14.3%	12 28.6%	6 14.3%	15 35.7%	1 2.4%	

		20	103-2000						
County:	WYOMING								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- 64	Over-64
	SOCIAL STUDIES	44	1 2.3%	9 20.5%	13 29.5%	7 15.9%	7 15.9%	7 15.9%	
	ART	15	1 6.7%	1 6.7%	2 13.3%	4 26.7%	2 13.3%	5 33.3%	
	MUSIC	19	1 5.3%	4 21.1%		7 36.8%	4 21.1%	2 10.5%	1 5.3%
	ART/MUSIC								
	HEALTH EDUCATION	9	1 11.1%	3 33.3%	2 22.2%		3 33.3%		
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	28	2 7.1%	6 21.4%	7 25.0%	5 17.9%	8 28.6%		
	AGRICULTURE	2	1 50.0%		1 50.0%				
	BUSINESS/MARKETING	7		2 28.6%	1 14.3%	1 14.3%	3 42.9%		
	HOME ECONOMICS	4				1 25.0%	2 50.0%	1 25.0%	
	TECHNOLOGY	6		2 33.3%		3 50.0%			1 16.7%
	TRADE EDUCATION	1				1 100.0%			
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION								
	GENERAL OCCUPATIONAL EDUCATION	15	1 6.7%	1 6.7%	2 13.3%	3 20.0%	5 33.3%	2 13.3%	1 6.7%

County:	WYOMING	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE								
	LIBRARY	8			1	1	4	2	
	LEARNING TECHNOLOGY				12.5%	12.5%	50.0%	25.0%	
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER								
	COMBINED COURSES								
	OTHER SUBJECT	59	3	12	16	10	14	3	1
	HELPING TEACHER	5	5.1%	20.3% 1	27.1% 1	16.9% 2	23.7% 1	5.1%	1.7%
	GIFTED/TALENTED	2		20.0%	20.0%	40.0% 1	20.0% 1		
	GENERAL COOPERATIVE WORK EXPER	1				50.0% 1 100.0%	50.0%		
	COMPUTER STUDIES	9		3 33.3%	2 22.2%	100.0% 1 11.1%	2 22.2%	1 11.1%	
	Summary	530	25 4.7%	92 17.4%	99 18.7%	112 21.1%	150 28.3%	48 9.1%	4 0.8%

County:	YATES								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	1						1 100.0%	
	SUPERINTENDENT, DEPENDENT	1						1 100.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	1					1 100.0%		
	ASSISTANT SUPERINTENDENT SPECI	1			1 100.0%				
	BUSINESS MANAGER								
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	9			3 33.3%	2 22.2%	3 33.3%	1 11.1%	
	ASSISTANT DIRECTOR/COORDINATOR								
	SUPERVISOR								
	DEPARTMENT CHAIRPERSON	23			4 17.4%	3 13.0%	14 60.9%	2 8.7%	
	ATTENDANCE TEACHER	1			1 100.0%				
	SCHOOL PSYCHOLOGIST	6		2 33.3%	1 16.7%	1 16.7%	1 16.7%	1 16.7%	
	SOCIAL WORKER	1			1 100.0%				
	GUIDANCE COUNSELOR	10		2 20.0%	4 40.0%	2 20.0%	1 10.0%	1 10.0%	

County:	YATES	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	6		1 16.7%		3 50.0%	1 16.7%	1 16.7%	
	DENTAL HYGIENIST								
	OTHER NONTEACHING	4			2 50.0%	1 25.0%		1 25.0%	
	ELEMENTARY SCHOOL PRINCIPAL	2					1 50.0%	1 50.0%	
	MIDDLE SCHOOL PRINCIPAL	1					50.0%	50.0% 1 100.0%	
	JUNIOR HIGH SCHOOL PRINCIPAL							100.070	
	K-12 SCHOOL PRINCIPAL								
	SENIOR HIGH SCHOOL PRINCIPAL	1						1 100.0%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	1					1 100.0%	100.070	
	SPECIAL SCHOOL PRINCIPAL						100.070		
	ASSISTANT ELEMENTARY SCHOOL PR	2				1 50.0%	1 50.0%		
	ASSISTANT MIDDLE SCHOOL PRINCI					50.0%	50.076		
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA								

County:	YATES								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	2				1 50.0%	1 50.0%		
	ASSISTANT JR./SR. HIGH SCHOOL								
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	2			1 50.0%		1 50.0%		
	KINDERGARTEN	12			4 33.3%		6 50.0%	1 8.3%	1 8.3%
	COMMON BRANCH	56	2 3.6%	10 17.9%	10 17.9%	9 16.1%	18 32.1%	7 12.5%	
	SPECIAL EDUCATION	39	4 10.3%	8 20.5%	8 20.5%	9 23.1%	7 17.9%	3 7.7%	
	READING	22		2 9.1%	6 27.3%	4 18.2%	5 22.7%	5 22.7%	
	ENGLISH LANGUAGE	22	1 4.5%	3 13.6%	5 22.7%	4 18.2%	5 22.7%	4 18.2%	
	FOREIGN LANGUAGE	10	1 10.0%	2 20.0%	5 50.0%	1 10.0%	1 10.0%		
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	2				1 50.0%		1 50.0%	
	MATHEMATICS	20	3 15.0%	8 40.0%	2 10.0%	3 15.0%	3 15.0%	1 5.0%	
	SCIENCE	18		2 11.1%	3 16.7%	4 22.2%	6 33.3%	3 16.7%	

		<u> </u>	105-2000						
County:	YATES								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	20	1 5.0%	4 20.0%	3 15.0%	2 10.0%	6 30.0%	4 20.0%	
	ART	7			2 28.6%		3 42.9%	1 14.3%	1 14.3%
	MUSIC	13		7 53.8%		1 7.7%	3 23.1%	2 15.4%	
	ART/MUSIC								
	HEALTH EDUCATION	5	1 20.0%	2 40.0%	1 20.0%		1 20.0%		
	SAFETY EDUCATION	1			1 100.0%				
	PHYSICAL EDUCATION	17	2 11.8%	2 11.8%	5 29.4%	3 17.6%	4 23.5%	1 5.9%	
	AGRICULTURE	1				1 100.0%			
	BUSINESS/MARKETING	3			1 33.3%		2 66.7%		
	HOME ECONOMICS	1					1 100.0%		
	TECHNOLOGY	4		2 50.0%			2 50.0%		
	TRADE EDUCATION								
	TECHNICAL EDUCATION								
	HEALTH OCCUPATION								
	GENERAL OCCUPATIONAL EDUCATION	8				1 12.5%	5 62.5%	2 25.0%	

County:	YATES	_ (
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	1			1 100.0%				
	LIBRARY	5			2 40.0%		2 40.0%	1 20.0%	
	LEARNING TECHNOLOGY								
	HUMANITIES/PERFORMING ARTS								
	DANCE								
	THEATER								
	COMBINED COURSES								
	OTHER SUBJECT	5		1 20.0%	1 20.0%		3 60.0%		
	GIFTED/TALENTED								
	GENERAL COOPERATIVE WORK EXPER								
	COMPUTER STUDIES								
	Summary	298	14 4.7%	50 16.8%	62 20.8%	49 16.4%	81 27.2%	40 13.4%	2 0.7%

Region:	New York City								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	9	1 11.1%		1 11.1%	2 22.2%	2 22.2%	2 22.2%	1 11.1%
	SUPERINTENDENT, DEPENDENT								
	DEPUTY OR ASSOCIATE SUPERINTEN	7			3 42.9%		3 42.9%	1 14.3%	
	ASSISTANT SUPERINTENDENT	2			1 50.0%		1 50.0%		
	ASSISTANT SUPERINTENDENT SPECI	15		6 40.0%	2 13.3%	2 13.3%	3 20.0%	2 13.3%	
	BUSINESS MANAGER	94	1 1.1%	14 14.9%	32 34.0%	17 18.1%	20 21.3%	9 9.6%	1 1.1%
	ADMINISTRATIVE ASSISTANT	42		4 9.5%	7 16.7%	5 11.9%	19 45.2%	5 11.9%	2 4.8%
	DIRECTOR/COORDINATOR	662	4 0.6%	73 11.0%	120 18.1%	120 18.1%	200 30.2%	127 19.2%	18 2.7%
	ASSISTANT DIRECTOR/COORDINATOR	349	2 0.6%	19 5.4%	60 17.2%	83 23.8%	112 32.1%	60 17.2%	13 3.7%
	SUPERVISOR	44		4 9.1%	4 9.1%	8 18.2%	19 43.2%	8 18.2%	1 2.3%
	DEPARTMENT CHAIRPERSON	369		24 6.5%	81 22.0%	74 20.1%	116 31.4%	65 17.6%	9 2.4%
	ATTENDANCE TEACHER	204		18 8.8%	30 14.7%	40 19.6%	67 32.8%	39 19.1%	10 4.9%
	SCHOOL PSYCHOLOGIST	792	3 0.4%	98 12.4%	123 15.5%	142 17.9%	241 30.4%	149 18.8%	36 4.5%
	SOCIAL WORKER	973	2 0.2%	70 7.2%	133 13.7%	167 17.2%	311 32.0%	241 24.8%	49 5.0%
	GUIDANCE COUNSELOR	2341	17 0.7%	410 17.5%	464 19.8%	421 18.0%	556 23.8%	408 17.4%	65 2.8%

		20	103-2000						
Region:	New York City								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	379	1 0.3%	5 1.3%	38 10.0%	81 21.4%	133 35.1%	94 24.8%	27 7.1%
	DENTAL HYGIENIST	1			1 100.0%				
	OTHER NONTEACHING	4612	39 0.8%	830 18.0%	1036 22.5%	856 18.6%	1121 24.3%	655 14.2%	75 1.6%
	ELEMENTARY SCHOOL PRINCIPAL	657		7 1.1%	63 9.6%	128 19.5%	302 46.0%	146 22.2%	11 1.7%
	MIDDLE SCHOOL PRINCIPAL	229		13 5.7%	34 14.8%	58 25.3%	89 38.9%	32 14.0%	3 1.3%
	JUNIOR HIGH SCHOOL PRINCIPAL	32		1 3.1%	7 21.9%	6 18.8%	13 40.6%	4 12.5%	1 3.1%
	K-12 SCHOOL PRINCIPAL	23			1 4.3%	9 39.1%	8 34.8%	5 21.7%	
	SENIOR HIGH SCHOOL PRINCIPAL	285	1 0.4%	9 3.2%	49 17.2%	81 28.4%	96 33.7%	47 16.5%	2 0.7%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	51		3 5.9%	19 37.3%	9 17.6%	12 23.5%	7 13.7%	1 2.0%
	SPECIAL SCHOOL PRINCIPAL	62		1 1.6%	1 1.6%	5 8.1%	40 64.5%	15 24.2%	
	ASSISTANT ELEMENTARY SCHOOL PR	967		53 5.5%	212 21.9%	223 23.1%	339 35.1%	128 13.2%	12 1.2%
	ASSISTANT MIDDLE SCHOOL PRINCI	476		28 5.9%	123 25.8%	119 25.0%	143 30.0%	57 12.0%	6 1.3%
	ASSISTANT JUNIOR HIGH SCHOOL P	104		3 2.9%	24 23.1%	27 26.0%	35 33.7%	14 13.5%	1 1.0%
	ASSISTANT K-12 SCHOOL PRINCIPA	23		1	6	5	7	4	

		<u> </u>	105-2000						
Region:	New York City	-	-						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	576		32 5.6%	128 22.2%	133 23.1%	188 32.6%	80 13.9%	15 2.6%
	ASSISTANT JR./SR. HIGH SCHOOL	78		9 11.5%	25 32.1%	16 20.5%	17 21.8%	9 11.5%	2 2.6%
	ASSISTANT SPECIAL SCHOOL PRINC	154		5 3.2%	28 18.2%	41 26.6%	54 35.1%	24 15.6%	2 1.3%
	OTHER SCHOOL ADMINISTRATOR	22		3 13.6%	3 13.6%	4 18.2%	7 31.8%	5 22.7%	
	PREKINDERGARTEN	1138	36 3.2%	190 16.7%	198 17.4%	204 17.9%	298 26.2%	188 16.5%	24 2.1%
	KINDERGARTEN	2829	173 6.1%	672 23.8%	587 20.7%	436 15.4%	561 19.8%	354 12.5%	46 1.6%
	COMMON BRANCH	18436	1468 8.0%	5595 30.3%	3700 20.1%	2802 15.2%	2968 16.1%	1697 _{9.2%}	206 1.1%
	SPECIAL EDUCATION	11455	745 6.5%	2121 18.5%	1707 14.9%	1959 17.1%	3130 27.3%	1531 _{13.4%}	262 2.3%
	READING	1634	31 1.9%	214 13.1%	282 17.3%	287 17.6%	450 27.5%	336 20.6%	34 2.1%
	ENGLISH LANGUAGE	7348	639 8.7%	2288 31.1%	1465 ^{19.9%}	930 12.7%	1204 16.4%	725 9.9%	97 1.3%
	FOREIGN LANGUAGE	1775	89 5.0%	335 18.9%	364 20.5%	283 15.9%	422 23.8%	239 13.5%	43 2.4%
	BILINGUAL EDUCATION	1698	97 5.7%	265 15.6%	277 16.3%	367 21.6%	443 26.1%	214 12.6%	35 2.1%
	ENGLISH AS A SECOND LANGUAGE	2620	144 5.5%	442 16.9%	491 18.7%	460 17.6%	640 24.4%	385 14.7%	58 2.2%
	MATHEMATICS	6405	615 _{9.6%}	1443 22.5%	1119 17.5%	1106 17.3%	1276 19.9%	735 11.5%	111 1.7%
	SCIENCE	5152	317 6.2%	1128 21.9%	1069 _{20.7%}	963 18.7%	1053 _{20.4%}	531 10.3%	91 1.8%

Region:	New York City	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	5177	389 7.5%	1379 26.6%	1137 22.0%	720 13.9%	852 16.5%	635 12.3%	65 1.3%
	ART	1537	33 2.1%	303 19.7%	282 18.3%	271 17.6%	374 24.3%	246 16.0%	28 1.8%
	MUSIC	1092	62 5.7%	201 18.4%	152 13.9%	228 20.9%	293 26.8%	134 12.3%	22 2.0%
	ART/MUSIC	140	6 4.3%	32 22.9%	26 18.6%	19 13.6%	30 21.4%	24 17.1%	3 2.1%
	HEALTH EDUCATION	721	26 3.6%	181 25.1%	162 22.5%	111 15.4%	148 20.5%	80 11.1%	13 1.8%
	SAFETY EDUCATION	2					1 50.0%	1 50.0%	
	PHYSICAL EDUCATION	2704	91 3.4%	577 21.3%	650 24.0%	480 17.8%	660 24.4%	233 8.6%	13 0.5%
	AGRICULTURE	199	3 1.5%	27 13.6%	42 21.1%	41 20.6%	55 27.6%	25 12.6%	6 3.0%
	BUSINESS/MARKETING	389	3 0.8%	41 10.5%	51 13.1%	75 19.3%	116 29.8%	92 23.7%	11 2.8%
	HOME ECONOMICS	76		6 7.9%	8 10.5%	12 15.8%	23 30.3%	25 32.9%	2 2.6%
	TECHNOLOGY	230	7 3.0%	33 14.3%	52 22.6%	47 20.4%	61 26.5%	28 12.2%	2 0.9%
	TRADE EDUCATION	309	5 1.6%	33 10.7%	61 19.7%	58 18.8%	81 26.2%	55 17.8%	16 5.2%
	TECHNICAL EDUCATION	104	4 3.8%	12 11.5%	16 15.4%	19 18.3%	25 24.0%	26 25.0%	2 1.9%
	HEALTH OCCUPATION	96		15 15.6%	9 9.4%	18 18.8%	30 31.3%	20 20.8%	4 4.2%
	GENERAL OCCUPATIONAL EDUCATION	169	6 3.6%	29 17.2%	31 18.3%	30 17.8%	40 23.7%	30 17.8%	3 1.8%

		4 0	05-2000						
legion:	New York City								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	24	2 8.3%	7 29.2%	2 8.3%	2 8.3%	5 20.8%	6 25.0%	
	LIBRARY	692	5 0.7%	41 5.9%	88 12.7%	122 17.6%	227 32.8%	182 26.3%	27 3.9%
	LEARNING TECHNOLOGY	32		2 6.3%	7 21.9%	13 40.6%	7 21.9%	3 9.4%	
	HUMANITIES/PERFORMING ARTS	332	29 8.7%	121 36.4%	84 25.3%	31 9.3%	40 12.0%	27 8.1%	
	DANCE	235	6 2.6%	51 21.7%	56 23.8%	43 18.3%	61 26.0%	15 ^{6.4%}	3 1.3%
	THEATER	152	16 10.5%	40 26.3%	30 19.7%	23 15.1%	27 17.8%	16 10.5%	
	COMBINED COURSES	203	28 13.8%	61 30.0%	34 16.7%	33 16.3%	26 12.8%	16 7.9%	5 2.5%
	OTHER SUBJECT	3177	143 4.5%	554 17.4%	605 19.0%	552 17.4%	785 24.7%	485 15.3%	53 1.7%
	HELPING TEACHER	223	11 4.9%	48 21.5%	38 17.0%	34 15.2%	59 26.5%	26 11.7%	7 3.1%
	GIFTED/TALENTED	645	25 3.9%	207 32.1%	123 19.1%	109 16.9%	117 18.1%	58 9.0%	6 0.9%
	GENERAL COOPERATIVE WORK EXPER	76	1 1.3%	4 5.3%	5 6.6%	13 17.1%	31 40.8%	19 25.0%	3 3.9%
	COMPUTER STUDIES	813	18 2.2%	122 15.0%	177 21.8%	172 21.2%	198 24.4%	114 14.0%	12 1.5%
	Summary	83743	4739 5.7%	18191 21.7%	15885 19.0%	14100 16.8%	18686 22.3%	10642 12.7%	1500 1.8%

Region:	Nassau-Suffolk	20	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	76			1 1.3%	2 2.6%	24 31.6%	42 55.3%	7 9.2%
	SUPERINTENDENT, DEPENDENT	49			1 2.0%	4 8.2%	17 34.7%	24 49.0%	3 6.1%
	DEPUTY OR ASSOCIATE SUPERINTEN	38			3 7.9%	5 13.2%	14 36.8%	14 36.8%	2 5.3%
	ASSISTANT SUPERINTENDENT	36			3 8.3%	12 33.3%	10 27.8%	10 27.8%	1 2.8%
	ASSISTANT SUPERINTENDENT SPECI	174			11 6.3%	30 17.2%	77 44.3%	51 29.3%	5 2.9%
	BUSINESS MANAGER	46		1 2.2%	6 13.0%	11 23.9%	21 45.7%	7 15.2%	
	ADMINISTRATIVE ASSISTANT	18		1 5.6%	3 16.7%	5 27.8%	7 38.9%	2 11.1%	
	DIRECTOR/COORDINATOR	808		17 2.1%	116 14.4%	154 19.1%	314 38.9%	186 23.0%	21 2.6%
	ASSISTANT DIRECTOR/COORDINATOR	100		7 7.0%	17 17.0%	25 25.0%	32 32.0%	15 15.0%	4 4.0%
	SUPERVISOR	72		3 4.2%	8 11.1%	16 22.2%	27 37.5%	16 22.2%	2 2.8%
	DEPARTMENT CHAIRPERSON	582		30 5.2%	114 19.6%	130 22.3%	210 36.1%	87 14.9%	11 1.9%
	ATTENDANCE TEACHER	32	1 3.1%	3 9.4%	9 28.1%	5 15.6%	9 28.1%	5 15.6%	
	SCHOOL PSYCHOLOGIST	888	1 0.1%	182 20.5%	218 24.5%	170 19.1%	204 23.0%	104 11.7%	9 1.0%
	SOCIAL WORKER	578	1 0.2%	60 10.4%	142 24.6%	117 20.2%	156 27.0%	94 16.3%	8 1.4%
	GUIDANCE COUNSELOR	1056	7 0.7%	264 25.0%	312 29.5%	169 16.0%	177 16.8%	117 11.1%	10 0.9%

Region:	Nassau-Suffolk	_ 0	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	18			1 5.6%	4 22.2%	8 44.4%	5 27.8%	
	SCHOOL NURSE/PRACTITIONER	815		7 0.9%	32 3.9%	183 22.5%	368 45.2%	195 23.9%	30 3.7%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	573	1 0.2%	46 8.0%	121 21.1%	121 21.1%	178 31.1%	93 16.2%	13 2.3%
	ELEMENTARY SCHOOL PRINCIPAL	418		6 1.4%	78 18.7%	75 17.9%	142 34.0%	104 24.9%	13 3.1%
	MIDDLE SCHOOL PRINCIPAL	104		2 1.9%	19 18.3%	23 22.1%	31 29.8%	27 26.0%	2 1.9%
	JUNIOR HIGH SCHOOL PRINCIPAL	5			1 20.0%	1 20.0%	2 40.0%	1 20.0%	
	K-12 SCHOOL PRINCIPAL	6			1 16.7%	3 50.0%	2 33.3%		
	SENIOR HIGH SCHOOL PRINCIPAL	111		1 0.9%	15 13.5%	28 25.2%	39 35.1%	25 22.5%	3 2.7%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	22			2 9.1%	6 27.3%	12 54.5%	2 9.1%	
	SPECIAL SCHOOL PRINCIPAL	22			1 4.5%	5 22.7%	14 63.6%	2 9.1%	
	ASSISTANT ELEMENTARY SCHOOL PR	146		13 8.9%	46 31.5%	31 21.2%	34 23.3%	21 14.4%	1 0.7%
	ASSISTANT MIDDLE SCHOOL PRINCI	156		13 8.3%	70 44.9%	24 15.4%	29 18.6%	18 11.5%	2 1.3%
	ASSISTANT JUNIOR HIGH SCHOOL P	6			3 50.0%	2 33.3%	1 16.7%		
	ASSISTANT K-12 SCHOOL PRINCIPA	2			1 50.0%		1 50.0%		

		<u> </u>	05-2000						
Region:	Nassau-Suffolk								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	238		12 5.0%	73 30.7%	54 22.7%	56 23.5%	42 17.6%	1 0.4%
	ASSISTANT JR./SR. HIGH SCHOOL	29		3 10.3%	10 34.5%	4 13.8%	6 20.7%	5 17.2%	1 3.4%
	ASSISTANT SPECIAL SCHOOL PRINC	22		1 4.5%	2 9.1%	5 22.7%	12 54.5%	2 9.1%	
	OTHER SCHOOL ADMINISTRATOR	40		3 7.5%	14 35.0%	13 32.5%	5 12.5%	5 12.5%	
	PREKINDERGARTEN	136	6 4.4%	29 21.3%	31 22.8%	26 19.1%	30 22.1%	11 8.1%	3 2.2%
	KINDERGARTEN	1539	42 2.7%	367 23.8%	412 26.8%	301 19.6%	272 17.7%	138 9.0%	7 0.5%
	COMMON BRANCH	8837	192 2.2%	2345 26.5%	2415 27.3%	1489 16.8%	1433 16.2%	895 10.1%	68 _{0.8%}
	SPECIAL EDUCATION	6522	165 2.5%	1425 21.8%	1384 21.2%	1308 20.1%	1679 25.7%	512 ^{7.9%}	49 _{0.8%}
	READING	1676	14 0.8%	307 18.3%	392 23.4%	273 16.3%	426 25.4%	247 14.7%	17 1.0%
	ENGLISH LANGUAGE	3152	122 3.9%	932 29.6%	752 23.9%	447 14.2%	566 18.0%	309 9.8%	24 0.8%
	FOREIGN LANGUAGE	1661	73 4.4%	385 23.2%	337 20.3%	312 18.8%	349 21.0%	183 11.0%	22 1.3%
	BILINGUAL EDUCATION	123		23 18.7%	41 33.3%	37 30.1%	16 13.0%	5 4.1%	1 0.8%
	ENGLISH AS A SECOND LANGUAGE	787	8 1.0%	136 17.3%	196 24.9%	144 18.3%	172 21.9%	122 15.5%	9 1.1%
	MATHEMATICS	2912	186 6.4%	682 23.4%	670 23.0%	516 17.7%	530 18.2%	314 10.8%	14 0.5%
	SCIENCE	2963	79 2.7%	726 24.5%	717 24.2%	594 20.0%	581 19.6%	242 8.2%	24 0.8%

Region:	Nassau-Suffolk								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57 -64	Over-64
	SOCIAL STUDIES	2622	123 4.7%	772 29.4%	720 27.5%	396 15.1%	359 13.7%	225 8.6%	27 1.0%
	ART	1259	36 2.9%	279 22.2%	254 20.2%	221 17.6%	320 25.4%	138 11.0%	11 0.9%
	MUSIC	1793	99 5.5%	422 23.5%	344 19.2%	336 18.7%	459 25.6%	119 6.6%	14 0.8%
	ART/MUSIC	18		3 16.7%	5 27.8%	3 16.7%	4 22.2%	3 16.7%	
	HEALTH EDUCATION	592	24 4.1%	178 30.1%	126 21.3%	98 16.6%	121 20.4%	43 7.3%	2 0.3%
	SAFETY EDUCATION	13		1 7.7%		2 15.4%	6 46.2%	4 30.8%	
	PHYSICAL EDUCATION	2002	84 4.2%	542 27.1%	530 26.5%	347 17.3%	385 19.2%	112 5.6%	2 0.1%
	AGRICULTURE	15	1 6.7%	1 6.7%	1 6.7%	5 33.3%	6 40.0%	1 6.7%	
	BUSINESS/MARKETING	455	4 0.9%	74 16.3%	100 22.0%	113 24.8%	102 22.4%	60 13.2%	2 0.4%
	HOME ECONOMICS	244	5 2.0%	26 10.7%	35 14.3%	48 19.7%	91 37.3%	34 13.9%	5 2.0%
	TECHNOLOGY	254	4 1.6%	36 14.2%	40 15.7%	59 23.2%	82 32.3%	31 12.2%	2 0.8%
	TRADE EDUCATION	167	2 1.2%	12 7.2%	18 10.8%	41 24.6%	58 34.7%	32 19.2%	4 2.4%
	TECHNICAL EDUCATION	14		1 7.1%	4 28.6%	4 28.6%	4 28.6%	1 7.1%	
	HEALTH OCCUPATION	24		2 8.3%	1 4.2%	4 16.7%	9 37.5%	8 33.3%	
	GENERAL OCCUPATIONAL EDUCATION	701	18 2.6%	95 13.6%	124 17.7%	153 21.8%	219 31.2%	88 12.6%	4 0.6%

Region:	Nassau-Suffolk								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	46		4 8.7%	6 13.0%	10 21.7%	18 39.1%	8 17.4%	
	LIBRARY	653	3 0.5%	72 11.0%	119 18.2%	103 15.8%	209 32.0%	133 20.4%	14 2.1%
	LEARNING TECHNOLOGY	17			3 17.6%	7 41.2%	6 35.3%	1 5.9%	
	HUMANITIES/PERFORMING ARTS	28		8 28.6%	2 7.1%	11 39.3%	6 21.4%	1 3.6%	
	DANCE	15		7 46.7%	6 40.0%	2 13.3%			
	THEATER	55		14 25.5%	11 20.0%	10 18.2%	13 23.6%	6 10.9%	1 1.8%
	COMBINED COURSES	77		16 20.8%	20 26.0%	17 22.1%	15 19.5%	9 11.7%	
	OTHER SUBJECT	1419	63 4.4%	333 23.5%	314 22.1%	255 18.0%	279 19.7%	154 10.9%	21 1.5%
	HELPING TEACHER	94	8 8.5%	26 27.7%	21 22.3%	13 13.8%	16 17.0%	9 9.6%	1 1.1%
	GIFTED/TALENTED	154	1 0.6%	21 13.6%	25 16.2%	27 17.5%	45 29.2%	33 21.4%	2 1.3%
	GENERAL COOPERATIVE WORK EXPER	31		5 16.1%	2 6.5%	4 12.9%	13 41.9%	7 22.6%	
	COMPUTER STUDIES	246	2 0.8%	35 14.2%	58 23.6%	55 22.4%	60 24.4%	33 13.4%	3 1.2%
	Summary	45662	1283 2.8%	10040 22.0%	10571 23.2%	8253 18.1%	10053 22.0%	5013 11.0%	449 1.0%

Region:	Mid-Hudson	-	05-2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	78				3 3.8%	27 34.6%	41 52.6%	7 9.0%
	SUPERINTENDENT, DEPENDENT	38				4 10.5%	15 39.5%	16 42.1%	3 7.9%
	DEPUTY OR ASSOCIATE SUPERINTEN	32			1 3.1%	2 6.3%	9 28.1%	19 59.4%	1 3.1%
	ASSISTANT SUPERINTENDENT	32			1 3.1%	6 18.8%	16 50.0%	9 28.1%	
	ASSISTANT SUPERINTENDENT SPECI	128			6 4.7%	30 23.4%	55 43.0%	35 27.3%	2 1.6%
	BUSINESS MANAGER	39			6 15.4%	10 25.6%	15 38.5%	8 20.5%	
	ADMINISTRATIVE ASSISTANT	7				1 14.3%	4 57.1%	2 28.6%	
	DIRECTOR/COORDINATOR	583		15 ^{2.6%}	83 14.2%	110 18.9%	222 38.1%	139 23.8%	14 2.4%
	ASSISTANT DIRECTOR/COORDINATOR	56		2 3.6%	6 10.7%	14 25.0%	23 41.1%	9 16.1%	2 3.6%
	SUPERVISOR	78		2 2.6%	11 14.1%	19 24.4%	24 30.8%	22 28.2%	
	DEPARTMENT CHAIRPERSON	360	1 0.3%	11 3.1%	59 16.4%	67 18.6%	137 38.1%	76 21.1%	9 2.5%
	ATTENDANCE TEACHER	14		2 14.3%	2 14.3%	3 21.4%	4 28.6%	2 14.3%	1 7.1%
	SCHOOL PSYCHOLOGIST	701	1 0.1%	116 16.5%	170 24.3%	116 16.5%	177 25.2%	106 15.1%	15 2.1%
	SOCIAL WORKER	398	1 0.3%	35 8.8%	82 20.6%	87 21.9%	114 28.6%	74 18.6%	5 1.3%
	GUIDANCE COUNSELOR	829	5	157	232	158	173	91	13

Region:	Mid-Hudson								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57 -64	Over-64
	NURSE TEACHER	56			3 5.4%	8 14.3%	26 46.4%	16 28.6%	3 5.4%
	SCHOOL NURSE/PRACTITIONER	602		3 0.5%	35 5.8%	117 19.4%	282 46.8%	140 23.3%	25 4.2%
	DENTAL HYGIENIST	1					1 100.0%		
	OTHER NONTEACHING	359		29 8.1%	57 15.9%	76 21.2%	119 33.1%	68 18.9%	10 2.8%
	ELEMENTARY SCHOOL PRINCIPAL	345		2 0.6%	30 8.7%	66 19.1%	150 43.5%	88 25.5%	9 2.6%
	MIDDLE SCHOOL PRINCIPAL	102		3 2.9%	14 13.7%	30 29.4%	37 36.3%	16 15.7%	2 2.0%
	JUNIOR HIGH SCHOOL PRINCIPAL	4					2 50.0%	2 50.0%	
	K-12 SCHOOL PRINCIPAL	7			1 14.3%	2 28.6%	2 28.6%	2 28.6%	
	SENIOR HIGH SCHOOL PRINCIPAL	120		1 0.8%	18 15.0%	19 15.8%	52 43.3%	24 20.0%	6 5.0%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	26			4 15.4%	7 26.9%	11 42.3%	4 15.4%	
	SPECIAL SCHOOL PRINCIPAL	15				3 20.0%	7 46.7%	5 33.3%	
	ASSISTANT ELEMENTARY SCHOOL PR	138		11 8.0%	40 29.0%	26 18.8%	43 31.2%	17 12.3%	1 0.7%
	ASSISTANT MIDDLE SCHOOL PRINCI	127		5 3.9%	30 23.6%	35 27.6%	41 32.3%	16 12.6%	
	ASSISTANT JUNIOR HIGH SCHOOL P	21		1 4.8%	7 33.3%	6 28.6%	4 19.0%	3 14.3%	
	ASSISTANT K-12 SCHOOL PRINCIPA	5			1 20.0%		3 60.0%	1 20.0%	

			103-2000						
Region:	Mid-Hudson								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	191		10 5.2%	54 28.3%	42 22.0%	55 28.8%	29 15.2%	1 0.5%
	ASSISTANT JR./SR. HIGH SCHOOL	21		2 9.5%	10 47.6%	2 9.5%	6 28.6%	1 4.8%	
	ASSISTANT SPECIAL SCHOOL PRINC	2				1 50.0%		1 50.0%	
	OTHER SCHOOL ADMINISTRATOR	20		1 5.0%	6 30.0%	3 15.0%	6 30.0%	4 20.0%	
	PREKINDERGARTEN	177	5 2.8%	27 15.3%	46 26.0%	20 11.3%	49 27.7%	29 16.4%	1 0.6%
	KINDERGARTEN	1109	18 1.6%	218 19.7%	279 25.2%	197 17.8%	261 23.5%	119 10.7%	17 1.5%
	COMMON BRANCH	6419	168 2.6%	1424 22.2%	1613 25.1%	1170 18.2%	1221 19.0%	773 12.0%	50 0.8%
	SPECIAL EDUCATION	5265	119 2.3%	907 17.2%	1091 20.7%	1073 20.4%	1493 28.4%	538 10.2%	44 0.8%
	READING	1208	11 0.9%	203 16.8%	226 18.7%	207 17.1%	330 27.3%	218 18.0%	13 1.1%
	ENGLISH LANGUAGE	2511	85 3.4%	592 23.6%	648 25.8%	379 15.1%	509 20.3%	287 11.4%	11 0.4%
	FOREIGN LANGUAGE	1218	45 3.7%	216 17.7%	220 18.1%	235 19.3%	312 25.6%	174 14.3%	16 1.3%
	BILINGUAL EDUCATION	127	2 1.6%	12 ^{9.4%}	29 22.8%	42 33.1%	28 22.0%	13 10.2%	1 0.8%
	ENGLISH AS A SECOND LANGUAGE	605	9 1.5%	72 11.9%	136 22.5%	149 ^{24.6%}	145 24.0%	85 14.0%	9 1.5%
	MATHEMATICS	2320	114 4.9%	469 20.2%	502 21.6%	441 19.0%	503 21.7%	271 11.7%	20 0.9%
	SCIENCE	2226	56 2.5%	439 19.7%	503 22.6%	461 20.7%	471 21.2%	267 12.0%	29 1.3%

		20	103-2000						
Region:	Mid-Hudson								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	2099	66 3.1%	488 23.2%	586 27.9%	351 16.7%	349 16.6%	246 11.7%	13 _{0.6%}
	ART	977	23 2.4%	134 13.7%	189 19.3%	194 19.9%	313 32.0%	116 11.9%	8 0.8%
	MUSIC	1151	71 6.2%	203 17.6%	166 14.4%	261 22.7%	329 28.6%	102 8.9%	19 1.7%
	ART/MUSIC	31	1 3.2%	3 9.7%	8 25.8%	3 9.7%	13 41.9%	3 9.7%	
	HEALTH EDUCATION	413	20 4.8%	108 26.2%	79 19.1%	67 16.2%	97 23.5%	41 9.9%	1 0.2%
	SAFETY EDUCATION	3				1 33.3%	1 33.3%	1 33.3%	
	PHYSICAL EDUCATION	1492	53 3.6%	358 24.0%	356 23.9%	263 17.6%	337 22.6%	122 8.2%	3 0.2%
	AGRICULTURE	13		2 15.4%	4 30.8%	2 15.4%	3 23.1%	2 15.4%	
	BUSINESS/MARKETING	249	2 0.8%	18 7.2%	45 18.1%	61 24.5%	69 27.7%	52 20.9%	2 0.8%
	HOME ECONOMICS	151	1 0.7%	9 6.0%	16 10.6%	35 23.2%	66 43.7%	20 13.2%	4 2.6%
	TECHNOLOGY	189	7 3.7%	24 12.7%	27 14.3%	42 22.2%	70 37.0%	19 10.1%	
	TRADE EDUCATION	186		15 8.1%	27 14.5%	42 22.6%	61 32.8%	34 18.3%	7 3.8%
	TECHNICAL EDUCATION	17			3 17.6%	5 29.4%	8 47.1%	1 5.9%	
	HEALTH OCCUPATION	44		1 2.3%	4 9.1%	16 36.4%	12 27.3%	10 22.7%	1 2.3%
	GENERAL OCCUPATIONAL EDUCATION	448	10 2.2%	44 9.8%	55 12.3%	95 21.2%	173 ^{38.6%}	64 14.3%	7 1.6%

		<u> </u>	05-2000						
egion:	Mid-Hudson								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	39		2 5.1%	5 12.8%	10 25.6%	7 17.9%	13 33.3%	2 5.1%
	LIBRARY	476	2 0.4%	20 4.2%	69 14.5%	66 13.9%	174 36.6%	132 27.7%	13 2.7%
	LEARNING TECHNOLOGY	24		2 8.3%	2 8.3%	8 33.3%	8 33.3%	4 16.7%	
	HUMANITIES/PERFORMING ARTS	12		2 16.7%	3 25.0%	5 41.7%		1 8.3%	1 8.3%
	DANCE	15		2 13.3%	3 20.0%	4 26.7%	5 33.3%	1 6.7%	
	THEATER	35	1 2.9%	3 8.6%	7 20.0%	9 25.7%	10 28.6%	5 14.3%	
	COMBINED COURSES	41		4 9.8%	15 36.6%	6 14.6%	7 17.1%	9 22.0%	
	OTHER SUBJECT	1231	47 3.8%	254 20.6%	288 23.4%	194 15.8%	291 23.6%	146 11.9%	11 0.9%
	HELPING TEACHER	118	5 4.2%	32 27.1%	30 25.4%	16 13.6%	17 14.4%	15 12.7%	3 2.5%
	GIFTED/TALENTED	87		9 10.3%	23 26.4%	18 20.7%	20 23.0%	16 18.4%	1 1.1%
	GENERAL COOPERATIVE WORK EXPER	29			8 27.6%	9 31.0%	9 31.0%	3 10.3%	
	COMPUTER STUDIES	229	1 0.4%	12 5.2%	51 22.3%	52 22.7%	68 29.7%	40 17.5%	5 2.2%
	Summary	34564	854 2.5%	6027 17.4%	7487 21.7%	6556 19.0%	8693 25.2%	4545 13.1%	402 1.2%

Region:	Upper Hudson	-							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	35			2 5.7%	1 2.9%	17 48.6%	13 37.1%	2 5.7%
	SUPERINTENDENT, DEPENDENT	41			5 12.2%	4 9.8%	12 29.3%	17 41.5%	3 7.3%
	DEPUTY OR ASSOCIATE SUPERINTEN	8				1 12.5%	5 62.5%	2 25.0%	
	ASSISTANT SUPERINTENDENT	14			1 7.1%	4 28.6%	7 50.0%	2 14.3%	
	ASSISTANT SUPERINTENDENT SPECI	34		1 2.9%	4 11.8%	9 26.5%	14 41.2%	6 17.6%	
	BUSINESS MANAGER	43		1 2.3%	6 14.0%	13 30.2%	12 27.9%	11 25.6%	
	ADMINISTRATIVE ASSISTANT	2						2 100.0%	
	DIRECTOR/COORDINATOR	287	1 0.3%	12 4.2%	47 16.4%	61 21.3%	111 38.7%	52 18.1%	3 1.0%
	ASSISTANT DIRECTOR/COORDINATOR	29			6 20.7%	7 24.1%	9 31.0%	6 20.7%	1 3.4%
	SUPERVISOR	62		2 3.2%	15 24.2%	12 19.4%	21 33.9%	12 19.4%	
	DEPARTMENT CHAIRPERSON	184		5 2.7%	31 16.8%	48 26.1%	73 39.7%	26 14.1%	1 0.5%
	ATTENDANCE TEACHER	4			1 25.0%		3 75.0%		
	SCHOOL PSYCHOLOGIST	216		45 20.8%	59 27.3%	46 21.3%	43 19.9%	23 10.6%	
	SOCIAL WORKER	241	1 0.4%	18 7.5%	36 14.9%	66 27.4%	90 37.3%	28 11.6%	2 0.8%
	GUIDANCE COUNSELOR	381		55 14.4%	126 33.1%	83 21.8%	74 19.4%	39 10.2%	4 1.0%

Region:	Upper Hudson								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	20				6 30.0%	6 30.0%	8 40.0%	
	SCHOOL NURSE/PRACTITIONER	270	1 0.4%	6 2.2%	23 8.5%	74 27.4%	106 39.3%	56 20.7%	4 1.5%
	DENTAL HYGIENIST	1						1 100.0%	
	OTHER NONTEACHING	134	1 0.7%	12 9.0%	27 20.1%	38 28.4%	42 31.3%	13 9.7%	1 0.7%
	ELEMENTARY SCHOOL PRINCIPAL	155		4 2.6%	28 18.1%	30 19.4%	64 41.3%	26 16.8%	3 1.9%
	MIDDLE SCHOOL PRINCIPAL	58		2 3.4%	9 15.5%	14 24.1%	26 44.8%	7 12.1%	
	JUNIOR HIGH SCHOOL PRINCIPAL	5			1 20.0%	1 20.0%	3 60.0%		
	K-12 SCHOOL PRINCIPAL	15			2 13.3%	7 46.7%	5 33.3%	1 6.7%	
	SENIOR HIGH SCHOOL PRINCIPAL	53		2 3.8%	7 13.2%	12 22.6%	21 39.6%	10 18.9%	1 1.9%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	18		1 5.6%	3 16.7%	7 38.9%	3 16.7%	4 22.2%	
	SPECIAL SCHOOL PRINCIPAL	2			1 50.0%		1 50.0%		
	ASSISTANT ELEMENTARY SCHOOL PR	16		2 12.5%	6 37.5%	4 25.0%	1 6.3%	3 18.8%	
	ASSISTANT MIDDLE SCHOOL PRINCI	41		2 4.9%	8 19.5%	15 36.6%	11 26.8%	5 12.2%	
	ASSISTANT JUNIOR HIGH SCHOOL P	2			1 50.0%		1 50.0%		
	ASSISTANT K-12 SCHOOL PRINCIPA	2		2 100.0%					

Upper Hudson								
Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
ASSISTANT SENIOR HIGH SCHOOL P	52		5 9.6%	16 30.8%	14 26.9%	12 23.1%	5 9.6%	
ASSISTANT JR./SR. HIGH SCHOOL	13			10 76.9%	2 15.4%	1 7.7%		
ASSISTANT SPECIAL SCHOOL PRINC								
OTHER SCHOOL ADMINISTRATOR	13		3 23.1%	2 15.4%	2 15.4%	5 38.5%	1 7.7%	
PREKINDERGARTEN	52	2 3.8%	12 23.1%	8 15.4%	10 19.2%	13 25.0%	6 11.5%	1 1.9%
KINDERGARTEN	530	16 3.0%	110 20.8%	138 26.0%	95 17.9%	113 21.3%	56 10.6%	2 0.4%
COMMON BRANCH	2959	75 2.5%	636 21.5%	664 22.4%	546 18.5%	710 24.0%	316 10.7%	12 0.4%
SPECIAL EDUCATION	2203	68 3.1%	398 18.1%	548 24.9%	477 21.7%	559 25.4%	145 6.6%	8 0.4%
READING	756	12 1.6%	129 17.1%	157 20.8%	140 18.5%	211 27.9%	103 13.6%	4 0.5%
ENGLISH LANGUAGE	1173	39 3.3%	272 23.2%	266 22.7%	212 18.1%	280 23.9%	100 8.5%	4 0.3%
FOREIGN LANGUAGE	531	22 4.1%	108 20.3%	119 22.4%	107 20.2%	120 22.6%	51 ^{9.6%}	4 0.8%
BILINGUAL EDUCATION								
ENGLISH AS A SECOND LANGUAGE	95	1 1.1%	18 18.9%	23 24.2%	18 18.9%	28 29.5%	7 7.4%	
MATHEMATICS	1146	72 6.3%	218 19.0%	229 20.0%	224 19.5%	272 23.7%	126 11.0%	5 0.4%
SCIENCE	1009	29 2.9%	194 19.2%	235 23.3%	225 22.3%	240 23.8%	84 8.3%	2 0.2%
	Stat-Cd ASSISTANT SENIOR HIGH SCHOOL P ASSISTANT JR./SR. HIGH SCHOOL ASSISTANT SPECIAL SCHOOL PRINC OTHER SCHOOL ADMINISTRATOR PREKINDERGARTEN KINDERGARTEN COMMON BRANCH SPECIAL EDUCATION READING ENGLISH LANGUAGE BILINGUAL EDUCATION ENGLISH AS A SECOND LANGUAGE MATHEMATICS	Stat-CdCountASSISTANT SENIOR HIGH SCHOOL P52ASSISTANT JR./SR. HIGH SCHOOL13ASSISTANT SPECIAL SCHOOL PRINC13OTHER SCHOOL ADMINISTRATOR13PREKINDERGARTEN52KINDERGARTEN530COMMON BRANCH2959SPECIAL EDUCATION2203READING756ENGLISH LANGUAGE1173FOREIGN LANGUAGE531BILINGUAL EDUCATION25MATHEMATICS1146	Stat-CdCountUnder-26ASSISTANT SENIOR HIGH SCHOOL P52ASSISTANT JR./SR. HIGH SCHOOL13ASSISTANT SPECIAL SCHOOL PRINC13OTHER SCHOOL ADMINISTRATOR13PREKINDERGARTEN52SOMMON BRANCH295925%SPECIAL EDUCATION2203683.1%READING1173900 EIGN LANGUAGE5312224.1%BILINGUAL EDUCATION221ENGLISH AS A SECOND LANGUAGE951146726.3%501ENCE100929	Stat-Cd Count Under-26 26-32 ASSISTANT SENIOR HIGH SCHOOL P 52 5 9.6% ASSISTANT JR./SR. HIGH SCHOOL 13 3 23.1% ASSISTANT SPECIAL SCHOOL PRINC 13 23.1% OTHER SCHOOL ADMINISTRATOR 13 23.1% PREKINDERGARTEN 52 2 12 3.8% 23.1% 3.8% 23.1% KINDERGARTEN 52 2 12 3.8% 23.1% 23.1% 23.1% KINDERGARTEN 52 2 12 SPECIAL EDUCATION 2059 75 636 2.5% 21.5% 21.5% 25% 21.5% SPECIAL EDUCATION 2003 68 398 3.1% 18.1% READING 756 12 129 1.6% 17.1% 23.2% FOREIGN LANGUAGE 531 22 108 20.3% 23.2% FOREIGN LANGUAGE 531 22 108 20.3% BILING	Stat-Cd Count Under-26 26-32 33-40 ASSISTANT SENIOR HIGH SCHOOL P 52 5 16 9.6% 30.8% ASSISTANT JR./SR. HIGH SCHOOL 13 10 76.9% 76.9% ASSISTANT SPECIAL SCHOOL PRINC 13 3 2 23.1% 15.4% OTHER SCHOOL ADMINISTRATOR 13 3.8% 23.1% 15.4% PREKINDERGARTEN 52 2 12 8 3.8% 23.1% 15.4% 15.4% KINDERGARTEN 530 16 110 138 3.0% 20.8% 26.0% 26.0% 26.0% COMMON BRANCH 2959 75 636 664 2.5% 21.5% 22.4% 24.9% READING 766 12 129 157 READING 756 12 129 157 1.6% 17.1% 20.8% ENGLISH LANGUAGE 531 22 108 119 4.1% 20.3% 22.7%	Stat-Cd Count Under-26 26-32 33-40 41-8 ASSISTANT SENIOR HIGH SCHOOL P 52 5 16 14 ASSISTANT JR/SR. HIGH SCHOOL 13 10 2 78.9% 15.4% ASSISTANT SPECIAL SCHOOL PRINC 13 3 2 2 2 15.4% 15.4% OTHER SCHOOL ADMINISTRATOR 13 3 2 2 2 12 8 10 2 78.9% 15.4% 15.4% 15.4% 15.4% 15.4% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 19.2% 15.4% 15.4% 15.5% 21.5% 22.4%	Stat-Cd Count Under-26 26-32 33-40 41-48 49-56 ASSISTANT SENIOR HIGH SCHOOL P 52 5 16 14 12 23.1% ASSISTANT SENIOR HIGH SCHOOL 13 10 2 1 76.9% 15.4% 7.7% ASSISTANT SPECIAL SCHOOL PRINC 13 3 2 2 5 33.6% 26.9% 38.5% PREKINDERGARTEN 52 2 12 8 10 13 COMMON BRANCH 530 16 110 138 95 113 COMMON BRANCH 2959 75 636 664 546 710 SPECIAL EDUCATION 2203 68 398 548 477 559 SIN 18.1% 117.1% 20.9% 118.5% 21.7% 25.4% READING 756 12 129 157 140 211 1.6% 23.3% 23.2% 22.7% 18.1% 23.9% FOREIGN LANGUAGE <td>Stat-Cd Count Under-26 26-32 33-40 41-48 49-56 57-64 ASSISTANT SENIOR HIGH SCHOOL P 52 5 16 14 12 5 ASSISTANT JR./SR. HIGH SCHOOL 13 10 2 1 7.5% 15.4% 7.7% ASSISTANT SPECIAL SCHOOL PRINC 13 3 2 2 5 1 OTHER SCHOOL ADMINISTRATOR 13 3 2 2 5 1 PREKINDERGARTEN 52 2 12 8 10 13 6 3.0% 23.1% 15.4% 19.2% 25.0% 11.5% VINDERGARTEN 530 16 110 138 95 11.3 56 COMMON BRANCH 2959 755 636 664 546 710 316 2.5% 21.5% 24.9% 21.7% 25.4% 6.5% READING 756 12 129 157 140 211 10.3 </td>	Stat-Cd Count Under-26 26-32 33-40 41-48 49-56 57-64 ASSISTANT SENIOR HIGH SCHOOL P 52 5 16 14 12 5 ASSISTANT JR./SR. HIGH SCHOOL 13 10 2 1 7.5% 15.4% 7.7% ASSISTANT SPECIAL SCHOOL PRINC 13 3 2 2 5 1 OTHER SCHOOL ADMINISTRATOR 13 3 2 2 5 1 PREKINDERGARTEN 52 2 12 8 10 13 6 3.0% 23.1% 15.4% 19.2% 25.0% 11.5% VINDERGARTEN 530 16 110 138 95 11.3 56 COMMON BRANCH 2959 755 636 664 546 710 316 2.5% 21.5% 24.9% 21.7% 25.4% 6.5% READING 756 12 129 157 140 211 10.3

		2	105-2000						
Region:	Upper Hudson								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	942	26 2.8%	239 25.4%	227 24.1%	171 18.2%	181 19.2%	96 10.2%	2 0.2%
	ART	440	10 2.3%	60 13.6%	81 18.4%	101 23.0%	133 30.2%	54 12.3%	1 0.2%
	MUSIC	560	32 5.7%	121 21.6%	99 17.7%	122 21.8%	139 24.8%	45 8.0%	2 _{0.4%}
	ART/MUSIC	6	1 16.7%	1 16.7%	1 16.7%		3 50.0%		
	HEALTH EDUCATION	204	3 1.5%	41 20.1%	35 17.2%	39 19.1%	65 31.9%	20 9.8%	1 0.5%
	SAFETY EDUCATION	6				2 33.3%	3 50.0%		1 16.7%
	PHYSICAL EDUCATION	693	16 2.3%	163 23.5%	159 22.9%	139 20.1%	180 26.0%	34 4.9%	2 0.3%
	AGRICULTURE	12		1 8.3%	3 25.0%	2 16.7%	4 33.3%	2 16.7%	
	BUSINESS/MARKETING	193	3 1.6%	22 11.4%	37 19.2%	51 26.4%	52 26.9%	27 14.0%	1 0.5%
	HOME ECONOMICS	108	5 4.6%	11 10.2%	11 10.2%	27 25.0%	41 38.0%	13 12.0%	
	TECHNOLOGY	159	4 2.5%	22 13.8%	34 21.4%	47 29.6%	34 21.4%	17 10.7%	1 0.6%
	TRADE EDUCATION	71	1 1.4%	3 4.2%	15 21.1%	16 22.5%	22 31.0%	13 18.3%	1 1.4%
	TECHNICAL EDUCATION	12		2 16.7%	4 33.3%	4 33.3%	2 16.7%		
	HEALTH OCCUPATION	19	1 5.3%		1 5.3%	3 15.8%	9 47.4%	5 26.3%	
	GENERAL OCCUPATIONAL EDUCATION	322	11 3.4%	41 12.7%	42 13.0%	89 27.6%	107 33.2%	30 9.3%	2 ^{0.6%}
			3.4%	12.1%	13.0%	27.0%	33.2%	9.3%	U

Region:	Upper Hudson								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	40	1 2.5%	3 7.5%	7 17.5%	6 15.0%	15 37.5%	7 17.5%	1 2.5%
	LIBRARY	246		29 11.8%	33 13.4%	41 16.7%	87 35.4%	53 21.5%	3 1.2%
	LEARNING TECHNOLOGY	1					1 100.0%		
	HUMANITIES/PERFORMING ARTS	6				1 16.7%	4 66.7%	1 16.7%	
	DANCE	4		1 25.0%		1 25.0%	1 25.0%	1 25.0%	
	THEATER	20		2 10.0%	5 25.0%	5 25.0%	5 25.0%	3 15.0%	
	COMBINED COURSES	33		5 15.2%	11 33.3%	5 15.2%	8 24.2%	4 12.1%	
	OTHER SUBJECT	629	24 3.8%	143 22.7%	144 22.9%	123 19.6%	136 21.6%	57 ^{9.1%}	2 0.3%
	HELPING TEACHER	18		1 5.6%	4 22.2%	2 11.1%	7 38.9%	3 16.7%	1 5.6%
	GIFTED/TALENTED	35	1 2.9%	5 14.3%	3 8.6%	8 22.9%	14 40.0%	4 11.4%	
	GENERAL COOPERATIVE WORK EXPER	9	1 11.1%	2 22.2%	2 22.2%		3 33.3%	1 11.1%	
	COMPUTER STUDIES	96	2 2.1%	10 10.4%	21 21.9%	30 31.3%	21 21.9%	12 12.5%	
	Summary	15565	427 2.7%	2840 18.2%	3406 21.9%	3192 20.5%	3995 25.7%	1622 10.4%	83 0.5%

Lake Champlain-Lake George

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SUPERINTENDENT, INDEPENDENT	12			1		10	1	
				8.3%		83.3%	8.3%	
SUPERINTENDENT, DEPENDENT	37		1	6	2	11	12	5
			2.7%	16.2%	5.4%	29.7%	32.4%	13.5%
DEPUTY OR ASSOCIATE SUPERINTEN	2					1	1	
						50.0%	50.0%	
ASSISTANT SUPERINTENDENT	4				1	2	1	
					25.0%	50.0%	25.0%	
ASSISTANT SUPERINTENDENT SPECI	4				2	1	1	
					50.0%	25.0%	25.0%	
BUSINESS MANAGER	14			2	3	7	2	
				14.3%	21.4%	50.0%	14.3%	
ADMINISTRATIVE ASSISTANT								
DIRECTOR/COORDINATOR	95		5	25	21	32	11	1
			5.3%	26.3%	22.1%	33.7%	11.6%	1.1%
ASSISTANT DIRECTOR/COORDINATOR	6				1	3	2	
					16.7%	50.0%	33.3%	
SUPERVISOR	8			1	5	1		1
				12.5%	62.5%	12.5%		12.5%
DEPARTMENT CHAIRPERSON	69		1	15	17	27	9	
			1.4%	21.7%	24.6%	39.1%	13.0%	
ATTENDANCE TEACHER	1		1					
			100.0%					
SCHOOL PSYCHOLOGIST	105		20	20	29	19	15	2
			19.0%	19.0%	27.6%	18.1%	14.3%	1.9%
SOCIAL WORKER	42		3	9	12	15	3	
			7.1%	21.4%	28.6%	35.7%	7.1%	
GUIDANCE COUNSELOR	131	1	26	41	28	27	7	1

Region:

			105-2000						
Region:	Lake Champlain-Lake George								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	9				1 11.1%	5 55.6%	3 33.3%	
	SCHOOL NURSE/PRACTITIONER	86		1 1.2%	16 18.6%	28 32.6%	30 34.9%	7 8.1%	4 4.7%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	53		6 11.3%	10 18.9%	17 32.1%	11 20.8%	9 17.0%	
	ELEMENTARY SCHOOL PRINCIPAL	40			9 22.5%	10 25.0%	14 35.0%	7 17.5%	
	MIDDLE SCHOOL PRINCIPAL	10			1 10.0%	4 40.0%	5 50.0%		
	JUNIOR HIGH SCHOOL PRINCIPAL	2				2 100.0%			
	K-12 SCHOOL PRINCIPAL	10		1 10.0%	1 10.0%	6 60.0%	2 20.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	15			3 20.0%	7 46.7%	4 26.7%	1 6.7%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	15		1 6.7%	1 6.7%	1 6.7%	8 53.3%	4 26.7%	
	SPECIAL SCHOOL PRINCIPAL								
	ASSISTANT ELEMENTARY SCHOOL PR	6		1 16.7%	1 16.7%	1 16.7%	1 16.7%	1 16.7%	1 16.7%
	ASSISTANT MIDDLE SCHOOL PRINCI	3			2 66.7%	1 33.3%			
	ASSISTANT JUNIOR HIGH SCHOOL P								

Region:	Lake Champlain-Lake George	_	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	6			5 83.3%	1 16.7%			
	ASSISTANT JR./SR. HIGH SCHOOL	10			5 50.0%	2 20.0%	3 30.0%		
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	1			1 100.0%				
	PREKINDERGARTEN	16	1 6.3%	2 12.5%	5 31.3%	4 25.0%	3 18.8%	1 6.3%	
	KINDERGARTEN	151	3 2.0%	25 16.6%	39 25.8%	32 21.2%	38 25.2%	14 9.3%	
	COMMON BRANCH	760	10 1.3%	126 16.6%	182 23.9%	178 23.4%	188 24.7%	71 9.3%	5 0.7%
	SPECIAL EDUCATION	744	14 1.9%	126 16.9%	151 20.3%	182 24.5%	214 28.8%	56 7.5%	1 0.1%
	READING	168	2 1.2%	40 23.8%	44 26.2%	35 20.8%	32 19.0%	13 7.7%	2 1.2%
	ENGLISH LANGUAGE	341	5 1.5%	65 19.1%	85 24.9%	67 19.6%	83 24.3%	35 10.3%	1 0.3%
	FOREIGN LANGUAGE	149	7 4.7%	35 23.5%	28 18.8%	28 18.8%	36 24.2%	15 10.1%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	10		2 20.0%	2 20.0%	5 50.0%	1 10.0%		
	MATHEMATICS	315	12 3.8%	55 17.5%	84 26.7%	65 20.6%	69 21.9%	29 9.2%	1 0.3%
	SCIENCE	278	5 1.8%	53 19.1%	61 21.9%	75 27.0%	63 22.7%	19 6.8%	2 0.7%

Region: Lake Champlain-Lake George

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SOCIAL STUDIES	270	10 3.7%	54 20.0%	76 28.1%	60 22.2%	46 17.0%	23 8.5%	1 0.4%
ART	120	1 0.8%	18 15.0%	26 21.7%	30 25.0%	30 25.0%	14 11.7%	1 0.8%
MUSIC	158	9 5.7%	36 22.8%	26 16.5%	35 22.2%	36 22.8%	15 ^{9.5%}	1 0.6%
ART/MUSIC	2		2 100.0%					
HEALTH EDUCATION	70	2 2.9%	10 14.3%	13 18.6%	17 24.3%	23 32.9%	5 7.1%	
SAFETY EDUCATION	16	1 6.3%	1 6.3%	2 12.5%	2 12.5%	6 37.5%	3 18.8%	1 6.3%
PHYSICAL EDUCATION	208	14 6.7%	28 13.5%	49 23.6%	45 21.6%	65 31.3%	6 2.9%	1 0.5%
AGRICULTURE	15	1 6.7%	3 20.0%	2 13.3%	2 13.3%	6 40.0%		1 6.7%
BUSINESS/MARKETING	69		6 8.7%	18 26.1%	26 37.7%	14 20.3%	5 7.2%	
HOME ECONOMICS	41		1 2.4%	3 7.3%	8 19.5%	24 58.5%	5 12.2%	
TECHNOLOGY	60	3 5.0%	7 11.7%	8 13.3%	20 33.3%	16 26.7%	6 10.0%	
TRADE EDUCATION	69		2 2.9%	12 17.4%	23 33.3%	18 26.1%	12 17.4%	2 2.9%
TECHNICAL EDUCATION	1					1 100.0%		
HEALTH OCCUPATION	19			2 10.5%	5 26.3%	8 42.1%	4 21.1%	
GENERAL OCCUPATIONAL EDUCATION	110	3 2.7%	15 13.6%	18 16.4%	33 30.0%	31 28.2%	9 8.2%	1 0.9%

		<i>4</i> 0	05-2000						
egion:	Lake Champlain-Lake George								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	17			4 23.5%	6 35.3%	5 29.4%	2 11.8%	
	LIBRARY	60		8 13.3%	4 6.7%	9 15.0%	22 36.7%	15 25.0%	2 3.3%
	LEARNING TECHNOLOGY	4					2 50.0%	2 50.0%	
	HUMANITIES/PERFORMING ARTS	2		1 50.0%			1 50.0%		
	DANCE								
	THEATER	6	1 16.7%	3 50.0%		1 16.7%	1 16.7%		
	COMBINED COURSES	8		2 25.0%	3 37.5%	1 12.5%	2 25.0%		
	OTHER SUBJECT	315	5 1.6%	69 21.9%	82 26.0%	62 19.7%	67 21.3%	28 8.9%	2 0.6%
	HELPING TEACHER	22		3 13.6%	7 31.8%	7 31.8%	4 18.2%	1 4.5%	
	GIFTED/TALENTED	21		3 14.3%	3 14.3%	2 9.5%	5 23.8%	7 33.3%	1 4.8%
	GENERAL COOPERATIVE WORK EXPER	12			3 25.0%	3 25.0%	3 25.0%	3 25.0%	
	COMPUTER STUDIES	36		6 16.7%	10 27.8%	7 19.4%	9 25.0%	3 8.3%	1 2.8%
	Summary	4660	97 2.1%	746 16.0%	1031 22.1%	1075 23.1%	1213 26.0%	459 9.8%	39 0.8%

Region:	Black River-St Lawrence								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	14				3 21.4%	5 35.7%	5 35.7%	1 7.1%
	SUPERINTENDENT, DEPENDENT	27			3 11.1%	5 18.5%	12 44.4%	6 22.2%	1 3.7%
	DEPUTY OR ASSOCIATE SUPERINTEN								
	ASSISTANT SUPERINTENDENT	4					4 100.0%		
	ASSISTANT SUPERINTENDENT SPECI	8				1 12.5%	4 50.0%	3 37.5%	
	BUSINESS MANAGER	7			2 28.6%	2 28.6%	3 42.9%		
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	103		2 1.9%	16 15.5%	30 29.1%	35 34.0%	20 19.4%	
	ASSISTANT DIRECTOR/COORDINATOR	7		1 14.3%	2 28.6%	2 28.6%	2 28.6%		
	SUPERVISOR	16			2 12.5%	4 25.0%	5 31.3%	4 25.0%	1 6.3%
	DEPARTMENT CHAIRPERSON	70		2 2.9%	10 14.3%	17 24.3%	28 40.0%	13 18.6%	
	ATTENDANCE TEACHER	3					3 100.0%		
	SCHOOL PSYCHOLOGIST	68		8 11.8%	20 29.4%	14 20.6%	21 30.9%	5 7.4%	
	SOCIAL WORKER	21	1 4.8%	1 4.8%	4 19.0%	5 23.8%	7 33.3%	3 14.3%	
	GUIDANCE COUNSELOR	150		20 13.3%	58 38.7%	35 23.3%	29 19.3%	7 4.7%	1 0.7%

		20	105-2000						
Region:	Black River-St Lawrence								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	3					2 66.7%	1 33.3%	
	SCHOOL NURSE/PRACTITIONER	96		2 2.1%	11 11.5%	24 25.0%	43 44.8%	14 14.6%	2 2.1%
	DENTAL HYGIENIST	1				1 100.0%			
	OTHER NONTEACHING	49		3 6.1%	17 34.7%	8 16.3%	13 26.5%	7 14.3%	1 2.0%
	ELEMENTARY SCHOOL PRINCIPAL	52		1 1.9%	8 15.4%	15 28.8%	13 25.0%	15 28.8%	
	MIDDLE SCHOOL PRINCIPAL	15			4 26.7%	4 26.7%	5 33.3%	2 13.3%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	10			3 30.0%	1 10.0%	5 50.0%	1 10.0%	
	SENIOR HIGH SCHOOL PRINCIPAL	19			2 10.5%	4 21.1%	9 47.4%	4 21.1%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	20			9 45.0%	3 15.0%	7 35.0%	1 5.0%	
	SPECIAL SCHOOL PRINCIPAL	2				1 50.0%	1 50.0%		
	ASSISTANT ELEMENTARY SCHOOL PR	4			2 50.0%	2 50.0%			
	ASSISTANT MIDDLE SCHOOL PRINCI	6			2 33.3%		3 50.0%	1 16.7%	
	ASSISTANT JUNIOR HIGH SCHOOL P	1				1 100.0%			
	ASSISTANT K-12 SCHOOL PRINCIPA	1				1			

Region:	Black River-St Lawrence	-							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	8			3 37.5%	3 37.5%		2 25.0%	
	ASSISTANT JR./SR. HIGH SCHOOL	2			1 50.0%	1 50.0%			
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	30		7 23.3%	4 13.3%	10 33.3%	8 26.7%	1 3.3%	
	KINDERGARTEN	208	5 2.4%	22 10.6%	59 28.4%	48 23.1%	54 26.0%	20 9.6%	
	COMMON BRANCH	978	15 1.5%	143 14.6%	212 21.7%	219 22.4%	289 29.6%	98 10.0%	2 0.2%
	SPECIAL EDUCATION	664	17 2.6%	91 13.7%	167 25.2%	192 28.9%	159 23.9%	35 5.3%	3 0.5%
	READING	236	5 2.1%	41 17.4%	61 25.8%	42 17.8%	70 29.7%	17 ^{7.2%}	
	ENGLISH LANGUAGE	348	11 3.2%	64 18.4%	95 27.3%	60 17.2%	95 27.3%	22 6.3%	1 0.3%
	FOREIGN LANGUAGE	148	4 2.7%	16 10.8%	48 32.4%	35 23.6%	26 17.6%	19 12.8%	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	11		3 27.3%	3 27.3%		3 27.3%	2 18.2%	
	MATHEMATICS	336	12 3.6%	53 15.8%	97 28.9%	78 23.2%	76 22.6%	20 6.0%	
	SCIENCE	304	3 1.0%	51 16.8%	86 28.3%	75 24.7%	69 22.7%	20 6.6%	
	MATHEMATICS	336	3.6% 3	27.3% 53 15.8% 51	27.3% 97 28.9% 86	23.2% 75	27.3% 76 22.6% 69	18.2% 20 6.0% 20	

Region: Black River-St Lawrence

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SOCIAL STUDIES	295	4 1.4%	55 18.6%	82 27.8%	60 20.3%	67 22.7%	27 9.2%	
ART	125	2 1.6%	20 16.0%	25 20.0%	25 20.0%	40 32.0%	12 ^{9.6%}	1 0.8%
MUSIC	173	8 4.6%	24 13.9%	42 24.3%	45 26.0%	44 25.4%	7 4.0%	3 1.7%
ART/MUSIC	4		1 25.0%		2 50.0%	1 25.0%		
HEALTH EDUCATION	61		13 21.3%	14 23.0%	13 21.3%	18 29.5%	3 4.9%	
SAFETY EDUCATION	12	1 8.3%		1 8.3%	3 25.0%	4 33.3%	2 16.7%	1 8.3%
PHYSICAL EDUCATION	214	2 0.9%	45 21.0%	51 23.8%	49 22.9%	56 26.2%	11 5.1%	
AGRICULTURE	23		5 21.7%	4 17.4%	7 30.4%	4 17.4%	3 13.0%	
BUSINESS/MARKETING	65		11 16.9%	15 23.1%	17 26.2%	19 29.2%	3 4.6%	
HOME ECONOMICS	41	1 2.4%	4 9.8%	6 14.6%	16 39.0%	11 26.8%	3 7.3%	
TECHNOLOGY	59	2 3.4%	7 11.9%	8 13.6%	22 37.3%	18 30.5%	1 1.7%	1 1.7%
TRADE EDUCATION	59	1 1.7%	2 3.4%	11 18.6%	17 28.8%	18 30.5%	8 13.6%	2 3.4%
TECHNICAL EDUCATION	4			1 25.0%	2 50.0%		1 25.0%	
HEALTH OCCUPATION	18				7 38.9%	7 38.9%	4 22.2%	
GENERAL OCCUPATIONAL EDUCATION	131	2 1.5%	18 13.7%	18 13.7%	41 31.3%	43 32.8%	7 5.3%	2 1.5%

Region:	Black River-St Lawrence								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	8			4 50.0%	3 37.5%	1 12.5%		
	LIBRARY	74	2 2.7%	9 12.2%	6 8.1%	14 18.9%	32 43.2%	11 14.9%	
	LEARNING TECHNOLOGY	5			1 20.0%	2 40.0%	1 20.0%	1 20.0%	
	HUMANITIES/PERFORMING ARTS	2					2 100.0%		
	DANCE								
	THEATER	11		2 18.2%	6 54.5%	1 9.1%	2 18.2%		
	COMBINED COURSES	5		1 20.0%	1 20.0%	1 20.0%	2 40.0%		
	OTHER SUBJECT	265	6 2.3%	50 18.9%	70 26.4%	50 18.9%	68 25.7%	18 ^{6.8%}	3 1.1%
	HELPING TEACHER	6	1 16.7%	2 33.3%	2 33.3%	1 16.7%			
	GIFTED/TALENTED	8		1 12.5%		4 50.0%	1 12.5%	2 25.0%	
	GENERAL COOPERATIVE WORK EXPER	8		1 12.5%	3 37.5%		4 50.0%		
	COMPUTER STUDIES	32	1 3.1%	1 3.1%	10 31.3%	10 31.3%	9 28.1%	1 3.1%	
	Summary	4945	92 1.9%	680 13.8%	1194 24.1%	1168 23.6%	1355 27.4%	435 8.8%	21 0.4%

		20	103-2000						
egion:	Upper Mohawk Valley								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	14				2 14.3%	7 50.0%	5 35.7%	
	SUPERINTENDENT, DEPENDENT	14			1 7.1%	1 7.1%	7 50.0%	4 28.6%	1 7.1%
	DEPUTY OR ASSOCIATE SUPERINTEN	1						1 100.0%	
	ASSISTANT SUPERINTENDENT	7			1 14.3%	2 28.6%	4 57.1%		
	ASSISTANT SUPERINTENDENT SPECI	13			3 23.1%	2 15.4%	4 30.8%	4 30.8%	
	BUSINESS MANAGER	17			5 29.4%	5 29.4%	4 23.5%	3 17.6%	
	ADMINISTRATIVE ASSISTANT	1				1 100.0%			
	DIRECTOR/COORDINATOR	85		4 4.7%	15 17.6%	14 16.5%	32 37.6%	18 21.2%	2 2.4%
	ASSISTANT DIRECTOR/COORDINATOR	7			1 14.3%	2 28.6%	4 57.1%		
	SUPERVISOR	4	1 25.0%		1 25.0%	2 50.0%			
	DEPARTMENT CHAIRPERSON	64		5 7.8%	15 23.4%	10 15.6%	24 37.5%	10 15.6%	
	ATTENDANCE TEACHER	5				1 20.0%	3 60.0%	1 20.0%	
	SCHOOL PSYCHOLOGIST	52		8 15.4%	13 25.0%	11 21.2%	14 26.9%	5 9.6%	1 1.9%
	SOCIAL WORKER	58		8 13.8%	13 22.4%	14 24.1%	17 29.3%	6 10.3%	
	GUIDANCE COUNSELOR	112		24 21.4%	37 33.0%	18 16.1%	22 19.6%	11 9.8%	

		20	103-2000						
Region:	Upper Mohawk Valley								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER								
	SCHOOL NURSE/PRACTITIONER	98	1 1.0%	1 1.0%	6 6.1%	31 31.6%	38 38.8%	18 18.4%	3 3.1%
	DENTAL HYGIENIST	1						1 100.0%	
	OTHER NONTEACHING	44		2 4.5%	4 9.1%	8 18.2%	18 40.9%	10 22.7%	2 4.5%
	ELEMENTARY SCHOOL PRINCIPAL	56		1 1.8%	9 16.1%	12 21.4%	18 32.1%	14 25.0%	2 3.6%
	MIDDLE SCHOOL PRINCIPAL	15			4 26.7%	4 26.7%	5 33.3%	2 13.3%	
	JUNIOR HIGH SCHOOL PRINCIPAL	1				1 100.0%			
	K-12 SCHOOL PRINCIPAL	1					1 100.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	19			5 26.3%	3 15.8%	9 47.4%	1 5.3%	1 5.3%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	11		1 9.1%		3 27.3%	6 54.5%	1 9.1%	
	SPECIAL SCHOOL PRINCIPAL	2			2 100.0%				
	ASSISTANT ELEMENTARY SCHOOL PR	4			2 50.0%	2 50.0%			
	ASSISTANT MIDDLE SCHOOL PRINCI	8			2 25.0%	5 62.5%	1 12.5%		
	ASSISTANT JUNIOR HIGH SCHOOL P	1			20.070	02.070	100.0%		
	ASSISTANT K-12 SCHOOL PRINCIPA						100.070		

Region:	Upper Mohawk Valley								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	10			2 20.0%	5 50.0%	1 10.0%	2 20.0%	
	ASSISTANT JR./SR. HIGH SCHOOL	3		1 33.3%		1 33.3%	1 33.3%		
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	3				2 66.7%	1 33.3%		
	PREKINDERGARTEN	30	1 3.3%	7 23.3%	6 20.0%	4 13.3%	7 23.3%	5 16.7%	
	KINDERGARTEN	171	7 4.1%	35 20.5%	30 17.5%	40 23.4%	40 23.4%	17 9.9%	2 1.2%
	COMMON BRANCH	919	29 3.2%	191 20.8%	194 21.1%	134 14.6%	266 28.9%	101 11.0%	4 0.4%
	SPECIAL EDUCATION	601	14 2.3%	85 14.1%	118 19.6%	150 25.0%	181 30.1%	50 8.3%	3 0.5%
	READING	135	5 3.7%	23 17.0%	36 26.7%	12 8.9%	42 31.1%	16 11.9%	1 0.7%
	ENGLISH LANGUAGE	320	25 7.8%	67 20.9%	62 19.4%	53 16.6%	84 26.3%	26 ^{8.1%}	3 0.9%
	FOREIGN LANGUAGE	128	4 3.1%	24 18.8%	27 21.1%	18 14.1%	40 31.3%	15 11.7%	
	BILINGUAL EDUCATION	1				1 100.0%			
	ENGLISH AS A SECOND LANGUAGE	44	1 2.3%	6 13.6%	11 25.0%	10 22.7%	8 18.2%	8 18.2%	
	MATHEMATICS	315	17 5.4%	69 21.9%	62 19.7%	67 21.3%	75 23.8%	22 7.0%	3 1.0%
	SCIENCE	285	7 2.5%	49 17.2%	60 21.1%	58 20.4%	86 30.2%	25 ^{8.8%}	

Region: Upper Mohawk Valley

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- 64	Over-64
SOCIAL STUDIES	253	13 5.1%	54 21.3%	62 24.5%	39 15.4%	58 22.9%	25 9.9%	2 0.8%
ART	122	2 1.6%	19 15.6%	23 18.9%	23 18.9%	38 31.1%	17 13.9%	
MUSIC	178	13 7.3%	30 16.9%	32 18.0%	40 22.5%	54 30.3%	8 4.5%	1 0.6%
ART/MUSIC	2				1 50.0%	1 50.0%		
HEALTH EDUCATION	52	2 3.8%	9 17.3%	10 19.2%	13 25.0%	16 30.8%	2 3.8%	
SAFETY EDUCATION	5					5 100.0%		
PHYSICAL EDUCATION	194	8 4.1%	37 19.1%	47 24.2%	38 19.6%	55 28.4%	9 4.6%	
AGRICULTURE	5			1 20.0%	1 20.0%	2 40.0%	1 20.0%	
BUSINESS/MARKETING	53	1 1.9%	6 11.3%	9 17.0%	16 30.2%	15 28.3%	6 11.3%	
HOME ECONOMICS	31			4 12.9%	5 16.1%	18 58.1%	4 12.9%	
TECHNOLOGY	63	1 1.6%	14 22.2%	9 14.3%	11 17.5%	25 39.7%	3 4.8%	
TRADE EDUCATION	37	1 2.7%	3 8.1%	4 10.8%	10 27.0%	12 32.4%	6 16.2%	1 2.7%
TECHNICAL EDUCATION	2	1 50.0%	1 50.0%					
HEALTH OCCUPATION	6			1 16.7%	3 50.0%	1 16.7%	1 16.7%	
GENERAL OCCUPATIONAL EDUCATION	98	3 3.1%	14 14.3%	12 12.2%	23 23.5%	33 33.7%	11 11.2%	2 2.0%

Region:	Upper Mohawk Valley								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	5		1 20.0%		2 40.0%	1 20.0%	1 20.0%	
	LIBRARY	75	2 2.7%	4 5.3%	9 12.0%	17 22.7%	27 36.0%	13 17.3%	3 4.0%
	LEARNING TECHNOLOGY	2		2 100.0%					
	HUMANITIES/PERFORMING ARTS								
	DANCE	1					1 100.0%		
	THEATER	4		1 25.0%	1 25.0%	2 50.0%			
	COMBINED COURSES	3					2 66.7%	1 33.3%	
	OTHER SUBJECT	336	14 4.2%	94 28.0%	62 18.5%	49 14.6%	86 25.6%	28 8.3%	3 0.9%
	HELPING TEACHER	10		3 30.0%	1 10.0%	3 30.0%	2 20.0%	1 10.0%	
	GIFTED/TALENTED	10		1 10.0%		3 30.0%	3 30.0%	2 20.0%	1 10.0%
	GENERAL COOPERATIVE WORK EXPER	2				2 100.0%			
	COMPUTER STUDIES	26		5 19.2%	2 7.7%	11 42.3%	8 30.8%		
	Summary	4634	148 3.2%	781 16.9%	918 19.8%	909 19.6%	1346 29.0%	493 10.6%	39 0.8%

Region:	Central								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	28				1 3.6%	14 50.0%	12 42.9%	1 3.6%
	SUPERINTENDENT, DEPENDENT	22			1 4.5%	4 18.2%	12 54.5%	5 22.7%	
	DEPUTY OR ASSOCIATE SUPERINTEN	6				2 33.3%	2 33.3%	1 16.7%	1 16.7%
	ASSISTANT SUPERINTENDENT	16			2 12.5%	4 25.0%	4 25.0%	6 37.5%	
	ASSISTANT SUPERINTENDENT SPECI	37			1 2.7%	12 32.4%	15 40.5%	9 24.3%	
	BUSINESS MANAGER	25			2 8.0%	9 36.0%	12 48.0%	1 4.0%	1 4.0%
	ADMINISTRATIVE ASSISTANT	1					1 100.0%		
	DIRECTOR/COORDINATOR	233		1 0.4%	32 13.7%	71 30.5%	91 39.1%	35 15.0%	3 1.3%
	ASSISTANT DIRECTOR/COORDINATOR	30	1 3.3%		4 13.3%	9 30.0%	13 43.3%	3 10.0%	
	SUPERVISOR	16			2 12.5%	3 18.8%	9 56.3%	2 12.5%	
	DEPARTMENT CHAIRPERSON	114		6 5.3%	21 18.4%	27 23.7%	46 40.4%	11 9.6%	3 2.6%
	ATTENDANCE TEACHER	3					2 66.7%		1 33.3%
	SCHOOL PSYCHOLOGIST	210		38 18.1%	48 22.9%	50 23.8%	51 24.3%	21 10.0%	2 1.0%
	SOCIAL WORKER	111		6 5.4%	26 23.4%	31 27.9%	34 30.6%	14 12.6%	
	GUIDANCE COUNSELOR	321	2 0.6%	52 16.2%	96 29.9%	61 19.0%	74 23.1%	35 10.9%	1 0.3%

Region:	Central										
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64		
	NURSE TEACHER	5			1 20.0%	1 20.0%	1 20.0%	2 40.0%			
	SCHOOL NURSE/PRACTITIONER	252		2 0.8%	17 6.7%	70 27.8%	96 38.1%	60 23.8%	7 2.8%		
	DENTAL HYGIENIST										
	OTHER NONTEACHING	255	1 0.4%	19 7.5%	46 18.0%	49 19.2%	94 36.9%	45 17.6%	1 0.4%		
	ELEMENTARY SCHOOL PRINCIPAL	139			19 13.7%	34 24.5%	56 40.3%	27 19.4%	3 2.2%		
	MIDDLE SCHOOL PRINCIPAL	52			8 15.4%	13 25.0%	25 48.1%	6 11.5%			
	JUNIOR HIGH SCHOOL PRINCIPAL	6				2 33.3%	3 50.0%	1 16.7%			
	K-12 SCHOOL PRINCIPAL	3			1 33.3%		1 33.3%	1 33.3%			
	SENIOR HIGH SCHOOL PRINCIPAL	44			8 18.2%	13 29.5%	17 38.6%	6 13.6%			
	JUNIOR/SENIOR HIGH SCHOOL PRIN	21		1 4.8%	2 9.5%	5 23.8%	10 47.6%	3 14.3%			
	SPECIAL SCHOOL PRINCIPAL	4					2 50.0%	2 50.0%			
	ASSISTANT ELEMENTARY SCHOOL PR	26		1 3.8%	4 15.4%	3 11.5%	15 57.7%	3 11.5%			
	ASSISTANT MIDDLE SCHOOL PRINCI	40		1 2.5%	13 32.5%	11 27.5%	10 25.0%	5 12.5%			
	ASSISTANT JUNIOR HIGH SCHOOL P	5		1 20.0%	1 20.0%	2 40.0%	1 20.0%				
	ASSISTANT K-12 SCHOOL PRINCIPA										

Region:	Central								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	54		3 5.6%	17 31.5%	16 29.6%	14 25.9%	3 5.6%	1 1.9%
	ASSISTANT JR./SR. HIGH SCHOOL	8			4 50.0%	3 37.5%	1 12.5%		
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	12		3 25.0%	1 8.3%	4 33.3%	2 16.7%	2 16.7%	
	PREKINDERGARTEN	63		13 20.6%	16 25.4%	9 14.3%	15 23.8%	9 14.3%	1 1.6%
	KINDERGARTEN	419	8 1.9%	74 17.7%	97 23.2%	91 21.7%	103 24.6%	43 10.3%	3 0.7%
	COMMON BRANCH	2553	57 2.2%	454 17.8%	524 20.5%	523 20.5%	679 26.6%	304 11.9%	12 0.5%
	SPECIAL EDUCATION	1790	55 3.1%	300 16.8%	397 22.2%	452 25.3%	449 25.1%	130 7.3%	7 0.4%
	READING	434	5 1.2%	67 15.4%	103 23.7%	81 18.7%	124 28.6%	51 11.8%	3 0.7%
	ENGLISH LANGUAGE	911	40 4.4%	220 24.1%	192 21.1%	145 15.9%	219 24.0%	92 10.1%	3 0.3%
	FOREIGN LANGUAGE	393	28 7.1%	88 22.4%	85 21.6%	78 19.8%	73 18.6%	38 9.7%	3 0.8%
	BILINGUAL EDUCATION	17		3 17.6%	7 41.2%	4 23.5%	3 17.6%		
	ENGLISH AS A SECOND LANGUAGE	85	2 2.4%	5 5.9%	21 24.7%	16 18.8%	25 29.4%	13 15.3%	3 3.5%
	MATHEMATICS	823	38 4.6%	165 20.0%	189 23.0%	166 20.2%	191 23.2%	74 9.0%	
	SCIENCE	772	7 0.9%	141 18.3%	169 21.9%	210 27.2%	191 24.7%	53 6.9%	1 0.1%

Region:	Central								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	730	19 2.6%	164 22.5%	176 24.1%	140 19.2%	154 21.1%	72 9.9%	5 0.7%
	ART	352	5 1.4%	55 15.6%	66 18.8%	60 17.0%	110 31.3%	51 14.5%	5 1.4%
	MUSIC	481	18 3.7%	82 17.0%	97 20.2%	114 23.7%	131 27.2%	32 6.7%	7 1.5%
	ART/MUSIC	3				1 33.3%	2 66.7%		
	HEALTH EDUCATION	154	8 5.2%	28 18.2%	33 21.4%	36 23.4%	37 24.0%	10 6.5%	2 1.3%
	SAFETY EDUCATION	5	1 20.0%	1 20.0%	1 20.0%	1 20.0%	1 20.0%		
	PHYSICAL EDUCATION	553	13 2.4%	118 21.3%	121 21.9%	131 23.7%	138 25.0%	31 5.6%	1 0.2%
	AGRICULTURE	16	1 6.3%	5 31.3%		3 18.8%	5 31.3%	2 12.5%	
	BUSINESS/MARKETING	137		9 6.6%	42 30.7%	32 23.4%	44 32.1%	10 7.3%	
	HOME ECONOMICS	72		4 5.6%	7 9.7%	11 15.3%	39 54.2%	10 13.9%	1 1.4%
	TECHNOLOGY	144	3 2.1%	27 18.8%	27 18.8%	45 31.3%	33 22.9%	7 4.9%	2 1.4%
	TRADE EDUCATION	93	1 1.1%	9 9.7%	15 16.1%	19 20.4%	31 33.3%	16 17.2%	2 2.2%
	TECHNICAL EDUCATION	10		1 10.0%		4 40.0%	5 50.0%		
	HEALTH OCCUPATION	20			3 15.0%	3 15.0%	8 40.0%	6 30.0%	
	GENERAL OCCUPATIONAL EDUCATION	264	6 2.3%	34 12.9%	48 18.2%	61 23.1%	82 31.1%	30 11.4%	3 1.1%

Region:	Central								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	12		1 8.3%	2 16.7%	2 16.7%	6 50.0%	1 8.3%	
	LIBRARY	201	4 2.0%	9 4.5%	26 12.9%	41 20.4%	77 38.3%	41 20.4%	3 1.5%
	LEARNING TECHNOLOGY	2			1 50.0%	1 50.0%			
	HUMANITIES/PERFORMING ARTS	3			1 33.3%	2 66.7%			
	DANCE	2				1 50.0%	1 50.0%		
	THEATER	6	1 16.7%	1 16.7%		2 33.3%	2 33.3%		
	COMBINED COURSES	4		1 25.0%	1 25.0%	1 25.0%	1 25.0%		
	OTHER SUBJECT	551	23 4.2%	116 21.1%	124 22.5%	106 19.2%	132 24.0%	48 8.7%	2 0.4%
	HELPING TEACHER	14			3 21.4%	4 28.6%	5 35.7%	2 14.3%	
	GIFTED/TALENTED	18		1 5.6%	2 11.1%	1 5.6%	7 38.9%	7 38.9%	
	GENERAL COOPERATIVE WORK EXPER	14		1 7.1%	4 28.6%	4 28.6%	3 21.4%	2 14.3%	
	COMPUTER STUDIES	46	1 2.2%	6 13.0%	10 21.7%	14 30.4%	10 21.7%	5 10.9%	
	Summary	12854	317 2.5%	2094 16.3%	2689 20.9%	2779 21.6%	3485 27.1%	1403 10.9%	87 0.7%

Count Under-26 26-32 33-40 41-48 49-56 57-64 Over-64 Stat-Cd SUPERINTENDENT, INDEPENDENT 19 2 11 6 10.5% 57.9% 31.6% SUPERINTENDENT, DEPENDENT 39 11 4 5 19 10.3% 12.8% 48.7% 28.2% DEPUTY OR ASSOCIATE SUPERINTEN 3 4 1 25.0% 75.0% ASSISTANT SUPERINTENDENT 12 2 7 2 1 8.3% 16.7% 58.3% 16.7% ASSISTANT SUPERINTENDENT SPECI 13 3 3 1 6 7.7% 23.1% 23.1% 46.2% BUSINESS MANAGER 17 2 6 8 1 11.8% 35.3% 47.1% 5.9% ADMINISTRATIVE ASSISTANT 1 1 100.0% DIRECTOR/COORDINATOR 187 28 50 75 27 2 1 4 0.5% 2.1% 15.0% 26.7% 40.1% 14.4% 1.1% ASSISTANT DIRECTOR/COORDINATOR 9 3 2 2 1 1 11.1% 11.1% 33.3% 22.2% 22.2% SUPERVISOR 15 3 2 2 3 5 13.3% 20.0% 20.0% 33.3% 13.3% DEPARTMENT CHAIRPERSON 130 21 23 53 25 2 6 4.6% 16.2% 17.7% 40.8% 19.2% 1.5% ATTENDANCE TEACHER 2 1 1 50.0% 50.0% SCHOOL PSYCHOLOGIST 103 25 26 18 23 10 1 24.3% 25.2% 17.5% 22.3% 9.7% 1.0% SOCIAL WORKER 81 7 25 1 17 25 6 1.2% 8.6% 21.0% 30.9% 30.9% 7.4% GUIDANCE COUNSELOR 220 3 57 50 19 2 40 49 1.4% 18.2% 25.9% 22.7% 22.3% 8.6% 0.9%

Region:

			105-2000						
Region:	Southern Tier - East		-						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	20			1 5.0%		15 75.0%	4 20.0%	
	SCHOOL NURSE/PRACTITIONER	156		9 5.8%	14 9.0%	43 27.6%	67 42.9%	22 14.1%	1 0.6%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	85		3 3.5%	17 20.0%	16 18.8%	35 41.2%	14 16.5%	
	ELEMENTARY SCHOOL PRINCIPAL	80			8 10.0%	21 26.3%	23 28.8%	25 31.3%	3 3.8%
	MIDDLE SCHOOL PRINCIPAL	35		2 5.7%	5 14.3%	7 20.0%	19 54.3%	2 5.7%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	17		1 5.9%	3 17.6%	3 17.6%	6 35.3%	4 23.5%	
	SENIOR HIGH SCHOOL PRINCIPAL	33			10 30.3%	4 12.1%	12 36.4%	7 21.2%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	11			2 18.2%	6 54.5%	1 9.1%	2 18.2%	
	SPECIAL SCHOOL PRINCIPAL	5			3 60.0%	1 20.0%	1 20.0%		
	ASSISTANT ELEMENTARY SCHOOL PR	8			4 50.0%		3 37.5%	1 12.5%	
	ASSISTANT MIDDLE SCHOOL PRINCI	15		1 6.7%	6 40.0%	5 33.3%	3 20.0%		
	ASSISTANT JUNIOR HIGH SCHOOL P	1			1 100.0%				
	ASSISTANT K-12 SCHOOL PRINCIPA	2			1 50.0%	1 50.0%			

Region:	Southern Tier - East								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	28		1 3.6%	9 32.1%	11 39.3%	6 21.4%	1 3.6%	
	ASSISTANT JR./SR. HIGH SCHOOL	7		2 28.6%	1 14.3%	2 28.6%	1 14.3%	1 14.3%	
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	48		4 8.3%	11 22.9%	11 22.9%	19 39.6%	3 6.3%	
	KINDERGARTEN	314	10 3.2%	57 18.2%	74 23.6%	49 15.6%	93 29.6%	29 9.2%	2 0.6%
	COMMON BRANCH	1499	39 2.6%	289 19.3%	308 20.5%	311 20.7%	390 26.0%	158 10.5%	4 0.3%
	SPECIAL EDUCATION	1154	49 4.2%	244 21.1%	234 20.3%	230 19.9%	303 26.3%	90 7.8%	4 0.3%
	READING	366	6 1.6%	47 12.8%	82 22.4%	69 18.9%	117 32.0%	43 11.7%	2 0.5%
	ENGLISH LANGUAGE	622	27 4.3%	125 20.1%	141 22.7%	110 17.7%	143 23.0%	71 11.4%	5 0.8%
	FOREIGN LANGUAGE	256	18 7.0%	43 16.8%	53 20.7%	45 17.6%	64 25.0%	32 12.5%	1 0.4%
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	44		4 9.1%	10 22.7%	10 22.7%	10 22.7%	9 20.5%	1 2.3%
	MATHEMATICS	569	26 4.6%	95 16.7%	148 26.0%	111 19.5%	130 22.8%	57 10.0%	2 0.4%
	SCIENCE	537	14 2.6%	110 20.5%	113 21.0%	117 21.8%	136 25.3%	43 8.0%	4 0.7%

Region: Southern Tier - East

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SOCIAL STUDIES	534	15 2.8%	114 21.3%	128 24.0%	112 21.0%	111 20.8%	52 ^{9.7%}	2 0.4%
ART	232	3 1.3%	43 18.5%	51 22.0%	28 12.1%	80 34.5%	27 11.6%	
MUSIC	334	15 4.5%	64 19.2%	49 14.7%	78 23.4%	93 27.8%	33 9.9%	2 0.6%
ART/MUSIC	2		1 50.0%	1 50.0%				
HEALTH EDUCATION	110	1 0.9%	11 10.0%	29 26.4%	23 20.9%	31 28.2%	15 13.6%	
SAFETY EDUCATION	12			1 8.3%	7 58.3%	1 8.3%	3 25.0%	
PHYSICAL EDUCATION	395	11 2.8%	83 21.0%	98 24.8%	91 23.0%	98 24.8%	14 3.5%	
AGRICULTURE	14		2 14.3%	3 21.4%	2 14.3%	6 42.9%	1 7.1%	
BUSINESS/MARKETING	104	3 2.9%	13 12.5%	24 23.1%	29 27.9%	22 21.2%	13 12.5%	
HOME ECONOMICS	53	1 1.9%	3 5.7%	6 11.3%	12 22.6%	23 43.4%	7 13.2%	1 1.9%
TECHNOLOGY	82	2 2.4%	13 15.9%	19 23.2%	21 25.6%	18 22.0%	8 9.8%	1 1.2%
TRADE EDUCATION	54		2 3.7%	11 20.4%	12 22.2%	17 31.5%	11 20.4%	1 1.9%
TECHNICAL EDUCATION	6		2 33.3%	1 16.7%	3 50.0%			
HEALTH OCCUPATION	10		2 20.0%		2 20.0%	4 40.0%	2 20.0%	
GENERAL OCCUPATIONAL EDUCATION	180	3 1.7%	19 10.6%	30 16.7%	46 25.6%	57 31.7%	23 12.8%	2 1.1%

		40	05-2000						
Region:	Southern Tier - East								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	17		3 17.6%	2 11.8%	4 23.5%	3 17.6%	5 29.4%	
	LIBRARY	131		11 8.4%	14 10.7%	21 16.0%	52 39.7%	31 23.7%	2 1.5%
	LEARNING TECHNOLOGY	8		1 12.5%	1 12.5%	2 25.0%	4 50.0%		
	HUMANITIES/PERFORMING ARTS	2				1 50.0%	1 50.0%		
	DANCE	2					2 100.0%		
	THEATER	8		1 12.5%	1 12.5%	3 37.5%	1 12.5%	1 12.5%	1 12.5%
	COMBINED COURSES	8	1 12.5%		1 12.5%	1 12.5%	2 25.0%	3 37.5%	
	OTHER SUBJECT	511	18 3.5%	95 18.6%	135 26.4%	106 20.7%	107 20.9%	46 9.0%	4 0.8%
	HELPING TEACHER	17	2 11.8%		1 5.9%	3 17.6%	8 47.1%	3 17.6%	
	GIFTED/TALENTED	17		2 11.8%	2 11.8%	5 29.4%	4 23.5%	3 17.6%	1 5.9%
	GENERAL COOPERATIVE WORK EXPER	14		4 28.6%	3 21.4%		5 35.7%	2 14.3%	
	COMPUTER STUDIES	44		8 18.2%	11 25.0%	9 20.5%	12 27.3%	4 9.1%	
	Summary	8381	241 2.9%	1420 16.9%	1740 20.8%	1721 20.5%	2314 27.6%	898 10.7%	47 0.6%

		2	105-2000						
Region:	Southern Tier - Central								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	9				1 11.1%	4 44.4%	4 44.4%	
	SUPERINTENDENT, DEPENDENT	10			2 20.0%	3 30.0%	3 30.0%	2 20.0%	
	DEPUTY OR ASSOCIATE SUPERINTEN	1						1 100.0%	
	ASSISTANT SUPERINTENDENT	1			1 100.0%				
	ASSISTANT SUPERINTENDENT SPECI	7				1 14.3%	5 71.4%	1 14.3%	
	BUSINESS MANAGER	6				3 50.0%	1 16.7%	2 33.3%	
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	77		2 2.6%	23 29.9%	19 24.7%	25 32.5%	8 10.4%	
	ASSISTANT DIRECTOR/COORDINATOR	4			1 25.0%		3 75.0%		
	SUPERVISOR	8			2 25.0%	1 12.5%	5 62.5%		
	DEPARTMENT CHAIRPERSON	40		3 7.5%	8 20.0%	6 15.0%	18 45.0%	5 12.5%	
	ATTENDANCE TEACHER	2				1 50.0%	1 50.0%		
	SCHOOL PSYCHOLOGIST	38		3 7.9%	10 26.3%	10 26.3%	14 36.8%		1 2.6%
	SOCIAL WORKER	52		3 5.8%	13 25.0%	13 25.0%	16 30.8%	7 13.5%	
	GUIDANCE COUNSELOR	80	2 2.5%	15 18.8%	26 32.5%	11 13.8%	19 23.8%	5 6.3%	2 2.5%

Region:	Southern Tier - Central	-	05-2000						
-	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	3				1 33.3%	1 33.3%	1 33.3%	
	SCHOOL NURSE/PRACTITIONER	66		4 6.1%	6 9.1%	25 37.9%	20 30.3%	8 12.1%	3 4.5%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	56		4 7.1%	15 26.8%	12 21.4%	19 33.9%	6 10.7%	
	ELEMENTARY SCHOOL PRINCIPAL	38		2 5.3%	6 15.8%	13 34.2%	12 31.6%	5 13.2%	
	MIDDLE SCHOOL PRINCIPAL	12			6 50.0%	1 8.3%	2 16.7%	3 25.0%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	2					2 100.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	13			2 15.4%	6 46.2%	3 23.1%	2 15.4%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	6			2 33.3%	3 50.0%		1 16.7%	
	SPECIAL SCHOOL PRINCIPAL	1						1 100.0%	
	ASSISTANT ELEMENTARY SCHOOL PR	11		1 9.1%	4 36.4%	2 18.2%	3 27.3%	1 9.1%	
	ASSISTANT MIDDLE SCHOOL PRINCI	7			2 28.6%	3 42.9%	1 14.3%	1 14.3%	
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA	1			1 100.0%				

			103-2000						
Region:	Southern Tier - Central								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	14			5 35.7%	5 35.7%	4 28.6%		
	ASSISTANT JR./SR. HIGH SCHOOL	1				1 100.0%			
	ASSISTANT SPECIAL SCHOOL PRINC	1			1 100.0%				
	OTHER SCHOOL ADMINISTRATOR								
	PREKINDERGARTEN	29	4 13.8%	5 17.2%	9 31.0%	4 13.8%	5 17.2%	2 6.9%	
	KINDERGARTEN	134	3 2.2%	25 18.7%	36 26.9%	29 21.6%	32 23.9%	9 6.7%	
	COMMON BRANCH	618	18 2.9%	131 21.2%	160 25.9%	96 15.5%	147 23.8%	65 10.5%	1 0.2%
	SPECIAL EDUCATION	467	13 2.8%	100 21.4%	129 27.6%	88 18.8%	105 22.5%	30 6.4%	2 0.4%
	READING	133	1 0.8%	19 14.3%	25 18.8%	18 13.5%	46 34.6%	23 17.3%	1 0.8%
	ENGLISH LANGUAGE	213	7 3.3%	46 21.6%	43 20.2%	25 11.7%	68 31.9%	23 10.8%	1 0.5%
	FOREIGN LANGUAGE	99	3 3.0%	14 14.1%	23 23.2%	19 19.2%	25 25.3%	13 13.1%	2 2.0%
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	2			2 100.0%				
	MATHEMATICS	203	13 6.4%	45 22.2%	54 26.6%	36 17.7%	32 15.8%	23 11.3%	
	SCIENCE	196	4 2.0%	44 22.4%	56 28.6%	34 17.3%	47 24.0%	11 5.6%	

Region: Southern Tier - Central

Stat-Cd		Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SOCIAL STUDI	ES	187	7 3.7%	43 23.0%	58 31.0%	26 13.9%	41 21.9%	11 5.9%	1 0.5%
ART		92	4 4.3%	13 14.1%	16 17.4%	26 28.3%	22 23.9%	11 12.0%	
MUSIC		128	7 5.5%	31 24.2%	23 18.0%	34 26.6%	27 21.1%	6 4.7%	
ART/MUSIC		1		1 100.0%					
HEALTH EDUC	ATION	43	4 9.3%	8 18.6%	13 30.2%	11 25.6%	5 11.6%	2 4.7%	
SAFETY EDUC	ATION	5			1 20.0%	1 20.0%	2 40.0%	1 20.0%	
PHYSICAL EDU	JCATION	159	8 5.0%	26 16.4%	42 26.4%	44 27.7%	29 18.2%	10 6.3%	
AGRICULTURE	1	5			1 20.0%	1 20.0%	3 60.0%		
BUSINESS/MA	RKETING	50		4 8.0%	12 24.0%	17 34.0%	14 28.0%	3 6.0%	
HOME ECONO	MICS	26		2 7.7%	1 3.8%	9 34.6%	6 23.1%	7 26.9%	1 3.8%
TECHNOLOGY		31	1 3.2%	1 3.2%	7 22.6%	10 32.3%	8 25.8%	4 12.9%	
TRADE EDUCA	TION	16		1 6.3%	4 25.0%	5 31.3%	5 31.3%	1 6.3%	
TECHNICAL EI	DUCATION								
HEALTH OCCU	IPATION	9			1 11.1%	4 44.4%	3 33.3%	1 11.1%	
GENERAL OCC	CUPATIONAL EDUCATION	75	1 1.3%	12 16.0%	9 12.0%	25 33.3%	23 30.7%	5 6.7%	

Region:	Southern Tier - Central								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	5			1 20.0%	2 40.0%	1 20.0%		1 20.0%
	LIBRARY	51		4 7.8%	8 15.7%	9 17.6%	18 35.3%	11 21.6%	1 2.0%
	LEARNING TECHNOLOGY	1				1 100.0%			
	HUMANITIES/PERFORMING ARTS	1					1 100.0%		
	DANCE								
	THEATER	1			1 100.0%				
	COMBINED COURSES	2	1 50.0%			1 50.0%			
	OTHER SUBJECT	156	6 3.8%	28 17.9%	39 25.0%	34 21.8%	34 21.8%	15 ^{9.6%}	
	HELPING TEACHER	5			3 60.0%		2 40.0%		
	GIFTED/TALENTED	4					3 75.0%	1 25.0%	
	GENERAL COOPERATIVE WORK EXPER	4			2 50.0%		2 50.0%		
	COMPUTER STUDIES	19		4 21.1%	6 31.6%	3 15.8%	4 21.1%	2 10.5%	
	Summary	3291	99 3.0%	575 17.5%	816 24.8%	653 19.8%	825 25.1%	307 9.3%	16 0.5%

			105-2000						
Region:	Southern Tier - West								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- <mark>64</mark>	Over-64
	SUPERINTENDENT, INDEPENDENT	11				1 9.1%	6 54.5%	4 36.4%	
	SUPERINTENDENT, DEPENDENT	32			1 3.1%	4 12.5%	13 40.6%	13 40.6%	1 3.1%
	DEPUTY OR ASSOCIATE SUPERINTEN	1			1 100.0%				
	ASSISTANT SUPERINTENDENT	1				1 100.0%			
	ASSISTANT SUPERINTENDENT SPECI	3					2 66.7%	1 33.3%	
	BUSINESS MANAGER	14			3 21.4%	3 21.4%	6 42.9%	2 14.3%	
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	114		7 6.1%	20 17.5%	29 25.4%	38 33.3%	20 17.5%	
	ASSISTANT DIRECTOR/COORDINATOR	6			3 50.0%	1 16.7%	1 16.7%	1 16.7%	
	SUPERVISOR	29		6 20.7%	4 13.8%	6 20.7%	11 37.9%	1 3.4%	1 3.4%
	DEPARTMENT CHAIRPERSON	110		3 2.7%	23 20.9%	19 17.3%	42 38.2%	21 19.1%	2 1.8%
	ATTENDANCE TEACHER	3				1 33.3%	1 33.3%	1 33.3%	
	SCHOOL PSYCHOLOGIST	63	1 1.6%	15 23.8%	16 25.4%	8 12.7%	17 27.0%	6 9.5%	
	SOCIAL WORKER	12		1 8.3%	5 41.7%	4 33.3%	2 16.7%		
	GUIDANCE COUNSELOR	162	1 0.6%	22 13.6%	49 30.2%	33 20.4%	38 23.5%	19 11.7%	

		20	103-2000						
Region:	Southern Tier - West								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	2				1 50.0%		1 50.0%	
	SCHOOL NURSE/PRACTITIONER	96		3 3.1%	6 6.3%	22 22.9%	45 46.9%	17 17.7%	3 3.1%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	86		9 10.5%	17 19.8%	19 22.1%	32 37.2%	9 10.5%	
	ELEMENTARY SCHOOL PRINCIPAL	48			6 12.5%	11 22.9%	22 45.8%	9 18.8%	
	MIDDLE SCHOOL PRINCIPAL	23			8 34.8%	6 26.1%	8 34.8%	1 4.3%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	9		1 11.1%	3 33.3%	3 33.3%	2 22.2%		
	SENIOR HIGH SCHOOL PRINCIPAL	22			2 9.1%	6 27.3%	9 40.9%	4 18.2%	1 4.5%
	JUNIOR/SENIOR HIGH SCHOOL PRIN	16			4 25.0%	4 25.0%	8 50.0%		
	SPECIAL SCHOOL PRINCIPAL	1						1 100.0%	
	ASSISTANT ELEMENTARY SCHOOL PR	1			1 100.0%				
	ASSISTANT MIDDLE SCHOOL PRINCI	6			2 33.3%	2 33.3%	2 33.3%		
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA	1						1 100.0%	

Region:	Southern Tier - West								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	9			7 77.8%	2 22.2%			
	ASSISTANT JR./SR. HIGH SCHOOL	1			1 100.0%				
	ASSISTANT SPECIAL SCHOOL PRINC								
	OTHER SCHOOL ADMINISTRATOR	3		1 33.3%		1 33.3%		1 33.3%	
	PREKINDERGARTEN	43		9 20.9%	11 25.6%	11 25.6%	8 18.6%	2 4.7%	2 4.7%
	KINDERGARTEN	189	5 2.6%	25 13.2%	46 24.3%	45 23.8%	50 26.5%	18 9.5%	
	COMMON BRANCH	913	21 2.3%	144 15.8%	212 23.2%	168 18.4%	265 29.0%	97 10.6%	6 0.7%
	SPECIAL EDUCATION	672	29 4.3%	135 20.1%	166 24.7%	161 24.0%	143 21.3%	35 5.2%	3 0.4%
	READING	255	9 3.5%	31 12.2%	55 21.6%	43 16.9%	83 32.5%	32 12.5%	2 0.8%
	ENGLISH LANGUAGE	422	14 3.3%	88 20.9%	94 22.3%	62 14.7%	114 27.0%	48 11.4%	2 0.5%
	FOREIGN LANGUAGE	150	11 7.3%	25 16.7%	38 25.3%	17 11.3%	47 31.3%	12 ^{8.0%}	
	BILINGUAL EDUCATION								
	ENGLISH AS A SECOND LANGUAGE	28	2 7.1%	6 21.4%	4 14.3%	5 17.9%	8 28.6%	2 7.1%	1 3.6%
	MATHEMATICS	396	25 6.3%	61 15.4%	94 23.7%	73 18.4%	101 25.5%	40 10.1%	2 0.5%
	SCIENCE	343	11 3.2%	66 19.2%	97 28.3%	62 18.1%	80 23.3%	27 7.9%	

Region: Southern Tier - West

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SOCIAL STUDIES	338	10 3.0%	67 19.8%	83 24.6%	68 20.1%	73 21.6%	37 10.9%	
ART	139	3 2.2%	19 13.7%	26 18.7%	29 20.9%	43 30.9%	18 12.9%	1 0.7%
MUSIC	174	12 6.9%	43 24.7%	31 17.8%	28 16.1%	51 29.3%	8 4.6%	1 0.6%
ART/MUSIC	4		1 25.0%	1 25.0%	1 25.0%	1 25.0%		
HEALTH EDUCATION	82	6 7.3%	18 22.0%	13 15.9%	15 18.3%	20 24.4%	10 12.2%	
SAFETY EDUCATION	7			4 57.1%	1 14.3%	1 14.3%	1 14.3%	
PHYSICAL EDUCATION	248	13 5.2%	43 17.3%	51 20.6%	59 23.8%	64 25.8%	17 6.9%	1 0.4%
AGRICULTURE	17		3 17.6%	4 23.5%	3 17.6%	5 29.4%	2 11.8%	
BUSINESS/MARKETING	76	2 2.6%	9 11.8%	13 17.1%	27 35.5%	18 23.7%	7 9.2%	
HOME ECONOMICS	49		2 4.1%	4 8.2%	11 22.4%	25 51.0%	6 12.2%	1 2.0%
TECHNOLOGY	61	1 1.6%	11 18.0%	9 14.8%	22 36.1%	13 21.3%	5 8.2%	
TRADE EDUCATION	45		6 13.3%	8 17.8%	12 26.7%	13 28.9%	6 13.3%	
TECHNICAL EDUCATION	3				2 66.7%	1 33.3%		
HEALTH OCCUPATION	3				3 100.0%			
GENERAL OCCUPATIONAL EDUCATION	140	2 1.4%	20 14.3%	16 11.4%	38 27.1%	50 35.7%	13 9.3%	1 0.7%

Region:	Southern Tier - West	_	00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	9		2 22.2%	2 22.2%	2 22.2%	1 11.1%	2 22.2%	
	LIBRARY	72		2 2.8%	13 18.1%	17 23.6%	29 40.3%	10 13.9%	1 1.4%
	LEARNING TECHNOLOGY	4			1 25.0%	1 25.0%	2 50.0%		
	HUMANITIES/PERFORMING ARTS	2				1 50.0%	1 50.0%		
	DANCE								
	THEATER	4		1 25.0%	1 25.0%		2 50.0%		
	COMBINED COURSES	5					4 80.0%	1 20.0%	
	OTHER SUBJECT	368	16 4.3%	72 19.6%	84 22.8%	60 16.3%	88 23.9%	45 12.2%	3 0.8%
	HELPING TEACHER	33	1 3.0%	8 24.2%	7 21.2%	5 15.2%	11 33.3%	1 3.0%	
	GIFTED/TALENTED	8		1 12.5%	3 37.5%		2 25.0%	2 25.0%	
	GENERAL COOPERATIVE WORK EXPER	11			3 27.3%	3 27.3%	4 36.4%	1 9.1%	
	COMPUTER STUDIES	54	4 7.4%	2 3.7%	16 29.6%	16 29.6%	13 24.1%	3 5.6%	
	Summary	4964	159 3.2%	788 15.9%	1104 22.2%	1006 20.3%	1375 27.7%	506 10.2%	26 0.5%

Region:	Genesee-Finger Lakes	20	05 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	40				5 12.5%	18 45.0%	16 40.0%	1 2.5%
	SUPERINTENDENT, DEPENDENT	29				1 3.4%	18 62.1%	8 27.6%	2 6.9%
	DEPUTY OR ASSOCIATE SUPERINTEN	12			1 8.3%	3 25.0%	4 33.3%	4 33.3%	
	ASSISTANT SUPERINTENDENT	24			4 16.7%	3 12.5%	10 41.7%	7 29.2%	
	ASSISTANT SUPERINTENDENT SPECI	46			4 8.7%	12 26.1%	21 45.7%	8 17.4%	1 2.2%
	BUSINESS MANAGER	39		2 5.1%	7 17.9%	11 28.2%	16 41.0%	2 5.1%	1 2.6%
	ADMINISTRATIVE ASSISTANT	1					1 100.0%		
	DIRECTOR/COORDINATOR	463		10 2.2%	82 17.7%	110 23.8%	185 40.0%	70 15.1%	6 1.3%
	ASSISTANT DIRECTOR/COORDINATOR	35		2 5.7%	7 20.0%	10 28.6%	13 37.1%	3 8.6%	
	SUPERVISOR	58		1 1.7%	14 24.1%	13 22.4%	20 34.5%	10 17.2%	
	DEPARTMENT CHAIRPERSON	225		10 4.4%	40 17.8%	44 19.6%	92 40.9%	38 16.9%	1 0.4%
	ATTENDANCE TEACHER	6			1 16.7%	1 16.7%	3 50.0%	1 16.7%	
	SCHOOL PSYCHOLOGIST	348	1 0.3%	79 22.7%	84 24.1%	68 19.5%	77 22.1%	36 10.3%	3 0.9%
	SOCIAL WORKER	219		15 6.8%	56 25.6%	63 28.8%	51 23.3%	34 15.5%	
	GUIDANCE COUNSELOR	536	5 0.9%	101 18.8%	135 25.2%	114 21.3%	126 23.5%	52 9.7%	3 0.6%

		20	105-2000						
Region:	Genesee-Finger Lakes		-						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	NURSE TEACHER	32		1 3.1%		12 37.5%	12 37.5%	6 18.8%	1 3.1%
	SCHOOL NURSE/PRACTITIONER	307		8 2.6%	36 11.7%	79 25.7%	124 40.4%	52 16.9%	8 2.6%
	DENTAL HYGIENIST	1					1 100.0%		
	OTHER NONTEACHING	470		36 7.7%	80 17.0%	103 21.9%	175 37.2%	73 15.5%	3 0.6%
	ELEMENTARY SCHOOL PRINCIPAL	179		4 2.2%	28 15.6%	41 22.9%	78 43.6%	27 15.1%	1 0.6%
	MIDDLE SCHOOL PRINCIPAL	56			15 26.8%	15 26.8%	21 37.5%	5 8.9%	
	JUNIOR HIGH SCHOOL PRINCIPAL	4			3 75.0%	1 25.0%			
	K-12 SCHOOL PRINCIPAL	4					4 100.0%		
	SENIOR HIGH SCHOOL PRINCIPAL	72		3 4.2%	10 13.9%	20 27.8%	31 43.1%	8 11.1%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	30		1 3.3%	3 10.0%	11 36.7%	11 36.7%	4 13.3%	
	SPECIAL SCHOOL PRINCIPAL	13			2 15.4%	4 30.8%	7 53.8%		
	ASSISTANT ELEMENTARY SCHOOL PR	66		4 6.1%	17 25.8%	18 27.3%	21 31.8%	6 9.1%	
	ASSISTANT MIDDLE SCHOOL PRINCI	59		8 13.6%	21 35.6%	11 18.6%	14 23.7%	5 8.5%	
	ASSISTANT JUNIOR HIGH SCHOOL P	6		16.7%	2 33.3%	3 50.0%	_0,0	0.0,0	
	ASSISTANT K-12 SCHOOL PRINCIPA	1		10.770	100.0%	00.070			

Region.	Genesee-Finger Lakes								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	ASSISTANT SENIOR HIGH SCHOOL P	113		11 9.7%	43 38.1%	24 21.2%	23 20.4%	12 10.6%	
	ASSISTANT JR./SR. HIGH SCHOOL	33		2 6.1%	11 33.3%	10 30.3%	7 21.2%	3 9.1%	
	ASSISTANT SPECIAL SCHOOL PRINC	6			3 50.0%		3 50.0%		
	OTHER SCHOOL ADMINISTRATOR	26		5 19.2%	5 19.2%	5 19.2%	8 30.8%	3 11.5%	
	PREKINDERGARTEN	92	2 2.2%	12 13.0%	21 22.8%	24 26.1%	20 21.7%	12 13.0%	1 1.1%
	KINDERGARTEN	610	19 3.1%	128 21.0%	142 23.3%	114 18.7%	149 24.4%	55 9.0%	3 0.5%
	COMMON BRANCH	3548	109 3.1%	779 22.0%	875 24.7%	658 18.5%	780 22.0%	332 9.4%	15 0.4%
	SPECIAL EDUCATION	3024	90 3.0%	613 20.3%	691 22.9%	678 22.4%	724 23.9%	217 7.2%	11 0.4%
	READING	645	18 2.8%	112 17.4%	118 18.3%	127 19.7%	192 29.8%	75 11.6%	3 0.5%
	ENGLISH LANGUAGE	1362	58 4.3%	329 24.2%	291 21.4%	237 17.4%	299 22.0%	139 10.2%	9 0.7%
	FOREIGN LANGUAGE	601	28 4.7%	98 16.3%	163 27.1%	120 20.0%	128 21.3%	60 10.0%	4 0.7%
	BILINGUAL EDUCATION	85	3 3.5%	18 21.2%	15 17.6%	20 23.5%	19 22.4%	9 10.6%	1 1.2%
	ENGLISH AS A SECOND LANGUAGE	193	2 1.0%	26 13.5%	42 21.8%	46 23.8%	40 20.7%	34 17.6%	3 1.6%
	MATHEMATICS	1246	91 7.3%	295 23.7%	275 22.1%	233 18.7%	255 20.5%	94 7.5%	3 0.2%
	SCIENCE	1161	37 3.2%	271 23.3%	265 22.8%	249 21.4%	239 20.6%	91 7.8%	9 0.8%

Region:

Region: Genesee-Finger Lakes

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SOCIAL STUDIES	1131	51 4.5%	291 25.7%	302 26.7%	174 15.4%	211 18.7%	98 8.7%	4 0.4%
ART	506	15 3.0%	95 18.8%	102 20.2%	110 21.7%	137 27.1%	46 9.1%	1 0.2%
MUSIC	737	44 6.0%	158 21.4%	130 17.6%	160 21.7%	187 25.4%	53 7.2%	5 0.7%
ART/MUSIC	12		3 25.0%	4 33.3%	1 8.3%	3 25.0%	1 8.3%	
HEALTH EDUCATION	228	9 3.9%	62 27.2%	57 25.0%	34 14.9%	46 20.2%	20 8.8%	
SAFETY EDUCATION	9			2 22.2%	1 11.1%	5 55.6%	1 11.1%	
PHYSICAL EDUCATION	897	25 2.8%	213 23.7%	248 27.6%	190 21.2%	172 19.2%	46 5.1%	3 0.3%
AGRICULTURE	18		3 16.7%		3 16.7%	8 44.4%	3 16.7%	1 5.6%
BUSINESS/MARKETING	211	1 0.5%	41 19.4%	48 22.7%	65 30.8%	48 22.7%	7 3.3%	1 0.5%
HOME ECONOMICS	125	2 1.6%	18 14.4%	16 12.8%	22 17.6%	54 43.2%	13 10.4%	
TECHNOLOGY	225	9 4.0%	63 28.0%	39 17.3%	45 20.0%	51 22.7%	17 ^{7.6%}	1 0.4%
TRADE EDUCATION	157	3 1.9%	10 6.4%	24 15.3%	29 18.5%	61 38.9%	30 19.1%	
TECHNICAL EDUCATION	12		2 16.7%	3 25.0%	4 33.3%	3 25.0%		
HEALTH OCCUPATION	21				8 38.1%	11 52.4%	2 9.5%	
GENERAL OCCUPATIONAL EDUCATION	374	4 1.1%	64 17.1%	60 16.0%	83 22.2%	119 31.8%	44 11.8%	

		<u> </u>	05-2000						
Region:	Genesee-Finger Lakes								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- 64	Over-64
	COOPERATIVE WORK EXPERIENCE	42		4 9.5%	12 28.6%	13 31.0%	7 16.7%	6 14.3%	
	LIBRARY	278	3 1.1%	21 7.6%	42 15.1%	50 18.0%	106 38.1%	53 19.1%	3 1.1%
	LEARNING TECHNOLOGY	6		1 16.7%		2 33.3%	2 33.3%	1 16.7%	
	HUMANITIES/PERFORMING ARTS	5		3 60.0%	2 40.0%				
	DANCE	8		1 12.5%	4 50.0%	1 12.5%		2 25.0%	
	THEATER	22		3 13.6%	4 18.2%	4 18.2%	8 36.4%	3 13.6%	
	COMBINED COURSES	8		2 25.0%		3 37.5%	2 25.0%	1 12.5%	
	OTHER SUBJECT	897	37 4.1%	208 23.2%	190 21.2%	156 17.4%	204 22.7%	95 10.6%	7 0.8%
	HELPING TEACHER	97	6 6.2%	7 7.2%	17 17.5%	24 24.7%	30 30.9%	12 12.4%	1 1.0%
	GIFTED/TALENTED	74	2 2.7%	8 10.8%	8 10.8%	18 24.3%	26 35.1%	11 14.9%	1 1.4%
	GENERAL COOPERATIVE WORK EXPER	31		5 16.1%	7 22.6%	6 19.4%	10 32.3%	3 9.7%	
	COMPUTER STUDIES	85	2 2.4%	17 20.0%	20 23.5%	19 22.4%	21 24.7%	5 5.9%	1 1.2%
	Summary	19873	613 3.1%	3832 19.3%	4407 22.2%	4049 20.4%	4931 24.8%	1932 _{9.7%}	109 _{0.5%}

Region:	Western	-							
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SUPERINTENDENT, INDEPENDENT	35			2 5.7%	4 11.4%	12 34.3%	17 48.6%	
	SUPERINTENDENT, DEPENDENT	9			1 11.1%	1 11.1%	3 33.3%	4 44.4%	
	DEPUTY OR ASSOCIATE SUPERINTEN	9				3 33.3%	2 22.2%	4 44.4%	
	ASSISTANT SUPERINTENDENT	14			1 7.1%	3 21.4%	3 21.4%	7 50.0%	
	ASSISTANT SUPERINTENDENT SPECI	34			3 8.8%	2 5.9%	21 61.8%	8 23.5%	
	BUSINESS MANAGER	29		1 3.4%	4 13.8%	9 31.0%	11 37.9%	4 13.8%	
	ADMINISTRATIVE ASSISTANT								
	DIRECTOR/COORDINATOR	311		16 5.1%	59 19.0%	54 17.4%	119 38.3%	62 19.9%	1 0.3%
	ASSISTANT DIRECTOR/COORDINATOR	35		2 5.7%	4 11.4%	9 25.7%	10 28.6%	10 28.6%	
	SUPERVISOR	64		2 3.1%	9 14.1%	13 20.3%	28 43.8%	11 17.2%	1 1.6%
	DEPARTMENT CHAIRPERSON	349		27 7.7%	97 27.8%	67 19.2%	112 32.1%	44 12.6%	2 0.6%
	ATTENDANCE TEACHER	3				1 33.3%	1 33.3%	1 33.3%	
	SCHOOL PSYCHOLOGIST	189		31 16.4%	66 34.9%	29 15.3%	47 24.9%	16 ^{8.5%}	
	SOCIAL WORKER	158		10 6.3%	26 16.5%	34 21.5%	62 39.2%	26 16.5%	
	GUIDANCE COUNSELOR	411	2 0.5%	71 17.3%	130 31.6%	87 21.2%	84 20.4%	35 8.5%	2 0.5%

Region:	Western		00 2000						
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57- <mark>64</mark>	Over-64
	NURSE TEACHER	4				1 25.0%	3 75.0%		
	SCHOOL NURSE/PRACTITIONER	244		1 0.4%	16 6.6%	68 27.9%	104 42.6%	44 18.0%	11 4.5%
	DENTAL HYGIENIST								
	OTHER NONTEACHING	282	1 0.4%	15 5.3%	49 17.4%	66 23.4%	107 37.9%	39 13.8%	5 1.8%
	ELEMENTARY SCHOOL PRINCIPAL	156		4 2.6%	28 17.9%	26 16.7%	70 44.9%	28 17.9%	
	MIDDLE SCHOOL PRINCIPAL	49			9 18.4%	14 28.6%	16 32.7%	10 20.4%	
	JUNIOR HIGH SCHOOL PRINCIPAL								
	K-12 SCHOOL PRINCIPAL	17				5 29.4%	6 35.3%	6 35.3%	
	SENIOR HIGH SCHOOL PRINCIPAL	59			7 11.9%	17 28.8%	25 42.4%	10 16.9%	
	JUNIOR/SENIOR HIGH SCHOOL PRIN	8				1 12.5%	6 75.0%	1 12.5%	
	SPECIAL SCHOOL PRINCIPAL	1				1 100.0%			
	ASSISTANT ELEMENTARY SCHOOL PR	52		3 5.8%	13 25.0%	15 28.8%	18 34.6%	3 5.8%	
	ASSISTANT MIDDLE SCHOOL PRINCI	43		7 16.3%	15 34.9%	12 27.9%	8 18.6%	1 2.3%	
	ASSISTANT JUNIOR HIGH SCHOOL P								
	ASSISTANT K-12 SCHOOL PRINCIPA	14			4 28.6%	4 28.6%	4 28.6%	2 14.3%	

Western								
t-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
ISTANT SENIOR HIGH SCHOOL P	75		5 6.7%	22 29.3%	20 26.7%	19 25.3%	8 10.7%	1 1.3%
ISTANT JR./SR. HIGH SCHOOL	11			5 45.5%	2 18.2%	3 27.3%	1 9.1%	
ISTANT SPECIAL SCHOOL PRINC								
IER SCHOOL ADMINISTRATOR	12		2 16.7%	4 33.3%	3 25.0%	1 8.3%	2 16.7%	
KINDERGARTEN	166	1 0.6%	11 6.6%	37 22.3%	36 21.7%	55 33.1%	25 15.1%	1 0.6%
DERGARTEN	569	15 2.6%	118 20.7%	150 26.4%	96 16.9%	122 21.4%	65 11.4%	3 0.5%
/MON BRANCH	2923	64 2.2%	552 18.9%	781 26.7%	577 19.7%	652 22.3%	288 9.9%	9 0.3%
CIAL EDUCATION	2458	82 3.3%	444 18.1%	514 20.9%	597 24.3%	663 27.0%	149 6.1%	9 0.4%
,DING	667	9 1.3%	116 17.4%	157 23.5%	115 17.2%	193 28.9%	71 10.6%	6 0.9%
JLISH LANGUAGE	1239	36 2.9%	315 25.4%	353 28.5%	200 16.1%	222 17.9%	108 8.7%	5 0.4%
EIGN LANGUAGE	514	20 3.9%	94 18.3%	143 27.8%	97 18.9%	109 21.2%	50 9.7%	1 0.2%
NGUAL EDUCATION	70		8 11.4%	16 22.9%	22 31.4%	16 22.9%	7 10.0%	1 1.4%
LISH AS A SECOND LANGUAGE	110		23 20.9%	19 17.3%	18 16.4%	35 31.8%	15 13.6%	
THEMATICS	1085	78 7.2%	295 27.2%	239 22.0%	174 16.0%	204 18.8%	94 8.7%	1 0.1%
ENCE	1024	18 1.8%	213 20.8%	308 30.1%	199 19.4%	200 19.5%	80 7.8%	6 0.6%
	t-Cd SISTANT SENIOR HIGH SCHOOL P SISTANT JR./SR. HIGH SCHOOL PRINC SISTANT SPECIAL SCHOOL PRINC SISTANT SPECIAL SCHOOL PRINC HER SCHOOL ADMINISTRATOR HER SCHOOL ADMINISTRATOR DERGARTEN DERGARTEN MOON BRANCH SCIAL EDUCATION ADING SLISH LANGUAGE NGUAL EDUCATION SLISH AS A SECOND LANGUAGE THEMATICS ENCE	SISTANT SENIOR HIGH SCHOOL P75SISTANT JR./SR. HIGH SCHOOL11SISTANT SPECIAL SCHOOL PRINC12HER SCHOOL ADMINISTRATOR12EKINDERGARTEN166DERGARTEN569MMON BRANCH2923ECIAL EDUCATION2458ADING667GLISH LANGUAGE514NGUAL EDUCATION70GLISH AS A SECOND LANGUAGE110THEMATICS1085	NoteSISTANT SENIOR HIGH SCHOOL P75SISTANT JR./SR. HIGH SCHOOL PRINC11SISTANT SPECIAL SCHOOL PRINCHER SCHOOL ADMINISTRATOR12EKINDERGARTEN166DERGARTEN166MMON BRANCH2923ECIAL EDUCATION2458ADING66791.3%SLISH LANGUAGE5142002.9%REIGN LANGUAGE51420170SLISH AS A SECOND LANGUAGE110THEMATICS1085787.2%ENCE10241818	Other Total Strant Senior High School P 75 5 6.7% SISTANT SENIOR HIGH SCHOOL 11 11 6.7% 6.7% SISTANT SPECIAL SCHOOL PRINC 11 11 11 11 SISTANT SPECIAL SCHOOL PRINC 12 2 16.7% HER SCHOOL ADMINISTRATOR 12 2 16.7% EKINDERGARTEN 166 1 11 DERGARTEN 569 15 118 2.6% 20.7% 20.7% 20.7% MMON BRANCH 2923 64 552 2.2% 18.9% 2458 82 444 3.3% 18.1% 3.3% 18.1% ADING 667 9 116 1.3% 17.4% GLISH LANGUAGE 1239 36 315 2.9% 25.4% REIGN LANGUAGE 514 20 94 3.9% 18.3% NGUAL EDUCATION 70 8 11.4% 20.9% SLISH AS A SECOND LANGUAGE	SISTANT SENIOR HIGH SCHOOL P 75 5 22 SISTANT JR./SR. HIGH SCHOOL 11 5 45.5% SISTANT SPECIAL SCHOOL PRINC 11 5 HER SCHOOL ADMINISTRATOR 12 2 4 16.7% 33.3% 5 33.3% EKINDERGARTEN 166 1 11 37 0.6% 6.6% 22.3% 22.3% DERGARTEN 166 1 11 37 0.6% 6.6% 22.3% 22.3% 22.3% DERGARTEN 166 1 11 37 0.6% 6.6% 22.3% 22.3% 22.3% DERGARTEN 166 1 11 37 VMON BRANCH 2923 64 552 781 2.2% 18.9% 26.7% 26.4% MING 667 9 116 157 3.3% 18.1% 20.9% 25.4% 28.5% REIGN LANGUAGE 514 20	Sistant Senior High School P 75 5 22 20 SISTANT SENIOR HIGH SCHOOL 11 5 2 28.3% 26.7% SISTANT JR./SR. HIGH SCHOOL 11 5 2 45.5% 18.2% SISTANT SPECIAL SCHOOL PRINC 11 2 4 3 16.7% 33.3% 25.0% EKINDERGARTEN 166 1 11 37 36 26.7% 21.7% DERGARTEN 166 1 11 37 36 26.6% 22.3% 21.7% MON BRANCH 2923 64 552 781 577 2.2% 18.9% 26.7% 19.7% ECIAL EDUCATION 2458 82 444 514 597 3.3% 18.1% 20.9% 24.3% ADING 667 9 116 157 115 1.3% 17.4% 23.5% 16.1% SELISH LANGUAGE 1239 36 315 353 200 2.9% 25.4% 26.5%	Sistant Senior High School P 75 5 22 20 19 SISTANT SENIOR HIGH SCHOOL 11 6.7% 29.3% 26.7% 25.3% SISTANT JR./SR. HIGH SCHOOL 11 5 2 3 1 SISTANT SPECIAL SCHOOL PRINC 11 5 2 3 1 HER SCHOOL ADMINISTRATOR 12 2 4 3 1 SISTANT SPECIAL SCHOOL PRINC 16.7% 33.3% 25.0% 8.3% EKINDERGARTEN 166 1 11 37 36 55 DERGARTEN 569 15 118 150 96 122 2.6% 20.7% 26.4% 16.9% 21.4% 21.4% VIMON BRANCH 2923 64 552 781 577 652 2.2% 18.9% 26.7% 19.7% 22.3% 21.4% 21.4% SCIAL EDUCATION 2458 82 444 514 597 663 3.3% 1	Sistant Senior High School P 75 5 22 20 19 8 SISTANT SENIOR HIGH SCHOOL 11 5 28.3% 26.7% 25.3% 10.7% SISTANT JR./SR. HIGH SCHOOL 11 5 2 3 1 SISTANT SPECIAL SCHOOL PRINC 11 5 2.7.3% 9.1% HER SCHOOL ADMINISTRATOR 12 2 4 3 1 2 EKINDERGARTEN 166 1 11 37 36 55 25 DERGARTEN 166 1 11 37 36 55 25 CRW 20.7% 22.3% 21.7% 33.1% 15.1% DERGARTEN 569 15 118 150 96 122 65 2.2% 18.9% 26.7% 19.7% 22.3% 9.9% ECIAL EDUCATION 2458 82 444 514 597 663 149 3.3% 16.1% 17.4% 28.5%

Region:	Western								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	SOCIAL STUDIES	996	26 2.6%	232 23.3%	326 32.7%	161 16.2%	160 16.1%	90 9.0%	1 0.1%
	ART	435	9 2.1%	84 19.3%	95 21.8%	95 21.8%	112 25.7%	39 9.0%	1 0.2%
	MUSIC	573	28 4.9%	115 20.1%	114 19.9%	122 21.3%	156 27.2%	35 6.1%	3 0.5%
	ART/MUSIC	7				4 57.1%	2 28.6%	1 14.3%	
	HEALTH EDUCATION	241	3 1.2%	70 29.0%	65 27.0%	35 14.5%	57 23.7%	11 4.6%	
	SAFETY EDUCATION								
	PHYSICAL EDUCATION	703	23 3.3%	163 23.2%	218 31.0%	121 17.2%	144 20.5%	33 4.7%	1 0.1%
	AGRICULTURE	14	2 14.3%	1 7.1%	6 42.9%	3 21.4%	2 14.3%		
	BUSINESS/MARKETING	190	1 0.5%	24 12.6%	40 21.1%	45 23.7%	49 25.8%	31 16.3%	
	HOME ECONOMICS	83	2 2.4%	5 6.0%	8 9.6%	29 34.9%	27 32.5%	11 13.3%	1 1.2%
	TECHNOLOGY	118	4 3.4%	22 18.6%	27 22.9%	31 26.3%	27 22.9%	6 5.1%	1 0.8%
	TRADE EDUCATION	134	1 0.7%	8 6.0%	21 15.7%	36 26.9%	42 31.3%	24 17.9%	2 1.5%
	TECHNICAL EDUCATION	9		1 11.1%	2 22.2%	2 22.2%	1 11.1%	3 33.3%	
	HEALTH OCCUPATION	23		1 4.3%	3 13.0%	5 21.7%	9 39.1%	5 21.7%	
	GENERAL OCCUPATIONAL EDUCATION	355	9 2.5%	39 11.0%	61 17.2%	83 23.4%	111 31.3%	50 14.1%	2 0.6%

Region:	Western								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
	COOPERATIVE WORK EXPERIENCE	31			5 16.1%	8 25.8%	16 51.6%	2 6.5%	
	LIBRARY	217		9 4.1%	39 18.0%	32 14.7%	86 39.6%	49 22.6%	2 0.9%
	LEARNING TECHNOLOGY	3				2 66.7%	1 33.3%		
	HUMANITIES/PERFORMING ARTS	2					1 50.0%	1 50.0%	
	DANCE	3		1 33.3%		2 66.7%			
	THEATER	11		3 27.3%	4 36.4%		2 18.2%	2 18.2%	
	COMBINED COURSES	5	1 20.0%	1 20.0%			1 20.0%	2 40.0%	
	OTHER SUBJECT	539	17 3.2%	116 21.5%	119 22.1%	103 19.1%	117 21.7%	64 11.9%	3 0.6%
	HELPING TEACHER	34	1 2.9%	9 26.5%	7 20.6%	7 20.6%	7 20.6%	3 8.8%	
	GIFTED/TALENTED	70	1 1.4%	5 7.1%	20 28.6%	15 21.4%	22 31.4%	6 8.6%	1 1.4%
	GENERAL COOPERATIVE WORK EXPER	20			7 35.0%	3 15.0%	8 40.0%	2 10.0%	
	COMPUTER STUDIES	72	1 1.4%	9 12.5%	15 20.8%	18 25.0%	26 36.1%	3 4.2%	
	Summary	16162	418 2.6%	2910 18.0%	3916 24.2%	3221 19.9%	4022 24.9%	1599 _{9.9%}	76 0.5%

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SUPERINTENDENT, INDEPENDENT	371			6 1.6%	25 6.7%	155 41.8%	166 44.7%	19 5.1%
SUPERINTENDENT, DEPENDENT	347		1 0.3%	25 7.2%	38 11.0%	142 40.9%	122 35.2%	19 ^{5.5%}
DEPUTY OR ASSOCIATE SUPERINTEN	114			6 5.3%	17 14.9%	40 35.1%	47 41.2%	4 3.5%
ASSISTANT SUPERINTENDENT	165			15 9.1%	38 23.0%	67 40.6%	44 26.7%	1 0.6%
ASSISTANT SUPERINTENDENT SPECI	503		1 0.2%	33 6.6%	105 20.9%	223 44.3%	133 26.4%	8 1.6%
BUSINESS MANAGER	296		5 1.7%	45 15.2%	85 28.7%	116 39.2%	43 14.5%	2 0.7%
ADMINISTRATIVE ASSISTANT	31		1 3.2%	4 12.9%	7 22.6%	13 41.9%	6 19.4%	
DIRECTOR/COORDINATOR	3350	2 0.1%	95 2.8%	547 16.3%	724 21.6%	1280 ^{38.2%}	649 ^{19.4%}	53 1.6%
ASSISTANT DIRECTOR/COORDINATOR	324	2 0.6%	14 4.3%	52 16.0%	83 25.6%	115 35.5%	51 15.7%	7 2.2%
SUPERVISOR	432	1 0.2%	18 ^{4.2%}	73 16.9%	97 22.5%	157 36.3%	80 18.5%	6 1.4%
DEPARTMENT CHAIRPERSON	2297	1 0.0%	109 4.7%	454 19.8%	475 20.7%	862 37.5%	365 15.9%	31 1.3%
ATTENDANCE TEACHER	78	1 1.3%	6 7.7%	13 16.7%	14 17.9%	31 39.7%	11 14.1%	2 2.6%
SCHOOL PSYCHOLOGIST	2984	4 0.1%	570 19.1%	750 25.1%	569 19.1%	708 23.7%	349 11.7%	34 1.1%
SOCIAL WORKER	1972	5 0.3%	167 8.5%	429 21.8%	472 23.9%	589 29.9%	295 15.0%	15 ^{0.8%}
GUIDANCE COUNSELOR	4391	28	847	1299	847	894	437	39

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
NURSE TEACHER	172		1 0.6%	6 3.5%	35 20.3%	79 45.9%	47 27.3%	4 2.3%
SCHOOL NURSE/PRACTITIONER	3093	2 0.1%	47 1.5%	218 7.0%	765 24.7%	1325 42.8%	635 20.5%	101 3.3%
DENTAL HYGIENIST	5				1 20.0%	2 40.0%	2 40.0%	
OTHER NONTEACHING	2457	4 0.2%	184 _{7.5%}	463 18.8%	535 21.8%	846 34.4%	389 15.8%	36 1.5%
ELEMENTARY SCHOOL PRINCIPAL	1706		24 1.4%	257 15.1%	354 20.8%	662 38.8%	375 22.0%	34 2.0%
MIDDLE SCHOOL PRINCIPAL	531		9 1.7%	102 19.2%	135 25.4%	200 37.7%	81 15.3%	4 0.8%
JUNIOR HIGH SCHOOL PRINCIPAL	27			5 18.5%	8 29.6%	10 37.0%	4 14.8%	
K-12 SCHOOL PRINCIPAL	101		3 3.0%	15 14.9%	30 29.7%	38 37.6%	15 14.9%	
SENIOR HIGH SCHOOL PRINCIPAL	583		7 1.2%	90 15.4%	139 23.8%	232 39.8%	103 17.7%	12 2.1%
JUNIOR/SENIOR HIGH SCHOOL PRIN	204		5 2.5%	32 15.7%	57 27.9%	83 40.7%	27 13.2%	
SPECIAL SCHOOL PRINCIPAL	68			9 13.2%	15 22.1%	33 48.5%	11 16.2%	
ASSISTANT ELEMENTARY SCHOOL PR	478		36 7.5%	140 29.3%	104 21.8%	139 29.1%	56 11.7%	3 0.6%
ASSISTANT MIDDLE SCHOOL PRINCI	511		37 7.2%	173 33.9%	124 24.3%	123 24.1%	52 10.2%	2 0.4%
ASSISTANT JUNIOR HIGH SCHOOL P	43		3 7.0%	15 34.9%	14 32.6%	8 18.6%	3 7.0%	
ASSISTANT K-12 SCHOOL PRINCIPA	33		2 6.1%	11 33.3%	6 18.2%	9 27.3%	5 15.2%	

	6								
	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
ŀ	ASSISTANT SENIOR HIGH SCHOOL P	798		47 5.9%	256 32.1%	197 24.7%	190 23.8%	104 13.0%	4 0.5%
ŀ	ASSISTANT JR./SR. HIGH SCHOOL	139		10 7.2%	58 41.7%	30 21.6%	29 20.9%	11 7.9%	1 0.7%
ŀ	ASSISTANT SPECIAL SCHOOL PRINC	31		1 3.2%	6 19.4%	6 19.4%	15 48.4%	3 9.7%	
(OTHER SCHOOL ADMINISTRATOR	130		18 13.8%	33 25.4%	33 25.4%	28 21.5%	18 13.8%	
F	PREKINDERGARTEN	882	22 2.5%	138 15.6%	205 23.2%	169 19.2%	232 26.3%	106 12.0%	1 0 1.1%
ł	KINDERGARTEN	5945	151 ^{2.5%}	1204 20.3%	1502 25.3%	1139 19.2%	1327 22.3%	583 9.8%	39 0.7%
C	COMMON BRANCH	32938	797 2.4%	7216 21.9%	8144 24.7%	6069 18.4%	7024 21.3%	3500 10.6%	188 _{0.6%}
Ş	SPECIAL EDUCATION	25608	715 2.8%	4873 19.0%	5597 21.9%	5599 21.9%	6690 26.1%	1990 _{7.8%}	144 _{0.6%}
F	READING	6681	97 1.5%	1136 17.0%	1456 21.8%	1162 17.4%	1867 27.9%	909 13.6%	54 ^{0.8%}
E	ENGLISH LANGUAGE	12617	469 3.7%	3115 24.7%	3024 24.0%	1997 15.8%	2682 21.3%	1261 10.0%	69 _{0.5%}
F	FOREIGN LANGUAGE	5848	263 4.5%	1146 ^{19.6%}	1284 22.0%	1111 19.0%	1329 22.7%	662 11.3%	53 _{0.9%}
E	BILINGUAL EDUCATION	423	5 1.2%	64 15.1%	108 25.5%	126 29.8%	82 19.4%	34 8.0%	4 0.9%
E	ENGLISH AS A SECOND LANGUAGE	2014	25 1.2%	301 14.9%	469 23.3%	421 20.9%	475 23.6%	297 14.7%	26 1.3%
Ν	MATHEMATICS	11672	684 5.9%	2503 21.4%	2644 22.7%	2184 18.7%	2442 20.9%	1164 10.0%	51 _{0.4%}
5	SCIENCE	11100	270	2357	2670	2359	2405	962	77

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SOCIAL STUDIES	10398	370 3.6%	2573 24.7%	2827 27.2%	1758 16.9%	1810 17.4%	1002 _{9.6%}	58 0.6%
ART	4798	113 2.4%	839 17.5%	955 19.9%	941 19.6%	1377 28.7%	543 11.3%	30 0.6%
MUSIC	6441	356 5.5%	1329 20.6%	1153 17.9%	1375 21.3%	1706 26.5%	464 7.2%	58 0.9%
ART/MUSIC	92	2 2.2%	16 17.4%	20 21.7%	16 17.4%	30 32.6%	8 8.7%	
HEALTH EDUCATION	2250	82 3.6%	556 24.7%	487 21.6%	401 17.8%	536 23.8%	182 8.1%	6 0.3%
SAFETY EDUCATION	93	3 3.2%	3 3.2%	12 12.9%	21 22.6%	35 37.6%	16 17.2%	3 3.2%
PHYSICAL EDUCATION	7763	270 3.5%	1821 23.5%	1972 25.4%	1518 ^{19.6%}	1723 22.2%	445 5.7%	14 0.2%
AGRICULTURE	167	5 3.0%	26 15.6%	29 17.4%	34 20.4%	54 32.3%	17 10.2%	2 1.2%
BUSINESS/MARKETING	1852	17 0.9%	237 12.8%	403 21.8%	499 26.9%	466 25.2%	224 12.1%	6 0.3%
HOME ECONOMICS	1026	17 1.7%	86 8.4%	117 11.4%	233 22.7%	426 41.5%	133 13.0%	14 1.4%
TECHNOLOGY	1445	41 2.8%	247 17.1%	254 17.6%	375 26.0%	395 27.3%	124 8.6%	9 0.6%
TRADE EDUCATION	1105	10 0.9%	73 6.6%	171 15.5%	270 24.4%	365 33.0%	194 17.6%	22 2.0%
TECHNICAL EDUCATION	90	1 1.1%	10 11.1%	18 20.0%	30 33.3%	25 27.8%	6 6.7%	
HEALTH OCCUPATION	221	1 0.5%	6 2.7%	16 7.2%	63 28.5%	83 37.6%	51 23.1%	1 0.5%
GENERAL OCCUPATIONAL EDUCATION	3201	72 2.2%	415 13.0%	493 15.4%	770 24.1%	1050 32.8%	375 11.7%	26 0.8%

5								
Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
COOPERATIVE WORK EXPERIENCE	271	1 0.4%	20 7.4%	50 18.5%	68 25.1%	81 29.9%	47 17.3%	4 1.5%
LIBRARY	2534	16 _{0.6%}	198 ^{7.8%}	382 15.1%	420 16.6%	919 36.3%	552 21.8%	47 1.9%
LEARNING TECHNOLOGY	77		6 7.8%	9 11.7%	26 33.8%	27 35.1%	9 11.7%	
HUMANITIES/PERFORMING ARTS	65		14 21.5%	8 12.3%	21 32.3%	17 26.2%	4 6.2%	1 1.5%
DANCE	50		12 24.0%	13 26.0%	11 22.0%	10 20.0%	4 8.0%	
THEATER	183	3 1.6%	34 18.6%	41 22.4%	37 20.2%	46 25.1%	20 10.9%	2 1.1%
COMBINED COURSES	199	3 1.5%	32 16.1%	52 26.1%	36 18.1%	46 23.1%	30 15.1%	
OTHER SUBJECT	7226	276 3.8%	1578 21.8%	1652 22.9%	1299 18.0%	1614 22.3%	746 10.3%	61 _{0.8%}
HELPING TEACHER	468	24 5.1%	91 19.4%	103 22.0%	85 18.2%	109 23.3%	50 10.7%	6 1.3%
GIFTED/TALENTED	506	5 1.0%	57 11.3%	89 17.6%	101 20.0%	152 30.0%	94 18.6%	8 1.6%
GENERAL COOPERATIVE WORK EXPER	185	1 0.5%	18 ^{9.7%}	44 23.8%	34 18.4%	64 34.6%	24 13.0%	
COMPUTER STUDIES	985	14 1.4%	115 11.7%	230 23.4%	244 24.8%	261 26.5%	111 11.3%	10 1.0%
Summary	175692	4748 2.7%	32744 18.6%	39303 22.4%	34610 19.7%	43660 24.9%	19233 10.9%	1394 _{0.8%}

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
SUPERINTENDENT, INDEPENDENT	380	1 0.3%		7 1.8%	27 7.1%	157 41.3%	168 44.2%	20 5.3%
SUPERINTENDENT, DEPENDENT	347		1 0.3%	25 _{7.2%}	38 11.0%	142 40.9%	122 35.2%	19 5.5%
DEPUTY OR ASSOCIATE SUPERINTEN	121			9 7.4%	17 14.0%	43 35.5%	48 39.7%	4 3.3%
ASSISTANT SUPERINTENDENT	167			16 9.6%	38 22.8%	68 40.7%	44 26.3%	1 0.6%
ASSISTANT SUPERINTENDENT SPECI	518		7 1.4%	35 6.8%	107 20.7%	226 43.6%	135 26.1%	8 1.5%
BUSINESS MANAGER	390	1 0.3%	19 4.9%	77 19.7%	102 26.2%	136 34.9%	52 13.3%	3 0.8%
ADMINISTRATIVE ASSISTANT	73		5 6.8%	11 15.1%	12 16.4%	32 43.8%	11 15.1%	2 2.7%
DIRECTOR/COORDINATOR	4012	6 0.1%	168 4.2%	667 16.6%	844 21.0%	1480 36.9%	776 19.3%	71 1.8%
ASSISTANT DIRECTOR/COORDINATOR	674	4 0.6%	33 4.9%	113 16.8%	166 24.6%	227 33.7%	111 16.5%	20 3.0%
SUPERVISOR	476	1 0.2%	22 4.6%	77 16.2%	105 22.1%	176 37.0%	88 18.5%	7 1.5%
DEPARTMENT CHAIRPERSON	2666	1 0.0%	133 5.0%	535 20.1%	549 20.6%	978 36.7%	430 16.1%	40 1.5%
ATTENDANCE TEACHER	282	1 0.4%	24 8.5%	43 15.2%	54 19.1%	98 34.8%	50 17.7%	12 4.3%
SCHOOL PSYCHOLOGIST	3776	7 0.2%	668 17.7%	873 23.1%	711 18.8%	949 25.1%	498 13.2%	70 1.9%
SOCIAL WORKER	2946	7 0.2%	237 8.0%	562 19.1%	639 21.7%	901 30.6%	536 18.2%	64 2.2%
GUIDANCE COUNSELOR	6732	45 _{0.7%}	1257 18.7%	1763 26.2%	1268 18.8%	1450 21.5%	845 12.6%	104 1.5%

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
NURSE TEACHER	172		1	6	35	79	47	4
			0.6%	3.5%	20.3%	45.9%	27.3%	2.3%
SCHOOL NURSE/PRACTITIONER	3472	3	52	256	846	1458	729	128
		0.1%	1.5%	7.4%	24.4%	42.0%	21.0%	3.7%
DENTAL HYGIENIST	6			1 16.7%	1 16.7%	2 33.3%	2 33.3%	
OTHER NONTEACHING	7070	43	1014	1499	1391	1968	1044	111
		0.6%	14.3%	21.2%	19.7%	27.8%	14.8%	1.6%
ELEMENTARY SCHOOL PRINCIPAL	2363		31	320	482	964	521	45
			1.3%	13.5%	20.4%	40.8%	22.0%	1.9%
MIDDLE SCHOOL PRINCIPAL	760		22	136	193	289	113	7
			2.9%	17.9%	25.4%	38.0%	14.9%	0.9%
JUNIOR HIGH SCHOOL PRINCIPAL	60		1	13	14	23	8	1
			1.7%	21.7%	23.3%	38.3%	13.3%	1.7%
K-12 SCHOOL PRINCIPAL	124		3	16	39	46	20	
			2.4%	12.9%	31.5%	37.1%	16.1%	
SENIOR HIGH SCHOOL PRINCIPAL	868	1	16	139	220	328	150	14
		0.1%	1.8%	16.0%	25.3%	37.8%	17.3%	1.6%
JUNIOR/SENIOR HIGH SCHOOL PRIN	255		8	51	66	95	34	1
			3.1%	20.0%	25.9%	37.3%	13.3%	0.4%
SPECIAL SCHOOL PRINCIPAL	130		1	10	20	73	26	
			0.8%	7.7%	15.4%	56.2%	20.0%	
ASSISTANT ELEMENTARY SCHOOL PR	1445		89	352	327	478	184	15
			6.2%	24.4%	22.6%	33.1%	12.7%	1.0%
ASSISTANT MIDDLE SCHOOL PRINCI	987		65	296	243	266	109	8
			6.6%	30.0%	24.6%	27.0%	11.0%	0.8%
ASSISTANT JUNIOR HIGH SCHOOL P	147		6	39	41	43	17	1
			4.1%	26.5%	27.9%	29.3%	11.6%	0.7%
ASSISTANT K-12 SCHOOL PRINCIPA	56		3	17	11	16	9	
			5.4%	30.4%	19.6%	28.6%	16.1%	

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
ASSISTANT SENIOR HIGH S	CHOOL P 1374		79 5.7%	384 27.9%	330 24.0%	378 27.5%	184 13.4%	19 1.4%
ASSISTANT JR./SR. HIGH SC	CHOOL 217		19 8.8%	83 38.2%	46 21.2%	46 21.2%	20 9.2%	3 1.4%
ASSISTANT SPECIAL SCHO	OL PRINC 185		6 3.2%	34 18.4%	47 25.4%	69 37.3%	27 14.6%	2 1.1%
OTHER SCHOOL ADMINIST	RATOR 152		21 13.8%	36 23.7%	37 24.3%	35 23.0%	23 15.1%	
PREKINDERGARTEN	2020	58 2.9%	328 16.2%	403 20.0%	373 18.5%	530 26.2%	294 14.6%	34 1.7%
KINDERGARTEN	8774	324 3.7%	1876 21.4%	2089 23.8%	1575 18.0%	1888 21.5%	937 10.7%	85 1.0%
COMMON BRANCH	51374	2265 4.4%	12811 ^{24.9%}	11844 23.1%	8871 17.3%	9992 19.4%	5197 10.1%	394 _{0.8%}
SPECIAL EDUCATION	37063	1460 3.9%	6994 18.9%	7304 19.7%	7558 20.4%	9820 26.5%	3521 9.5%	406 1.1%
READING	8315	128 1.5%	1350 16.2%	1738 20.9%	1449 17.4%	2317 27.9%	1245 15.0%	88 1.1%
ENGLISH LANGUAGE	19966	1108 5.5%	5403 27.1%	4489 22.5%	2927 14.7%	3887 19.5%	1986 _{9.9%}	166 _{0.8%}
FOREIGN LANGUAGE	7624	352 4.6%	1481 19.4%	1648 21.6%	1394 18.3%	1752 23.0%	901 11.8%	96 1.3%
BILINGUAL EDUCATION	2121	102 4.8%	329 15.5%	385 18.2%	493 23.2%	525 24.8%	248 11.7%	39 1.8%
ENGLISH AS A SECOND LAN	NGUAGE 4634	169 3.6%	743 16.0%	960 20.7%	881 19.0%	1115 24.1%	682 14.7%	84 1.8%
MATHEMATICS	18078	1299 _{7.2%}	3947 21.8%	3763 20.8%	3290 18.2%	3718 20.6%	1899 10.5%	162 _{0.9%}
SCIENCE	16253	587	3485	3739	3323	3458	1493	168

ART 6335 146 1142 1237 1212 17.1% 10.5% 0.8% MUSIC 7533 418 1130% 19.5% 19.1% 27.6% 12.5% 0.9% MUSIC 7533 418 1530 1305 1603 1999 558 80 ART/MUSIC 232 8 48 46 35 60 32 33 HEALTH EDUCATION 2971 108 737 649 512 668 262 19 SAFETY EDUCATION 95 3.2% 32.3% 12.2% 37.8 13.7% 23.9% 13.6% 28.9% 13.9% 13.7% 3.9% 13.7% 3.9% 13.7%	Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
ART/MUSIC 7533 418 1530 19.5% 19.1% 27.6% 12.5% 0.9% ART/MUSIC 7533 418 1530 1305 1603 1999 598 800 ART/MUSIC 232 8 48 46 35 60 32 3 HEALTH EDUCATION 2971 108 737 649 512 684 262 19 SAFETY EDUCATION 95 3 3 12 21 36 17 32% 32% 12.6% 21.1% 17.9% 32.8% 0.6% SAFETY EDUCATION 95 3 3 12 21 36 17 32% 32% 12.6% 21.1% 17.9% 32% 0.6% 0.3% 0.6% 0.3% 0.6% 0.3% 0.6% 0.3% 0.6% 0.3% 0.6% 0.3% 0.6% 0.3% 0.6% 0.3% 0.6% 0.3% 0.6% 0.3% 0.3% 0.6% 0.3%	SOCIAL STUDIES	15576							123 0.8%
ART/MUSIC 232 8 48 46 35 60 32 33 HEALTH EDUCATION 2971 108 737 649 512 684 26.25 17.3% 21.3% 25.9% 13.8% 1.3% SAFETY EDUCATION 2971 108 737 649 512 684 262 19 SAFETY EDUCATION 95 3 3 12 21 36 17 33 PHYSICAL EDUCATION 95 3 3 12 21 36 17 33 PHYSICAL EDUCATION 10467 361 2398 2622 1998 2383 678 27 AGRICULTURE 366 8 53 71 75 109 42 28 BUSINESS/MARKETING 2241 20 278 454 574 582 316 17 HOME ECONOMICS 1102 17 92 125 245 449 158 16 15% 1675 48 280 306 422 40.7% 14.3%<	ART	6335							58 0.9%
3.4% 20.7% 19.8% 15.1% 25.9% 13.8% 1.3% HEALTH EDUCATION 2971 108 737 649 512 684 262 19 SAFETY EDUCATION 95 3 3 12 21 36 17 3 PHYSICAL EDUCATION 95 3 3 12 21 36 17 3 PHYSICAL EDUCATION 10467 361 2398 2622 1998 2383 678 27 AGRICULTURE 366 8 53 71 75 109 42 8 BUSINESS/MARKETING 2241 20 278 454 574 582 316 17 0.9% 12.4% 20.3% 25.6% 26.0% 14.1% 0.8% HOME ECONOMICS 1102 17 92 125 245 449 158 16 1.5% 8.3% 11.3% 11.3% 25.2% 27.2% 9.1%	MUSIC	7533							80 1.1%
3.8% 24.8% 21.8% 17.2% 23.0% 8.8% 0.6% SAFETY EDUCATION 95 3 3 12 21 36 17 3 PHYSICAL EDUCATION 10467 361 2398 2622 1998 2383 678 27 AGRICULTURE 366 8 53 71 75 109 42 8 BUSINESS/MARKETING 2241 20 278 454 574 582 316 15% 22.% 14.1% 0.8% 11.5% 22.% 14.1% 0.8% 11.5% 22.% 14.1% 0.8% 11.5% 22.% 14.1% 0.8% 11.5% 22.% 14.1% 0.8% 11.5% 22.% 14.1% 0.8% 11.5% 22.6% 14.1% 0.8% 11.5% 22.6% 14.1% 0.8% 15.% 16.5% 26.6% 16.5% 0.3% 15.% 15.% 16.5% 16.5% 10.5% 22.6% 14.1% 0.8% 15.	ART/MUSIC	232	-						3 1.3%
3.2% 3.2% 12.6% 22.1% 37.9% 17.9% 3.2% PHYSICAL EDUCATION 10467 361 2398 2622 1998 2383 678 27 AGRICULTURE 366 8 53 71 75 109 42 8 BUSINESS/MARKETING 2241 20 278 454 574 582 316 17 0.9% 12.4% 20.3% 25.6% 26.0% 14.1% 0.8% HOME ECONOMICS 1102 17 92 125 245 449 158 166 1.5% 8.3% 11.3% 22.2% 40.7% 14.3% 1.5% TECHNOLOGY 1675 48 280 306 422 456 152 11 1.1% 7.5% 16.7% 18.3% 25.2% 27.2% 9.1% 0.7% TECHNOLOGY 1675 48 280 306 422 456 152 11	HEALTH EDUCATION	2971							19 0.6%
AGRICULTURE 366 8 53 71 75 109 42 8 BUSINESS/MARKETING 2241 20 278 454 574 582 316 17 HOME ECONOMICS 1102 17 92 125 245 449 158 16 TECHNOLOGY 1675 48 280 306 422 456 152 11 TECHNOLOGY 1675 48 280 306 422 456 152 11 TRADE EDUCATION 1414 15 106 232 328 446 249 38 1.1% 7.5% 16.4% 23.2% 31.5% 17.6% 27.7% 14.3% 1.5% MADE EDUCATION 1414 15 106 232 328 446 249 38 1.1% 7.5% 16.4% 23.2% 31.5% 17.6% 27.7% 25.8% 16.5% 1.0% 1.1% 7.5% 16.4% 23.2% 31.5% 17.6% 27.7% 16.5% 1.0% 27.7%	SAFETY EDUCATION	95							3 3.2%
BUSINESS/MARKETING 2241 20 278 454 574 582 316 17 HOME ECONOMICS 1102 17 92 12.5 245 449 158 16.0% HOME ECONOMICS 1102 17 92 12.5 245 449 158 16.0% TECHNOLOGY 1675 48 280 306 422 456 152 11 TRADE EDUCATION 1414 15 106 232 328 446 249 38 1.1% 7.5% 16.7% 18.3% 25.2% 27.2% 9.1% 0.7% TRADE EDUCATION 1414 15 106 232 328 446 249 38 1.1% 7.5% 16.4% 23.2% 31.5% 17.6% 2.7% TECHNICAL EDUCATION 194 5 22 34 49 50 32 2 40.3% 10.5% 11.3% 17.5% 25.6% 3	PHYSICAL EDUCATION	10467							27 0.3%
HOME ECONOMICS 1102 17 92 12.4% 20.3% 25.6% 26.0% 14.1% 0.8% HOME ECONOMICS 1102 17 92 12.5 245 449 158 16 TECHNOLOGY 1675 48 280 306 422 456 152 11 TECHNOLOGY 1675 48 280 306 422 456 152 11 TRADE EDUCATION 1414 15 106 232 32.8 446 249 38 TECHNICAL EDUCATION 1414 15 106 232 32.8% 17.6% 2.7% HEALTH OCCUPATION 194 5 22 34 49 50 32 2 MEALTH OCCUPATION 317 1 21 25.6% 35.6% 22.4% 1.6%	AGRICULTURE	366	-						8 2.2%
TECHNOLOGY 1675 48 280 306 422 40.7% 14.3% 1.5% TECHNOLOGY 1675 48 280 306 422 456 152 11 TRADE EDUCATION 1414 15 106 232 328 446 249 38 TECHNICAL EDUCATION 1414 15 106 232 328 446 249 38 TECHNICAL EDUCATION 194 5 22 34 49 50 32 2 HEALTH OCCUPATION 317 1 21 25 81 113 71 5 0.3% 6.6% 7.9% 25.6% 35.6% 22.4% 1.6%	BUSINESS/MARKETING	2241							17 0.8%
International condition International condition <thinternation< th=""> International condition</thinternation<>	HOME ECONOMICS	1102							16 1.5%
1.1% 7.5% 16.4% 23.2% 31.5% 17.6% 2.7% TECHNICAL EDUCATION 194 5 22 34 49 50 32 2 2.6% 11.3% 17.5% 25.3% 25.8% 16.5% 1.0% HEALTH OCCUPATION 317 1 21 25 81 113 71 5 0.3% 6.6% 7.9% 25.6% 35.6% 22.4% 1.6%	TECHNOLOGY	1675							11 0.7%
101 103 1	TRADE EDUCATION	1414							38 2.7%
HEALTH OCCUPATION 317 1 21 25 81 113 71 55 0.3% 6.6% 7.9% 25.6% 35.6% 22.4% 1.6%	TECHNICAL EDUCATION	194							2 1.0%
	HEALTH OCCUPATION	317	1	21	25	81	113	71	5
2.3% 13.2% 15.5% 23.7% 32.3% 12.0% 0.9%	GENERAL OCCUPATIONAL EDUCATION	3370	78	444 13.2%	524	800	1090	405	29

Stat-Cd	Count	Under-26	26-32	33-40	41-48	49-56	57-64	Over-64
COOPERATIVE WORK EXPERIENCE	295	3 1.0%	27 9.2%	52 17.6%	70 23.7%	86 29.2%	53 18.0%	4 1.4%
LIBRARY	3226	21 0.7%	239 7.4%	470 14.6%	542 16.8%	1146 35.5%	734 22.8%	74 2.3%
LEARNING TECHNOLOGY	109		8 7.3%	16 14.7%	39 35.8%	34 31.2%	12 11.0%	
HUMANITIES/PERFORMING ARTS	398	30 7.5%	135 33.9%	92 23.1%	52 13.1%	57 14.3%	31 7.8%	1 0.3%
DANCE	285	6 2.1%	63 22.1%	69 24.2%	54 18.9%	71 24.9%	19 6.7%	3 1.1%
THEATER	335	19 5.7%	74 22.1%	71 21.2%	60 17.9%	73 21.8%	36 10.7%	2 0.6%
COMBINED COURSES	402	31 7.7%	93 23.1%	86 21.4%	69 17.2%	72 17.9%	46 11.4%	5 1.2%
OTHER SUBJECT	10403	419 4.0%	2132 20.5%	2257 21.7%	1851 17.8%	2399 23.1%	1231 11.8%	114 1.1%
HELPING TEACHER	691	35 5.1%	139 20.1%	141 20.4%	119 17.2%	168 24.3%	76 11.0%	13 1.9%
GIFTED/TALENTED	1151	30 2.6%	264 22.9%	212 18.4%	210 18.2%	269 23.4%	152 13.2%	14 1.2%
GENERAL COOPERATIVE WORK EXPER	261	2 0.8%	22 8.4%	49 18.8%	47 18.0%	95 36.4%	43 16.5%	3 1.1%
COMPUTER STUDIES	1798	32 1.8%	237 13.2%	407 22.6%	416 23.1%	459 25.5%	225 12.5%	22 1.2%
Summary	259440	9488 3.7%	50936 19.6%	55189 21.3%	48711 18.8%	62348 24.0%	29874 11.5%	2894 1.1%